FRABNATRIFROEXER, ARAFRIRBERNEF TZELFMOBRAS, INEAFREREERERNEBHTLE
RIERY, BASITIER, RWEHESHAIKR, BREBES!

This Instruction only contains information about our product series. If any change arising from technology upgrading or the use of new production processes, or
any necessary modification of the inaccurate data printed herein, no prior notice will be sent. To get correct information, please contact us before purchase!

R B

NINGBO HCNC

FRERAIEDRFEBRAHE

NINGBO HANCHEN NUMERICAL CONTROL CUTTING TOOL
MANUFACTURING CO.,LTD.

FRIEESAH

Ningbo Sales Corporation

INIE TR IARX I 172 5

No.172 Caihong North Road, Jiangdong District, Ningbo City,
Zhejiang Province

FBiE (Tel): 0574-87374825 87371825

€2 (Fax): 0574-87926799

BRfE (E—mail): nbhcnc@126.com

AEFEEi

Production base

TFRMBEXSHESFERK 51565
No. 515, Xiufeng Road, Gaogiao Town, Haishu
District, Ningbo

@ www.nbhcnc.cn

FREBRGETDRFSERRARE
P HRXERREE NINGBO HANCHEN NUMERICAL CONTROL CUTTING TOOL
MANUFACTURING CO.,LTD.

11



*?Eﬁﬁ fH € M 48 SALES NETWORK

SEUEENLSE, BIKATBRS.
?—I)ﬁﬂiéﬁﬁe%ﬁi‘ﬂE%UEEBE’AE@E?EP%Wﬂﬁlﬁﬂiﬁhﬁi—ﬁﬁi?&o 520025@}_1«1%, /AE_E¥$# “L\)\ Globalsalesnetwork,deéicatedtoserveyou.

FREAER, BEERERE" NETES, MRAREMKE, SEIZRIEFRRIE, RET KEFRIATSEE,
mhIA R R B Tk ATS .

HRABE—XHAL. £/, . BEFSFMINLEBRTAMITLEN, EHTAIZFPREES W~ mMN
TENRS . BWMMNTHO. MIGOH. HEERFUMEENRUREERMNESEHOML . £ XK, KA

AR, TIANEPRMEN . BE. YNSRI EURENOERL. B BIREIERIEM0EHME 4 ¢

=, SR EXEPNMIER., 0 4
ATEESMERBEIE, FHE—RISUMTRERTRERRETIE, LWRESAETIE, X%, EER )

2, BHEEPER. \{ ’ ot ?

SRHEEETRORELE, RBNETTS, SHNETRE, BEANGHESN, —+RENUE, BHRA 9 4 )

FUARFF A, 4
BRIBESERFKBRENSIE, NMEHSMNRNTRERS, WD kS 0

2002 S HETIRFIER '

Since Professional Manufacturer of CNC Tools

ABOUT HANCHEN

Ningbo Hanchen Numerical Control Cutting Tool Manufacturing Co., Ltd. is
located in Ningbo(Zhejiang province), a beautiful port city in China. Since its
establishment in 2002, the company has always adhered to the business
philosophy --"Taking quality as the cornerstone, Seeking development with
integrity”. Strictly selected high-quality raw materials, and special processes
have ensured our products’ rigidity.Sticking to quality for twenty years,we have
won the recognition and trust from our customers, and our brand’s recognition
has remained at the forefront place in the industry.

Our company has a professional team of hundreds of employees from R&D,
Production, Quality inspection, Sales and other departments, who are
committed to provide professional products and perfect services for our
customers. Five-axis machining centers, machining center clusters, CNC lathe
clusters and precision testing equipment enable us to have advanced R&D and
production capabilities, mature production experience,with which we can
provide series of turning, milling, drilling and other CNC tools and
corresponding spare parts. Meanwhile,we undertake the demand of designing
and producing non-standard customized tools,to fit different producing
conditions.

The company has also cooperated with well-known enterprises,and
successfully developed a series of threading inserts for processing stainless
steel and steel workpieces. We have a complete range of inserts for
Threading/Shallow hole Drilling/General Turning/Parting Grooving,and
sufficient inventory to respond to customers’ needs at any time.

With strictly controlled quality, mature production capabilities, advanced
equipment,and more than 20 years of accumulation, Hanchen has gained
strong market competitiveness,and become a model enterprise in this
industry.

We look forward to developing long-term and stable cooperation with you and
offering you with high-quality products and services. You are welcome to visit
or call us at any time!




Contents

P1-60

P0O3-30
P31-44
P45-60

P65-99

P61-76
P77-94
P95-99

P100-107

P108-117

P108-115
P16

P117-122

P123-139

P140-141

P142-167

P168-178

P179-207

IMEIZETIFF
SNEIZETIAFMEL, PEI
SMNEIZETIAFDR, CHI

SMEIZETIHFSEL

RALETIF

RFLETIFMEL, PRI
AFLZETIFFSEY
EEMETIH

EHIDH

REQEETIF
RodKIMAL, PRI, S
RS E A

IRBUZETIFF

tDEELIRRTIHF

Ik

INEHETIFF

Ush&UETI A

BYNR

External turning tool holder

External turning tool holder M-type, Ptype
External turning tool holder D-type, Ctype

External turning tool holder S-type

Internal turning tool holder

Internal turning tool holder M-type, P-type
Internal turning tool holder S-type

Alloy anti-vibration knife holder

Inch Turning Tools
Precision cooling turning tool holder

Precision cooling P-type, S-type

Precision cooling groove tool holder

Threading tool holder

Parting and grooving tool holder

Boring heads

Swiss Lathe Tool Holder

U-drillr&U-drillr inserts

Threading inserts

1

— ]
=
S
=
£5y
=

77
AL lT

JMNEIZEH]

EXTERNAL TURNING

FEEiEERNN, BB SHRIE-RRE

Strictly selected superior raw materials,precision technology,quality guaranteed




[

SNEIZETIFE SRR

External turning tool holder model indication rules

M| C

L || N

R | 20

20

K

48 & 71 #FIl External Tool Holder

MEXPRIJIAR S K MIRN

M-type,p-type Tool Models And Processing Forms

CERERR
Top clamping Type

gl
Riant
‘\II T

MESEER
Double Clamping Type

@)

Py

w

—

> | o | &

D.EHIANERZE
Heavy Cutting
Double Clamping Type

PAIHFERE

Lever Lock Type

i

SHRETRERE

Screw-on Type

002

<

=i

5. YIHI 75 18]

Cutting direction

Pl

1 2 3 4 5 6 7 8 9 10
1TEERR 2. 71 R R S.NNARRSERA
Clamping system Insert Shape Tool holder style and approach angle
. A B C _ o E
80°
90° 75°

MCBNR/L

MCLNR/L

P5

MCGNR/L

P6

MCKNR/L

MCMNN

MCMNN

MDJNR/L

H
107° 30’

T

K E 75°
Q

MDQNR/L

MRGNR/L

MRDNN

MSKNR/L

N
6 3%
.
GW

oF
} o !
107.5° \g
o |
P10 P14
MSSNR/L MTGNR/L | MTJNR/L
F@ =
90 93 %
T T p1g P20
MVJNR/L| MVQNR/U MVVNN MWLNR/L
1
o\~ HI?EB
03" [ il
P21 f P22 ' P23
PCBNR/L | PCLNR/L PDJNR/L

=z

=0|s0) ]

R S U ﬂgy \%
75D&G 450&{ 18 3&
W 60° [ X 120° v
N ‘\ 4. TIREf 8. JTEKE
Inserts back anglee Tool length(mm)
RS | KE
B 5° Code Length
E 70
— = c 7 F 80
6. TIREER || 7. TIKREE
Nose height Width of tool holder H 100
D 15° K 125
_ S M 150
< ‘.‘ﬁ :1 E 20} P 170
i Q 180
RAFEEI o N 0 R | 200
51 h=8mm, 45 o] | B: h=8mm. #5708 s 250
P 11°
T 300
9. PIHI T4 10. B4HS
Cutting Edge length Self Numbers
(03 D R S
| O
T . \% W W
& at

75° ad_'
L
P24 P25 P25 P26 P27 P27
PSKNR/L | PSSNR/L | PTFNR/L PTTNR/L | PTGNR/L
=X . .
! ‘
— =
P28 P30 P30
003



EE@) 4N [& JT1#FIIExternal Tool Holder

gl\ E\E’U 7] 1::|: ( Mgg) External turning tool holder (M type) gl\ E\E’U D 1;:|: ( Mﬁg ) External turning tool holder (M type)

-:]_ﬁ\ © Mjﬁ?ﬁ;ﬁi;n .ci © ifﬁﬁ 95-0
angle 75° Ma;r;]gleeflgegyon
75° MCBN.. i@ K 95° MCLN.. -~ a
s ) s L ey
R~ Size(mm) R~Size(mm) PSS e YARE: H 5] E R R F kR
;__:Fé % Model Stud bolts Shi.m Pin Pressure plate Wrench Inserts
al|b|L|h|f| e al|b|L|h|f]|e Ve o) y 4 > ~_ (2]
* MCBNR/L1616H12C 16 | 16 [100| 16 | 13 | 32 MS620 * MCLNR/L1616H12C 16 | 16 |100| 16 | 20 | 32 MS620
* MCBNR/L2020K12C 20 | 20 [125| 20 | 17 | 32 — o MLP46 — CN..1204 * MCLNR/L2020K12C 20 | 20 [125| 20 | 25 | 32 W~
* MCBNR/L2525M12C 25 | 25 |150| 25 | 22 | 32 - - * MCLNR/L2525M12C 25 | 25 |150| 25 | 32 | 32 C12BM MLP46 MC620 CN..1204..
* MCBNR/L3232P12C 32| 32 |170| 32 | 27 | 32 MS628 S3 MCLNR/L3225P12C 32 | 25 (170| 32 | 32 | 32 YT
* MCBNR/L2525M16C 25| 25 |150| 25 | 22 | 40 MS625 * MCLNR/L3232P12C 32 | 32 (170 32 | 40 | 32 S3
* MCBNR/L3232P16C 32| 32 [170] 32 | 27 | 40 11S628 C16BM MLP58 MC622 CN..1606.. * MCLNR/L2525M16C 25 | 25 |150| 25 | 32 | 38 MS625
* MCBNR/L4040R16C 40 | 40 [200| 40 | 35 | 40 MCLNR/L3225P16C 32 | 25 (170| 32 | 32 | 38 C16BM MLP58 MC622 CN.1606..
* MCBNR/L3232P19C 32 | 32 |170| 32 | 27 | 42 - o MLP6S MC825 a4 CN..1906 * MCLNR/L3232P16C 32 | 32 (170| 32 | 40 | 38 MS628
* MCBNR/L4040R19C 40 | 40 [200| 40 | 35 | 42 v - * MCLNR/L4040R16C 40 | 40 |200| 40 | 50 | 42
* MCLNR/L3232P19C 32132170132 | 40/ 42 MS835 C19BM MLP68 MC825 S4 CN..1906..
gg % R<fSize(mm) L igie 7] 84 &7 E & 1w =E 7 E MCLNR/L4040R19C 40 | 40 |200| 40 | 50 | 42
alblL|[n|fle| o, V4 ® | ~ (J Rtsize(mm) Wkigie | n® | ®E | BER | ORE | DA
MCBNR/L1616H12Z 16 | 16 [100| 16 | 13 | 32 gg % Model Stud bolts Shim Pin Pressureplate|  Wrench Inserts
MCBNR/L2020K12Z 20 | 20 |125] 20 | 17 | 32 | DM6X20 alb L h|f]e 7 o) ¥ 4 » ~ (o)
MCBNR/L2525M12Z 25 | 25 [150| 25 | 22 | 32 C12BM TMex17 C1RD CN..1204.. MCLNR/L1616H12Z 16 | 16 |100| 16 | 20 | 32
MCBNR/L3232P12Z 32| 32 |170| 32 | 27 | 32 DMEX25 S3 MCLNR/L2020K12Z 20 | 20 [125| 20 | 25 | 32 DM6X20
MCBNR/L2525M16Z 25 | 25 |150| 25 | 22 | 40 MCLNR/L2525M12Z 25| 25 [150| 25 | 32 | 32 | DM6X25 C12BM | TM16X17 | C1RD CN..1204..
MCBNR/L3232P16Z 32 | 32 [170] 32 | 27 | 40 OMEX28 C16BM | TM8X21 C2RD CN..1606.. MCLNR/L3225P12Z 32 | 25 |170| 32 | 32 | 32 OMEX28
MCBNR/L4040R16Z 40 | 40 |200| 40 | 35 | 40 MCLNR/L3232P12Z 32 | 32 ([170| 32 | 40 | 32 S3
MCBNR/L3232P19Z 32 | 32 |170| 32 | 27 | 40 DMBX35 o — TM10X21 C5RD <4 CN.1906 MCLNR/L2525M16Z 25 | 25 (150 25 | 32 | 38 DM6X25
MCBNR/L4040R19Z 40 | 40 [200| 40 | 35 | 40 - MCLNR/L3225P16Z 32 | 25 (170| 32 | 32 | 38
C16BM | TM8X21 C2RD CN..1606..
MCLNR/L3232P16Z 32|32 (170| 32 | 40 | 38 | DM6X28
e T /Rfl: 14 MCBNR 2525M12C 1 MCBNL 2525M12C * R=/F L=kKF o JIREEMITH MCLNR/L4040R16Z 40 | 40 |200]| 40 | 50 | 42
¢ H SEmRERE MCLNR/L3232P192 321 321170) 32 40 | 45 DM8X35 C19BM | TM10X21 | C5RD S4 CN..1906
MCLNR/L4040R19Z 40 | 40 |200| 40 | 50 | 45 h h

® Ordering Example:1pcs MCBNR 2525M12C 1pcs MCBNL 2525M12C  * R=righthand L= left hand

o | t dtob dered tel —
o o onesc o be ordered separately o iT#Rfl: 1#F MCLNR2525M12C  1# MCLNL 2525M12C * R=%#F L=%F o NAEREMITH
[1 "indicates standing stock o ‘K’ EEREEERL
TARIN

® Ordering Example:1pcs MCLNR 2525M12C 1pcs MCLNL 2525M12C  * R=righthand L= left hand
Inserts need to be ordered separately
"[] "indicates standing stock

004 005



[

SNEZEHI T

006

J]
( Mg: ) External turning tool holder (M type)

1 Ffmea 90°
< © Main deflection
angle 90°
90° MCGN.. K
&/
e L e
R~ Size(mm) Xk 24 7 &8 #H §] E R w F VARSY
FH = Model Stud bolts Shim Pin Pressure plate Wrench Inserts
g5 = ode h
alb|L|h|f]|e V' o V4 ~ (o]
MCGNR/L1616K12C 16 | 16 [125| 16 | 20 | 32 MS620
* MCGNR/L2020K12C 20 | 20 (125| 20 | 25 | 32 N
* MCGNR/L2525M12C 25 | 25 |150| 25 | 32 | 32 C12BM MLP46 MC620 CN..1204..
MCGNR/L3225P12C 32| 25 |170| 32 | 32 | 32 v
MCGNR/L3232P12C 32 | 32 |170| 32 | 40 | 32 -
MCGNR/L2525M16C 25 | 25 (150 25 | 32 | 38 MS625
MCGNR/L3225P16C 32 | 25 |170| 32 | 32 | 38
MCGNR/L3232P16C 32 | 32 |170| 32 | 40 | 38 MS628 C16BM MLP58 MC622 CN..1606..
MCGNR/L4040R16C 40 | 40 [200| 40 | 50 | 42
MCGNR/L3232P19C 32 | 32 |170| 32 | 40 | 45 MS835 C19BM MLP68 MC825 S4 CN..1906..
e T RfBl: 1 MCGNR 2525M12C 1 MCGNL 2525M12C * R=HF L=kKF o JIEEEMITH
® ‘X" SRRNEERER
® Ordering Example:1pcs MCGNR 2525M12C 1pcs MCGNL 2525M12C  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
F{RFA 75°
= © Main deflection
angle 75°
75" MCKN.. R @ K
, 1
§=
e‘ L
1 = R~fSize(mm) PSS VAR H 7 E & R F ANy
g’é = Mode| Stud bolts Shim Pin Pressure plate Wrench Inserts
a|b|L|h|f e V4 o V4 ~ (]
* MCKNR/L1616H12C 16 | 16 [125| 16 | 20 | 32 MS620
* MCKNR/L2020K12C 20 | 20 (125| 20 | 25 | 32
C12BM MLP46 MC620 CN..1204..
* MCKNR/L2525M12C 25| 25 |150| 25 | 32 | 32 MS625
* MCKNR/L3232P12C 32 | 32 |170| 32 | 40 | 32 5
* MCKNR/L2525M16C 25 | 25 |150| 25 | 32 | 38
* MCKNR/L3232P16C 32 | 32 |170| 32 | 40 | 38 MS628 C16BM MLP58 MC622 CN..1606..
MCKNR/L4040R16C 40 | 40 [200| 40 | 40 | 38
* MCKNR/L3232P19C 32 | 32 |170| 32 | 40 | 42 VEEE & s VIR e - O GG
* MCKNR/L4040R19C 40 | 40 |200| 40 | 50 | 42 v v
oiT £l : 1 MCKNR 2525M12C 1 MCKNL 2525M12C* R=%HF L=AF o JIHFERIM
0k” SRAEEET
® Ordering Example:1pcs MCKNR 2525M12C 1pcs MCKNL 2525M12C  * R=righthand L=left hand

® |nserts need to be ordered separately

® "[] "indicates standing stock

HNEZEHI T

4N [& JT1#FIIExternal Tool Holder

J]
( MiFI:) External turning tool holder (M type)

ﬁ/\ ik 50°
< ®© Main deflection
angle 50°
50° MCMN.. ;
»_4 .
6QD - —_—
AN =
: R<FSize(mm) W ELi2te VARE: ] H 5T . E 7f)§| R F 7R
1 = Stud bolts Shim Pin ressure plate w h | t
Model p renc! nserts
2 S a|b|L|h|f]|e e a ¥ 4 ~ []
MCMNN1616H12C 16 | 16 |100| 16 | 8 | 32 MS620
* MCMNN2020K12C 20 | 20 |125| 20 | 10 | 32
MS625 C12BM MLP46 MC620 S3 CN..1204..
* MCMNN2525M12C 25 | 25 |150| 25 |12.5] 32
MCMNN3232P12C 32 | 32 (170| 32 | 16 | 32 MS628
e iT#Rf: 1ff MCMNN 2525M12C ® JIRFERITH
o ‘X" SRREEER
® Ordering Example:1pcs MCMNN 2525M12C
® |nserts need to be ordered separately
® "[] "indicates standing stock
Tfﬂ R 40°
Main deflection
< @ angle 40°
40° MCMN..-100 I
@o -
> 1~
£ L
y = R Size(mm) PN SE 7] & H 5T E & W F ANy
9__:F= = Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|h|[f]|e 7 o y 4 ~ (o]
MCMNN1616H12C-100 | 16 | 16 |100| 16 | 8 | 32 MS620
* MCMNN2020K12C-100 | 20 | 20 [125| 20 | 10 | 32
MS625 C12BM MLP46 MC620 S3 CN..1204..
* MCMNN2525M12C-100 | 25 | 25 |150| 25 |12.5| 32
* MCMNN3232P12C-100 | 32 | 32 |170| 32 | 16 | 32 MS628

kT SRTEEER

[] "indicates standing stock

T8~ H: 1 MCMNN 2525M12C-100

Ordering Example:1pcs MCMNN 2525M12C-100
Inserts need to be ordered separately

o JIRFEMITH




EE@) 4N [& JT1#FIIExternal Tool Holder

gl\ E\E’U jj 1::|: ( M;::Flg ) External turning tool holder (M type) gl\ E\E’U 7] 1::|: ( Mil:lg) External turning tool holder (M type)

ERMH 93° *wfm 62.5°
< © Main deflection LI © Main deflection
angle 93° angle 62.5°
93° MDJN.. 75° MDPN.. -
VZ : = n 9%
y /® @
9y ] ‘/;é - g .
L
R~fSize(mm) Wkt R H & E iR R F kR R Size(mm) XL 12ke 7] B H 5T E R w® F VAN
gg % Model Stud bolts Shim Pin Pressure plate Wrench Inserts il_] % Model Stud bolts Shim Pin Pressureplate|  Wrench Inserts
alb|L|h|f]|e 7 < Y 4 ™ I~ /o7 alb|L|h|f]|e P < Y 4 » I~ /o)
* MDJNR/L1616H11C 16 | 16 |100| 16 | 20 | 32 MS620 * MDPNN1616H11C 16 | 16 |100| 16 | 8 | 35 MS620
* MDJNR/L2020K11C 20 | 20 |125| 20 | 25 | 32 S2 * MDPNN2020K11C 20 | 20 |125| 20 | 10 | 35 S2
MS625 D11BM MLP34 MC620 DN..1104.. MS625 D11BM MLP34 MC620 DN..1104..
* MDJNR/L2525M11C 25| 25 |150| 25 | 32 | 32 S3 * MDPNN2525M11C 25 | 25 |150| 25 |12.5| 35 S3
MDJNR/L3232P11C 32 | 32 |170| 32 | 40 | 32 MS628 MDPNN3232P11C 32 | 32 (170 32 | 16 | 42 MS628
* MDJNR/L2020K15C 20 | 20 [125| 20 | 25 | 38 G * MDPNN2020K15C 20 | 20 [125| 20 |12.5| 42 VS
* MDJNR/L2525M15C 25 | 25 [150| 25 | 32 | 38 * MDPNN2525M15C 25 | 25 [150| 25 |12.5| 42
MDJNR/L3225P15C 32 | 25 |170| 32 | 32 | 38 MLP46L DN..1506.. MDPNN3225P15C 32 | 25 |170| 32 |12.5] 42 MLP46L DN..1506..
* MDJNR/L3232P15C 32 | 32 |[170| 32 | 40 | 38 MS628 * MDPNN3232P15C 32 | 32 |170| 32 | 16 | 42 MS628 o e -
MDJNR/L4040R15C 40 | 40 |200| 40 | 50 | 38 D15BM MC622 S3 MDPNN4040R15C 40 | 40 |200| 40 | 20 | 42
* MDJNR/L2020K1504C | 20 | 20 |125| 20 | 25 | 38 s * MDPNN2020K1504C 20 | 20 [125| 20 |12.5| 42 VS
* MDJNR/L2525M1504C | 25| 25 |150| 25 | 32 | 38 VI SR 5@ * MDPNN2525M1504C 25 | 25 |150| 25 |12.5| 42 MLP46 DN..1504..
MDJNR/L3225P1504C | 32 | 25 |170| 32 | 32 | 38 MS628 -’ h MDPNN3232R1504C 32 | 32 (170| 32 | 16 | 42 MS628
MDJNR/L3232P1504C | 32 | 32 [170| 32 | 40 | 38
B = RfSize(mm) PUBT Y 7] B H §T . = ﬂil w F AN
K N . Stud bolts Shim Pin ressure plate Wrench Inserts
~JSize(mm PUBS 2y 3 ) 2 H 5 E R R F 7R = Model
;:F:I:U "I:E Model RS ( ) Stud bolts Shim Pin Pressure plate Wrench Inserts a b L h f € / < ’ ' ~ g
alb|L|h| f|e P 4 < V4 » ~ YAV4 MDPNN1616H11Z 16 | 16 |100| 16 | 8 | 35 | DM6X20
MDJNR/L1616H11Z 16 | 16 [100| 16 | 20 | 32 DM6X20 MDPNN2020K11Z 20 | 20 (125| 20 | 10 | 35 S2
DM6X25 D11BM TM5X13 C1RD DN..1104..
MDJNR/L2020K11Z 20 | 20 ({125| 20 | 25 | 32 S2 MDPNN2525M11Z 25 | 25 |150| 25 |12.5| 35 S3
DM6X25 D11BM TM5X13 C1RD DN..1104..
MDJNR/L2525M11Z 25| 25 |150| 25 | 32 | 32 S3 MDPNN3232P11Z 32 | 32 |170| 32 | 16 | 42 DM6X28
MDJNR/L3232P11Z 32 | 32 |[170| 32 | 40 | 32 MDPNN2020K15Z 20 | 25 |125| 20 [12.5] 43
DM6X28 DM6X25
MDJNR/L2020K15Z 20 | 20 |125| 20 | 25 | 38 MDPNN2525M15Z 25 | 25 |150| 25 |12.5| 43
MDJNR/L2525M15Z 25 | 25 (150 25 | 32 | 42 e MDPNN3225P15Z 32 | 25 [170| 32 |12.5| 43 TM6X19 DN..1506..
MDJNR/L3225P15Z 32 | 25 |170| 32 | 32 | 42 TM6X19 DN..1506.. MDPNN3232P15Z 32 | 32 |170| 32 | 16 | 43 DM6X28 D15BM C2RD 3
MDJNR/L3232P15Z 32 | 32 |170| 32 | 40 | 42 SR MDPNN4040R15Z 40 | 40 |200| 40 | 20 | 43
MDJNR/L4040R15Z 40 | 40 |200| 40 | 50 | 38 D15BM C2RD S3 MDPNN2020K1504Z 20 | 20 |125| 20 |12.5] 43 51 G
MDJNR/L2020K1504Z 20 | 20 |125| 20 | 25 | 38 MDPNN2525M1504Z 25 | 25 |150| 25 |12.5] 43 TM6X17 DN..1504..
MDJNR/L2525M1504Z2 25| 25 |150| 25 | 32 | 38 DM6X25 TMBX17 DN..1504 MDPNN3232R1504Z 32 | 32 |170| 32 | 16 | 43 DM6X28
MDJNR/L3225P1504Z | 32 | 25 [170| 32 | 32 | 38 o iT7M: 14 MDPNN 2525M11C o IR EEMITH
MDJNR/L3232P1504Z | 32 | 32 [170| 32 | 40 | 42 DM6X28 0k EEREEER
o ": ‘F-’f”ﬁ?fﬂ: 111:1;MDJNR 2525M11C 1 MDJNL 2525M11C * R=HF L=LKF o JIRFEMITH ® Ordering Example:1pcs MDPNN 2525M11C
® k" SRTEEER ® |nserts need to be ordered separately

® "[] "indicates standing stock
® Ordering Example:1pcs MDJNR 2525M11C 1pcs MDJNL 2525M11C  * R=right hand L= left hand

® |nserts need to be ordered separately
® "[] "indicates standing stock

008 009



4N [& JT1#FIIExternal Tool Holder

[

gl\ Eﬁu 73 1::|: ( Mﬂ ) External turning tool holder (M type) gl\ E\E’U 7j 1::|: ( Mﬂ) External turning tool holder (M type)

F{®# 107.5° 1 BN
© Main deflection < © Main deflection
angle 107.5° angle
107° MDQN.. MRGN.. E
) e | ]
7 = Si WL he 7] &8 H & E R R F kR
RT_fSize(mm) XR%E%*% 7] 2] %E £7 = 1‘& 1‘& F 7] J=|L ] = RTSIZe(mm) Stud bolts Shim Pin Pressure plate] Wrench Inserts
9:F='J % Model Stud bolts Shim Pin Pressure plate Wrench Inserts §= = Model a b L h f = 0 ’ S
Bpbybphyte - < ’ T = * MRGNR/L2020K12C | 20 | 20 [125| 20 | 25 | 32
* MDQNR/L1616H11C 16 | 16 [100| 16 | 20 | 32 MS620 + MRGNR/L2525M12C 05 | 25 |150| 25 | 32 | 32 MS625
* MDQNR/L2020K11C 20 | 20 |125| 20 | 25 | 32 MS625 D11BM MLP34 MC620 S2 ON.1104 MRGNR/L3225P12C 32 | 25 [170| 32 | 32 | 32 R12BM MLP46 MC620 S3 RN..1204..
* MDQNR/L2525M11C 25|25 [150| 25 | 32 | 32 S3 h h RN/ BBt 2 20 a2 | 32 [170| 32 | 40 | 32 MS628
MDQNR/L3232P11C 32 | 32 |170| 32 | 40 | 32 MS628
* MDQNR/L2020K15C 20 | 20 [125| 20 | 25 | 38 A R<Size(mm) WLt ES 8 47 ngfﬁlt )R FE 7] B
* MDQNR/L2525M15C | 25 | 25 [150| 25 | 32 | 38 | MS625 LPaGL DN 1506 £l S Model S lfie gm ;" ressure plate r"Y_’i”C“ T
MDQNR/L3225P15C | 32 | 25 |170| 32 | 32 | 38 S a bjLihjfle -
* MDQNR/L3232P15C | 32 | 32 [170| 32 | 40 | 38 | MS628 \C622 < MRGNR/L2020K12Z | 20 | 20 1125/ 20 | 25 | 32 |
* MDQNR/L2020K1504C | 20 | 20 [125| 20 | 25 | 38 D158M MRGNR/L2525M12Z | 25 | 251150/(25/) 32 |32 PRI e - LB
* MDQNR/L2525M1504C | 25 | 25 [150| 25 | 32 | 38 | MS625 MRGNR/L3225P12Z | 32 | 25 1170 82 | 32 | 32 | 0o
MLP46 DN..1504..
MDQNR/L3225P1504C | 32 | 25 |170| 32 | 32 | 38 MRGNR/L3232P12Z 32 | 32 (170| 32 | 40 | 32
MDQNR/L3232P1504C | 32 | 32 |170]| 32 | 40 | 38 | MS628 ®iT#RfI: 1 MRGNR2525M12C  1#f MRGNL 2525M12C * R=#F L=%F ® TIAREMITH
k" SERTERER
® T Rfl: 14 MDQNR 2525M11 14 MDQNL 2525M11 * R= L= == T
..‘L.*,,Tfjﬁjfi%;r 525 c fr Q 525 c aF EF * NRWEAITH ® Ordering Example:1pcs MRGNR 2525M12C 1pcs MRGNL 2525M12C  * R=righthand L= left hand
AR ¥ ® |nserts need to be ordered separately
® Ordering Example:1pcs MDQNR 2525M11C 1pcs MDQNL 2525M11C  * R=righthand L= left hand ® "[ "indicates standing stock
® |nserts need to be ordered separately
® "[] "indicates standing stock
Tﬁ Ef -
< © Main deflection
MRDN angle
e o
e @]
-
Si WL i2te 7] & H & E R R F
gg .,'='5 Model R Size(mm) Stud bolts Shim Pin Pressure plate] Wrench Inserts
alb|L|[n|f]e (- ¥ 4 ~ ©
MRDNN2020K12C 20 | 20 |125| 20 | 10 | 32 Ve
* MRDNN2525M12C 25 | 25 |150| 25 |12.5| 32
R12BM MLP46 MC620 S3 RN..1204..
* MRDNN3225P12C 32|25 (170 32| 6 | 32 VS
MRDNN3232P12C 32 | 32 (170 32 | 20 | 32
ﬁl—i % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|h|f]|e < V4 ™~
MRDNN2020K12Z 20 | 20 |125| 20 | 10 | 32
DM6X25
MRDNN2525M12Z 25 | 25 [150| 25 |12.5| 32 R12BM TMEX17 C1RD s3 RN..1204
MRDNN3225P12Z 32 |25 |170| 32 | 10 | 32 OMEX28 - -
MRDNN3232P12Z 32|32 (170| 32 | 20 | 32
o TR fl: 1#f MRDNN 2525M12C o JIREEMITH
k" SRRAERETR
® Ordering Example:1pcs MRDNN 2525M12C  * R=right hand L= left hand ® Inserts need to be ordered separately

® "[]"indicates standing stock

011



EE(@ 4N [& JT1#FIIExternal Tool Holder

gl\ Eﬁ” 73 1::|: ( Mﬂ ) External turning tool holder (M type) gl\ E\E’U 7] 1::|: ( Mil:lg) External turning tool holder (M type)

r\?ﬁj R 45° ﬁ R 75°
Main deflection Main deflection
< © angle 45° < m' angle75°
45° MSDN.. ; 75° MSBN..
‘@ . 1 & 4
A/Zs"e vl e L
L
R Size(mm) Wkdge | nm | #4e | ER | RE | DK o = RgSize(mm) whge | N2 [ @ | ER RE | DA
1] =] Stud bolts Shim Pin Pressure plate Wrench Inserts Model ud bolts im in ul renc! nserts
& S Model alb|L|n]|f]e P ~ Y > ~ B = alb|L|n|f]e 7 =] ¥ 4 » ~_ o
* MSDNN1616H09C 16 | 16 |100| 16 | 8 | 35 MS520 S09BM MLP34L MC515 S$2,82.5 SN..0903.. * MSBNR/L1616H12C 16 | 16 |100| 16 | 13 | 32 MS620
* MSDNN2020K12C 20 | 20 |125| 20 | 10 | 35 — * MSBNR/L2020K12C 20 | 20 |125| 20 | 17 | 32 MS625
* MSDNN2525M12C 25| 25 |150| 25 [12.5] 35 S12BM MLP46 MC620 SN..1204.. * MSBNR/L2525M12C 25| 25 |150| 25 | 22 | 32 S12BM MLP46 MC620 SN..1204..
* MSDNN3232P12C 32 | 32 |170| 32 | 16 | 42 MS628 s3 * MSBNR/L3225P12C 32 | 25 |170| 32 | 22 | 32 e
* MSDNN2525M15C 25 | 25 |125| 25 |12.5] 42 MS625 * MSBNR/L3232P12C 32 |32 |170| 32 | 27 | 32 S3
MSDNN3225P15C 32 | 25 |170| 32 |12.5] 42 MS628 S15BM MLP58 MC622 SN..1506.. * MSBNR/L2525M15C 25 | 25 |150| 25 | 22 | 38 MS625
* MSDNN3232P15C 32 | 32 |{170| 32 | 16 | 42 MSBNR/L3225P15C 32 |25 |170| 32 | 22 | 38 S15BM MLP58 MC622 SN..1506..
* MSDNN3232P19C 32 | 32 |170| 32 | 16 | 42 MS835 S19BM MLP68 MC825 S4 SN..1906.. * MSBNR/L3232P15C 32|32 |170| 32 | 27 | 38 MS628
* MSBNR/L3232P19C 32 | 32 |170| 32 | 27 | 42
MS835 S19BM MLP68 MC825 S4 SN..1906..
R<Size(mm) WL ige ] G4 £ E ) ) F 7B * MSBNR/L4040R19C 40 | 40 [200| 40 | 35 | 42
§|_£ % Model Stu:;olts Sﬁm Pin Pfesﬁplate Wrench Inserts
a b L h f & ~ S %
’ g R Size(mm) Wi | I® | B8 | ER | ®RE | AR
MSDNN2020K12Z 20 | 20 [125| 20 | 10 | 35 S ;:FIIJ _,|=|5 Model Stud bolts Shim Pin Pressureplate | Wrench Inserts
MSDNN2525M12Z 25 | 25 |150| 25 |12.5| 35 S12BM TM6X17 C1RD SN..1204.. a b L h f e / u ’ ' ~ E]
MSDNN3232P12Z 32 | 32 |170| 32 | 16 | 42 - MSBNR/L1616H12Z 16 | 16 [100| 16 | 13 | 32 DM6X20
MSDNN2525M15Z 25 | 25 |125| 25 |12.5| 42 DM6EX28 MSBNR/L2020K12Z 20 | 20 |125| 20 | 17 | 32
MSDNN3225P15Z 32 | 25 |170| 32 |12.5| 42 S15BM TM8X21 C2RD SN..1506.. MSBNR/L2525M12Z 25| 25 |150| 25 | 22 | 32 DM6X25 S12BM TM6X17 C1RD SN..1204..
MSDNN3232P15Z 32 | 32 |170| 32 | 16 | 42 MSBNR/L3225M12Z 32 | 25 |150| 32 | 22 | 32 =
MSDNN3232P19Z 32|32 [170| 32 | 16 | 42 DM8X35 S19BM TM10X21 C5RD S4 SN..1906.. MSBNR/L3232P12Z 32 | 32 |170| 32 | 27 | 32 DM6X28
..‘LT»;_E.%ﬁU 114: MSDNN 2525M1ZC PY DH‘%EZE"I«TF@ MSBNR/L2525M152 25 25 150| 25 22 38 DM6X25
‘W BERERERER MSBNR/L3225P15Z 32 | 25 |170| 32 | 22 | 38 S15BM TM8X21 C2RD SN..1506..
® Ordering Example:1pcs MSDNN 2525M12C @ Inserts need to be ordered separately MSBNR/L3232P15Z 32 | 32 |170| 32 | 29 | 38 DM6X28
W - MSBNR/L3232P19Z 32 | 32 |170| 32 | 27 | 42
® "0l "indicates standing stock DM8X35 S19BM | TM10X21 | C5RD4 S4 SN..1906..
MSBNR/L4040R19Z 40 | 40 [200| 40 | 35 | 42

o T4 ~fl: 11 MSBNR 2525M12C 1 MSBNL 2525M12C *R=FF L=XLKF o JIRFEEMITH
k" SRIAEEER

® Ordering Example:1pcs MSBNR 2525M12C 1pcs MSBNL 2525M12C  * R=righthand L=left hand

Inserts need to be ordered separately

"[1 "indicates standing stock

012 013



[

SNEZEHI T

(MZ2)

External turning tool holder (M type)

SNRIZEHITIN (M)

4N [& JT1#FIIExternal Tool Holder

External turning tool holder (M type)

Fiwea 75° 1 Fimey 75°
© Main deflection < © Main deflection
angle 75° angle 75°
93° MSKN.. 75° MSRN.. —
o © a
o ,
L % L ]
R<FSize(mm) PUBS: Y2 7B H £] E ] R F 7R R<JSize(mm) WLt ) i £] E ) | F VAN
il_l % Model Stud bolts Shim Pin Pressure plate | Wrench Inserts gl_! % Model Stud bolts Shim Pin Pressure plate | Wrench Inserts
a|b|L|h|f]|e 7 a ¥ 4 » ~ & a|b|L|h| f|le 7 = ¥ 4 » ~ &)
* MSKNR/L1616H12C 16 | 16 [100| 16 | 20 | 32 MS620 * MSRNR/L1616H12C 16 | 16 |[100| 16 | 17 | 36 MS620
* MSKNR/L2020K12C 20 | 20 [125| 20 | 25 | 32 Ve * MSRNR/L2020K12C 20 | 20 [125| 20 | 22 | 36 VEES
* MSKNR/L2525M12C 25 | 25 |150| 25 | 32 | 32 S12BM MLP46 MC620 SN..1204.. * MSRNR/L2525M12C 25 | 25 [150| 25 | 27 | 36 S12BM MLP46 MC620 SN..1204..
* MSKNR/L3225P12C 32| 25 |170| 32 | 32 | 32 * MSRNR/L3225P12C 32 | 25 [170| 32 | 27 | 36
MS628 S3 MS628 S3
* MSKNR/L3232P12C 32 | 32 |170| 32 | 40 | 32 * MSRNR/L3232P12C 32 | 32 [170| 32 | 35 | 36
* MSKNR/L2525M15C 25 | 25 (150| 25 | 32 | 38 MS625 * MSRNR/L2525M15C 25 | 25 [150| 25 | 27 | 40 MS625
MSKNR/L3225P15C 32 | 25 |170| 32 | 32 | 38 e S15BM MLP58 MC622 SN..1506.. MSRNR/L3225P15C 32 | 25 [170| 32 | 27 | 40 e S15BM MLP58 MC622 SN..1506..
* MSKNR/L3232P15C 32 | 32 |170| 32 | 40 | 38 * MSRNR/L3232P15C 32 | 32 ({170 32 | 35 | 40
* MSKNR/L3232P19C 32 | 32 |170| 32 | 40 | 45 * MSRNR/L3232P19C 32 | 32 [170| 32 | 35 | 45
MS835 S19BM MLP68 MC825 S4 SN..1906.. MS835 S19BM MLP68 MC825 S4 SN..1906..
*x MSKNR/L4040R19C 40 | 40 [200| 40 | 40 | 45 * MSRNR/L4040R19C 40 | 40 |200| 40 | 35 | 45
R~ Size(mm) PUBS: g 7] B H & E )R w® F 7R R~ Size(mm) Xkt 7B #H £J E R | F 7R
g-g % Model Stud bolts Shim Pin Pressure plate Wrench Inserts il_] % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
a|b|L|h|f]|e 7 2 y 4 > I~ O a|b|L|h|f]|e /7 2 ¥ 4 » I~ o
MSKNR/L1616H12Z 16 | 16 [100| 16 | 20 | 32 DM6X20 MSRNR/L1616H12Z 16 | 16 |100| 16 | 17 | 36 DM6X20
MSKNR/L2020K12Z 20 | 20 [125| 20 | 25 | 32 RS MSRNR/L2020K12Z 20 | 20 [125| 20 | 22 | 36 S
MSKNR/L2525M12Z 25 | 25 |150| 25 | 32 | 32 S12BM TM6X17 C1RD SN..1204.. MSRNR/L2525M12Z 25 | 25 |150| 25 | 27 | 36 S12BM TM6X17 C1RD SN..1204..
MSKNR/L3225M12Z 32| 25 |150| 32 | 32 | 32 MSRNR/L3225M12Z 32 | 25 [150| 32 | 27 | 36
DM6X28 S3 DM6X28 S3
MSKNR/L3232P122 32 |32 |170| 32 | 40 | 32 MSRNR/L3232P12Z 32|32 |170| 32 | 35 | 36
MSKNR/L2525M15Z 25 | 25 (150| 25 | 32 | 38 DM6X25 MSRNR/L2525M15Z 25 | 25 [150| 25 | 27 | 40 DM6X25
MSKNR/L3225P15Z 32 |25 |170| 32 | 32 | 38 SR S15BM TM8X21 C2RD SN..1506.. MSRNR/L3225P15Z 32 | 25 [170| 32 | 27 | 40 S S15BM TM8X21 C2RD SN..1506..
MSKNR/L3232P15Z 32 | 32 |170| 32 | 40 | 38 MSRNR/L3232P15Z 32 | 32 ({170 32 | 35 | 40
MSKNR/L3232P19Z 32 | 32 |170| 32 | 40 | 45 MSRNR/L3232P19Z 32 | 32 [170| 32 | 35 | 45
DM8X35 S19BM TM10X21 C5RD S4 SN..1906.. DM8X35 S19BM TM10X21 C5RD S4 SN..1906..
MSKNR/L4040R19Z 40 | 40 [200| 40 | 50 | 45 MSRNR/L4040R19Z 40 | 40 |200| 40 | 35 | 45
o T 5"l 1 MSKNR 2525M12C 1 MSKNL 2525M12C *R=AF L=KF o JIFEEMITHY o TR fl: 1 MSRNR 2525M12C 1 MSRNL 2525M12C * R=HFF L=XkKF o JIREEMITH
ok SRINEEETR ® k7 SRINERBER
® Ordering Example:1pcs MSKNR 2525M12C 1pcs MSKNL 2525M12C  * R=righthand L= left hand ® Ordering Example:1pcs MSRNR 2525M12C 1pcs MSRNL 2525M12C  * R=righthand L= left hand
® |nserts need to be ordered separately ® |nserts need to be ordered separately
® "[] "indicates standing stock ® "[] "indicates standing stock

014 015



EE(@ 4N [& JT1#FIIExternal Tool Holder

gl\ Eﬁ” 73 1::|: ( Mﬂ ) External turning tool holder (M type) gl\ E\E’U 7] 1::|: ( Mil:lg) External turning tool holder (M type)

] E{ffa 45° - *{Rf 60°
= © Main defiecion - ‘ o Main deficton
45° MSSN.. 60° MTEN.. €
— Nel «_L —
(« R ) s
£ - o) B - -
e L - e L
R<tSize(mm) WL igte I H 5] £ R R F 7R RFSize(mm) PSS Y VAN H 5T £ R R F 7R
il_] _% Model Stud bolts Shim Pin Pressure plate Wrench Inserts ﬂ % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|h|f]|e 7 a y 4 [ ~ () alb|L|h|f]|e V4 A ¥ 4 i) ~_ /A
* MSSNR/L1616H09C 16 | 16 |100| 16 | 20 | 28 S3 *x MTENN1616K16C 16 | 16 |100| 16 | 8 | 32 MS620
MS520 S09BM MLP34 MC515 SN..0903..
* MSSNR/L2020K09C 20 | 20 [125| 20 | 25 | 28 S2 * MTENN2020K16C 20 | 20 [125| 20 | 10 | 32 Ve T ey S2 -
*x MSSNR/L1616H12C 16 | 16 [100| 16 | 20 | 32 MS620 * MTENN2525M16C 25 | 25 |150| 25 |12.5| 32 VG620 S3 - -
* MSSNR/L2020K12C 20 | 20 |125| 20 | 25 | 32 — * MTENN3232P16C 32|32 |170| 32 | 14 | 32
* MSSNR/L2525M12C 25|25 [150| 25 | 32 | 32 S12BM MLP46 MC620 SN..1204.. * MTENN3232P22C 32|32 [170| 32 | 16 | 38 MS628
T22BM MLP46 S3 TN..2204..
MSSNR/L3225P12C 32|25 |170| 32 | 32 | 32 s3 MTENN4040R22C 40 | 40 |200| 40 | 20 | 38
* MSSNR/L3232P12C | 32 | 32 |170| 32 | 40 | 32 | ™“S628
* MSSNR/L2525M15C 25 | 25 |150| 25 | 32 | 38 MS625 RT_]'SIZe(mm) E%Eﬁ 7] @ EF"L\/\%‘E' Tﬁ@ﬁ?}fﬁi H—j ES 7] J=IL
MSSNR/L3225P15C 32|25 |170| 32 | 32 | 38 S15BM MLP58 MC622 SN..1506.. ﬂ % Model Stud bolts Shim Center pin "’)Vrgggg'sehga?g Wrench Inserts
MS628 ‘ a8 "' ~ A
* MSSNR/L3232P15C 32|32 |170| 32 | 40 | 38 a|b|L|h|f]e < -
* MSSNR/L3232P19C 32 | 32 |170| 32 | 40 | 42 . Y WTENN1616K16C 16 | 16 |100| 16 | 8 | 32
* MSSNR/L4040R19C | 40 | 40 | 200 40 | 50 | 42 ° MLPE8 | MC825 S4 SN..1906.. WTENN2020K16C 20 | 20 |125| 20 | 10 | 32 | wcss25 | T16BM | CCP33 | WCT16 | S2,83 | TN..1604..
WTENN2525M16C 25 | 25 [150| 25 [12.5] 32
R~fSize(mm) PSS J] & 5 5T E R w®F N ® TR % : 1 MTENN 2525M16C ® JI R FEIMITI
g'g -% Model Stud bolts Shim Pin Pressure plate Wrench Inserts 0k ERTEEETRL
alb|L|h| f]|e P (=] y 4 > ~_ ) .
MSSNR/L1616H09Z 16 | 16 |100| 16 | 20 | 28 s3 :Orde”ngExamp'e'1p°5MTENN2525M1GC
DM5X20 S09BM MLP34 CORD SN..0903.. Inserts need to be ordered separately
MSSNR/L2020K09Z 20 | 20 [125] 20 | 25 | 28 S2 ® " "indicates standing stock
MSSNR/L1616H12Z 16 | 16 |100| 16 | 20 | 32 DM6X20
MSSNR/L2020K12Z 20 | 20 [125| 20 | 25 | 32
MSSNR/L2525M12Z 25| 25 [150| 25 | 32 | 32 DM6X25 S12BM MLP46 C1RD SN..1204..
MSSNR/L3225M12Z 32|25 |150| 32 | 32 | 32
MSSNR/L3232P12Z 32|32 |170| 32 | 40 | 32 DM6X28 =
MSSNR/L2525M15Z 25 | 25 [150| 25 | 32 | 38 DOMEX25
MSSNR/L3225P15Z 32|25 |170| 32 | 32 | 38 S15BM MLP58 C2RD SN..1506..
MSSNR/L3232P15Z 32 | 32 |170| 32 | 40 | 38 DM6X28
MSSNR/L3232P19Z 32|32 |170| 32 | 40 | 42
DM8X35 S19BM MLP68 C5RD sS4 SN..1906..
MSSNR/L4040R19Z 40 | 40 |200| 40 | 50 | 42
o iT R fl: 11 MSSNR 2525M12C 1 MSSNL 2525M12C * R=HFF L=£F o JIRFEMITH

o X’ SRRBEET

® Ordering Example:1pcs MSSNR 2525M12C 1pcs MSSNL 2525M12C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock

016 017



[

SNEZEHI T

J]
( Mg: ) External turning tool holder (M type)

90° MTFN..

90,

Fimea 90°
Main deflection
angle 90°

2

=

R~ Size(mm) XLiRte 7] & 5 5 W F 7R
;:FIU _.l=l5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|nh]f]e 7 = ¥ 4 ~ YN
*x MTFNR/L1616H16C 16 | 16 |100| 16 | 20 | 32 MS620
* MTFNR/L2020K16C 20 | 20 [125] 20 | 25 | 32 VS625 o
* MTFNR/L2525M16C 25| 25 [150| 25 | 32 | 32 T16BM MLP34 <3 TN..1604..
MTFNR/L3225P16C 32|25 |170| 32 | 32 | 32
MS628 MC620
* MTFNR/L3232P16C 32|32 |170| 32 | 40 | 32
* MTFNR/L2525M22C 25| 25 [150| 25 | 32 | 38 MS625
MTFNR/L3225P22C 32|25 |170| 32 | 32 | 38 VS628 T22BM MLP46 S3 TN..2204..
* MTFNR/L3232P22C 32|32 |170| 32 | 40 | 38
R<fSize(mm) W Eki2ie J] H 5] : R F A=Y
g-g % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
a|b|L|h|f]|e 7 a y 4 ~_ AN
MTFNR/L1616H16Z 16 | 16 [100| 16 | 20 | 32 | DM6X20
MTFNR/L2020K16Z 20 | 20 [125] 20 | 25 | 32
DM6X25 S2
MTFNR/L2525M16Z 25| 25 [150| 25 | 32 | 32 T16BM TM5X13 3 TN..1604..
MTFNR/L3225M16Z 32| 25 |150| 32 | 32 | 32
DM6X28 C1RD
MTFNR/L3232P16Z 32|32 |170| 32 | 40 | 32
MTFNR/L2525M22Z 25| 25 [150| 25 | 32 | 36 | DM6X25
MTFNR/L3225P22Z 32|25 |170| 32 | 32 | 36 OMEX28 T22BM TM6X17 sS3 TN..2204..
MTFNR/L3232P22Z 32| 32 |170| 32 | 40 | 36
o T RMl: 14 MTFNR 2525M16C 1% MTFNL 2525M16C * R=AF L=4KF o JIREEMITHY

oix” BERTEEER

® Ordering Example:1pcs MTFNR 2525M16C 1pcs MTFNL 2525M16C

® [nserts need to be ordered separately

® "[] "indicates standing stock

018

* R=right hand

L= left hand

4N [& JT1#FIIExternal Tool Holder

gl\ E\E’U 7] 1::|: ( Mil:lg) External turning tool holder (M type)

FmA90°
< © Main deflection
angle 90°
90° MTGN.. -
— 9 o S
, -
A L B
R Size(mm) XL i2te 7] B H 5 5 w® F VAN
ﬂ % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
a|b|L|h|f]e 7 a V 4 ~.
* MTGNR/L1616H16C 16 | 16 |100| 16 | 20 | 33 MS620
* MTGNR/L2020K16C 20 | 20 |125| 20 | 25 | 33 VGEAE -
* MTGNR/L2525M16C 25 | 25 [150| 25 | 32 | 33 T16BM MLP34 - TN..1604..
MTGNR/L3225P16C 32|25 |170| 32 | 32 | 33
MS628 MC620
* MTGNR/L3232P16C 32 | 32 |170| 32 | 40 | 33
* MTGNR/L2525M22C 25| 25 |150| 25 | 32 | 35 MS625
MTGNR/L3225P22C 32|25 |170| 32 | 32 | 35 VIEEAE T22BM MLP46 S3 TN..2204..
* MTGNR/L3232P22C 32|32 |170| 32 | 40 | 35
R~FSize(mm) PSS S A 8 5T 3 R F R
il_] % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
a|b|L|h|  f|e 4 & y 4 ~
MTGNR/L1616H16Z 16 | 16 |100| 16 | 20 | 33 DM6X20
MTGNR/L2020K16Z 20 | 20 (125| 20 | 25 | 33
DM6X25 S2
MTGNR/L2525M16Z 25| 25 |150| 25 | 32 | 33 T16BM TM5X13 - TN..1604..
MTGNR/L3225M16Z 32 | 25 |150| 32 | 32 | 33
DM6X28 C1RD
MTGNR/L3232P16Z 32|32 |170| 32 | 40 | 33
MTGNR/L2525M22Z 25| 25 |150| 25 | 32 | 35 DM6X25
MTGNR/L3225P22Z 32 | 25 |170| 32 | 32 | 35 R T22BM TM6X17 S3 TN..2204..
MTGNR/L3232P22Z 32 | 32 |170| 32 | 40 | 35
o TR fl: 1 MTGNR 2525M16C 1 MTGNL 2525M16C * R=HF L=£F o JIRT/EMITM
k" SRANEEER
® Ordering Example:1pcs MTGNR 2525M16C 1pcs MTGNL 2525M16C  * R=righthand L= left hand

® |nserts need to be ordered separately

® "[] "indicates standing stock




EE(@ 4N [& JT1#FIIExternal Tool Holder

gl\ Eﬁ” 73 1::|: ( Mﬂ ) External turning tool holder (M type) gl\ E\E’U 7] 1::|: ( Mil:lg) External turning tool holder (M type)

F{meg 93° 1 *{mea 93°
< © Main deflection < © Main deflection
angle 93° angle 93°
< o
93° MTJN.. Al | 93° MTJUN..P
< Aef\_ - <
N ® N } 9 IR
937 - % 77 93 <= @_‘
e L e L —
R Size(mm) XL i2 A 7] & 5 & wmF 7R R Size(mm) XL i2he 7] & 5 E w®F 7 R
FIIJ _,|=|5 Model Stuizoﬂs Shim ? F’res?plate Wrench InKts ;__:[2 % Model Stuyolts Shim ? Presﬁplate Wrench Inserts
a|b|L|h|f]|e - ~ alb|L|h|f]|e - ~
* MTJNR/L1616H16C 16 | 16 [100| 16 | 20 | 33 MS620 MTJNR/L2020K16P 20 | 20 |125| 20 | 25 | 33 DM6X25 2
* MTJNR/L2020K16C 20 | 20 |125| 20 | 25 | 33 T . MTJINR/L2525M16P 25 | 25 |150| 25 | 32 | 33 ST T16BM TM5X13 C1RD = TN..1604..
* MTJNR/L2525M16C 25| 25 |150| 25 | 32 | 33 T16BM MLP34 - TN..1604.. MTJNR/L3225P16P 32 | 25 |170| 32 | 32 | 33
* MTJNR/L3225P16C 32 | 25 |170| 32 | 32 | 33 MTJNR/L2525M22P 25 | 25 |150| 25 | 32 | 36
MS628 DM6X30 T22BM TM6X17 C2RD S3 TN..2204..
* MTJNR/L3232P16C 32 |32 |170| 32 | 40 | 33 MC620 MTJNR/L3225P22P 32 | 25 |170( 32 | 32 | 36
* MTJNR/L2525M22C 25 | 25 |150| 25 | 32 | 36 MS625 o T Ml : 1 MTINR 2525M16 14 MTINL 2525M16 *R=BEF L=£TF ° JIEEEMITH
MTJNR/L3225P22 32 | 25 |170| 32 | 32 | 36 Ca Y O
* J /L3225 c T22BM MLP46 S3 TN..2204.. ® SERRBEER
* MTJNR/L3232P22C 2 ) 2 ) L) S ] L) e R ® Ordering Example:1pcs MTINR 2525M16 1pcs MTJUNL 2525M16  * R=right hand L=left hand
* MTJNR/L4040R22C 40 | 40 |200| 40 | 50 | 36 ® |nserts need to be ordered separately
® "[] "indicates standing stock
R<FSize(mm) ERiR 7] b | BEER | R F VAN
;__:F.g _% Model Stud bolts Shim Center pin ‘{j"rggggfehgafg Wrench Inserts —
alb|L|h|f e i s 4 - ~ AN T‘?‘ *{Rf 105°
* WTJIJNR/L1616K16C 16 | 16 [100| 16 | 20 | 32 = © Me;rr:grfsf!]%cgion
* WTJNR/L2020K16C 20 | 20 |125| 20 | 25 | 32 °
s3 105° MTQN..
* WTJNR/L2525M16C 25|25 (150 25 | 32 | 32 WCS525 T16BM CCP33 WCT16 T TN..1604.. ,._| (©) = T
WTJINR/L3225P16C 32|25 |170| 32 | 32 | 32 ’ v [es
WTJNR/L3232P16C 32 |32 |170| 32 | 40 | 32 (= L
RS Wekigte | O m | %4 | ER | RE | DR A 2 Model R Size(mm) T | Bm | B | oo | Bk | P
;:F::U % Model Ize(mm) Stud bdlts Shim Pin Pressure plate Wrench Inserts a b L h f € / ‘ ’ ’ ~
alb|L|h|f]|e 7 a V 4 [ = VAN * MTQNR/L1616H16C 16 | 16 |100| 16 | 20 | 32 MS620
MTJNR/L1616H16Z 16 | 16 [100| 16 | 20 | 33 DM6X20 * MTQNR/L2020K16C 20 | 20 |125| 20 | 25 | 32 — -
MTJNR/L2020K16Z 20 | 20 |125| 20 | 25 | 33 S 52 * MTQNR/L2525M16C 25 | 25 |150| 25 | 32 | 32 T16BM MLP34 - TN..1604..
MTJINR/L2525M16Z 25|25 (150 25 | 32 | 33 T16BM TM5X13 @o TN..1604.. MTQNR/L3225P16C 32 | 25 |170| 32 | 32 | 32 R e
MTJNR/L3225M16Z 32 | 25 |150| 32 | 32 | 33 PR * MTQNR/L3232P16C 32 | 32 |170| 32 | 40 | 32
MTJINR/L3232P16Z 32 | 32 |170| 32 | 40 | 33 C1RD * MTQNR/L2525M22C 25 | 25 |150| 25 | 32 | 38 MS625
MTJNR/L2525M22Z 25 | 25 |150| 25 | 32 | 36 DM6X25 MTQNR/L3225P22C 32 | 25 |170( 32 | 32 | 38 . T22BM MLP46 S3 TN..2204..
MTJNR/L3225P22Z 32 | 25 |170| 32 | 32 | 36 MTQNR/L3232P22C 32 | 32 |170| 32 | 40 | 38
MTJINR/L3232P22Z 32|32 |170| 32 | 40 | 36 | DM6X28 T22BM TMexir s3 TN..2204.. x =
MTJINR/L4040R22Z 40 | 40 |200| 40 | 50 | 36 R<Size(mm) ExiEy 7] i | BRER wE K
1bolts i i Wedgesha
o T %Rl 11 MTINR 2525M16C 1 MTINL 2525M16C * R=HF L=X(KF e IR EEMITH A 5 Model Sludbels Shin Centerpin | e plate vr{f:ch Inserts
k" BREEEEL alb|L|h|f]|e . a & @ . AN
® Ordering E le:1 MTJINR 2525M16C 1 MTJNL 2525M16C R=righthand L=lefthand WTQNR/L1616K16C 16116 1001 16 ) 20| 32
rdering Example:1pcs pcs * R=right han = left han
® |nserts need to be ordered separately WTQNR/L2020K16C 20 | 20 [125| 20 | 25 | 32
® "[ "indicates standing stock WTQNR/L2525M16C 25 | 25 [150| 25 | 32 | 32 | WCS525 T16BM CCP33 | WCT16 S3 TN..1604..
WTQNR/L3225P16C 32 | 25 |170| 32 | 32 | 32
WTQNR/L3232P16C 32 |32 |170| 32 | 40 | 32

o T4l 1 MTQNR 2525M16C 1% MTQNL 2525M16C *R=/F L=kKF o JIREEMITH
®“k” SRAEEER
® Ordering Example:1pcs MTQNR 2525M16C 1pcs MTQNL 2525M16C  * R=righthand L= left hand @ Inserts need to be ordered separately

020 ® "[] "indicates standing stock 021



[

SNEZEHI T

J]
( Mﬁ: ) External turning tool holder (M type)

SNRIZEHITIN (M)

4N [& JT1#FIIExternal Tool Holder

External turning tool holder (M type)

FimM 93° \ FRf 117.5°
<| © Main deflection < © Main deflection
angle 93° angle 117.5°
93° MVJIN.. H 117° MVQN.. H
- () ° N >~ - ‘\ AN
i+ SN : *1
93 e . ' L -
R~FSize(mm) WL ige 7] & H & 3 w F kR R~FSize(mm) XL iRe VA tH & : w F kR
gg _.I=I5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts gg % Model Stud bolts Shim Pin Pressure plate Wrench Inserts
a|b|L|h|f]|e Ve -~ y 4 ~_ <7 a b |L|h|f]|e Ve - ¥ 4 ~_ Fo%
* MVJNR/L1616H16C 16 | 16 |100| 16 | 20 | 45 MS620 * MVQNR/L2020K16C 20 | 20 [125| 20 | 25 | 38 MS620 MC620 -
* MVJNR/L2020K16C 20 | 20 |125| 20 | 25 | 45 * MVQNR/L2525M16C 25 | 25 (150| 25 | 32 | 38 V16BM MLP34 VN..1604..
MS625 MS628 MC622 S3
* MVJNR/L2525M16C 25 | 25 [150| 25 | 32 | 45 S2 * MVQNR/L3232P16C 32 | 32 [170| 32 | 40 | 38
V16BM MLP34 MC624 VN..1604..
MVJNR/L3225P16C 32125 |170| 32 | 32 | 45 S3 ®iT# R %l: 14 MVQNR 2525M16C 1#£ MVQNL 2525M16C * R=HF L=£&F o NIAEEMITH
* MVJNR/L3232P16C 32 | 32 |170| 32 | 40 | 45 MS628 0k BETEEER
* MVJNR/L4040P16C 40 | 40 |170| 40 | 50 | 45 .
® Ordering Example:1pcs MVQNR 2525M16C 1pcs MVQNL 2525M16C  * R=right hand L= left hand
® |nserts need to be ordered separately
= R Size(mm) WL iRt 7 &8 H & E R w® F 7R ¢ "D "indicates standing stock
9:F=J = Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alblL|lh|f e P4 < V4 ~ Lo
MVJNR/L1616H16Z 16 | 16 [100| 16 | 20 | 45 DM6X20
MVJNR/L2020K16Z 20 | 20 |125| 20 | 25 | 45 S
MVJINR/L2525M16Z 25 | 25 |150| 25 | 32 | 45 S2
—————— V16BM TM5X13 C3RD VN..1604..
MVJINR/L3225P16Z 32 | 25 |170| 32 | 32 | 45 S3
MVJNR/L3232P16Z 32 |32 |170| 32 | 40 | 45 DM6X28
MVJNR/L4040P16Z 40 | 40 |170| 40 | 50 | 45
o] Rf: 14 MTIJNR 2525M16C 1 MTJNL 2525M16C * R=HFF L=XkKF o JIREEMITH
k" SRREERER R 72.5°
Main deflection
® Ordering Example:1pcs MTINR 2525M16C 1pcs MTJNL 2525M16C  * R=right hand L= left hand r' © angle 72.5°
® |nserts need to be ordered separately o )
® "[] "indicates standing stock 712" 300 MVVN.. L —
72° 30' -
L
= RfSize(mm) L2 IR H 5T E R w F 7R
9__4:2 = Model Stud bolts Shim Pin Pressureplate | Wrench Inserts
alb|lL|nh|fle P 4 e_ y 4 ~ %
* MVVNN1616H16C 16 | 16 [100| 16 | 8 | 45 MS620
* MVVNN2020K16C 20 | 20 [125| 20 | 10 | 45 e
* MVVNN2525M16C 25 | 25 |150| 25 |12.5| 45 V16BM MLP34 MC624 52 VN..1604..
* MVVNN3225P16C 32 | 25 [170| 32 | 16 | 45 e S3
* MVVNN3232P16C 32 | 32 [170| 32 | 20 | 45

o T4 Rf: 11 MVVNR 2525M16C 1 MVVNL 2525M16C * R=HF L=KkKF o JIREEMITH

k" SRRERER
® Ordering Example:1pcs MVVNR 2525M16C 1pcs MVVNL 2525M16C

® |nserts need to be ordered separately
® "[] "indicates standing stock

*R=righthand L=left hand

022 023



EE@) 4N [& JT1#FIIExternal Tool Holder

QFE\E’UBH (M:I;:Fg) External turning tool holder (M type) gl\E\E’UDH (P:I;FE) External turning tool holder (P type)

- EiRfy 75°
< ® iﬁ% 95.0 L@\@ < Mainglefléeg‘t’ion
Maér:]gleeﬂggyon y angle
e
95° MWLN ‘@‘\. - 75° PCBN.. L -
a SN
Y a ‘* ? "FT
- = © - |
% —
L =
. S ™~ ﬂ = M [ RTISize(mm) Eﬁ%ﬂv Jghir*n:& $I£v1e:r|: g%ci)pfﬁ \T)\/irei Ijr?sei
R<tSize(mm) Wkige | DB | g | EBER | RF e = Mode alb|L|n|fle| ¢ e - N ~
;:FIIJ _.I=I5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts — -
alb|L|h| f]|e g a y 4 [ ~ * PCBNR/L2020K12C 20 | 20 [125| 20 | 17 | 27
* MWLNR/L1616H06C 16 | 16 [100| 16 | 20 | 30 - * PCBNR/L2525M12C 25| 25 |150| 25 | 22 | 27 MCS821 C12BP L4 SP4 CN..1204..
* MWLNR/L2020K06C 20 | 20 |125] 20 | 25 | 30 MS520 WO06BM | MLP34 MC515 o5 WN..0604.. * PCBNR/L3232P12C 32 | 32 |170| 32 | 27 | 32 s
* MWLNR/L2525M06C 25 | 25 [150| 25 | 32 | 30 ’ * PCBNR/L2525M16C 25| 25 |150| 25 | 22 | 33
* MWLNR/L1616H08C 16 | 16 [100| 16 | 20 | 30 * PCBNR/L3232P16C 32|32 |170| 32 | 27 | 33 | MCS825 C16BP L5 SP5 CN..1606..
* MWLNR/L2020K08C 20 | 20 |125] 20 | 25 | 30 MS625 PCBNR/L4040S16C 40 | 40 |250| 40 | 35 | 33
* MWLNR/L2525M08C 25 | 25 [150| 25 | 32 | 35 * PCBNR/L3232P19C 32 | 32 (170| 32 | 27 | 38
* MWLNR/L3225P08C 32|25 |170| 32 | 32 | 35 YWosBM MLPa6 MC620 ss VWN..0804.. * PCBNR/L4040S19C 40 | 40 |250| 40 | 35 | 38 Mes1o027 C198P Lo SPo s CN.-1906..
* MWLNR/L3232P08C 32 | 32 |170| 32 [ 40 | 35 MS628 PCBNR/L4040S2507C | 40 | 40 (250 40 | 35 | 50 MCS1236 C25BP s P8 o5 CN..2507..
* MWLNR/L4040P08C 40 | 40 |200| 40 | 50 | 35 PCBNR/L4040S2509C | 40 | 40 |250| 40 | 35 | 50 C25BP09 CN..2509..
® JT#Rfl: 144 PCBNR 2525M12C 1 PCBNL 2525M12C * R=H(F L=kKF o JIRFEMITH
R~FSize(mm) WL ige ) E aalls=c %‘éedﬁégt)di & F 7R ® X" SRIREER
7 £ Model Sl btk <Tillic Centerpin | Lo diopae | Wrench Inserts @ Ordering Example:1pcs PCBNR 2525M12C 1pcs PCBNL 2525M12C  *R=righthand L= lefthand  ® Inserts need to be ordered separately
alb L |h f e / = # @ ~—~ ® "[] "indicates standing stock
WWLNR/L2020K06C 20 | 20 |100| 20 | 25 | 32 WO06BM | CCP33 WCWO06 S2.5 WN..0604..
* WWLNR/L2020K08C 20 | 20 [100| 20 | 25 | 32
WCS625 s3 .
* WWLNR/L2525M08C 25| 25 [150| 25 | 32 | 32 W08BM CCP34 WCWO08 WN..0804.. EfRf 95
S4 — 2 Main deflection
WWLNR/L3232P08C 32 | 32 |170| 32 | 40 | 32 angle 95°
o g?;
95° PCLN.. A ]
R~ Size(mm) W EkiZ24e 7] H & £ iR & F 7R
;::F.g _% Model Stu;;olts Sgn ? Presgplate Wrench Inzgts AFé‘ ?
a|b|L|h|f]|e ~ .t:l ©
MWLNR/L1616H06Z 16 | 16 [100| 16 | 20 | 30 -
MWLNR/L2020K06Z 20 | 20 |125| 20 | 25 | 30 | DM5X20 WO06BM | TM5X13 C1RD s WN..0604.. R<Size(mm) KTATIRET S AT T wE K
MWLNR/L2525M06Z 25| 25 |150| 25 | 32 | 30 ;__:Fg _,|=|5 Model Lever screw ihl.m Lever St(;Pln Wrench In@ts
MWLNR/L1616H08Z 16 | 16 [100| 16 | 20 | 30 | DM6X20 alb L ihf e o ad | ~
MWLNR/L2020K08Z 20| 20 [125| 20 | 25 | 30 PCLNR/L1616H09C 16 | 16 |100| 16 | 20 | 20
MWLNR/L2525M082 | 25 | 25 |150| 25 | 32 | 35 | D°M6*25 PCLNR/L2020K09C 20 | 20 [125] 20 | 25 | 22| MCS617 | CO9BP L3 SP3 $2.5 | CN..0903..
MWLNR/L3225P08Z 32 | 25 |170| 32 | 32 | 35 WOSBM | TMex17 | C1RD s3 WN.-0804.. PCLNR/L2525M09C 25| 25 |150| 25 | 32 | 22
MWLNR/L3232P08Z 32 (32 |170| 32 | 40 | 35 | DM6X28 * PCLNR/L2020K12C 20 | 20 |125| 20 | 25 | 28
MWLNR/L4040P08Z 40 | 40 |200] 40 | 50 | 35 * PCLNR/L2525M12C 25 | 25 [150| 25 | 32 | 33 MCS821 C12BP L4 P4 CN.1204
® TR fl: 1 WWLNR 2525M08C 1+ WWLNL 2525M08C * R=%/F L=4kF o JIAFEMITY PCLNR/L3225P12C 3225170\ 92 ) 921 33 “ ”
Ve B - AF@RBITE * PCLNR/L3232P12C 3232|170 32 | 40 | 33
° SRTNERER sS3
. . * PCLNR/L2525M16C 25 | 25 (150| 25 | 32 | 33
: Ordering Example:1pcs WWLNR 2525M08C 1pcs WWLNL 2525M08C R=righthand L= left hand PCLNR/L3225P16C 32 | 25 (170! 32 | 32 | 33
Inserts need to be ordered separately MCS825 C16BP L5 SP5 CN..1606..
® "[] "indicates standing stock * PCLNR/L3232P16C 32| 32 |170| 32 | 40 | 33
PCLNR/L4040S16C 40 | 40 |250| 40 | 50 | 38
* PCLNR/L3232P19C 32|32 |170| 32 | 40 | 38
MCS1027 C19BP L6 SP6 sS4 CN..1906..
* PCLNR/L4040S19C 40 | 40 |250| 40 | 50 | 38
PCLNR/L4040S2507C | 40 | 40 |250| 40 | 50 | 48 C25BP CN..2507..
MCS1236 L8 SP8 S5
PCLNR/L4040S2509C | 40 | 40 |250| 40 | 50 | 48 C25BP09 CN..2509..
JT# R %1: 1 PCLNR 2525M12C 14 PCLNL 2525M12C * R=/F L=KF o JIKNEEMITH

“k7 SRNEEER
Ordering Example:1pcs PCLNR 2525M12C 1pcs PCLNL 2525M12C * R=righthand L= left hand
Inserts need to be ordered separately e "[ "indicates standing stock 025

024



[

SNEZEHI T

(P

AU

HNEZEHI T

(PR)

4N [& JT1#FIIExternal Tool Holder

=t External turning tool holder (P type) External turning tool holder (P type)
FRA 93° ) FRAE 75°
“_L A) 2 Main dleflgé:tion “_L@ < Ma;r:]gleeﬂ?gzion
© v angle 93° S
[o/ ]
93° PDJN.. e L — 75° PSBN.. e 1 —
Al ; ~ .
‘] . - - - - o]
] P
R~FSize(mm) FLAFIRET VARE:] T #F =l R F R RFSize(mm) FLAFIRET o) E4 T+ X R F VAN
il_] % Model Lever screw Shim Lever Stop pin Wrench Inserts ﬁg % Model Lever screw %}é;n Lever Stop pin Wrench Inserts
a|b|L|h|f]e o <> | ) N ~. /7 alb|L|h|f]|e o | | ~ (o]
* PDJNR/L1616H11C 16 | 16 [100| 16 | 20 | 25 PSBNR/L1616H09C 16 | 16 |100| 16 | 13 | 21
MCS617 S09BP L3 SP3 S2.5 SN..0903..
* PDJNR/L2020K11C 20 | 20 [125| 20 | 25 | 25 | MCS617 D11BP L3 SP3 S2.5 DN..1104.. PSBNR/L2020K09C 20 | 20 [125| 20 | 17 | 23
* PDJNR/L2525M11C 25 | 25 [150| 25 | 32 | 30 * PSBNR/L2020K12C 20 | 20 |125| 20 | 17 | 28
* PDJNR/L2020K15C 20 | 20 [125| 20 | 25 | 35 * PSBNR/L2525M12C 25 | 25 |150| 25 | 22 | 28
MCS821 S12BP L4 SP4 SN..1204..
* PDJNR/L2525M15C 25| 25 |150| 25 | 32 | 35 L4B DN..1506.. PSBNR/L3225P12C 32 | 25 |170| 32 | 22 | 28 s
* PDJNR/L3232P15C 32 | 32 |170| 32 | 40 | 35 * PSBNR/L3232P12C 32 | 32 (170| 32 | 27 | 32
MCS821 D15BP SP4 S3
* PDJNR/L2020K1504C | 20 | 20 [125| 20 | 25 | 35 * PSBNR/L2525M15C 25| 25 |150| 25 | 22 | 35
L4 MCS825 S15BP L5 SP5 SN..1506..
* PDJNR/L2525M1504C | 25 | 25 |150| 25 | 32 | 35 DN..1504.. * PSBNR/L3232P15C 32| 32 |170| 32 | 27 | 35
PDJNR/L3232P1504C | 32 | 32 [170| 32 | 40 | 35 * PSBNR/L3232P19C 32| 32 |170| 32 | 27 | 40
MCS1027 S19BP L6 SP6 S4 SN..1906..
e iT#R%l: 14 PDINR 2525M15C 11 PDJNL 2525M15C * R=HF L=A£F o JIAEEMITH * PSBNR/L4040S19C 40 | 40 [250| 40 | 35 | 40
o ‘X7 SRINEEER PSBNR/L4040S2507C | 40 | 40 |250| 40 | 35 | 48 MCS1236 S25BP L8 sPg S5 SN..2507..
e Ordering Example:1pcs PDJNR 2525M15C 1pcs PDJNL 2525M15C  * R=righthand L= left hand PSBNR/L4040S2509C | 40 | 40 |250| 40 | 35 | 48 S25BP09 SN..2509..
® Inserts need to be ordered separately ® iT#R%l: 11£ PSBNR 2525M12C 11 PSBNL 2525M12C * R=#/F L=X£F o JIAEEMITH
® "[] "indicates standing stock o ‘X’ EEFEEEL
® Ordering Example:1pcs PSBNR 2525M12C 1pcs PSBNL 2525M12C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
T EfRfs 62.5°
° Maln dofecton
o oL “_ EfRfE 45°
6 3 P D N N . ‘je L L@ © el Main Rcl;eflecgion
— ) angle 45
- — A5
c] & © 45° PSDN.. & L
I :
R<FSize(mm) FLAFERET 7] T #F =l R F 7R
ﬁl—i _% Model Lever screw Shim Lever Stop pin Wrench Inserts
alb|L|h|[f]e| o® < | 5 N = £/ m
. THFiE T m o
* PDPNN2020K15C 20 | 20 [125| 20 | 8 | 37 A 2 Model RfSize(mm) Tigs] | 7] & i ’g%pﬁﬁ yvirei DA
* PDPNN2525M15C 25 | 25 |150| 25 |12.5| 37 L4B DN..1506.. alblL|Ih!|fle ‘ﬁ’ B ™ N ~ B
PDPNN3232P15C 32| 32 |170| 32 | 16 | 37
MCS821 D15BP SP4 S3 * PSDNN2020K12C 20 | 20 |125] 20 | 10 | 30
PDPNN2020K1504C 20 | 20 |125) 20 | 8 | 37 ) * PSDNN2525M12C 25 | 25 [150| 25 |12.5| 30 | MCS821 S12BP L4 SP4 SN..1204..
PDPNN2525M1504C 25 | 25 |150| 25 |12.5| 37 DN..1504.. % PSDNN3232P12C 32 | 32 1701 32 | 16 | 35 sS3
PDPNN3232P1504C sz || 2 | (r] & | 16 | & PSDNN2525M15C 25 | 25 (150 25 |12.5| 35
- = N MCS825 S15BP L5 SP5 SN..1504..
® TR f: 14 PDPNN 2525M15C 1+ PDPNN 2525M15C o JIREFEEMITH PSDNN3232P15C 32 |32 |170| 32 | 16 | 40
® k" SERRBEERR PSDNN3232P19C 32 | 32 [170| 32 | 16 | 40
MCS1027 S19BP L6 SP6 S4 SN..1906..
® Ordering Example:1pcs PDPNN 2525M15C 1pcs PDPNN 2525M15C PSDNN4040R19C 40 | 40 |200| 40 | 20 | 40
® Inserts need to be ordered separately o iT#RHl: 1¢F PSDNN2525M12C 14 PSDNN 2525M12C o ITHESWHITH
® "[] "indicates standing stock €Ay oo — e
° SRRERER

® Ordering Example:1pcs PSDNN 2525M12C 1pcs PSDNN 2525M12C
"[J "indicates standing stock

026 027

® Inserts need to be ordered separately



EE(@ 4N [& JT1#FIIExternal Tool Holder

QFEﬁUEH (Pﬂ) External turning tool holder (P type) QFEﬁUBﬂ: (Pﬂ) External turning tool holder (P type)

Flm 75° R 90°
ol - © .o' Main deflection | <R ® ] Main deflection
N ° angle 75 g?, angle90

75° PSKN.. = i 7 90° PTFN.. - L = .
F ] = T ] a

R~FSize(mm) FLAFIRET o) 2 I+ B H R F 7R R~fSize(mm) FLFF4RET VAR ¥ #F (=] R F kR
gg _,|=|5 Model Lever screw Shim Lever Stop pin Wrench Inserts gg _,l=l5 Model Lever screw Shim Lever Stop pin Wrench Inserts
alb|L[h|[f]e]| o® [~} ' N ~ () alb|L][h[f]e| o* a ' N ~
PSKNR/L1616H09C 16 | 16 [100| 16 | 20 | 23 * PTFNR/L1616H16C 16 | 16 |100| 16 | 20 | 20
MCS617 S09BP L3 SP3 S2.5 SN..0903..
PSKNR/L2020K09C 20 | 20 |125] 20 | 25 | 23 * PTFNR/L2020K16C 20 | 20 [125| 20 | 25 | 20 | MCS617 T16BP L3 SP3 $2.5 TN..1604..
* PSKNR/L2020K12C 20 | 20 [125| 20 | 25 | 26 PTFNR/L2525M16C 25| 25 [150| 25 | 32 | 20
* PSKNR/L2525M12C 25 | 25 |150| 25 | 32 | 26 | MCS821 S12BP L4 SP4 SN..1204.. PTFNR/L2525M22C 25 | 32 |150| 25 | 32 | 30 VCS821 T228P s pa s TN, 2204
PSKNR/L3232P12C 32|32 |170| 32 | 40 | 30 S3 PTFNR/L3232P22C 32 | 32 [170| 32 | 40 | 30 N v
R e e e e Em 15 o S e T#Rfl: 14 PTFNR2525M16C  1#f PTFNL 2525M16C % R=#F L=%F o JIHBERITH
PSKNR/L3232P15C 32 | 32 |170| 32 | 40 | 36 o “k” EETEEEL
PSKNR/L3232P19C 32|32 170 32 | 40 | 36 | MCS1027 | S19BP L6 SP6 S4 SN..1906.. ® Ordering Example:1pcs PTFNR 2525M16C 1pcs PTFNL 2525M16C  * R=righthand L= left hand
® T fl: 11 PSKNR 2525M12C 1 PSKNL 2525M12C % R=HF L=K£F o JIREEMITH : ,',”s‘?,',”s need to be ordered separately
0 “k” BESEEES ] "indicates standing stock
® Ordering Example:1pcs PSKNR 2525M12C 1pcs PSKNL 2525M12C  * R=righthand L= left hand

® |nserts need to be ordered separately
® "[] "indicates standing stock
FRfa 45° (R 90°
b @ ° Ma;%gleeﬂfggion PJ_' °©\ < Ma;r:‘gleeﬂgeggion
° 454 0 B
75° PSSN.. & L 60° PTTN.. ° :
_ ﬁ—v J . ﬁ j
= @®
R~tSize(mm) FLATRET 72 T = w F 7R R<JSize(mm) FTATERET 7] 2 AT (= w F 7R
il_] _% Model Lever screw Shim Lever Stop pin Wrench Inserts il_] % Model Lever screw Shim Lever Stop pin Wrench Inserts
alb|L|h|f|le| o® = - N ~ () alb|L|n|f]e| ¢ a - N ~
PSSNR/L1616H09C 16 | 16 [100| 16 | 20 | 25 ORI SRR P e . . PTTNR/L1616H16C 16 | 16 |100| 16 | 13 | 25
PSSNR/L2020K09C 20 | 20 [125| 20 | 25 | 25 ’ v - * PTTNR/L2020K16C 20 | 20 [125| 20 | 17 | 25 MCS617 T16BP L3 SP3 S2.5 TN..1604..
* PSSNR/L2020K12C 20 | 20 |125| 20 | 25 | 30 PTTNR/L2525M16C 25 | 25 |150| 25 | 22 | 25
* PSSNR/L2525M12C 25 | 25 [150| 25 | 32 | 30 MCS821 S12BP L4 SP4 SN..1204.. ® TR fl: 1 PTTNR 2525M16C 1# PTTNL 2525M16C % R=HF L=£F o TEEEMITH
* PSSNR/L3232P12C 32 | 32 |170| 32 | 40 | 40 S3 o AT EELEEEE
* PSSNR/L2525M15C 2525150 25 32 ) 35 MCS825 S15BP L5 SP5 SN..1506.. ® Ordering Example:1pcs PTTNR 2525M16C 1pcs PTTNL 2525M16C  * R=right hand L= left hand
* PSSNR/L3232P15C 82|32 1170| 32 | 40 | 40 ® |Inserts need to be ordered separately
PSSNR/L3232P19C 32 | 32 |[170| 32 | 40 | 40 ® "] "indi i
PSSNR/L4040S 190 40 | 30 1250 40 | 50 | 5 | MCS1027 | st98P L6 SP6 s4 SN..1906.. | "indicates standing stock
PSSNR/L4040S2507C 40 | 40 [250| 40 | 50 | 50 Ve EEG S25BP L — 5 SN..2507..
PSSNR/L4040S2509C 40 | 40 [250| 40 | 50 | 50 S25BP09 SN..2509..
® JT#Rfl: 14 PSSNR 2525M12C 1#f PSSNL 2525M12C * R=HF L=KF ® NIRFEMITM
o “k” SRINERER

® Ordering Example:1pcs PSSNR 2525M12C 1pcs PSSNL 2525M12C  * R=righthand L=left hand
Inserts need to be ordered separately
"[] "indicates standing stock

028 029



[

030

SNEZEHI T

|
( Pﬁg) External turning tool holder (P type)

90° PTGN.. EA L

Ffwmm 90°

Main deflection
angle 90°

DEIRCEIJIAEBESKMIMEN

D-type,C-type tool holder type and processing forms

4N [& JT1#FIIExternal Tool Holder

R~FSize(mm) FLAFARET 7l & T #F 1 w F kR
;__:Fg _.|=|5 Model Lever screw Shim Lever Stop pin Wrench Inserts
alo[L|[n][f][e| o® Y - L ~ N
PTGNR/L1616H16C 16 | 16 | 100 16 | 20 | 20
20 | 20 |125| 20 | 25 | 20
* PTGNR/L2020K16C MCS617 T16BP L3 SP3 S2.5 TN..1604..
*x PTGNR/L2525M16C 25| 25 150 25 | 32 | 20
PTGNR/L3232P16C 32 | 32 |170| 32 | 40 | 20
PTGNR/L2525M22C 25 | 25 |150| 25 | 32 | 30
MCS821 T22BP L4 SP4 S3 TN..2204..
PTGNR/L3232P22C 32 | 32 |170| 32 | 40 | 30
® T4 fl: 114 PTGNR 2525M16C 1 PTGNL 2525M16C *R=HF L=%kKF o JIRFEMITH
o "k’ SRIEHER
® Ordering Example:1pcs PTGNR 2525M16C 1pcs PTGNL 2525M16C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
Fimea 95°
- < Main deflection
o angle 95°
o %
95° PWLN.. £ 1 7]
, D
Rl : =)
R~fSize(mm) FLATIRET ] T+ =] %E R F kR
;::F.g _% Model Lever screw Shim Lever Stop pin Wrench Inserts
alb|L|h|fle| o® a ' | ~
* PWLNR/L1616H06C 16 | 16 |100| 16 | 20 | 20
* PWLNR/L2020K06C 20 | 20 [125| 20 | 25 | 20 MCS617 WO06BP L3 SP3 S2.5 WN..0604..
* PWLNR/L2525M06C 25 | 25 |150| 25 | 32 | 25
* PWLNR/L2020K08C 20 | 20 |125| 20 | 25 | 28
* PWLNR/L2525M08C 25| 25 |150| 25 | 32 | 28 MCS821 WO08BP L4 SP4 S3 WN..0804..
* PWLNR/L3232P08C 32 | 32 |170| 32 | 40 | 28

® JTHRfl: 14 PWLNR 2525M12C 1 PWLNL 2525M12C * R=FF L=%KF o JIRTFEEMITH

o “k” SRINERER
® Ordering Example:1pcs PWLNR 2525M12C 1pcs PWLNL 2525M12C  * R=right hand

® |nserts need to be ordered separately
® "[] "indicates standing stock

L= left hand

DCLNR/L

DCBNRI/L

P32

DCKNRI/L

DDJNR/L

DDQNR/L

P35

P36

P44

72.5°
P39
CCLNR/L| CEGNR/L| CEQNR/L | CDJNR/L CRGNR/L | CSDNN
f
95°
P40 P40 P40 P42 P42
CSKNR/L| CSRNR/L CTJINR/L

031



4N [& JT1#FIIExternal Tool Holder

[

gl‘EﬁUﬂﬂ: (D;_—:Fé) QFEﬁUDH (Dﬁg) External turning tool holder (D type)

External turning tool holder (D type)

032

1w 95° > - Fme 75°
- ©, - Main dfflggyon 1.8 O Maianntélegl;egotion
angle b
o > o e
95° DCLN.. i 75° DCKN.. L
i TIERY, 7] & E R W OE 2 £ & F 7 R i Pak:L v 7] B E 1R 3 92 £ R F 7R
] = RJSize(mm) Shim screw Shim Pressure Spring Screws Wrench Inserts ] = RJSize(mm) Shim screw Shim Pressure Spring Screws Wrench Inserts
U iat U Jat
= = Model a|b|L|h|f]e g | & | > | A |~ | [ ESisibits alb|L|[n|f]e o B S ~ | [J
DCLNR/L2020K09C 20 | 20 |125| 20 | 25 | 24 DCKNR/L2020K12C 20 | 20 |125| 20 | 25 | 28
SM5X8.65XA1 | C09BM DC3230 | DC5812 DM525 S3 CN..0903..
DCLNR/L2525M09C 25 | 25 |150| 25 | 32 | 24 DCKNR/L2525M12C 25 | 25 |150| 25 | 32 | 28 | SM6X10XA1 C12BM DC5282 CN..1204..
* DCLNR/L2020K12C 20 | 20 [125| 20 | 25 | 28 DCKNR/L3232P12C 32|32 |170| 32 | 40 | 28 DC6812 DM625 S4
* DCLNR/L2525M12C 25 | 25 |150| 25 | 32 | 28 | SM6X10XA1 C12BM | DC5282 CN..1204.. DCKNR/L2525M16C 25| 25 |150| 25 | 32 | 38
SM6EX10XA2 C16BM DC6320 CN..1606..
* DCLNR/L3232P12C 32| 32|170| 32 | 40 | 28 DC6812 DM625 S4 DCKNR/L3232P16C 32 | 32 |170| 32 | 40 | 38
N R Nl N Rl N U gl [Py (R CN_1606.. oiT# R fl: 11 DCKNR 2525M12C 1# DCKNR 2525M12C * R=#/F L=%£F o JIAEEMITH
DCLNR/L3232P16C 32 | 32 |170| 32 | 40 | 38 e“k” ERRERER
3T/l : 11 DCLNR 2525M12C 1#£ DCLNR 2525M12C * R=HF L=£F o JILEEMiTH ® Ordering Example:1pcs DCKNR 2525M12C 1pcs DCKNL 2525M12C  * R=righthand L= left hand
0NN BEomerEr ® |nserts need to be ordered separately
® "[] "indicates standing stock
® Ordering Example:1pcs DCLNR 2525M12C 1pcs DCLNL 2525M12C  * R=righthand L=lefthand
® |nserts need to be ordered separately
® "[] "indicates standing stock
FRFA 75° - i ) (R 40°
]—ﬁ Mainngeflection L (((@3 'Dl Main"geflection
< © angle 75° angle40°
o o ‘@e\ L
75° DCBN.. ] - 40° DCMN..
a— u n~
EA -8 -] B
L P
<FSi PRl v 7] & E ] W OE 2 5] w F 7 R ~FSi JIERs AN E W] O 2 5] wF ANy
ﬂ % Model RTSlze(mm) Shim screw Shim Prglsastgre Spring Screws Wrench Inserts ﬂ % Model R‘_I‘Slze(mm) Sl seEw (She Prglsastgre Spring Screws Wrench Inserts
alb|L|n|fe o] Py N ~_ | [°] alb|L|h]|f]e g W ~ | [
DCBNR/L2020K12C 20 | 20 |125] 20 | 17 | 28 DCMNN2020K12C 20 | 20 [125| 20 | 10 | 28
DCBNR/L2525M12C 25 | 25 |150| 25 | 22 | 28 | SM6X10XA1 C12BM DC5282 CN..1204.. DCMNN2525M12C 25 | 25 |150| 25 [12.5| 28 | SM6X10XA1 C12BM DC5282 CN..1204..
DCBNR/L3232P12C 32|32 |170| 32 | 27 | 28 DC6812 DM625 S4 DCMNN3232P12C 32|32 |170| 32 | 16 | 28 DC6812 DM625 S4
25 | 25 (150 25 | 22 | 38 25 | 25 ({150| 25 |12.5| 38
DCBNR/L2525M16C SM6BX10XA2 C16BM DC6320 CN..1606.. BENRINeo2SHloe SM6EX10XA2 C16BM DC6320 CN..1606..
DCBNR/L3232P16C 32|32 |170| 32 | 27 | 38 DCMNN3232P16C 32 |32 (170| 32 | 16 | 38
o T4 ~fl: 14 DCBNR 2525M12C 1%+ DCBNR 2525M12C * R=HF L=AF o JIHEEMITH o] xfl: 1 DCMNN 2525M12C o JIREEMITH
o 'x’ SEREEER o ‘X’ SEREEER
® Ordering Example:1pcs DCBNR 2525M12C 1pcs DCBNL 2525M12C  * R=righthand L= left hand ® Ordering Example:1pcs DCMNN 2525M12C ® |Inserts need to be ordered separately

® |nserts need to be ordered separately

® "[] "indicates standing stock

® "[] "indicates standing stock

033



[

SNRZEHITIA (DE)

External turning tool holder (D type)

- QL R 93°
O Main deflection
angle 93°
o -/93"
93" DDJN.. e .
=
~FSi PRE: L4 Ip) i 3 o 12 57 R F ANy
Y _.I=I5 Model R‘_]’Slze(mm) Shim screw Shim P’S%Stgre Spring Screws Wrench Inserts
alb|L|h|f]|e ¥ 4 < - N & |~ Y4
DDJNR/L1616H11C 16 | 16 [100| 16 | 20 | 30
* DDJNR/L2020K11C 20 | 20 [125| 20 | 25 | 30 | SM5x8.65XA1 | D11BM DC5282 | DC5812 DM525 S3 DN..1104..
* DDJNR/L2525M11C 25| 25 |150| 25 | 32 | 30
* DDJNR/L2020K15C 20 | 20 |125| 20 | 25 | 35
* DDJNR/L2525M15C 25| 25 |150| 25 | 32 | 35 | SM6X10XA1 D15BM DC6320 | DC6812 DM625 S4 E:'::gi“
DDJNR/L3232P15C 32 |32 |170| 32 | 40 | 35 S
® T4 Rfl: 1 DDJNR 2525M15C 1+ DDJNL 2525M15C * R=/F L=£KF ® JIRT/EMITH
ok’ SKRRERER
® Ordering Example:1pcs DDJNR 2525M15C 1pcs DDJNL 2525M15C  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
- F{R 62.5°
Main deflection
- angle 62.5°
62. 5° DDPN.. L
= ©
<FSi TIBRY T & E )R = 12 7 R F VAN
| = R_J-Slze(mm) Shim screw Shim Pressure Spring Screws Wrench Inserts
g—i = Model plate
alb|L|nh|f]e & < | B N ~. |
DDPNN1616H11C 16 | 16 [100| 16 | 7 | 30
DDPNN2020K11C 20 | 20 [125] 20 | 8 | 30 | SM5x8.65XA1 | D11BM DC5282 | DC5812 DM525 S3 DN..1104..
DDPNN2525M11C 25| 25 |150| 25 |12.5| 30
* DDPNN2020K15C 20 | 20 |125]| 20 | 8 | 35
DDPNN2525M15C 25 | 25 |150| 25 |12.5| 35 | SM6X10XA1 D15BM DC6320 | DC6812 DM625 S4 E:‘::gj“
DDPNN3232P15C 32|32 [170| 32 | 16 | 35 T

® T xfl: 14 DDPNN 2525M15C o JIHEEMITH
k" SRRERER

® Ordering Example:1pcs DDPNN 2525M15C
® "[] "indicates standing stock

® Inserts need to be ordered separately

034

4N [& JT1#FIIExternal Tool Holder

9|‘ E\E’U 7] 1::|: ( D?g) External turning tool holder (D type)

5 F{®mE 107.5°
w[agl: ©) < Main deflection
angle107.5°
o e
107. 5° DDQN.. | L -
hd E 5
~FSi TR 7] & 5 3 2 57 R F 7R
F _,l=l5 Model R—"-SIZe(mm) Shim screw Shim Pr,?ﬁ;g};fe Spring Screws Wrench Inserts
alb|L|h|f|e| & < | 5 | N | A~ &
DDQNR/L2020K15C 20 | 20 [125| 20 | 25 | 32
DDQNR/L2525M15C 25 | 25 |150| 25 | 32 | 32 | SM6X10XA1 D15BM DC6320 | DC6812 DM625 S4 E:”:zgi”
DDQNR/L3232P15C 32 | 32 [170| 32 | 40 | 32 S
o T ~fjl: 1#f DDQNR 2525M15C 1# DDQNL 2525M15C * R=HKF L=KF o JIREFEEMITH
ok SRRERER
® Ordering Example:1pcs DDQNR 2525M15C 1pcs DDQNL 2525M15C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
- ) FiRfp 75°
E‘Q’ < Mainﬂgeflection
angle75°
75° DSBN.. L -
P
< © - !E}
[ L]
<FSi TR 7] = & 3 2 £7 R F 7R
ﬁl_! % Model RTSIZe(mm) Shim screw Shim Prglsastgre Spring Screws Wrench Inserts
alb|L|nh]|f]e & a - NS ~ B
DSBNR/L2020K12C 20 | 20 |125| 20 | 17 | 34
* DSBNR/L2525M12C 25| 25 |150| 25 | 22 | 34 | SM6X10XA1 S12BM DC5282 SN..1204..
DSBNR/L3232P12C 32|32 |170| 32 | 27 | 34 DC6812 DM625 S4
DSBNR/L2525M15C 25 | 25 [150| 25 | 22 | 40
SM6BX10XA2 S15BM DC6320 SN..1506..
DSBNR/ L3232P15C 32| 32 |170| 32 | 27 | 40

® T4 xfl: 14 DSBNR 2525M12C 14 DSBNL 2525M12C *R=/F L=4kKF o JIRFEMITH
o k" SRREEET

® Ordering Example:1pcs DSBNR 2525M12C 1pcs DSBNL 2525M12C  * R=righthand L= left hand

® |nserts need to be ordered separately

® "[] "indicates standing stock




EE(@ 4N [& JT1#FIIExternal Tool Holder

QFEﬁUEH (Dﬂ) External turning tool holder (D type) QFEﬁUDﬂ: (Dﬁg) External turning tool holder (D type)

L 75" : = gl Eiff 45°
|18, O “ Main deflection Main deflection
L angle 75° ‘/‘ angle45°
o -8 o 45°
75° DSKN.. ‘ L 45° DSSN.. - L
FSi JIERLL 28] &) £ 1R 3O (233 R F 7R ~FSi JIEiRsy 28] &3 5 3= #2257 wF ANy
Y _.I=I5 Model RTSIZe(mm) Shim screw Shim Pfglsastgfe Spring Screws Wrench Inserts U _'|=|5 Model R‘_I‘Slze(mm) Shim screw Shim Prglsastgre Spring Screws Wrench Inserts
= alb|L|n|f]e & =] Y S | A | — (] = alb|L|n|f]e & a P S | A | — []
DSKNR/L2020K12C 20 | 20 |125] 20 | 25 | 28 * DSSNR/L2020K12C 20 | 20 |125| 20 | 25 | 28
DSKNR/L2525M12C 25| 25 |150| 25 | 32 | 28 | SM6X10XA1 S12BM | DC5282 SN..1204.. * DSSNR/L2525M12C 25 | 25 |150| 25 | 32 | 28 | SM6X10XA1 S12BM | DC5282 SN..1204..
DSKNR/L3232P12C 321 32|170| 32 | 40 | 28 DC6812 DM625 sS4 * DSSNR/L3232P12C 32|32 |170| 32 | 40 | 28 DC6812 DM625 sS4
DSKNR/L2525M15C 25| 25 |150| 25 | 32 | 32 DSSNR/L2020K15C 25| 25 [150| 25 | 32 | 32
SM6X10XA2 S15BM DC6320 SN..1506.. SMBX10XA2 S15BM DC6320 SN..1506..
DSKNR/ L3232P15C 32|32 |170| 32 | 40 | 32 DSSNR/L2525M15C 32|32 (170| 32 | 40 | 32
® Tt /~fil: 11 DSKNR 2525M12C 1% DSKNL 2525M12C *R=/F L=kKF o JIREEMITM ® T4/~ fjl: 11 DSSNR 2525M12C 1% DSSNL 2525M12C *R=/FF L=%kKF o JIRFEMITH
o ‘" EERSEEEL o “k” SRRNERER
® Ordering Example:1pcs DSKNR 2525M12C 1pcs DSKNL 2525M12C  * R=righthand L= left hand ® Ordering Example:1pcs DSSNR 2525M12C 1pcs DSSNL 2525M12C  * R=right hand L=left hand
® |nserts need to be ordered separately ® |nserts need to be ordered separately
® "[] "indicates standing stock ® "[] "indicates standing stock
R Elfs 45° Z{fs 90°
‘ (S?l ° Main deflecgion — ‘@\’ -‘31 Main dleflgeé:}ion
A@ angle 45 7@ g angle
o £ L o €
45° DSDN.. 90° DTFN.. L
FSi PAE:LEEeA 70 2 £ R MO 2 £ | F kR =i 2By 3 3 5
ﬁl—i _% Model R_'rSIZe(mm) Shim screw Shim Prglsastgre Spring Screws Wrench Inserts ﬁg % Model RTSIZe(mm) S?iffr:w jsjhif P%%slire g%n?@ S%efv]; Vflger?c—:h I?sel)':tz
alb|L|h]|f]e V4 a ) N & |~ B alb|L|h|f]|e & o P NS & | — AN
DSDNN1616H12C 16 | 16 | 100| 16 | 8 | 35 DTFNR/L1616H16C 16 | 16 |100| 16 | 20 | 32
DSDNN2020K12C 20 | 20 |125| 20 | 10 | 35 DTFNR/L2020K16C 20 | 20 |125| 20 | 25 | 32
SMEX10XA1 S12BM DC5282 SN..1204.. SM5X8.65XA1 | T16BM DC5230 | DC5812 DM525 s3 TN..1604..
DSDNN2525M12C 25 | 25 |150| 25 |12.5| 35 oces12 | DMe25 s DTFNR/L2525M16C 25 | 25 [150| 25 | 32 | 32
DSDNN3232P12C 32|32 170 32 | 16 | 35 DTFNR/L3232P16C 32|32 [170| 32 | 40 | 32
DSDNN2525M15C 25 | 25 | 150} 25 |12.5) 38 | O R ST e iT#wfl: 14 DTFNR2525M16C 14 DTFNL 2525M16C * R=#F L=%F * NEBEEMITY
DSDNN3232P15C 32 | 32 |170| 32 | 16 | 38 e ‘" EEREEES
® iT#7Rfjl: 11 DSDNN 2525M12C o R EEMITHY ® Ordering Example:1pcs DTFNR 2525M16C 1pcs DTFNL 2525M16C  * R=righthand L= left hand
o “k” BRREERERE ® |nserts need to be ordered separately

® Ordering Example:1pcs DSDNN 2525M12C t "indicates standing stock

Inserts need to be ordered separately
"[] "indicates standing stock

036 037



[

SNEZEHI T

External turning tool holder (D type)

(DZ)

HNEZEHI T

4N [& JT1#FIIExternal Tool Holder

|
( DEA) External turning tool holder (D type)

D] Rf 90° 1 R 72.5°
- O Main deflection ] < Main deflection
& angle 90° %) angle72.5°
90" DTGN.. L 72.5° DVVN.. L
f B - Sl 1
~Sj pak: v 7 & £ 1R M= 2 57 R F 7 R +S;j 244 - = &= g
m oo e ) Shmscrew | ‘Smm | Pregsite | Spring | Serews | Wrench | serl o= e ) dimenew | oum | Pestve | Sprnp | seroms | e | imiens
4z = Model plate P Z: = Model plate
alb|L|h|ft]e| & a | & | ~ | & alb|L|h]|f]e < | B |y | A~
DTGNR/L1616H16C 16 | 16 |100| 16 | 20 | 25 DVVNN2020K16C 20 | 20 |125| 20 | 10 | 44
DTGNR/L2020K16C 20 | 20 |125| 20 | 25 | 25 * DVVNN2525M16C 25 | 25 |150| 25 [12.5| 44 | SM5X8.65XA1 | V16BM DC5230 | DC5812 DM525 S3 TN..1604..
SM5X8.65XA1 | T16BM | DC5230 | DC5812 | DM525 S3 TN..1604..
DTGNR/L2525M16C 25| 25 |150| 25 | 32 | 25 DVVNN3232P16C 32|32 |170| 32 | 16 | 44
DTGNR/L3232P16C 821827170 82| 40|25 o iT#RMH: 14 DVVNN 2525M16C o IAEEMITI
DTGNR/L2525M22C 25| 25 |150| 25 | 32 | 34 SMEX1OXAL el e e — o TN.2204. o ‘A" EEFEEEL
DUCIRY Lozmedraze | oo ] om v en | oo ] o e Ordering Example:1pcs DVVNN 2525M16C
® iT#/~fl: 1 DTGNR 2525M16C 1 DTGNL 2525M16C * R=%/F L=KkKF o JIHFEEMITM ® |nserts need to be ordered separately
o “k” ERTERER ® "] "indicates standing stock
® Ordering Example:1pcs DTGNR 2525M16C 1pcs DTGNL 2525M16C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "] "indicates standing stock
*lmA 93° Fiwmfg 95°
- /1\\ 2 [ Mainzeflection - G B Mainﬂgeflecotion
‘}Q}A angle 93° angle95
%
93° DVJN.. =

L H 95° DWLN.. [ L
R
| ! : :

: 3 ; -
B E Model RYSIZEMM) | fimsdow | Som | e | oo | st | e | e B 2 Model Rsienm) | Jos | e | B | ax | 8% | 22| 24
== alb|L|h|f]e <= | 5 S | A~ = alb|L|h][f]e & - P N R I £

DVJNR/L1616H16C 16 | 16 [100| 16 | 20 | 41 DWLNR/L1616H06C 16 | 16 |100| 16 | 20 | 24

* DVJINR/L2020K16C 0N NECR R0l RCON SR Gl [N IRy - p—— S5 N 1604 * DWLNR/L2020K06C 20 | 20 |125| 20 | 25 | 24 | SM5x8.65XxA1 | W06BM | DC5230 | DC5812 | DMS525 s3 WN..0604..
* DVJNR/L2525M16C 25 | 25 (150| 25 | 32 | 41 * DWLNR/L2525M06C 25 | 25 1150 25 | 32 | 24
* DVJNR/L3232P16C 32 (32 (170 32 | 40 | 41 * DWLNR/L2020K08C 20 | 20 [125] 20 | 25 | 31

® i Rfil: 14 DVINR 2525M16C 1 DVJNL 2525M16C *R=%(F L=£F o JIFEEEMITH * DWLNR/L2525M08C 25| 25 |150| 25 | 32 | 31 | SM6X10XA1 | WO08BM | DC5282 | DC6812 | DM625 s4 WN..0804..
o ‘X SRRAERERF DWLNR/L3232P08C 32| 32 (170| 32 | 40 | 31

L= left hand ® T /~fl: 1¥ DWLNR 2525M08C 1 DWLNL 2525M08C * R=HF L=XLKF o JIREEMITN
“kT SRTEEER

Ordering Example:1pcs DWLNR 2525M08C 1pcs DWLNL 2525M08C
Inserts need to be ordered separately

"] "indicates standing stock

Ordering Example:1pcs DVJNR 2525M16C 1pcs DVJNL 2525M16C
Inserts need to be ordered separately
® "] "indicates standing stock

* R=right hand

*R=righthand L=lefthand

038 039



/i

SNRZEHITIM (CE)

External turning tool holder (C type)

SNRIZEHITIM (CEY)

4N [& JT1#FIIExternal Tool Holder

External turning tool holder (C type)

iR 95°
- © Main deflection
angle 95°
hL - Efffs 93°
950 CCLN ; R T Ma;nn(éeeflecﬂtlon
93°
R 93° CDUN.. . | |
e L
;__:[..2 % Model Pl‘eSSSéJrreev&)laie Shim Shim screw | Pressure plate Wrench Inserts
alb|L|h|f]e O & =" ~. [
* CCLNR/L2020K1207C | 20 | 20 |125| 20 | 25 | 38 MBX20 gg _,|=|5 Model Pressure plate Shim Shimscrew | Pressureplate|  Wrench Inserts
* CCLNR/L2525M1207C | 25 | 25 |150| 25 | 32 | 38 c12 M4x8 CNGN1207.. alb|L|h|f]|e < & =1 ~ 74
* CCLNR/L3232P1207C | 32| 32 |170| 32 | 40 | 38 M8X25 e - CDJNR/L2020K15C 20 | 20 [125| 20 | 25 | 42
* CCLNR/L2020K1204C | 20 | 20 |125| 20 | 25 | 38 T CDJNR/L2525M15C 25 | 25 |150| 25 | 32 | 42 M6X20 D15 M4X8 CC530 S5 DNGN1507..
* CCLNR/L2525M1204C | 25| 25 |150| 25 | 32 | 38 C1204 M4X6 CNGN1204.. CDJNR/L3232P15C 32 | 32 |170| 32 | 40 | 42
* CCLNR/L3232P1204C | 32 | 32 |170| 32 | 40 | 38 M8X25 ® T Rfl: 1 CDINR 2525M15C 1+ CDJNL2525M15C *R=HF L=kKF e JIRFEEMITH
® JT#Rfl: 14 CCLNR 2525M12C 1 CCLNL 2525M12C * R=%AF L=KF o JIREEMITH o ‘X7 SERERER
® X" SHIRHEER ® Ordering Example:1pcs CDJNR 2525M15C 1pcs CDJNL 2525M15C  * R=right hand L= left hand
® Ordering Example:1pcs CCLNR 2525M12C 1pcs CCLNL 2525M12C  * R=righthand L= left hand o Inserts need to be ordered separately ® |nserts need to be ordered separately
® "[|"indicates standing stock ® [ "indicates standing stock
R 90°
- © Main deflection
angle 90°
90° CEGN.. Z .
jye L
<FSi [EiRIRZ2 7] & JIBRsy E W) wF 7R
= R Size(mm) Pressure plate Shim Shim screw | Pressureplate | Wrench Inserts )
§: = Model screw vy 3 2=
alo[c]n[i]e] A | O | & | &~ | & H9] .
CEGNR/L2525M1207C | 25 | 25 |150| 25 | 32 | 42 M6X20 S13 M4X8 CC530 S5 ENGN1307.. e ‘ L
o T4 ~fl: 11 CEGNR 2525M13C 1 CEGNL2525M13C * R=HFF L=kKF o JIREEMITH CRDN..
® “k” SRNEEER
® Ordering Example:1pcs CEGNR 2525M13C 1pcs CEGNL 2525M13C  * R=righthand L=left hand ® Inserts need to be ordered separately < ml - _'
® "[}"indicates standing stock
S R Size(mm) [EiRIRZ2 7] & TR sy E R R F
1 [=] im im screw ressure plate Wrench SENLS
i35 7.5 B & Model e | | Pressu it "
_C © Main cliegt;céioon a b L h f € f a l} ,‘ ~_ .
angest CRDNN2020K1207C | 20 | 20 |125| 20 | 10 | 38
97.5° CEQN.. - - CRDNN2525M1207C | 25 | 25 | 150| 25 |[12.5| 38 R12 RNGN1207..
- S T CRDNN3232P1207C 32| 32|170| 32 | 16 | 38 M6X20 M4X8 CC530 S5
% - CRDNN2020K1204C 20 | 20 |125| 20 | 10 | 38 R1204 .
. t e CRDNN2525M1204C 25 | 25 |150| 25 |12.5| 38 h
® T 15 Rfl: 14 CRDNN 2525M12C o NI R EEMITM
RSize(mm) iR | B | DmuEs | EiR | R F 7K [ mEE
g—g % Model Pressséllj'eevylate Shim Shim screw | Pressureplate | Wrench Inserts i *” SRTEEER
alb|L|h|f]|e ~ o & &5 ~~ ] e Ordering Example:1pcs CRDNN 2525M12C
CEQNR/L2525M1207C | 25 | 25 [150| 25 | 32 | 42 M6X20 S13 M4X8 CC530 S5 ENGN1307.. ® |nserts need to be ordered separately
@ nomi .
®iT = fl: 14 CEGNR 2525M13C 1% CEGNL2525M13C * R=HF L=%£F ° IEEEMITH  "indicates standing stock

® k" SRTEEETR

® Ordering Example:1pcs CEGNR 2525M13C 1pcs CEGNL 2525M13C
® "[]"indicates standing stock

*R=righthand L= left hand ® Inserts need to be ordered separately

040 041



/i

SNRZEHITIM (CE)

External turning tool holder (C type)

SNRIZEHITIM (CEY)

4N [& JT1#FIIExternal Tool Holder

External turning tool holder (C type)

75° CSKN..

EREB75°
Main deflection
angle75°

042

- = ES)==
Main deflection
angle
CRGN.. L
g
< © -
R Size(mm) gz | 7] B EREBZ | E R " F
1 im screw im ressure plate Wrench nserts
gg _.|=|5 Model Shi Shi Presss&g?late P lat | t
alb|L|h]|f]e > - =Y r~ ®
CRGNR/L2525M1207C | 25 | 25 |150| 25 | 32 | 45 R12 RNGN1207..
CRGNR/L2020K1204C | 20 | 20 (125| 20 | 25 | 45 M6X20 M4X8 CC530 S5
R1204 RNGN1204..
CRGNR/L2525M1204C | 25 | 25 |150| 25 | 32 | 45
o Tt Rfl: 1 CRGNR 2525M12C 1% CRGNL2525M12C * R=AF L=LKF o JIFEEMITH
o k7 SRRERER
® Ordering Example:1pcs CRGNR 2525M12C 1pcs CRGNL 2525M12C  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
3 Eimea 45°
(‘\! < Main deflection
o angle 45°
£
45° CSDN.. f L
<FSi JIBRLY 7] B [EARIRZZ E 1R R F 7 A
ﬂ % Mode| R_J-Slze(mm) Shim screw Shim Presssggamgzlate Pressure plate Wrench Inserts
alb|L|n|f]e P =] r~ 2
CSDNN2525M1207C 25 | 25 |150| 25 |12.5| 45
S12 SNGN1207..
CSDNN3232P1207C 32| 32 |170| 32 | 16 | 45 M6X20 M4X8 CC530 S5
CSDNN2525M1204C 25 | 25 |150| 25 |12.5| 45 S1204 SNGN1204..
® T4/~ fjl: 11 CSDNN 2525M12C o JIRFEMITH
ok’ SRREEER
® Ordering Example:1pcs CSDNN 2525M12C
® |nserts need to be ordered separately
)

"[] "indicates standing stock

R~ Size(mm) PRE: 542 7] & [EfRiZ22 E #R w®F 7R
7 = Shim screw Shim Pressureplate | Pressure plate | Wrench Inserts
S = Model Screw
alb|L|h|f]|e >~ (=] r~ [ ]
CSKNR/L2525M1207C | 25 | 25 [150| 25 | 32 | 45 S12 SNGN1207..
M6X20 M4X8 CC530 S5
CSKNR/L2525M1204C | 25 | 25 |150| 25 | 32 | 45 S1204 SNGN1204..
o JT R fjl: 1 CSKNR 2525M12C 1% CSKNL2525M12C * R=AFF L=LKF o JIRFEMITH
® k7 SRTERER
o Ordering Example:1pcs CSKNR 2525M12C 1pcs CSKNL 2525M12C  * R=right hand L=left hand
® [nserts need to be ordered separately
® "[] "indicates standing stock
a FEiwA 75°
Main deflection
angle75°
75° CSRN.. L v Z
= ° %
<FSi PRE:T: 322 7B [ERIRLL E ) w®F 7 A
= R Size(mm) Shim screw Shim Pressureplate | Pressure plate | Wrench Inserts
§: = Model screw p .
a|b|L|h| f|e =] e
CSRNR/L2525M1207C | 25 | 25 |150| 25 | 27 | 45
S12 SNGN1207..
CSRNR/L3232P1207C | 32 | 32 [170| 32 | 35 | 45 M6X20 M4X8 CC530 S5
CSRNR/L2525M1204C | 25 | 25 |150| 25 | 27 | 45 S1204 SNGN1204..
® T/~ fjl: 1 CSRNR 2525M 12C 1 CSRNL2525M12C * R=AF L=kKF o JIREFEEMITH

“k” SRREEER
Ordering Example:1pcs CSRNR 2525M12C 1pcs CSRNL 2525M12C
Inserts need to be ordered separately

°
°
°
® "[] "indicates standing stock

*R=right hand

L= left hand

043



4N [& JT1#FIIExternal Tool Holder

[

gl\i\ﬁ”ﬂﬁ (ng) External turning tool holder (C type) Sﬂﬂ 5@%&””1}%5&

S-type tool holder type and processing forms

. G | Eif 45°
ol Main dleflfggion
‘/25\ angle
45° CSSN.. e d 7
« SCLCR/L | SCBCR/L | SCFCR/L | SCGCR/L| SCACR/L| SCKCR/L SDACR/L
- % [
. E? 44 5 R Fo4 \
;:FIJ _.I=I5 MOdel RT_I'Slze(mm) Q%ﬁa 7ghimé P}%SZSJ??}EG Pre}s%urigate vﬁeizh Inserts
n alofufnfr]e] A2 = » - |~ o P47 P47
* CSSNR/L2525M1207C | 25| 25 |150| 25 | 32 | 45 S12 SNGN1207..

CSSNR/L2525M1204C | 25 | 25 |150| 25 | 32 | 45 Mex20 S1204 Maxs cC530 s° SNGN1204.. SDQCR/L SRACR/L SRAPR/L SRDCN SRDPN
® Tt~ fl: 1 CSSNR 2525M12C 1% CSSNL2525M12C * R=H/F L=KkKF o JIFEEMITH — —
o ‘%" SRREERER
® Ordering Example:1pcs CSSNR 2525M12C 1pcs CSSNL 2525M12C  * R=righthand L= left hand
® |nserts need to be ordered separately - - - - - - -
® "7 "indicates standing stock P49 P50 P51 P51 P52 P52

SRGCRI/L SRGPR/L| SSBCR/L| SSDCN SSKCR/L| SSSCR/L | STACRI/L
' 1
~ AN
_ 75°
P53 P53 P54 P56
P I FP. STECR/L STFCR/L | STGCRI/L SWLCR/L
- 20> a - :
@) Ma;r:]gglsgtlon 90° f
93° CTJN.. e L - T ?
_—r) =
- |] o i‘ P56 P57 P57 P60
N i % ~ﬁ % oy ~ﬁ o
§I_£ _% Model RTSIZe(mm) g?\i%g?rew 7ghimé Plgszsil;r%iﬂate Pregurigate Vﬁerﬂi Ijnjseg?:
alb|L|h]|f]e »~ a » =4 r~. A
CTJNR/L2525M1607C 25 | 25 [150| 25 | 32 | 45 e T16 MAXS CC530 o TNGN1607..
CTJNR/L2525M1604C 25 | 25 (150 25 | 32 | 45 T1604 TNGN1604..

o T 55 /xfjl: 1 CTINR 2525M12C 1 CTJINL2525M12C * R=HAF L=4kKF o JIRFEMITH

o “kx” SRINERER
Ordering Example:1pcs CTINR 2525M12C 1pcs CTJNL 2525M12C  * R=righthand L= left hand

Inserts need to be ordered separately
"1 "indicates standing stock

045



[

9"5%”73“2 (S;_—:Fé) External turning tool holder (S type)

SNRIZEHITIA (SEY)

4N [& JT1#FIIExternal Tool Holder

External turning tool holder (S type)

95° SCLC..

-]

| -l

ElRmE 95°

Main deflection
angle 95°

-« *
| ]

90° SCFC..

FimA 90°
Main deflection
angle90°

)

;:FIJ _.I=I5 Model RT_I'Slze(mm) %%re%vg— Vﬁlirerizh Ijnjseﬁs- ;:FlJ _'l=l5 MOdel RT_I'Slze(mm) m‘S?E:refévjvr Jgenaci Ijnjseﬁls-
== - == -
alblL|nlf]e ~ (o] alb|L][h|f]e (o]
* SCLCR/L0808F06C 8 |8 80| 8 |10 |12 * SCFCR/L1010F06C 10 [ 10 | 80 | 10 | 12 | 12
* SCLCR/L0808HO06C 8 | 8 [100| 8 | 10 | 12 SCFCR/L1010H06C 10 | 10 [100| 10 | 12 | 12
* SCLCR/L1010F06C | 10 | 10 | 80 | 10 | 12 | 12 * SCFCR/L1212H06C | 12 | 12 [100| 12 | 16 | 12 L60 M2.5X6 T8 cc..0602..
L60 M2.5X6 T8 CC..0602..
* SCLCR/L1010H06C 10 [ 10 [100| 10 | 12 | 12 * SCFCR/L1616H06C 16 | 16 |100| 16 | 20 | 16
* SCLCR/L1212H06C 12 | 12 |100| 12 | 16 | 12 * SCFCR/L1212H09C 12 | 12 |100| 12 | 16 | 16
* SCLCR/L1616H06C 16 | 16 |100| 16 | 20 | 16 * SCFCR/L1616H09C 16 | 16 |100| 16 | 20 | 16
* SCLCR/L1212H09C 12| 12 | 100 12 | 16 | 16 * SCFCR/L2020K09C | 20 | 20 |125| 20 | 25 | 16 L60 M4X10 s CC..09T3..
* SCLCR/L1616H09C 16 | 16 [100| 16 | 20 | 16 * SCFCR/L2525M09C 25| 25 |150| 25 | 32 | 16
L60 M4X10 T15 CC..09T3..
* SCLCR/L2020K09C 20 | 20 |125[ 20 | 25 | 16 SCFCR/L2020K12C 20 | 20 |125| 20 | 25 | 20
* SCLCR/L2525M09C | 25 | 25 |150| 25 | 32 | 16 * SCFCR/L2525M12C | 25 | 25 [150| 25 | 32 | 20 L60 M5X12 720 CC..1204..
* SCLCR/L2020K12C 20 | 20 |125] 20 | 25 | 20 ® J#xfl: 14 SCFCR 2020K09C 1% SCFCL 2020K09C * R=%HFF L=AEF o JIREEMITH
* SCLCR/L2525M12C 25 | 25 |150| 25 | 32 | 20 L60 M5X12 T20 CC..1204.. o “k7 SRINERER
SCLCR/L3225P12C 32|25 |170) 32 | 32 | 20 ® Ordering Example:1pcs SCFCR 2525M09C 1pcs SCFCL 2525M09C  * R=righthand L=lefthand e Inserts need to be ordered separately
®iT# R fl: 1# SCLCR 2525M09C 1#+ SCLCL 2525M09C * R=%/F L=%F e IR EEMITM ® " "indicates standing stock
o k" SRREEERF
® Ordering Example:1pcs SCLCR 2525M09C 1pcs SCLCL 2525M09C  * R=righthand L= left hand
® |nserts need to be ordered separately i 90°
® "[] "indicates standing stock - _Q[ Main deflection
® angle90°
S
90° SCGC.. B4 ) -
ElRfa 75° ‘I F| H “’t “— =
~_1 ‘ o [ Ma;r:]glegﬂ?gglon -
15,
[e]
75° SCBC.. Te. i : —
_:TW H NI - F::IJ 'FIE Model Ry Screw Wre}n;ch Inserts
a b L h f e 4 @
* SCGCR/L1010F06C 10 [ 10 | 80 | 10 | 12 | 12
SCGCR/L1010H06C 10 | 10 [100| 10 | 12 | 12 60 M2.5X6 T8 cC. 0602
R~fSize(mm) 12 5] M F 7R * SCGCR/L1212H06C 12 | 12 [100| 12 | 16 | 12 : - -
B S Model 'y 'y nens * SCGCR/L1616H06C | 16 | 16 [100| 16 | 20 | 16
albyLyphyrye ) * SCGCR/L1212H09C
12 | 12 [100| 12 | 16 | 16
* SCBCR/L1616H09C 16 | 16 |100| 16 | 13 | 16 ey T 16 | 16 1100l 16 | 20 | 16
* SCBCR/L2020K09C 20 | 20 |125| 20 | 17 | 16 L60 M4X10 T15 CC..09T3.. % SCGCR/L2020K09C 20 | 20 1125] 20 | 25 | 16 L60 M4X10 T15 CC..09T3..
* SCBCR/L2525M09C 25| 25 |150| 25 | 22 | 16 S Ay S el o5 | 25 |150| 25 | 32 | 16
RO CEERARENZ N2 20| 2011125) 20 ) 17} 20 L60 M5X12 T20 CC..1204 SCGCR/L2020K12C 20 | 20 |125]| 20 | 25 | 20
* SCBCR/L2525M12C 25|25 [150| 25 | 22 | 20 h h
N - - - - * SCGCR/L2525M12C 25 | 25 [150| 25 | 32 | 20 L60 M5X12 T20 CC..1204..
.'t«?—m”ﬂTfJ: 114'— SCBCR 2525M09C 1% SCBCL 2525M09C * R=A/F L=AEF e JIRFEMITI SCGCR/L3225P12C 32 | 25 1170] 32 | 32 | 20
° SRTNERER —p—— - -
@ Ordering Example:1pcs SCBCR 2525M09C 1pcs SCBCL 2525M09C  * R=righthand L= left hand ® WHxmM: 14 SCECR2020k09C  1#f SCGCL 2020k05C  * R=%#F L=ZF o JAARERUIN
® |nserts need to be ordered separately o SRIREER
® "[] "indicates standing stock ® Ordering Example:1pcs SCGCR 2525M09C 1pcs SCGCL 2525M09C  * R=righthand L=lefthand @ Inserts need to be ordered separately
® "[] "indicates standing stock 047

046



[

9"5%”73“2 (S;_—:Fé) External turning tool holder (S type)

90° SCAC..

\o|©

ol

L 7]

| -l

F{mFE 90°

Main deflection
angle 90°

-

048

RtSize(mm) 12 57 R F 7R
FH _.I=I5 Model Screw Wrench Inserts
g2 )
a|b|L|h|f]|e (o]
SCACR/L0808F06C 8 8 (80| 8 8 | 16
* SCACR/L1010H06C 10 | 10 [100| 10 | 10 | 16 L60 M2.5X6 T8 CC..0602..
* SCACR/L1212H06C 12 | 12 [100| 12 | 12 | 16
* SCACR/L1212H09C 12 | 12 [100| 12 | 12 | 20
L60 M4X10 T15 CC..09T3..
SCACR/L1616H09C 16 | 16 [100| 16 | 16 | 20
® JT#%Rfl: 14 SCACR 2020K09C 1+ SCACL 2020K09C * R=HKF L=XKF ® JIRFEMITH
® k" SRLEEER
® Ordering Example:1pcs SCACR 2020K09C 1pcs SCACL 2020K09C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
F{RFa 75°
— ,‘cf -Dl Main deflection
@ angle 75°
75° SCKC.. e L

| |

-T

]
il_] = Model RT_]’Size(mm) ms%:re%; Wrench Inserts
= alb|L|h|f]|e [o]
*x SCKCR/L1616H09C 16 | 16 [100| 16 | 20 | 16
* SCKCR/L2020K09C 20 | 20 [125| 20 | 25 | 16 L60 M4X10 T15 CC..09T3..
SCKCR/L2525M09C 25| 25 |150| 25 | 32 | 16
* SCKCR/L2020K12C 20 | 20 |125| 20 | 25 | 20
L60 M5X12 T20 CC..1204..
* SCKCR/L2525M12C 25| 25 |150| 25 | 32 | 20
® T /Rfi: 1 SCKCR 2020K09C 1% SCKCL 2020K09C * R=FF L=%£F o JIRFEMITH

o kT SRIEEER

® Ordering Example:1pcs SCKCR 2020K09C 1pcs SCKCL 2020K09C
Inserts need to be ordered separately

"[] "indicates standing stock

*R=right hand

L=left hand

4N [& JT1#FIIExternal Tool Holder

/)-'l‘ Eﬁ” 7] 1::|: (Sﬁ:u ) External turning tool holder (S type)

90° SDAC..

®
jye

1T

FimA 90°
Main deflection
angle90°

<)

-

L1

B = vod Rsize(mm) g5 £Z o
a|b|L|h|f]|e - [/
* SDACR/L0808HO07C 8 8 [100| 8 8 | 15
* SDACR/L1010H07C 10 | 10 [{100| 10 | 10 | 15 L60 M2.5X6 T8 DC..0702..
* SDACR/L1212H07C 12 | 12 [100| 12 | 12 | 15
* SDACR/L1212H11C 12 | 12 |100| 12 | 12 | 22
* SDACR/L1616H11C 16 | 16 |[100| 16 | 16 | 22
L60 M4X10 T15 DC..11T3..
* SDACR/L2020K11C 20 | 20 [125| 20 | 20 | 22
SDACR/L2525M11C 25| 25 [150| 25 | 25 | 22
® JT#/Rfl: 14 SDACR2020K11C 1% SDACL 2020K11C *R=fFF L=KF o JIRFEMITH
o ‘X" BETHEEH
® Ordering Example:1pcs SDACR 2020K11C 1pcs SDACL 2020K11C  * R=righthand L=lefthand
® |nserts need to be ordered separately
® "[] "indicates standing stock
D[ Fime 93°
| 7 Mepdelsgtor
a3,
93° SDJC.. e L
L T |
gg _,|=|5 Model R?Slze(mm) Tg}:rel‘éva- Wrenph Inserts
a|b|L|h|f]|e [/
* SDJCR/L0808F07C 8 8 |80 | 8 | 10| 15
* SDJCR/L1010F07C 10 | 10 | 80 | 10 | 12 | 15
* SDJCR/L1212H07C 12 | 12 [100| 12 | 16 | 15
* SDJCR/L1414H07C 14 | 14 [100| 14 | 18 | 15 L60 M2.5X6 T8 DC..0702..
* SDJCR/L1616H07C 16 | 16 |[100| 16 | 20 | 15
* SDJCR/L2020K07C 20 | 20 |125| 20 | 25 | 20
* SDJCR/L2525M07C 25| 25 |150| 25 | 32 | 20
* SDJCR/L1212H11C 12 | 12 |100| 12 | 16 | 22
* SDJCR/L1616H11C 16 | 16 |100| 16 | 20 | 22
L60 M4X10 T15 DC..11T3..
* SDJCR/L2020K11C 20 | 20 (125| 20 | 25 | 22
* SDJCR/L2525M11C 25| 25 (150| 25 | 32 | 22
® iJ#/~f: 1 SDJCR 2020K11C 1 SDJCL 2020K11C * R=AF L=K£F o JIRFEEMITHY
o “k” SRINERER
® Ordering Example:1pcs SDJCR 2020K11C 1pcs SDJCL 2020K11C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock

049



EE@) 4N [& JT1#FIIExternal Tool Holder

gl\i\ﬁ”ﬂﬁ (S;_—:Fé) External turning tool holder (S type) QFEE'UDH: (S;:F::U) External turning tool holder (S type)

e Rk 62.5° *fafs -
@) Q Main deflection - a Main deflection
R angle 62.5° 0 angle

62.5° SDNC.. d Y W) SRAC(P).. . ]
Q

IT] K - [T | -l -\

ﬂ % MOdel RT_I'Slze(mm) ms%re%\; V*?Iir‘eﬁ Iynjseﬁl's_ gg % MOdel RT_I'Slze(mm) m‘S?E:re{évjvr J&en?i Ijnjseﬁs-
alb|L|h|f]|e » [/ alb|L|h|fle » ©
* SDNCNO0808F07C 8 | 8 /80| 8| 4 |15 * SRACR/L1010F06C 10 | 10 | 80 | 10 [10.4| 12
* SDNCN1010F07C 10 (10|80 | 10| 5 | 15 * SRACR/L1212H06C 12 | 12 [100| 12 |12.4]| 12
* SDNCN1212H07C 12 | 12 {100 12 | 6 15 * SRACR/L1616H06C 16 | 16 |100| 16 |16.4| 12 L60 M2.5X6
* SDNCN1616H07C 16 | 16 [100| 16 | 8 | 15 160 M2.5X6 T8 be.0702. * SRACR/L2020K06C 20 | 20 |125| 20 |20.4| 12 e RCMX0602..
* SDNCN2020K07C 20 | 20 |125| 20 | 10 | 20 * SRACR/L2525M06C 25 | 25 |150| 25 |25.4| 12
* SDNCN2525M07C 25 | 25 |150| 25 |12.5]| 20 * SRACR/L1212H08C 12 | 12 |100| 12 |12.4| 16
* SDNCN1616H11C 16 | 16 [100| 16 | 8 | 22 * SRACR/L1616H08C 16 | 16 |100| 16 |16.4| 16
SRS DRCR202HIC el T * SRACR/L2020K08C | 20 | 20 [125| 20 |20.4| 16 RCMX0803..
* SDNCN2525M11C 25 | 25 |150| 25 |12.5] 22 L60 M4X10 T15 DC..11T3.. * SRACR/L2525M08C 25 | 25 |150| 25 |25.4| 16 L60 M3X8 T10
SDNCN3225P11C 32 | 25 |170| 32 |12.5]| 22 * SRACR/L1616H10C 16 | 16 |100| 16 |16.4| 20
SDNCN3232P11C 32 | 32 |170| 32 | 16 | 22 * SRACR/L2020K10C 20 | 20 |125| 20 |20.4| 20 RCMX1003..
o THRMI: 14 SDNCN 2020K11C ° NHEEMITH * SRACR/L2525M10C | 25| 25 1150/ 25 125.4) 20
e ‘X" BEREEES * SRACR/L2020K12C 20 | 20 |125| 20 (20.4| 20 L60 M4X10 ROMX1204..
® Ordering Example:1pcs SDNCN 2020K11C * SRACR/L2525M12C 25|25 1150 25 125.4] 24
® |nserts need to be ordered separately SRACR/L1616H10-T 16 | 16 |100| 16 |16.4| 20
® "[] "indicates standing stock SRACR/L2020K10-T 20 | 20 |125| 20 |20.4| 20 L60 M3.5X10 T15 RCMT1003..
* SRACR/L2525M10-T 25 | 25 |150| 25 |25.4| 20
SRACR/L2020K12-T 20 | 20 |125| 20 (20.4| 20
L60 M4X10 RCMT1204..
SRACR/L2525M12-T 25 | 25 |150| 25 |25.4| 24
*{®f 107.5°
'QI Main deflecticgn
angle 107.5 RT_I'Slze(mm) ms? %]- \Tvﬁ gi Ijj )?L
107. 5° SDQC.. L F & S Model e T T T 'y P
ﬂ o] % ! SRAPR/L1616H08C | 16 | 16 |100| 16 |16.4] 16
- * SRAPR/L2020K08C 20 | 20 |125| 20 |20.4| 16 L60 M3X8 T10 RPMT0803..
- * SRAPR/L2525M08C 25| 25 |150| 25 |25.4] 16
* SRAPR/L2020K10C 20 | 20 |125| 20 (20.4| 20
A 2 Model R<Size(mm) g 57 & E AR * SRAPR/L2525M10C 25 | 25 [150 | 25 |25.4] 20 60 MaAX 10 s RPMT1003..
alblL|Ih|fle » /o7 * SRAPR/L3232P10C 32 | 32 |170]| 32 |32.4| 22
SDQCR/L1010F07C 10| 10 180 | 10 | 12 | 15 SRAPR/L2525M12C 25| 25 |150| 25 |25.4| 24 RPMT1204..
* SDQCR/L1212H07C 12 | 12 |100| 12 | 16 | 15 L60 M2.5X6 T8 DC..0702.. ®iT 55 Rfl: 14 SRACR 2525M08C 1 SRACL 2525M08C * R=HFF L=K£F o JIAEEMITH
* SDQCR/L1616H07C 16 | 16 [100| 16 | 20 | 15 k" SRINHERERE
SDQCR/L1212H11C 12 | 12 |1100| 12 | 16 | 15 ® Ordering Example:1pcs SRACR 2525M08C 1pcs SRACL 2525M08C  * R=righthand L= left hand
* SDQCR/L1616H11C 16 | 16 |100| 16 | 20 | 15 ® |nserts need to be ordered separately
* SDQCR/L2020K11C e I P e e L60 M4X10 T15 DC..11T3.. ® "[] "indicates standing stock
* SDQCR/L2525M11C 25| 25 |150| 25 | 32 | 20

® iT#E/Rf: 1% SDQCR 2020K11C 1+ SDQCL2020K11C * R=HFF L=kKF o JIRZFEMITH
o “k” SRRERERE

® Ordering Example:1pcs SDQCR 2020K11C 1pcs SDQCL 2020K11C  * R=righthand L= left hand
Inserts need to be ordered separately
"[] "indicates standing stock

050 051



EE@) 4N [& JT1#FIIExternal Tool Holder

gl\i\ﬁ”ﬂﬁ (S;_—:Fé) External turning tool holder (S type) QFEE'UDH: (S;:F::U) External turning tool holder (S type)

ES)== TR -

hj—@ﬂ Dl Mainadnegflgction - . Main:neéllgcﬁon
SRDC (P) .. b L V7Y SRGC(P).. e ] HT
41 | | —\ = - : %\

R Size(mm) 2 57 wmF Ay R Size(mm) 12 57 " F 7R
gg _.I=I5 Model Screw Wrenph Inserts ;__:Fg _,l=l5 Model Screw Wrenph Inserts
alb|L|h|f]le » © alb|L|h]|f]e »
* SRDCN1010F06C 10 (10 (80 |10 | 8 | 12 SRGCR/L1010F06C 10 | 10 | 80 | 10 | 12 | 12
* SRDCN1212H06C 12 | 12 {100 12 | 9 | 12 * SRGCR/L1212H06C 12 | 12 |100| 12 | 16 | 12
* SRDCN1616H06C 16 | 16 |100| 16 | 11 | 12 L60 M2.5X6 — T * SRGCR/L1616H06C 16 | 16 |100| 16 | 20 | 12 L60 M2.5X6 T8 RCMX0602..
* SRDCN2020K06C 20 | 20 [125] 20 | 13 | 16 - * SRGCR/L2020K06C 20 | 20 [125| 20 | 25 | 12
* SRDCN2525M06C 25 | 25 |150| 25 |15.5| 16 * SRGCR/L2525M06C 25 | 25 |150| 25 | 32 | 12
* SRDCN1616H08C 16 | 16 [100| 16 | 12 | 16 * SRGCR/L1616H08C 16 | 16 [100| 16 | 20 | 16
* SRDCN2020K08C 20 | 20 |125| 20 | 14 | 16 RCMX0803.. * SRGCR/L2020K08C 20 | 20 |125| 20 | 25 | 16 RCMX0803..
* SRDCN2525M08C 25 | 25 |150| 25 [16.5| 16 L60 M3X8 T10 * SRGCR/L2525M08C 25| 25 |150| 25 | 32 | 16 L60 M3X8 T10
* SRDCN2020K10C 20 | 20 |125] 20 | 15 | 20 68 * SRGCR/L1616H10C 16 | 16 |[100| 16 | 20 | 16
* SRDCN2525M10C 25 | 25 |150| 25 |17.5| 20 -’ * SRGCR/L2020K10C 20 | 20 |125| 20 | 25 | 20 RCMX1003..
* SRDCN2525M12C 25| 25 |150| 25 |18.5| 24 * SRGCR/L2525M10C 25|25 |150| 25 | 32 | 20
L60 M4X10 T15 RCMX1204..
* SRDCN3232P12C 32|32 |170| 32 | 22 | 24 * SRGCR/L2020K12C 20 | 20 |125| 20 | 25 | 24 UG ey
* SRDCN3232P16C 32 | 32 |170| 32 | 24 | 36 L60 M5X16 T20 RCMX1606.. * SRGCR/L2525M12C 25| 25 |150| 25 | 32 | 24 v
SRDCN2020K10-T 20 | 20 |125] 20 | 15 | 20 SRGCR/L1616H10-T 16 | 16 |[100| 16 | 20 | 16 T15
L60 M3.5X10 T15 RCMT1204..
SRDCN2525M10-T 25 | 25 |150| 25 |17.5]| 20 SRGCR/L2020K10-T 20 | 20 |125| 20 | 25 | 20 L60 M3.5X10 RCMT1003..
SRGCR/L2525M10-T 25 | 25 (150 | 25 | 32 | 20
ﬁl_i _% Model R?]’Slze(mm) ms%:rjva- Vﬁlirei Iynjseﬁl's_ ) 18 5] " = e
a|b|L|h|f]|e r - @ ﬂ -,'='5 Model R Size(mm) Screw Wre,n:ch Inserts
SRDPN1616H08C 16 | 16 [100| 16 | 12 | 16 al|b|L|h f e
* SRDPN2020K08C 20 | 20 |125| 20 | 14 | 16 L60 M3X8 T10 RPMTO0803.. SRGPR/L1616H08C 16 | 16 |100| 16 | 20 | 16
* SRDPN2525M08C 25 | 25 |150| 25 |16.5| 16 SRGPR/L2020K08C 20 | 20 |125| 20 | 25 | 16 L60 M3X8 T10 RPMT0803..
* SRDPN2020K10C 20 | 20 |125| 20 | 15 | 20 ST SRGPR/L2525M08C 25 | 25 |150| 25 | 32 | 16
* SRDPN2525M10C 25 | 25 |150| 25 |17.5| 20 h SRGPR/L2020K10C 20 | 20 [125| 20 | 25 | 20
L60 M4X10 T15 RPMT1003..
* SRDPN2020K12C 20 | 20 |125| 20 | 16 | 24 RPMT1204 SRGPR/L2525M10C 25 | 25 |150| 25 | 32 | 20 L60 M4X10 T15
* SRDPN2525M12C 25| 25 |150 | 25 |18.5 24 B SRGPR/L2525M12C 25 | 25 [150| 25 | 32 | 22 RPMT1204..
e iT#mfl: 14 SRDCN 2020K08C o IR EEMITI ® iT%rfl: 1% SRGPR2020K10C 1 SRGPL2020K10C * R=HF L=kKF ° JIHTFEMITH
o ‘“k” SRRAERERF ® ‘X" SRRAEERER
® Ordering Example:1pcs SRDCN 2020K08C ® Ordering Example:1pcs SRGPR 2020K10C 1pcs SRGPL 2020K10C  * R=righthand L= left hand
® |nserts need to be ordered separately ® |nserts need to be ordered separately
® "[] "indicates standing stock ® "[] "indicates standing stock

052 053



[

9"5%”73“2 (S;_—:Fé) External turning tool holder (S type)

054

iR 75°
u—t _C}I Ma;r;]ggl;egglon
o 1
75° SSBC.. = ]
|1 0 | -
o = Rsfisize(mm) &4 et Tt
4z = Model
a b L h f e -
* SSBCR/L1212H09C 12 [ 12 {100 12 | 9 | 16
*x SSBCR/L1616H09C 16 | 16 |100| 16 | 13 | 16
L60 M4X10 T15 SC..09T3..
* SSBCR/L2020K09C 20 | 20 [125| 20 | 17 | 20
* SSBCR/L2525M09C 25| 25 150 | 25 | 22 | 20
* SSBCR/L2020K12C 20 | 20 [125| 20 | 17 | 22
L60 M5X12 T20 SC..1204..
* SSBCR/L2525M12C 25 | 25 (150 25 | 22 | 22
® T4 fl: 11 SSBCR 2020K09C 1% SSBCL2020K09CC * R=HF L=Xk£F o JIRFEMITH
o “k” SRINEBER
® Ordering Example:1pcs SSBCR 2020K09C 1pcs SDACL 2020K09C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
1 ifﬁ% 45.c
.ol Ma;r:]gle;flzgglon
o bfj
45° SSDC.. e, L _
|
- [ | —B-
R~fSize(mm) 12 £7 R F AN
FH _'I=l5 MOdel Screw Wren_ch Inserts
== a|b|L|h|f]|e A [j
* SSDCN1212H09C 12 12 {100 12 | 6 | 16
* SSDCN1616H09C 16 | 16 |[100| 16 | 8 | 16
L60 M4X10 T15 SC..09T3..
* SSDCN2020K09C 20 | 20 (125| 20 | 10 | 20
* SSDCN2525M09C 25 | 25 |150| 25 |12.5] 20
* SSDCN2525M12C 25 | 25 |150| 25 [12.5] 22 L60 M5X12 T20 SC..1204..
® JT#R%l: 1# SSDCN 2020K09C o NI R FEEMITH

o “k” SRTEEER

® Ordering Example:1pcs SSDCN 2020K09C

e "[] "indicates standing stock

® Inserts need to be ordered separately

4N [& JT1#FIIExternal Tool Holder

/)-'l‘ Eﬁ” 7] 1::|: (Sﬁ:u ) External turning tool holder (S type)

75° SSKC..

F1mAA 75°

Main deflection
angle 75°

o oo R Size(mm 23 5 A
Z: = Model
a| b | L|h|f]|e
* SSKCR/L1212H09C 12 | 12 |{100| 12 | 16 | 16
* SSKCR/L1616H09C 16 | 16 |100| 16 | 20 | 16
L60 M4X10 T15 SC..09T3..
* SSKCR/L2020K09C 20 | 20 |125| 20 | 25 | 20
* SSKCR/L2525M09C 25 | 25 (150 25 | 32 | 20
* SSKCR/L2020K12C 20 | 20 |125| 20 | 25 | 22
L60 M5X12 T20 SC..1204..
* SSKCR/L2525M12C 25 | 25 (150 25 | 32 | 22
® T xfjl: 11 SSKCR 2020K09C 1 SSKCL 2020K09C * R=/FF L=K&£F o JIRFEMITHY
o “k” SRIERER
® Ordering Example:1pcs SSKCR 2020K09C 1pcs SSKCL 2020K09C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
EimA 45°
- _QI Main deflecgion
©) angle 45
45° SSSC.. 2% L
il | -
R<FSize(mm) 2 5] iR F AN
F _'I=I5 MOdel Screw Wren_ch Inserts
== alb|L|h|f]|e - B
* SSSCR/L1212H09C 12 | 12 |100| 12 | 16 | 16
* SSSCR/L1616H09C 16 | 16 |100| 16 | 20 | 16
L60 M4X10 T15 SC..09T3..
* SSSCR/L2020K09C 20 | 20 [125| 20 | 25 | 20
* SSSCR/L2525M09C 25 | 25 [150| 25 | 32 | 20
* SSSCR/L2020K12C 20 | 20 (125| 20 | 25 | 22
L60 M5X12 T20 SC..1204..
* SSSCR/L2525M12C 25| 25 |150| 25 | 32 | 22
iT %% =f: 11 SSSCR 2020K09C 1 SSSCL 2020K09C * R=/AF L=£F o JIRFEMITHY
“kT SRTEEER
Ordering Example:1pcs SSSCR 2020K09C 1pcs SSSCL 2020K09C  * R=righthand L= left hand

"[J "indicates standing stock

Inserts need to be ordered separately

055



[

9"5%”73“2 (S;_—:Fé) External turning tool holder (S type)

4N [& JT1#FIIExternal Tool Holder

/)-'l‘ Eﬁ” 7] 1::|: (Sﬁ:u ) External turning tool holder (S type)

E— Ffwra 90°
— DI Main deflection
@ angle 90°
o un
90° STAC(P)..

056

;__:F.g =] RTISIZe(mm) %%rel%v?v]— \Tﬁeriih In7jsertj:l:
Model _
= alb|L|nh|f]e » VAN
STACR/L0808H09C 8 8 [100| 8 8 | 12 L60 M2.2X5 T6 TC..0902..
STACR/L1010H11C 10 | 10 [100| 10 | 10 | 12
STACR/L1212H11C 12 [ 12 {100 12 | 12 | 16 L60 M2.5X6 T8 TC..1102..
STACR/L1616H11C 16 | 16 |[100| 16 | 16 | 16
ﬂ % Model Rg(mm) %%re%v?vr \Rireri:_h In)zertJZI:
alblL|nlf]e ) 4
STAPR/L0808H09C 8 8 [100| 8 8 | 12 L60 M2.2X5 T6 TP..0902..
STAPR/L1010H11C 10 | 10 [{100| 10 | 10 | 12
STAPR/L1212H11C 12 | 12 [100| 12 | 12 | 16 L60 M2.5X6 T8 TP..1102..
STAPR/L1616H11C 16 | 16 |[100| 16 | 16 | 16
® T4 xfjl: 14 STACR1616H11C 11 STACL 1616H11C *R=HAF L=KF o JIRFEMITY
o ‘X" SRRERER
® Ordering Example:1pcs STACR 1616H11C 1pcs STACL1616H11C  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
F1{Rwfa 60°
“'L _QI Main deflection
y angle 60°
60° STEC.. e 1 2
IT [ -
ﬁl_i % Model R Size(mm) wé%re%va- Vﬁ/irera:_h mjjsertjzi-
a|b|L|h|f]|e » /N
STECR/L1616H11C 16 | 16 [100| 16 [10.5| 16
L60 M2.5X6 T8 TC..1102..
STECR/L2020K11C 20 | 20 [125| 20 (14.5| 20
STECR/L2020K16C 20 | 20 |125] 20 |12.5| 20
L60 M4X10 T15 TC..1604..
STECR/L2525M16C 25 | 25 (150 | 25 | 17 | 25
® T4 Rfjl: 14 STECR 2020K16C 1## STECL 2020K16C * R=H/F L=XkKF o JIRFEEMITH

® ‘X" SRREERER

® Ordering Example:1pcs STECR 2020K16C 1pcs STECL 2020K16C
Inserts need to be ordered separately
"[] "indicates standing stock

*R=righthand L= lefthand

E.ﬁ%%l"
-|s-b < el selsgtr
90° STFC.. e L
N/
1] E k2
RFSize(mm) 2 5] iR F AN
ﬂ % Model Screw Wren_ch Inserts
alb|L|h|f]e - VAN
* STFCR/L1010F09C 10 | 10 | 80 | 10 | 12 | 12
L60 M2.2X5 T6 TC..0902..
* STFCR/L1212H09C 12 | 12 |100| 12 | 16 | 12
* STFCR/L1212H11C 12 | 12 [100| 12 | 16 | 16
* STFCR/L1616H11C 16 | 16 [100| 16 | 20 | 16
L60 M2.5X6 T8 TC..1102..
* STFCR/L2020K11C 20 | 20 |125| 20 | 25 | 20
* STFCR/L2525M11C 25 | 25 (150| 25 | 32 | 20
* STFCR/L1616H16C 16 | 16 [100| 16 | 20 | 20
* STFCR/L2020K16C 20 | 20 (125| 20 | 25 | 25 L60 M4X10 T15 TC..1604..
* STFCR/L2525M16C 25| 25 |150| 25 | 32 | 25
® T /xfl: 14 STFCR 2020K16C 1 STFCL 2020K16C * R=AF L=KkKF o JIRFEMITHY
e “k” SHRRERER
® Ordering Example:1pcs STFCR 2020K16C 1pcs STFCL 2020K16C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
FimF 90°
.._| _ot Main deflection
| © angle90
5
90° STGC.. A ) -
[
LI \—‘ u NI -— %
il_] % Model RT_i'Slze(mm) ms%re%\; V@erazh mjjser)t:z
a|b|L|h|f|e
STGCR/L0808F09C 8 8 |80 | 8 | 10| 12
* STGCR/L1010F09C 10 | 10 | 80 | 10 | 12 | 12 L60 M2.2X5 T6 TC..0902..
STGCR/L1212H09C 12 | 12 [100| 12 | 16 | 12
* STGCR/L1212H11C 12 | 12 [100| 12 | 16 | 16
* STGCR/L1616H11C 16 | 16 [100| 16 | 20 | 16
L60 M2.5X6 T8 TC..1102..
* STGCR/L2020K11C 20 | 20 |125| 20 | 25 | 20
* STGCR/L2525M11C 25| 25 |150| 25 | 32 | 20
* STGCR/L1616H16C 16 | 16 [100| 16 | 20 | 20
* STGCR/L2020K16C 20 | 20 [125| 20 | 25 | 25 L60 M4X10 T16 TC..1604..
* STGCR/L2525M16C 25 | 25 (150| 25 | 32 | 25
® T4 Rfjl: 14 STGCR 2020K16C 1% STGCL 2020K16C * R=HF L=KL£F o JIREEMITHY
o “k” SRRAERER
® Ordering Example:1pcs STGCR 2020K16C 1pcs STGCL 2020K16C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock

057



EE(@ 4N [& JT1#FIIExternal Tool Holder

gl\i\ﬁ”ﬂﬁ (S;:F::U) External turning tool holder (S type) QFEﬁUBH (S;:F::U) External turning tool holder (S type)

ElRfy 117.5° a

ERmA 72.5°
2 Main deflection —e .Dl Main deflectLon
angle 117.5° angle72.5

LY

117.5° SVQB(C)..

L T 72.5° SVVB(C)..

‘yi’
m = T ] A~

= R Size(mm) (e E B y = R Size(mm) S k- BB
E S Model alb|L|h|f]|e ) 4 o7 E S Model a|b|L| h| f]|e ) 4 o7
* SVQBR/L1616H11C 16 | 16 [100| 16 | 20 | 32 L60 M2.5X6 T8 VB..1103.. * SVVBN1212H11C 12 | 12 |100| 12 | 6 | 25
* SVQBR/L1616H16C 16 | 16 [100| 16 | 20 | 35 * SVVBN1616H11C 16 | 16 |100| 16 | 8 | 25
L60 M2.5X6 T8 VB..1103..
* SVQBR/L2020K16C 20 | 20 [125| 20 | 25 | 35 * SVVBN2020K11C 20 | 20 |125| 20 | 10 | 25
L60 M4X10 T15 VB..1604..
* SVQBR/L2525M16C 25 | 25 (150 | 25 | 32 | 35 * SVVBN2525M11C 25 | 25 [150| 25 |12.5| 35
SVQBR/L3232P16C 32|32 |170| 32 | 40 | 35 * SVVBN1616H16C 16 | 16 |{100| 16 | 8 | 35
* SVVBN2020K16C 20 | 20 [125| 20 | 10 | 35 L60 M4X10 T15 VB..1604..
= g RS ms? 5T vageri mstertJ:I: * SVVBN2525M16C 25 | 25 [150| 25 [12.5| 35
-.5 0 e crew !
a|b|L | h|[f]|e ! 4 £ :
R~ Size(mm) 12 57 R F A
* SVQCR/L1616H11C 16 | 16 |100| 16 | 20 | 32 gg = Model Screw Wrench Inserts
L60 M2.5X6 T8 VC..1103.. = g
SVQCR/L2020K11C 20 | 20 [125| 20 | 25 | 32 al|lb|L|h|f]|e » o7
* SVQCR/L1616H16C 16 | 16 [100| 16 | 20 | 35 * SVVCN1212H11C 12 | 12 |100| 12 | 16 | 25
* SVQCR/L2020K16C 20 | 20 |125] 20 | 25 | 35 * SVVCN1616H11C 16 | 16 [100| 16 | 20 | 25
* SVQCR/L2525M16C 25 | 25 [150| 25 | 32 | 35 L0 M4X10 s VeC..1604.. * SVVCN2020K11C 20 | 20 [125| 20 | 25 | 25 L60 M2.5x6 T8 Ve 1103..
SVQCR/L3232P16C 32|32 |170| 32 | 40 | 35 * SVVCN2525M11C 25| 25 [150| 25 | 32 | 35
® JTHRfl: 14 SVQBR 2020K16C 1 SVQBL 2020K16C * R=AHF L=KF o JIREEMITH * SVVCN1616H16C 16 | 16 [100| 16 | 20 | 35
o “k” SRREEERF * SVVCN2020K16C 20 | 20 |125] 20 | 25 | 35 L60 M4X10 T15 VC..1604..
® Ordering Example:1pcs SVQBR 2020K16C 1pcs SVQBL 2020K16C  * R=righthand L= left hand * SVVCN2525M16C 25|25 1150 25 | 32 | 35
® [nserts need to be ordered separately ® JTEE/Rfl: 14 SVVBN 2020K16C o JIRZFEMITH
® "[] "indicates standing stock o “k” ERTERER

Ordering Example:1pcs SVVBN 2020K16C  * R=righthand L=left hand
Inserts need to be ordered separately
"[] "indicates standing stock

058 059



o) .
PRFLZHI
FMBIZERITIFT (SBE)  enematrng otrrser oo INTERNAL TURNING

- PEAIGR, BREREUERNIEERANARY
Eimf 93 Improving efficiency,reducing costs.you can easily achieve with our assistance.

Main deflection
angle 93°

93° SVJB(C).. p

1 = \T\Jlirel’?}:_h |n7JSeI‘Jt:|SI_
A = Model » e T

SVJBR/L1212H11C
SVJBR/L1616H11C
SVJBR/L2020K11C
SVJBR/L2525M11C
SVJBR/L1616H16C
SVJBR/L2020K16C L60 M4X10 VB..1604..
SVJBR/L2525M16C

4 7 |

SVJCR/L1212H11C 1

SVJCR/L1616H11C ' ;

SVJCR/L2020K11C

SVJCR/L2525M11C ; 3

SVJCR/L1616H16C

SVJCR/L2020K16C L60 M4X10 VC..1604..

SVJCR/L2525M16C
T8 =% 1 SVJBR 2020K16C 11 SVJBL 2020K16C * R=FF o JIRFEEMITHY I
“k” BRTEEER : (=
Ordering Example:1pcs SVJBR 2020K16C 1pcs SVJBL 2020K16C  * R=right hand L= left hand 5
Inserts need to be ordered separately

"[] "indicates standing stock

L60 M2.5X6 VB..1103..

L60 M2.5X6 VC..1103..

F{RFA 95° =
Main deflection B
angle 95° : =

95° SWLC.. )

_ 2 51 i F
;:F:IJ M Od el Screw Wr?nch Inserts

=

£

SWLCR/L1212F04C L60 M2.5X6 T8 WC..0402..
SWLCR/L1212H06C

*x SWLCR/L1616H06C

* SWLCR/L2020K06C

* SWLCR/L2525M06C

® T Rfl: 1% SWLCR 2020K16C ° JIRFEMITH

o ‘X BERTHEER

® Ordering Example:1pcs SWLCR 2020K16C 1pcs SWLCL 2020K16C  * R=righthand L= left hand o Inserts need to be ordered separately

® "[] "indicates standing stock

L60 M4X10 WC..06T3..

O EEON0S-BETE

wi  mm



&;EGO A FL 71#Fllinternal Tool Holder

Mﬂﬁpiﬂﬂﬁ-@%&ﬂﬂlﬁéﬁ W}LE\E’UDH (Mil:lg) Internal turning tool holder(M type)

M-type,P-type tool holder type and processing forms

T | Flmf 75°
ﬁ ﬁ Ma;mgleeﬂ?glion
75° MCKNR/L| 95° MCLNR/L | 50° MCWCR/L | 107.5° MDQNR/L | 93° MDUNRI/L . 9D o
75° S..MCKN.. o Oy 1 >
e Ei/ % Y- | ﬁ
e === | === = \‘ﬂy f Z
% V ’ 4 <? L‘LJ
1
P63 P63 P64 P64 P65 R Size(mm) X LRt 7] B H £] E 1R wF 7R
gg _,|=|5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
d|f[L|h|Dml & 0 ¥ 4 (&l ~ (]
93° MDZNR/L| 75° MSKNR/L 93° MTJNRI/L * S20R-MCKNR/L12D 20 | 13 [200| 19 | 26 | MS520 i MLPaa MC515 S2.5
[ - _ * S25S-MCKNR/L12D 25 | 16 |250| 24 | 32
= * S32T-MCKNR/L12D | 32 | 22 |300| 30 | 40 | MS625 CN.1204.
l * S40U-MCKNR/L12D 40 | 26 |350| 38 | 50 C12BM MLP46 MC620 s3
-— * S50V-MCKNR/L12D 50 | 32 |400| 48 | 60
P65 P66 P66 P67 P67 S50V-MCKNR/L16D 50 | 32 |400| 48 | 60 MS628 C16BM MLP58 MC622 CN..1606..
® T R%: 114 S20R-MCKNR12D 144 S20R-MCKNL12D *R=AF L=LKF e JIREERMITHN
o ‘X" SRTBEER
72.5 MVWNR/L ® Ordering Example:1pcs S20R-MCKNR12D 1pcs S20R-MCKNL12D  * R=righthand L= left hand
''''''''''' - ® |nserts need to be ordered separately
® "[] "indicates standing stock
P68 P68 P69 P69 P70
96° MVXNR/L| 95° MWLNR/L
@ . . E(RA 95°
L } % ﬁi{ ﬁ Maeiar:]gleglgggion

@D
o od
)

P70 P71 95° S.MCLN.. G — N 7 <= =
@ C@E
95° PCLNR/L | 62.5° PDNNR/L| 107.5° PDQNR/L | 93° PDUNRI/L | - *

—_— -

ﬂ % Model Stud bolts S_him Pin Pressure plate Wrench Inserts
- ; — d|f|L]h|Dm| & e 4 » ~ (o]
P72 P72 P73 P73 P74 * S20R-MCLNR/L12D 20 125200 19 | 26 | MS520 MC515 $2.5
* S25S-MCLNR/L12D 25 | 16 |250| 24 | 32 MS625 - MLP44
0 o . . ; * S32T-MCLNR/L12D 32 | 21 [300| 30 | 40 CN. 1204
93° PDZNR/L| 75° PSKNR/L | 90° PTENR/L | 93° PTUNR/L | 95° PWLNRI/L e SaoUMOLNRAL 12D | 40 | 26 1a50| 38 | 0 cioem | wipas | moszo .
............. _ S - * S50V-MCLNR/L12D 50 | 31 [400| 48 | 60 MS628
7 * S50V-MCLNR/L16D 50 | 31 |400| 48 | 60 C16BM MLP58 MC622 CN..1606..
o T4 x%l: 144 S20R-MCLNR12D 114 S20R-MCLNL12D *R=FF L=KF o JIREEHMITHY
o “k” SRRERER
P74 P75 P75 P76 P76 ® Ordering Example:1pcs S20R-MCLNR12D 1pcs S20R-MCLNL12D  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock

062 063



[

W }LE \ﬁ” 7j 1::|: ( I\/IJ:F:I:I'l ) Internal turning tool holder(M type)

A FL 71#Fllinternal Tool Holder

W }IJE \E’U 7] 1::|: ( Mil:lg ) Internal turning tool holder(M type)

50° S..MCWN..

®Dmin

@ =5

&d

F{mAE 50°

Main deflection
angle 50°

064

~FSi L2k ) H §] E ) w F 7R
7Y % Model RS Stud bolts Shim Pin Pressure plate Wrench Inserts
== =
d[f]L|h [Dm o fe V4 [ ] ~ (o]
* S20R-MCWNR/L12D 20 | 17 |200| 19 | 26 MS520 ) MLP44 MC515 S2.5
* S25S-MCWNR/L12D 25 119.5/250| 24 | 32
MS625
* S32T-MCWNR/L12D 32 | 23 |300| 30 | 40 s - CN..1204..
* S40U-MCWNR/L12D 40 | 27 |350(| 38 | 50 —— C12BM MLP46
S50V-MCWNR/L12D 50 | 33 |400| 48 | 60
® TR 114 S20R-MCWNR12D 14 S20R-MCWNL12D *R=HF L=KkKF o JIRFEERMITH
o “k” SRREEER
® Ordering Example:1pcs S20R-MCWNR12D 1pcs S20R-MCWNL12D  * R=righthand L=lefthand
® |nserts need to be ordered separately
® "[] "indicates standing stock
T F{R#E 107.5°
G” i Main deflection
D angle 107.5°
o od
107.5° S..MDQN.. 4.
28
atas
R~ Size(mm) W LiRte VAR 5T £ # R F ANy
1 = Stud bolts Shim Pin Pressure plate Wrench Inserts
£ S Model dlf|lL|nlD Ve < y 4 (2] ~ (7
* S20R-MDQNR/L11D 20 | 13 [200| 19 | 26 MS520 MC515 S2
MLP33 DN..1104..
* S25S-MDQNR/L11D 25 | 17 |250| 24 | 32 - S2.5
* S25S-MDQNR/L15D 25 | 17 |250| 24 | 32 MS625 MLP44
* S32T-MDQNR/L15D 32 |22.5/300| 30 | 42 MC620 Sl G
* S40U-MDQNR/L15D 40 | 26 |350| 38 | 50 MS628 D15BM MLP46 S3 h h
S50V-MDQNR/L15D 50 | 33 |400| 48 | 60
® T fl: 144 S20R-MDQNR11D 144 S20R-MDQNL11D *R=AF L=KLK£F o JIREERMITHY
o ‘%" SRRAEERER
® Ordering Example:1pcs S20R-MDQNR11D 1pcs S20R-MDQNL11D  *R=righthand L= left hand

"[] "indicates standing stock

Inserts need to be ordered separately

1 FiRfa 93°
’’’’’’’’’’’’’’’ - Main deflection
I angle 93°
o DD min od
93° S..MDUN.. A\ g\ E— CA 1
& 7 u
LH U
~FSi Wit & H 5] S R F 7]
FU -,'='5 Model R—ISIZe(mm) Sﬂtu%?%%lts Shim aPin Pressure plate \TVrench Inseg?:
==
d|f|L|h|[Dm & < ¥V 4 (2] ~ (7
* S20R-MDUNR/L11D 20 | 13 |200| 19 | 26 MS520 MC515 S2
MLP33 DN..1104..
* S25S-MDUNR/L11D 25 | 17 |250| 24 | 32 - S2.5
* S25S-MDUNR/L15D 25 | 17 |250| 24 | 32 MS625 MLP44
* S32T-MDUNR/L15D 32 | 22 |300| 30 | 42 MC620 5 e
S40U-MDUNR/L15D 40 | 26 |350| 38 | 50 MS628 D15BM MLPA46 S3
S50V-MDUNR/L15D 50 | 32 |400| 48 | 60
o TR fl: 114 S20R-MDUNR11D 114 S20R-MDUNL11D *R=HAF L=KF o JIFEZEBMITN
° ‘X SERHEER
® Ordering Example:1pcs S20R-MDUNR11D 1pcs S20R-MDUNL11D  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
oz ] q R 93
N J M el 55+ "
DDmin
93° S..MDZN.. ] .
‘f"!’} ey 1A Z
-/;’ h,|
L
~Si PSSy & H 5] = R F 7]
ﬂ % Model R—"-Slze(mm) S%u%?%%fs Jghim aPiriE Pressuryglate \TVrench Inseﬁs_
d|f[L]|h|Dml ¢ < ¥ 4 (2] ~- (7
* S32T-MDZNR/L15D 32 | 22 |300| 30 | 42 Ms625
* S40U-MDZNR/L15D 40 | 27 |350| 38 | 50 VT D15BM MLP46 MC620 S3 DN..1504..
S50V-MDZNR/L15D 50 | 35 |400| 48 | 60
TR B 144 S20R-MDZNR11D 114 S20R-MDZNL11D *R=HFF L=KF o JIREERMITHY

k7 SRTEEER

Ordering Example:1pcs S20R-MDZNR11D 1pcs S20R-MDZNL11D
Inserts need to be ordered separately
"[] "indicates standing stock

* R=right hand

L= left hand

065



[

W }LE \ﬁ” 7j 1::|: ( I\/IJ:F:I:I'l ) Internal turning tool holder(M type)

A FL 71#Fllinternal Tool Holder

W }IJE \E’U 7] 1::|: ( Mil:lg ) Internal turning tool holder(M type)

I | FRf 75°
ﬁ’/*f 77777777777777 Alk Main dlefl7eg£ion
angle
®Dmin
o &d
75" S..MSKN.. @ g - — < ——— I R )
L<£>
<FSi L2k ) H £ E ) " F 7R
7Y % Model RIS Stud bolts Shim Pin Pressure plate Wrench Inserts
==
d]f|L][h[Dm] & a ¥ 4 » ~ (]
* S20R-MSKNR/L12D 20 | 13 |200| 19 | 26 MS520 MLP44 MC515 S2.5
* S25S-MSKNR/L12D 25 | 17 |250| 24 | 32 MS625
* S32T-MSKNR/L12D 32 | 22 | 300| 30 | 40 MS620 MC620 - SN..1204..
* S40U-MSKNR/L12D 40 | 27 |350| 38 | 50 T D15BM MLP46
S50V-MSKNR/L12D 50 | 34 |400| 48 | 60
® TR fl: 144 S20R-MSKNR12D 114 S20R-MSKNL12D *R=HF L=KF o JIREEHMITM
o ‘X" SRRERER
® Ordering Example:1pcs S20R-MSKNR12D 1pcs S20R-MSKNL12D  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
T 1 Ffmea 93°
= i E Main dleflg:’(‘:gion
angle
®Dmin
° ®d
93° S.MTJN.. (cp\ y [ I _
¥ = k=
<h.|
L }
R~fSize(mm) XL iRk H §] 5 w F 7R
iu % Model Stti;olts ? Pres?plate Wrench |ngts
d| f | L | h |Dmn ~~
* S20R-MTJNR/L16D 20 |12.5/200| 19 | 26 MS520 VI MC515 S2 S2.5
* S25S-MTJNR/L16D 25 | 16 |250| 24 | 32
MS620 S2 TN..1604..
* S32T-MTJNR/L16D 32 | 22 | 300| 30 | 42 MC620
D15BM MLP34 S3
* S40U-MTJNR/L16D 40 | 26 |350| 38 | 50 MS628
® T4~ fl: 144 S20R-MTJNR16D 114 S20R-MTJNL16D *R=FF L=KF o JIRFEERMITHY
o ‘% SRRERERF
® Ordering Example:1pcs S20R-MTJNR16D 1pcs S20R-MTJNL16D  * R=righthand L= left hand

[] "indicates standing stock

066

Inserts need to be ordered separately

I | Fm 90°
t 1 Main deflection
|
©Dmin I 1 angle 90°
90° S.MTFN 5 -
.. .. N . ] 2
@ sis—rt
h
Lt
~FSi WL i2te 78] e H 5 E R R F kR
£l & Model Ryl Stud bolts Shim EPin Pressure plate Wrench Inserts
==
d|f[L[h[Dm & L ¥ 4 ™ ~ /N
* S20R-MTFNR/L16D 20 [12.5/200| 19 | 26 MS520 MLP33 MC515 S2,S2.5
* S25S-MTFNR/L16D 25 | 16 |250| 24 | 32 e ) MC625
* S32T-MTFNR/L16D 32 | 21 |300| 30 | 42 S2 TN..1604..
* S40U-MTFNR/L16D 40 | 26 |350| 38 | 50 T16BM MLP34 S3
S50V-MTFNR/L16D 50 | 31 [400| 48 | 60 MC620
% S40U-MTENR/L22D | 40 | 26 |350| 38 | 50 | MS628
T22BM MLP46 S3 TN..2204..
* S50V-MTFNR/L22D 50 | 31 |400| 48 | 60
® TR %l: 144 S20R-MTFNR16D 114 S20R-MTFNL16D *R=AF L=KLKEF o JIREZERMITH
o ‘“k” SRRAERERF
® Ordering Example:1pcs S20R-MTFNR16D 1pcs S20R-MTFNL16D  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
T T FiRfa 93°
= { + Main deflection
;5 | 1 angle 93°
®Dimin o
93° S..MTUN.. AR 2
@ ¢
h
L=t
FSi L8 7] & H £T E R R F kR
il_] % Model R‘J’Slze(mm) Stud bolts Shim ﬁPin Pressure plate Wrench Inserts
d[f]L]h[Dm o L ¥ 4 > ~. AN
* S20R-MTUNR/L16D 20 [12.5/200| 19 | 26 MS520 MLP33 MC515 S$2,82.5
* S25S-MTUNR/L16D 25|16 |250| 24 | 32 MS625 i MC625
* S32T-MTUNR/L16D 32 | 21 |300| 30 | 42 S2 TN..1604..
* S40U-MTUNR/L16D 40 | 26 [350| 38 | 50 T16BM MLP34 S3
* S50V-MTUNR/L16D 50 | 31 [400| 48 | 60 S628 MC620
* S40U-MTUNR/L22D 40 | 26 |350| 38 | 50
T22BM MLP46 S3 TN..2204..
S50V-MTUNR/L22D 50 | 31 |400| 48 | 60
TR B 1144 S20R-MTUNR16D 114 S20R-MTUNL16D * R=AF L=KF o JIREEHMITH
“k” SRTEERER
Ordering Example:1pcs S20R-MTUNR16D 1pcs S20R-MTUNL16D  * R=righthand L=left hand

Inserts need to be ordered separately
"[J "indicates standing stock

067



A FL 71#Fllinternal Tool Holder

[

|j\:| }LE ﬁﬂ B H: |j\] }LE iﬁ'U 7] H: ( Mil:lg ) Internal turning tool holder(M type)

MEL .
=t Internal turning tool holder(M type)

F{mf 105° @/ *mf 93°
5 Main deflection ! i Main R:Jeflection
®Dimin ] angle 105° @J I 1 angle 93°
. od . PDmin o4
105° S..MTQN.. @ Q@/, : S 93° S.MVUN.. @«} @n‘s T =
v f - \V/ f3 I h
Lo ]
R Size(mm) XL igte VAN W & E iR R F 7k R<JSize(mm) XL e R e 5 W F ANy
;:F:':U _,l=l5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts ;q::':U _,l=l5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
dlflL|h[Dm & L y 4 (2] ~ AN dlflL]n[pom & <= ¥ 4 » ~ o
* S20R-MTQNR/L16D 20 [12.5/200| 19 | 26 MS520 LP33 MC515 $2,82.5 * S25S-MVUNR/L16D 25 | 20 |250| 24 | 36 MS625 - MLP33
* S25S-MTQNR/L16D 25 | 16 |250| 24 | 32 VIS625 MC625 * S32T-MVUNR/L16D 32 | 22 (300 30 | 42 VG620 S2 UN. 1604
* S32T-MTQNR/L16D 32| 21 [300| 30 | 42 s2 TN..1604.. * S40U-MVUNR/L16D 40 | 27 |350| 38 | 50 115628 V16BM MLP34 s3 h h
* S40U-MTQNR/L16D 4026|350/ 38 | 50 | T16BM MLP34 MC620 s3 S50V-MVUNR/L16D 50 | 32 |400| 48 | 63
S50V-MTQNR/L16D 50 | 31 |400) 48 | 60 o iT#RMl: 14 S25R-MVUNR16D 144 S25R-MVUNL16D *R=HF L=KF o L EZ BT
o T /R%: 144 S20R-MTFNR16D 114 S20R-MTFNL16D *R=FAF L=LK£F e JREERMITHY o “k” SRREEER
® kT SERREER ® Ordering Example:1pcs S25R-MVUNR16D 1pcs S25R-MVUNL16D  * R=righthand L= left hand
® Ordering Example:1pcs S20R-MTFNR16D 1pcs S20R-MTFNL16D  * R=righthand L=left hand ® |nserts need to be ordered separately
® |nserts need to be ordered separately ® "[] "indicates standing stock
® "[] "indicates standing stock
1 *{mfa 60° 0 Fimfg 117.5°
1 Main deflection 1 Main deflectign
PDmin ! EmgeEn ®Drmin 1 angle 117.5
&d &d
60° S.MTWN.. . p; S 117.5° S.MVQN.. 4 D ]
B v : P , }
W T [P
L M
+Si WkiRte VARE:] H £ E R R F ANy ~Si SLife B | S
;__:F.g _% Model R_J—SIZe(mm) Stud bolts Shim Pin Pressure plate Wrench Inserts ;__:F.g _% Model RTSIZe(mm) XS%U%T%%L 7ghim éaPir?]- Pressure plate \?Iirerizh Ijr?seg?:
dlf]L]h[Dm & L V4 > r~ /N dlf]L]h[Dm & ~5e ¥ 4 D ~ 7
* S20R-MTWNR/L16D 20 | 14 |200| 19 | 27 MS520 LP33 MC515 S2,82.5 * S25S-MVQNR/L16D 25 | 17 |250| 24 | 36 VS625 - MLP33 MC622
* S25S-MTWNR/L16D 25 |16.5/250| 24 | 32 MS625 i * S32T-MVQNR/L16D 32 | 23 |300| 30 | 42 s2 UN. 1604
* S32T-MTWNR/L16D 32 | 20 |300| 30 | 39 e s2 TN..1604.. * S40U-MVQNR/L16D 4027|350 38 | 50 | o V16BM MLP34 MC624 S3 h h
* S40U-MTWNR/L16D 40 | 24 |350| 38 | 50 | MS628 T16BM MLP34 s3 * S50V-MVQNR/L16D 50 | 33 |400| 48 | 63
S50V-MTWNR/L16D 50 | 29 |400| 48 | 57 o TR Hl: 144 S25R-MVQNR16D 114 S25R-MVQNL16D *R=FF L=KLKF o JIREERMIT
® iT#=fl: 14 S20R-MTWNR16D 144 S20R-MTWNL16D *R=%HF L=%£F e IR EEHMITH ® k" SRIREERS

o k7 SRIBHER ® Ordering Example:1pcs S25R-MVQNR16D 1pcs S25R-MVQNL16D  * R=righthand L= left hand

Inserts need to be ordered separately

® Ordering Example:1pcs S20R-MTWNR16D 1pcs S20R-MTWNL16D  * R=righthand L=left hand
Inserts need to be ordered separately

"] "indicates standing stock

"[] "indicates standing stock

068 069



/i

RFAZFEEITIHF (ME)

Internal turning tool holder(M type)

W}LE\E’UBH (M;_—:Flg) Internal turning tool holder(M type)

070

T 1 *{mM 105°
%/ i E Main deflection
angle 105°
®Dmin
o od
92.5° S.MVWN.. \/n} «% L: I
12
P 7 = by
L - —
~+Si SLig U] H £] E )R F 7]
Eadl] % Model RJSize(mm) Stud bolts Shim %Pin Pressure*plate V*V&rench |nse£?:
= dlf]L]h|Dom & < ¥ 4 [ ~. £
* S25S-MVWNR/L16D 25 | 23 |250| 24 | 36 S2
MS625 V16BM MLP34 MC620 VN..1604..
* S32T-MVWNR/L16D 32 | 27 | 300| 30 | 42 S3)
® TR H: 144 S25R-MVWNR16D 114 S25R-MVWNL16D *R=FF L=KF o T REERMITH
o "k SRINEHER
® Ordering Example:1pcs S25R-MVQNR16D 1pcs S25R-MVQNL16D  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
ﬂ/ I 1 ifﬁ%96e
< ! M ale e
PDmin
° an &d
96° S..MVXN.. A - —e. e N e
(£ L0 ) #
Vi = f éﬁ
&/ L e L+
R~fSize(mm) SLaZ 7] H & : R F AN
;:F:t:u _.|=|5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
d| f|L|[h|[Dm| & < ¥ 4 > ~ o7
* S20R-MVXNR/L16D 20 | 14 |200| 19 | 27 MS520 Viee MC515 S$2,S2.5
* S25S-MVXNR/L16D 25 | 17 |250| 24 | 32 VTG
* S32T-MVXNR/L16D 32 | 13 |300| 30 | 42 S2 VN..1604..
V16BM -
S40U-MVXNR/L16D 40 | 27 |350| 38 | 50 e MLP34 S3
S50V-MVXNR/L16D 50 | 31 |400| 48 | 60
® TR 114 S25R-MVQNR16D 114 S25R-MVQNL16D *R=fHF L=KEF o JIREHEERMITHY
o ‘X" SRRAERER
® Ordering Example:1pcs S25R-MVQNR16D 1pcs S25R-MVQNL16D  * R=right hand L=left hand

[] "indicates standing stock

Inserts need to be ordered separately

T EimA 95°
ﬁ 1 Main deflection
1} angle 95°
PDmin N
o d
95° S.MWLN.. D saled 5
N 2 f L ’h
L= i
R<FSize(mm) Wkigge | G E 1R i F K
gg _'|=|5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
d]f[L]h [Dm & a Y4 [ r~ 0
* S16Q-MWLNR/L06D 16 | 10 |180| 15 | 20 MS516
* S20R-MWLNR/LO06D 20 | 12 |200| 19 | 25 MLP33 S2 WN..0604..
MS520 MC515
* S25S-MWLNR/L06D 25 | 15 |250| 2 | 32 = S2.5
* S20R-MWLNR/LO8D 20 (12.5/200| 9 | 25 MS620 VL
* S25S-MWLNR/L0O8D 25 | 16 [250| 24 | 32 VG S3,S2.5
* S32T-MWLNR/L08D 32 | 21 |300| 30 | 42 Ve WN..0804..
* S40U-MWLNR/LO8D 40 | 26 |350| 38 | 50 W08BM MLP46 S3
* S50V-MWLNR/L0O8D | 50 | 31 [400| 48 | 60 | MS628
o T Rfl: 144 S20R-MWLNRO8D 114 S20R-MWLNLO08D *R=HAF L=KLKEF o JIREEHRMITHY
o ‘%’ SRRERER
® Ordering Example:1pcs S20R-MWLNRO8D 1pcs S20R-MWLNLO8D  * R=righthand L=lefthand
® Inserts need to be ordered separately
® "[] "indicates standing stock

A FL 71#Fllinternal Tool Holder

071



&;E@@ A FL 71#Fllinternal Tool Holder

W}LE \%’UBH (Pil:lg) Internal turning tool holder(P type) W}LE\%UDH (P;:F:I:U) Internal turning tool holder(P type)

<7 | FR 75° 7ﬁ/ T ] R 62.5°
- } ] Main deflection I i Main deflectiaon
Do D ) angle 75° oD ; angle 62.5
75° S..PCKN.. ) . ‘ 62. 5° S..PDPN.. . I |
AN S S Go N\ f |
B A = : [ |
Gy /TEe D ' e 1A |
’ L \_on L ®D
I I 1
R~fSize(mm) FLATARET 7] T+ 1 R F VAN R~FSize(mm) FLATARET 7] T 1 R F kR
g—g % Model Lever screw Shim Lever Stop pin Wrench Inserts ﬂ _,l=l5 Model Lever screw Shim Lever Stop pin Wrench Inserts
dlf|L]|h|Dml ¢ O '™ [ ] ~ B dlt L[ h|Dml o* < " N ~ £y
S25S-PCKNR/L12D 25 | 17 |250| 28 | 32 MCS614 - L4A - S2.5 S32T-PDPNR/L1504D 32 | 22 |300| 30 | 40 n BNI504
* S32T-PCKNR/L12D 32| 22 |300| 30 | 40 CN..1204.. S40U-PDPNR/L1504D | 40 | 27 |350]| 37 | 50 - -
MCS821 C12BP L4 SP4 S3 MCS821 D15BP SP4 S3
S40U-PCKNR/L12D 40 | 27 |350| 37 | 50 S32T-PDPNR/L15D 32 | 22 |300| 30 | 40 e B e
® TR 114 S25S-PCKNR12D 144 S25S-PCKNL12D *R=FF L=KF o T REERMITH S40U-PDPNR/L15D 40 | 27 |350| 37 | 50 - -
* X' SRTRERT o iT#mfl: 114 S32T-PDPNR15D  1f# S32T-PDPNL15D *R=HF L=£F ¢ IABELMITH
® Ordering Example:1pcs S25S-PCKNR12D 1pcs S25S-PCKNL12D  * R=righthand L= left hand o “k” BERTEEER
® |nserts need to be ordered separately X . .
® [ “indicates standing stock ® Ordering Example:1pcs S32T-PDPNR15D 1pcs S32T-PDPNL15D R=righthand L= left hand
N ® |nserts need to be ordered separately
® "[] "indicates standing stock
1w 95°
& |
®Dumin D
o
95° S..PCLN.. =~ < Q
T57e/0 |
dD
r L 1
T I +{®fE 107.5°
" | 1 Main deflection
R<FSize(mm) FLAFARET JRY T = w®F kR é l J angle 107.5°
ﬁl—i _% Model Lever screw Shim Lever Stop pin Wrench Inserts ®Dmin .
d]t[L]h |Dm o® e | | ~ [2] 107. 5° S..PDQN.. (& o=
Q
* S16M-PCLNR/L09D 16 | 10 | 150| 15 | 20 N [efC N
* S16R-PCLNR/L09D 16 | 10 [200| 15 | 20 L o
MCS509 ‘
* S20Q-PCLNR/L09D 20 | 13 [180| 19 | 25
L3C S2 CN..0903..
* S20S-PCLNR/L09D 20 | 13 [250| 19 | 25 i i
* S25Q-PCLNR/L09D 2517 |180| 24 |32 | R Size(mm) FTATARET 7] B T # 1 w F 7R
* S25T-PCLNR/L09D 25| 17 |300| 24 | 32 & = Model Lev;;rew g Lever su;pm Wrench Ins@erts
d f L | h |Dumin y : ~
* S25Q-PCLNR/L12D 25 | 17 |180| 24 | 32 MeSB14 LAA o5 S20R-PDQNR/L11D 20 | 13 |200| 18 | 25 b
* S25T-PCLNR/L12D 25 | 17 |300| 24 | 32 ’ ) MCS512 = L3D - S2 DN..1104..
* S32R-PCLNR/L12D |32 | 22 |200| 30 | 40 SASER ROy DD 2 i) ) e
* S32U-PCLNR/L12D | 32 1 22 350 30 | 40 CN..1204 iiiﬂ'iggﬂiﬂggig 22 23 222 23 22 L ON.1504.-
* S40S-PCLNR/L12D 40 | 27 |250) 38 | 50 | C1a8p " . D 832T-PDQNR/L15D w2 | 23 1300 30 | 4p | MCS82! D15BP SP4 S3
* S40V-PCLNR/L12D 40 | 27 [400| 38 | 50 s3 i L4B DN..1506..
S50S-PCLNR/L12D | 50 | 35 |250| 48 | 63 S40U-PDQONR/LTSD | 40 | 27 [350] 37 | S0
S50W-PCLNR/L16D 50 | 35 |450| 48 | 63 | MCS614 C16BP L5 SP5 CN..1606.. ® ‘X" SRIREER
® THRM: 14+ S20S-PCLNR12D 14 S20S-PCLNL12D *R=KFF L=KF o TR EEHMITH ® Ordering Example:1pcs S32T-PDQNR15D 1pcs S32T-PDQNL15D  * R=righthand L=left hand
o “k” BEESEEES ® |nserts need to be ordered separately
S ARTN B F [ ]

"[] "indicates standing stock

® Ordering Example:1pcs S20S-PCLNR12D 1pcs S20S-PCLNL12D  * R=righthand L=left hand
Inserts need to be ordered separately

"[] "indicates standing stock
072 073



&;E@@ A FL 71#Fllinternal Tool Holder

W}LE \%’UBH (Pil:lg) Internal turning tool holder(P type) W}LE\%UDH (P;:F:I:U) Internal turning tool holder(P type)

I 1 *{m 93° | ) R 75°
. %‘ﬁ‘ i ﬂ Main dleﬂec‘t)ion *% ; ] Ma;mdﬁaﬂ%yon
®Dmin h Emgo ®Dmin <ﬂ, 9
o o
93" S..PDUN.. e Y 75° S..PSKN.. o AT <
4 EX A ft o O
L ®D L »D
F |
RFSize(mm) FLATIRET 7] & L #F 1 wF 7R R~FSize(mm) FLATFIRET 7] & T #F 1 wF 7R
iu % Model Lever screw Shim Lever Stop pin Wrench Inserts il_] % Model Lever screw Shﬁq Lever Stop pin Wrench Inserts
dlf]L]|h|Dm < = | ~ [/ d| f|L|h Dum o | = | ~
* S20Q-PDUNR/L11D 20 | 13 |180| 18 | 25 * S25S-PSKNR/L12D 25 | 17 |250| 23 | 32 MCS614 o LA4 © S2.5
* S20S-PDUNR/L11D 20 | 13 |250| 18 | 25 * S32T-PSKNR/L12D 32 | 22 |300| 30 | 40 SN..1204..
* S25Q-PDUNR/L11D 25 | 17 |180] 23 | 32 Mess12 ) L3P ) s2 DN 1104 S40U-PSKNR/L12D 40 | 27 |350]| 37 | 50 Mess21 S128P L4 SP4 s3
* S25T-PDUNR/L11D 25 | 17 |300| 23 | 32 ® JTHRHI: 144 S25S-PSKNR12D 114 S25S-PSKNL12D *R=AF L=K£F o JIREFEERMITHY
* S32R-PDUNR/L1504D | 32 | 22 |200| 30 | 40 o “k” BERTERZETR
X 532U-PDUNR/L1504D 7 [1327)22 /850 30 | 40 L4 SR S ® Ordering Example:1pcs $25S-PSKNR12D 1pcs $25S-PSKNL12D  *R=righthand L= left hand
* S40S-PDUNR/L1504D | 40 | 27 |250| 37 | 50 ® Inserts need to be ordered separately
* S40V-PDUNR/L1504D 40 | 27 |400| 37 | 50 ® "[] "indicates standing stock
S32R-PDUNR/L15D 32 | 22 |200| 30 | 40 Mes821 D158P sPa s3 ’
S32U-PDUNR/L15D 32 | 22 |350| 30 | 40
L4B DN..1506..
S40S-PDUNR/L15D 40 | 27 |250| 37 | 50
S40V-PDUNR/L15D 40 | 27 |400| 37 | 50
® TR f{l: 144 S25T-PDUNR11D 144 S25T-PDUNL11D *R=FF L=kKF o JIREERMITH
o “k” SRREEERF
® Ordering Example:1pcs S25T-PDUNR11D 1pcs S25T-PDUNL11D  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
| H EE{%%QOD
1 | Main deflection
angle 90°
®Dmin h
90° S..PTFN.. I < q
N RO T r— i
x F{Rfp 93° e ' o “‘
- "'1.‘ """"""""""""""""""""""" ; Main dleflgé:gion L |
angle
PDmin h
93° S.PDZN.. w T
\ f s / <FSi FLATARET 7] B T+ 1 w® F 7R
t o . NoD_ ;;::U _,|=|5 Model RTSIZe(mm) Lever screw Shim Lever Stop pin Wrench Inserts
‘ d[f][L]h|Dm o* N | - N ~
* S16R-PTFNR/L11D 16 | 11 |200| 15 | 20 MCS509 L2
* S20S-PTFNR/L11D 20 | 13 |250| 18 | 25
Si TATIR 2 T =z - - S2 TN..1103..
B 2= Model R Size(mm) iﬁﬁg ngmé tevﬂ: ’é%lpf,.% vﬂvffefh Esei * S25Q-PTFNR/L16D 25 | 17 |180| 23 | 32
= Mode dalflL]nlD o < " [ ] ~ /57 S25T-PTFNR/L16D 25 | 17 |300| 23 | 32 | MCS®12 L8
min S~ -
S32T-PDZNR/L1504D | 32 | 22 |300| 30 | 40 L4 DN, 1504 S32R-PTFNR/L16D 32 | 22 1200| 30 | 41
- v h S32U-PTFNR/L16D 32 | 22 |1350| 30 | 41
S40U-PDZNR/L1504D o )z Ee] e ) St MCS821 D15BP SP4 S3 4 MCS617 T16BP L3 SP3 S2.5 TN..1604..
S32T-PDZNR/L15D 32 | 22 |300| 30 | 40 S40S-PTFNR/L16D 40 | 27 |250| 37 | 50
L4B DN..1506..
S40U-PDZNR/L15D 40 | 27 |350| 37 | 50 S40V-PTFNR/L16D 40 | 27 |400| 37 | 50
o T /Rfil: 144 S32T-PDZNR15D 144 S32T-PDZNL15D *R=HF L=KF o JIREERMITH ® THRf%: 144 S25S-PTFNR16D 1% S25S-PTFNL16D *R=AF L=K£F e JIEEEMMITY
o ‘X" SKRREEER o “k” SHRREERER
® Ordering Example:1pcs S32T-PDZNR15D 1pcs S32T-PDZNL15D  * R=righthand L= left hand ® Ordering Example:1pcs $255-PTFNR16D 1pcs S258-PTFNL16D  * R=righthand L= lefthand
® Inserts need to be ordered separately ® |Inserts need to be ordered separately
®o " ® "[] "indicates standing stock

"[] "indicates standing stock

074 075



[

W }LE \ﬁ” D 1::|: ( ng) Internal turning tool holder(P type)

93° S..PTUN..

PD

F{mep 93°

Main deflection
angle 93°

SEITIHRESEMIER

S-type Tool Holder Type and Operation Genre

A FL 71#Fllinternal Tool Holder

95° SCLCRI/L

95° SCLCR/L-P

75° SCKCRI/L

93° SDJCRI/L

P80 P81 P81 — P82
75° SSKCRI/L 45° SSSCRI/L 90° STF..R/L 60° STW..R/L
R ¢
-— P83 P83 P84 - P85 — P86
93° SVJ..R/L 93° SVJBRI/L 93” SVU..R/L | 117.5° SVQ..R/L| 93° SVZ..R/L
<
-— P87 -— P87 — P88 — P89 - P89

076

R~fSize(mm) FLAFERET 7] B AT 1 R F VAN
gg _.I=I5 Model Lever screw Shim Lever Stop pin Wrench Inserts
dlf]L]h |[Dml & -] - 8 ~_ )
* S25S-PTUNR/L16D 25 | 17 |250| 23 | 32 MCS512 L3B - S2
* S32T-PTUNR/L16D 32 | 22 |300| 30 | 40 TN..1204..
MCS617 T16BP L3 SP3 S3
S40U-PTUNR/L16D 40 | 27 |350| 37 | 50
® T /Rf: 144 S25S-PTUNR16D 114 S25S-PTUNL16D *R=FF L=KEF o JIRFEERMITY
o “k” SRRAERER
® Ordering Example:1pcs S25S-PTUNR16D 1pcs S25S-PTUNL16D  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
‘ ] FRf 95°
- @ I ﬁ Main deflection
®Drmin n angle 95°
95° S..PWLN.. N -
t}/[e¥ ) X
»D
L
R~fSize(mm) FLAFARET 7] & AT 1 R F VAN
gg _,|=|5 Model Lever screw Shim Lever Stop pin Wrench Inserts
dlf]L]|h[Dm o a - 8 ~_ 16)
*x S16M-PWLNR/L06D 16 | 11 |150| 15 | 20
L3 WN..0603..
* S16R-PWLNR/L0O6D 16 | 11 |200| 15 | 20
* S20Q-PWLNR/L06D 20 | 13 |180| 18 | 25
MCS512 S2
* S20S-PWLNR/LO6D 20 | 13 |250| 18 | 25
L3B WN..0604..
* S25Q-PWLNR/L0O6D 25 | 17 |180| 23 | 35
* S25T-PWLNR/L0O6D 25| 17 |300| 23 | 35
* S20Q-PWLNR/L0O8D 20 | 13 |180| 18 | 23
* S20S-PWLNR/L0O8D 20 | 13 |250| 18 | 23
* S25Q-PWLNR/L08D 25 | 17 [180| 23 | 35 MCS614 L4A S2.5
* S25R-PWLNR/L08D 25 | 17 |200| 23 | 35
* S25T-PWLNR/L0O8D 25 | 17 |300| 23 | 35 WN..0804..
* S32R-PWLNR/L08D 32 | 22 |200| 30 | 41
* S32U-PWLNR/L0O8D 32 | 22 |300| 30 | 41 e R L4 - -
* S40S-PWLNR/L08D 40 | 26 |250| 37 | 50
* S40V-PWLNR/L08D 40 | 26 |400| 37 | 50
e TR fl: 14 S20S-PWLNRO6D 1 S20S-PWLNL06D *R=HF L=KkKF o I EEAMITI
o ‘X SRRERER
® Ordering Example:1pcs S20S-PWLNRO6D 1pcs S20S-PWLNL0O6D  * R=righthand L= left hand
°

Inserts need to be ordered separately
'] "indicates standing stock

95° SWLCRI/L

y P90

95° SCLCR/L-A

93° STUBR/L-A

90° STFBRI/L-A

E-

-—

P91

93° SWUBRJ/L-A

|

-

P92

90° SCFCRI/L-S

Eiﬂ:g P92

90° STF..R/L-S

-—

95° SCLCRI/L

Cold '

BAMRIIEESEMIAEI stro

ng vibration resistan

ce tool models and pr

ocessing forms

P95

-

95° SCLCRI/L

107.5° SDQCRI/L

P96

93° SDUCRI/L

P96

93° STU..R/L

95° SWUBRI/L

077



&;E@@ A FL 71#Fllinternal Tool Holder

W}LE \%’UBH (Sﬂ) Internal turning tool holder(S type) W}LE\E’UDH (S;:F:I:U) Internal turning tool holder(S type)

L

| F{RF 95° FEimA 90°
e Main deflection Ef—f 1 Main deflection
[ | angle 95° ®Dmin E .[_[ ] angle 90°
od <d

90° S..SCFC..

P1 . X—— | e — EDN s ANST——A——— | _
5 - e W e =
I L ¥ L

-

®Dmin

i

95° S..SCLC(P)..

: < Si 92 5] F
éy_g( Mjizrﬁilegcstion ﬂ _% Model R__I'Slze(mm) Screw Va?lire’n:ch Inserts
o angle 95° d f L h [Dmin P - @
P2 X * S08K-SCFCR/L06D 8 | 55125 7.4| 10
7 L60 M2.5X5
201/ 7 * S10K-SCFCR/L06D 10 | 6.5 125 9 | 13 T8 CC..0602..
e L h @ * S12M-SCFCR/L06D 12 | 7.5[150| 11 | 16 L60 M2.5X6
- * S12M-SCFCR/L09D 12| 8 |150| 11 | 16
* S16Q-SCFCR/L09D 16 | 10 |180| 15 | 20 L60 M4X8
T15 CC..09T3..
FRSrsize(mm) o 02 &7 R E 7 E * S20R-SCFCR/L09D 20 | 12 |200| 19 | 25
#l & Model '%'@ SelE Rench Inserts * S25S-SCFCR/L09D 25 [15.5/250| 24 | 32 L60 M4X10
d{di| f|L|L|h |Du™3 Lo * S20R-SCFCR/L12D 20 |12.5/200| 19 | 25
* S06H-SCLCR/L06D 6 | - | 4100 - 548 * $25S-SCFCR/L12D 25 | 13 |250| 24 | 32
* S07K-SCLCR/L06D 7 - |4.25|/125| - |6.4 | 9 T S * S32T-SCFCR/L12D 32 | 20 |300/| 30 | 39 LOOIMOAT2 (20 CC..1204..
* S08K-SCLCR/L06D 8 | - |55|125| - |7.4|10 T8 CC..0602.. * S40U-SCFCR/L12D 40 |24.5/350| 38 | 50
* S10K-SCLCR/L06D S e R ® iT#R4I: 1 S20R-SCFCRO9D 144 S20R-SCFCLOYD #R=HF L=%kF o IHEEHMITH
* S12M-SCLCR/L06D 12| - |7.5[150| - | 11 | 16 L60 M2.5X6 o “k” CEFEEERS
* ST2M-SCLCR/LOSD ) 12| - 1 8 1180} - 11 116 e Ordering Example:1pcs S20R-SCFCRO9D 1pcs S20R-SCFCLO9D  * R=righthand L= left hand
* S14N-SCLCR/LOSD 141 - | 9 |160) - |13 18 P1 L60 M4X8 ® Inserts need to be ordered separately
* S16Q-SCLCR/L09D 16 | - 10 |180| - | 15 | 20 T15 CC..09T3.. ® "[] "indicates standing stock
* S20R-SCLCR/L09D 20| - |12 |200| - |19 |25
* S25S-SCLCR/L09D 25| - [15.5/250| - |24 |32 L60 M4X10
* S20R-SCLCR/L12D 20 | - |12.5/200| - |19 |25
* S25S-SCLCR/L12D 25 | - |15.5/250| - |24 |32 e o .y T
* S32T-SCLCR/L12D 32| - |20 |300] - | 30|39 e s ] Main defiection
* S40U-SCLCR/L12D 40 | - |24.5/350| - |38 |50 D L U angle st
S10K-SCLCR/L06-16 | 16 | 10 | 6.5|125| 20 | 15 | 13 L60 M2.5X5 CC..0602.. 75° S..SCKC.. @ AT ; o )
S12K-SCLCR/L06-16 16112 | 8 |125) 20 | 15 |16 | T8 'ﬂb /:t\ f Z ]
S16K-SCLCR/L06-20 |20 | 16 | 10 |125| 20 | 19 | 20 L60 M2.5X6 CC..09T3.. Ll—h»
S20K-SCLCR/L06-25 25|20 | 12 [125] 20 | 24 | 25 ‘
. o .
gg _.l=l5 Model RQ‘Slze(mm) l%lg T‘S?}:re%v?vr Vﬂlirer?; Zr?seﬁs- U _,l=l5 Model RT_I'Slze(mm) %%:re%; Wrenph Inserts
d{di|f|L|L|h |Dm™5 (o] = d| f|L|h Dm P [°)
* S10K-SCLPR/L06D 10| - 6 [125| - | 9 |12 NG T8 CP. 0602 * S08K-SCKCR/L06D 8 |5.5(125|7.4| 10 GO NG
* S12M-SCLPR/L06D 12| - 8 [150| - | 11 | 16 - ’ N N * S10K-SCKCR/L06D 10 |6.5|125| 9 | 13 T8 CC..0602..
* S16Q-SCLPR/L09D 16| - | 10 (180 - |15 |20 P T15 CP.09T3 * S12M-SCKCR/L06D 12 | 7.5|150| 11 | 16 L60 M2.5X6
S20R-SCLPR/L09D 20 | - | 13200 - |18 |25 - v * S12M-SCKCR/L09D 12| 8 |150| 11 | 16
® iT#=%l: 14 S20R-SCLCR09D 144 S20R-SCLCLO9D *R=HAF L=K=F o IR EE B MITHY * S16Q-SCKCR/L09D 16 | 11 |180| 15 | 20 L60 M4X8 e e GET
o “k” SRREEER * S20R-SCKCR/L09D 20 | 13 |200| 19 | 25 - h
® Ordering Example:1pcs S20R-SCLCRO9D 1pcs S20R-SCLCLOID  *R=righthand L= left hand * S258-SCKCR/LOSD | 25 1155250 24 | 32 L60 M4Xx10
® Inserts need to be ordered separately * S$25S-SCKCR/L12D 25 | 16 |250| 24 | 32 L60 M5X12 T20 CC..1204..
® "(] "indicates standing stock T8 %1: 14 S20R-SCKCRO9D 14 S20R-SCKCL09D *R=HFF L=KkF * IRFERERITM

°
o “k7 SRINEEER

® Ordering Example:1pcs S20R-SCKCRO09D 1pcs S20R-SCKCL09D  * R=righthand L= left hand
® [nserts need to be ordered separately

°

"[] "indicates standing stock
078 079



&;E@@ A FL 71#Fllinternal Tool Holder

W}LE \%’UBH (Sﬂ) Internal turning tool holder(S type) W}LE\%UDH (S;:F:I:U) Internal turning tool holder(S type)

1 F{RAm 93° T E1RfE 107.5°
oo T .. oomy P u S
o @d . ; . @d
93° S..SCZC.. @P e % 107.5° S..SDQC(P).. @\Q«i N =
A | f O,
@ dsp |
) 93° lh | h
| L %’A L
R~fSize(mm) 12 57 R F AN R~ Size(mm) 12 57 R F AN
il_] _% Model Sﬁw Wrench Inserts il_] % Model S$W Wrench Inserts
d| f|L|h |Dm (o] d| f|L|h [Dm 7
* S08K-SCZCR/L06D 8 |6.5(125|7.4| 12 * S08K-SDQCR/L0O7D 8 6 |125|/7.4| 11
L60 M2.5X5 L60 M2.5X5
* S10K-SCZCR/L06D 10 | 7.5|125| 9 | 14 * S10K-SDQCR/L0O7D 10| 7 |125] 9 | 13
* S12M-SCZCR/L06D 12 | 8.5(150| 11 | 16 T8 CC..0602.. * S12M-SDQCR/L07D 12| 9 |150| 11 | 16 T8 DC..0702..
. L60 M2.5X6 L60 M2.5X6
* S16Q-SCZCR/L06D 16 |10.5/180| 15 | 20 * S16Q-SDQCR/L07D 16 | 11 |180| 15 | 20
* S16Q-SCZCR/L09D 16 |11.5/180| 15 | 21 LB * S20R-SDQCR/L11D 20 | 13 |200| 19 | 25 L60 M4X8
* S20R-SCZCR/L09D 20 |13.5/200| 19 | 25 T15 CC..09T3.. * S25S-SDQCR/L11D 25 | 17 |250| 24 | 32 15 G 1173
* S25S-SCZCR/L12D 25| 16 [250| 24 | 32 L60 M4X10 * S32T-SDQCR/L11D 32 | 22 |300]| 30 | 40 L60 M4X10 N -
® JT5/Rfl: 114 S20R-SCZCR09D 144 S20R-SCZCL09D *R=HF L=EKF o JIREERMITH * S40U-SDQCR/L11D 40 | 27 |350| 38 | 50
® X" SHIEEER ® iT#mfl: 144 S20R-SCZCR11D 144 S20R-SCZCL11D *R=£FF L=f£F e IHEEHMITH
® Ordering Example:1pcs S20R-SCZCR09D 1pcs S20R-SCZCLO9D  * R=righthand L= left hand o “k” SRRERERF
* 'Ilrls?.rts .need tobe onered separately ® Ordering Example:1pcs S20R-SCZCR11D 1pcs S20R-SCZCL11D  * R=righthand L=lefthand
® "[] "indicates standing stock ° |
nserts need to be ordered separately
® "[] "indicates standing stock
é T F{Rf 93° 1 *F{®fA 62.5°
I 7777777777777777777# Main deflection A [ 777"7"7"77777777# Llaigidelisation
®Dmin angle 93° ®Dmin 5 angle 62.5°
od ‘ d
93° S..SDJC.. , AN £ 62. 5° S..SDNC.. AR 7
f S = ‘
2/ b | SUN
L L
I !
ﬂ = R Size(mm) Té%:re%v?vr \Tgerﬁ IZ\ger)t-j ﬂ = R Size(mm) msg}:re%w]- thljrer?:-ih Ijrgseﬁs-
= Model d[f]L]n]o ! 4 (7 = e dlf]c]nloD ! 4 (7
* S08K-SDJCR/L0O7D 8 [5.5/125|7.4 | 11 L60 M2.5X5 % S10K-SDNCR/L0O7D 10 | 7.5|125| 9 13 L60 M2.5X5
* S10K-SDJCR/L0O7D 10 | 6.5(125| 9 | 13 ' * S12M-SDNCR/L0O7D 12 /9.5 150 11 18 T8 DC..0702..
T8 DC..0702.. L60 M2.5X6
*x S12M-SDJCR/L07D 12 | 7.5|150| 11 | 16 L60 M2.5X6 * S16Q-SDNCR/L07D 16 | 12 |180| 15 20
* S16Q-SDJCR/L07D 16 | 9.5|180| 15 | 20 ' * S20R-SDNCR/L11D 20 | 15 |200| 19 27
* S16Q-SDJCR/L11D 16 | 9.5|180| 15 | 20 L60 M4X8 % S25S-SDNCR/L11D 25 | 18 |250| 24 | 33 L60 M3.5X8 T15 DC..11T3..
* S20R-SDJCR/L11D 20 |11.5/200| 19 | 25 T15 DC..11T3.. % S32T-SDNCR/L11D 32 | 22 (300| 30 | 40
* S25S-SDJCR/L11D 25 | 14 |250| 24 | 32 L60 M4X10 ® 7% 7Rfl: 144 S20R-SDNCR11D 144 S20R-SDNCL11D *R=BF L=KEF o JIREFEEREMITHY
® T Rfl: 14 S20R-SDJCR11D 144 S20R-SDJCL11D *R=HF L=£KF o IR EEHIMITH o ‘X’ SRRERER
o “k” SRREEERF ® Ordering Example:1pcs S20R-SDNCR11D 1pcs S20R-SDNCL11D  * R=righthand L= left hand
® Ordering Example:1pcs S20R-SDJCR11D 1pcs S20R-SDJCL11D  * R=righthand L= left hand ® Inserts need to be ordered separately
® [nserts need to be ordered separately ® "[] "indicates standing stock
®

[] "indicates standing stock

080 081



A FL 71#Fllinternal Tool Holder

[

W;LE%UEH (Sﬂ) W}LE%UDH (Sﬂ) Internal turning tool holder(S type)

Internal turning tool holder(S type)

o ! FiRf 93° g T | A 75°
! | " q ! ) ; .
ODmn & v M 55" 9Dy~ " e e
ol &d r\ od
93° S..SDUC.. AN ~ 75° S..SSKC.. SN G S 7 |
Y o : Q@ B—=—
h h
L = L <o
Y _.l=l5 MOdel R?]‘Slze(mm) mé%:rjvj\]/— Vger?::; Inserts U _.I=I5 MOdel R?Slze(mm) %re%m]/— Val\lljrer?i Inserts
= - = -
d| f|L|h Dum : A4 d| f|L|h |Dm - o/
* S08K-SDUCR/L0O7D 8 6 |125[7.4| 11 . * S12M-SSKCR/L09D 12 | 9 |150| 11 | 16
* S10K-SDUCR/L0O7D 10| 7 |125| 9 |13 ' * S16Q-SSKCR/L09D 16 | 11 [180| 15 | 20 L60 M4X8
T8 DC..0702.. T15 SC..09T3..
* S12M-SDUCR/L0O7D 12| 9 |150| 11 | 16 L60 M2.5X6 * S20R-SSKCR/L09D 20 | 13 |200| 19 | 25
* S16Q-SDUCR/L0O7D 16 | 11 |180| 15 | 20 ’ * S25S-SSKCR/L09D 25 | 17 |250| 24 | 32 L60 M4X10
* S14N-SDUCR/L11D 14 | 10 |160| 13 | 18 * S25S-SSKCR/L12D 25 | 17 |250| 24 | 32
* S16Q-SDUCR/L11D 16 | 11 |180| 15 | 20 L60 M4X8 % S32T-SSKCR/L12D 32 | 22 (300 30 | 40 L60 M5X12 T20 SC..1204..
* S20R-SDUCR/L11D 20 | 13 [200| 19 | 25 15 DG, 1173 S40U-SSKCR/L12D 40 | 27 |350| 38 | 50
* S25S-SDUCR/L11D 25 | 17 | 250 24 | 32 h h ® iT#Rf: 144 S20R-SSKCRO9D 114 S20R-SSKCL09D *R=HF L=KF o JIREERMITHY
* S32T-SDUCR/L11D 32 | 22 |300]| 30 | 40 L60 M4X10 o “k” SRRNERER
* S40U-SDUCR/L11D 40 | 27 1350 38 | 50 ® Ordering Example:1pcs S20R-SSKCR09D 1pcs S20R-SSKCLO9D  * R=righthand L= left hand
® J%/x%: 144 S20R-SDUCR11D 14 S20R-SDUCL11D *R=HAF EF o JIEEE BTN ® Inserts need to be ordered separately
o “k” BESEEER ® "[] "indicates standing stock
® Ordering Example:1pcs S20R-SDUCR11D 1pcs S20R-SDUCL11D  * R=righthand L= lefthand
® |nserts need to be ordered separately
® "[] "indicates standing stock
T 1 A 93° . ) E{mfE 45°
< | i Main deflection %77774% Main deflection
®Dmin od angle 93° o0 I 1 angle 45
o ° od
93° S..SDZC.. @ . 2 i 45° S..SSSC.. N o =
S/ &) e .
4593" h q
L= h
L
R~fSize(mm) =2 5] R F A R~FSize(mm) 12 57 w F 7R
ﬂ _,I=I5 Model Screw Wrench Inserts gg _,l=l5 Model Screw Wreqch Inserts
d| f|L|h [Dm (7 d| f|L|h |Dm (]
* S10K-SDZCR/L07D 10 | 8.5|125| 9 | 15 L60 M2.5X5 * S12M-SSSCR/L09D 12 | 8.5|150| 11 | 16
* S12M-SDZCR/L07D 12 | 10 |150| 11 | 18 T8 bC. 0702 * S16Q-SSSCR/L09D 16 [11.5/180| 15 | 22 L60 M4X8
* S16Q-SDZCR/L07D 16 | 13 |180| 15 | 23 L60 M2.5X6 h - % S20R-SSSCR/L09D 20 (13.5/200| 19 | 26 T15 SC..09T3..
* S20R-SDZCR/L0O7D 20 | 15 (200 19 | 27 * S25S-SSSCR/L09D 25 | 16 |250| 24 | 31 LTINS
% S20R-SDZCR/L11D 20 | 15 |200| 19 | 27 L60 M4X8 % S32T-SSSCR/L09D 32 |19.5/300| 30 | 38
* S25S8-SDZCR/L11D 25 | 18 |250| 24 | 33 - S T ® T Rfl: 11 S20R-SSSCR09D 144 S20R-SSSCL09D *R=FF L=LKF o T REFEERMITHY
% S32T-SDZCR/L11D 32 | 22 |300| 30 | 40 L60 M4X10 o “k” ERTEREL
* S40U-SDZCR/L11D 40 | 27 1350 38 | 48 e Ordering Example:1pcs S20R-SSSCRO9D 1pcs S20R-SSSCLOOD  * R=right hand L= left hand
o T xfl: 144 S20R-SDZCR11D 14 S20R-SDZCL11D *R=HAF EF o JIFEEBMITH ® Inserts need to be ordered separately
o “k” SRRERER ® "[] "indicates standing stock
® Ordering Example:1pcs S20R-SDZCR11D 1pcs S20R-SDZCL11D  * R=righthand L= left hand

Inserts need to be ordered separately

"indicates standing stock
082 083



&;E@@ A FL 71#Fllinternal Tool Holder

W}LE \%’UBH (Sﬂ) Internal turning tool holder(S type) W}LE\%UDH (S;:F:I:U) Internal turning tool holder(S type)

! ] zﬁ@ 90_° T ] I_fﬁmﬁa 60°
I ] Main deflection N o 1 Main deflection
o angle 90° ®Dmin angle 60
min Yo &d
90° S..STFC(P).. AN . o 60° S..STWC(P).. A SAL T
@p SAID 7 fij (Q/f( e/ | - {
h L l<h
N
ﬂ = RT_YSlze(mm) E%re%vj\]/— \Tgengc:_h IJnjseﬁ‘s- ﬂ = RT_I'Slze(mm) %rf\;{— Va?lirerﬁ::_h Ijnjseﬁs-
= Model ! = Model '
dlflL|nh |Du ) 4 AN dlflL]nh[Dm » /N
* S06H-STFCR/L06D 6 4 [100|5.4| 8 * S08K-STWCR/L09D 8 6 [125|/7.4| 11
L60 M2.0X4 TC..0601.. L60 M2.2X4 T6 TC..0902..
* S08K-STFCR/L06D 8 [5.5(125(7.4 | 11 - * S10K-STWCR/L09D 10 | 8 |125| 9 | 14
* S10K-STFCR/L09D 10 | 6.5/125| 9 | 13 * S10K-STWCR/L11D 10| 8 [125| 9 | 14 L60 M2.5X5
* S12M-STFCR/L09D 12 | 8 [150| 11 | 16 L60 M2.2x4 TC--0902.. * S12M-STWCR/L11D 12| 9 |150| 11 | 16
* S10K-STFCR/L11D 10 | 6.5/125| 9 | 13 L60 M2.5X5 * S16Q-STWCR/L11D 16 | 11 [180| 15 | 20 L60 M2 5X6 T8 TC..1102..
* S12M-STFCR/L11D 12 |8.5|150| 11 | 16 * S20R-STWCR/L11D 20 | 13 |200| 19 | 25 ’
* S16Q-STFCR/L11D 16 | 10 |180| 15 | 20 L60 M2.5X6 T8 TC..1102.. * S25S-STWCR/L11D 25 | 15 |250| 24 | 31
* S20R-STFCR/L11D 20 | 12 |200| 19 | 25 ' * S20R-STWCR/L16D 20 (14.5/200| 19 | 25 L60 M4X8
* S25S-STFCR/L11D 25 |15.5/250| 24 | 32 * S25S-STWCR/L16D 25 | 17 |250| 24 | 32
* S20R-STFCR/L16D 20 [12.5/200| 19 | 25 L60 M4X8 * S32T-STWCR/L16D 32 | 20 |300| 30 | 39 L60 MAX10 T15 TC..16T3..
* S25S-STFCR/L16D 25 | 16 |250| 24 | 32 * S40U-STWCR/L16D 40 | 26 |350| 38 | 50
T15 TC..16T3..
* S32T-STFCR/L16D 32 | 21300/ 30 | 40 L60 M4X10 S50V-STWCR/L16D 50 | 29 |400| 48 | 60
* S40U-STFCR/L16D 40 | 25 |350| 38 | 50
;:FIJ = RYTSlze(mm) m\5.::rel-ﬁ\njl- Va?lirergih I7njse§s-
R~FSize(mm) =2 5] R F NG ZZ = Model P
;__:F.g % Model Screw Wrench Inserts d f L h | Dmin
d| f|L|h Dm 4 /o7 S08K-STWPR/L09D 8 | 5.5/125/ 7.4 11 L60 M2.5X6 T8 TP..0902..
* S10K-STFPR/L09D 10 |6.5|125| 9 | 13 L60 M2.5X5 T8 D S10K-STWPR/L11D 10 | 8 |125| 9 | 14
* S12M-STFPR/L09D 12| 8 [150| 11 | 16 L60 M2.5X6 - v * S12M-STWPR/L11D 12| 9 |150| 11 | 16
* S10K-STFPR/L11D 10 | 6.5|125| 9 | 13 * S16Q-STWPR/L11D 16 | 11 [180| 15 | 20 L60 M3X8 T10 TP..1102..
* S12M-STFPR/L11D 12 |8.5|150| 11 | 16 S20R-STWPR/L11D 20 | 13 |200| 19 | 25
* S16Q-STFPR/L11D 16 | 10 |180| 15 | 20 L60 M3X8 T10 TP..1103.. S258-STWPR/L11D 25 | 15 |250| 24 | 31
* S20R-STFPR/L11D 20 | 12 |200| 19 | 25 S20R-STWPR/L16D 20 (14.5/200| 19 | 25 L60 M4X8
* S25S-STFPR/L11D 25 |15.5/250| 24 | 32 S25S-STWPR/L16D 25 | 17 |250| 24 | 32
* S20R-STFPR/L16D 20 |12.5/200| 19 | 25 L60 M4X8 S32T-STWPR/L16D 32 | 21 {300 30 | 39 NS T15 TP..1603..
* S25S-STFPR/L16D 25 | 16 |250| 24 | 32 S40U-STWPR/L16D 40 | 26 [350| 38 | 50
L60 M4X10 T15 TP..1603..
S32T-STFPR/L16D 32 | 21 |300| 30 | 40 S50V-STWPR/L16D 50 | 29 |400| 48 | 60
S40U-STFPR/L16D 40 | 25 |350| 38 | 50 ® iT#R%l: 14 S20R-STWCR11D 144 S20R-STWCL11D *R=BF L=£F e IR EEHMITY
® iT#Rfl: 114 S20R-STFCR11D 114 S20R-STFCL11D *R=HEF L=KF e IR EEHMITM ® k" SRTEEER
® ‘X" SRTEEER ® Ordering Example:1pcs S20R-STWCR11D 1pcs S20R-STWCL11D  * R=righthand L= left hand

Inserts need to be ordered separately

® Ordering Example:1pcs S20R-STFCR11D 1pcs S20R-STFCL11D  * R=righthand L=left hand
"[] "indicates standing stock

Inserts need to be ordered separately

indicates standing stock

084 085



&;E@@ A FL 71#Fllinternal Tool Holder

W}LE \%’UBH (Sﬂ) Internal turning tool holder(S type) W}LE\E’UDH (S;:F:I:U) Internal turning tool holder(S type)

! ] Fimea 93° EimA 93°
t ] Main deflection Main deflection
angle 93°

angle 93°

®Dmin ﬁ.{f
od ®Dmin 1

93° S..STUC(P).. N d
l&‘ Z - o1 @ P — a

93° S..SVJB(C).. ®di P
B 2\ | R Size(mm) ms?crjv:vr \Tgerﬁ Ijr?seﬁs- %%————# EfRfg 93°
= T ode - & J Main deflection
d f L h |[Dmin P ~ ‘ @d angle 93°
* S08K-STUCR/L0O9D 8 | 55125/ 7.4 11 60 12,24 T ‘o 0002 P2 @ I - euE S g
* S10K-STUCR/L09D 10 |6.5|125| 9 | 13 ' e Téﬁu -
* S10K-STUCR/L11D 10 | 6.5|125| 9 | 13 L60 M2.5X5 L = §
* S12M-STUCR/L11D 12| 8 |[150| 11 | 16
* S14N-STUCR/L11D 14 | 9 |160| 15 | 18 T8 TC..1102..
L60 M2.5X6
* S16Q-STUCR/L11D 16 | 10 |180| 15 | 20 ;
= R~FSize(mm) = 92 £7 w®F
* S20R-STUCR/L11D 20 | 12200 19 | 25 # 2 Model =g Screw Wrench frserts
* S25S8-STUCR/L11D 25 [15.5/250| 24 | 32 L60 M4X8 d|di| f|L|L|h Dm™5 ) L7
* S20R-STUCR/L16D 20 |12.5/200| 19 | 25 * S10K-SVJBR/L11D 10 | - 7 |125| - 9 | 14 L60 M2.5X5
- * S12M-SVJBR/L11D 12| - 8 [150| - | 11 | 16
* S25S-STUCR/L16D 25 | 16 |250| 24 | 32 60 MAX10 T15 TC..16T3.. L60 M2.5X6 T8 VB..1103..
* S32T-STUCR/L16D 32 | 21 |300| 30 | 40 * S16Q-SVJBR/L11D 16 | - | 10 |180| - | 15| 20 Pt
* S40U-STUCR/L16D 40 | 27 |350| 38 | 50 * S16Q-SVJBR/L16D 16 | - | 10 |180| - | 15| 20 L60 M4X8
* S25R-SVJBR/L16D 25 | - |12 |200) - | 19|25 T15 VB..1604..
. * S25S-SVJBR/L16D 25| - |16 |250| - | 24| 30 L60 M4X10
A R~FSize(mm) 12 5] R F 7R
9__:12 = Model Screw Wren_ch Inserts S20R-SVJBR/L11-25 25|20 | 2 |200 18 | 18 L60 M2.5X6 T8 VB 1103
d| f | L | h |Dum S25S-SVJBR/L11-32 32 | 25 | 3.5|250 24 | 24 bo ' - h
* S08K-STUPR/L09D 8 |5.5(125|7.4| 11 B - T A S32T-SVJBR/L16-40 40 | 32 | 3.5|300 30 | 30 L60 MAX10 T15 VB..1604
* S10K-STUPR/L09D 10 | 6.5(125| 9 | 13 ’ v v S40U-SVJBR/L16-50 50 | 40 | 4.5 |350 38 | 38 - h
* S10K-STUPR/L11D 10 | 6.5(125| 9 | 13
* S12M-STUPR/L11D 12 | 8 |150| 11 | 16 R
R~ Size(mm) Bx 12T R F N
* S16Q-STUPR/L11D 16 | 10 (180 15 | 20 L60 M3X8 T10 TP..1102.. 7 £ Model =la Screw Wrench Inserts
N O -
* S20R-STUPR/L11D 20 | 12 [200| 19 | 25 d|di| f|L|L | h |Dun|T5 o7
* S25S-STUPR/L11D 25 [15.5/250| 24 | 32 * S10K-SVJCR/L11D 10 - | 7 [125| - | 9 | 14 L60 M2.5X5
* S20R-STUPR/L16D 20 [12.5/200| 19 | 25 L60 M4X8 * S12M-SVJCR/L11D 12| - | 8 150 - | 11|16 60 M2.5x6 T8 e
* S25S-STUPR/L16D 25| 16 [250| 24 | 32 T15 TP..1603.. * S16Q-SVJCR/L11D 16 | - | 10 [180| - | 15| 20 - ’
S32T-STUPR/L16D 32 | 21 [300| 30 | 40 L60 M4X10 * S16Q-SVJCR/L16D 16 | - | 10 [180| - | 15 | 20 L60 MaX8
S40U-STUPR/L16D 40 | 27 |350| 38 | 50 * S20R-SVJCR/L16D 25| - | 12 /200| - | 19| 25 T15 VC..1604..
® T R%: 14 S20R-STUCR11D 144 S20R-STUCL11D *R=HFF L=£KF o L EE ST * S25S-SVJCR/L16D 25 | - |14.5/250| - | 24| 30 L60 M4X10
o ‘X" EEREEEL ® T# R 144 S20R-SVJBR11D 144 S20R-SVJBL11D *R=FAF L=KF o JIREERMITHY
. “* » o ,‘—\;-UA
® Ordering Example:1pcs S20R-STUCR11D 1pcs S20R-STUCL11D  * R=righthand L=lefthand *T SRTRERR
® Inserts need to be ordered separately ® Ordering Example:1pcs S20R-STUCR11D 1pcs S20R-SVJBL11D  *R=righthand L= left hand
® "[] "indicates standing stock ® Inserts need to be ordered separately
® "[] "indicates standing stock

086 087



[

W}LE\E’UHH (S;_—:Flg) Internal turning tool holder(S type)

A FL 71#Fllinternal Tool Holder

W;LE%UDH (S;:F:I:U) Internal turning tool holder(S type)

088

| iR 93°
‘ﬁrfﬁi"i"i"iﬁiﬁﬁr Main deflection
®Dmin angle 93°
&d
P1 o ANt 7
g :
I h
L =D
93° S..SVUB(C)..
— ] l
vl | |
P2 Jpa—, 2
e Sk \ K
/ .|
~ i =) -3
ﬂ % MOdel R‘J’Slze(mm) %‘g ms%;re%; Wrer?:i Inserts
d|di| f|L|L|h [Dm|™5 P
* S16Q-SVUBR/L11D 16| - | 12 (180 - | 15| 22
L60 M2.5X6 T8 VB..1103..
* S20R-SVUBR/L11D 20 | - |14 (200 - |19 | 27 =
* S25S-SVUBR/L16D 25| - | 20 (250| - |24 |35
L60 M4X10 T15 VB..1604..
* S32T-SVUBR/L16D 32| - | 23(300| - |30]|42
S16Q-SVUBR/L11-20 20 | 16 [15.5/180 19 | 20 O REG - VLG8
S20R-SVUBR/L11-25 25 | 20 [17.5/200 24 | 25 bo ’ h h
S25S-SVUBR/L16-32 32 | 25 |20.5|250 30 | 34
L60 M4X10 T15 VB..1604..
S32T-SVUBR/L16-40 40 | 32 |27.5/300 38 | 40
~FSi 9 4
7 2 Model A Szl %Ié %%:rj; thlirerﬁ Ijnjseﬁlls-
d|di| f|L|L|h [Dm|™5 o7
* S16Q-SVUCR/L11D 16 | - | 12 |180| - | 15| 22
L60 M2.5X6 T8 VC..1103..
* S20R-SVUCR/L11D 20 | - | 14 |200| - |19 | 27 -
* S25S-SVUCR/L16D 25| - | 20 (250 - |24 |35
L60 M4X10 T15 VC..1604..
* S32T-SVUCR/L16D 32| - |23 (300 - |30|42
® TR 144 S20R-SVUBR11D 144 S20R-SVUBL11D *R=fHF L=KF o JIRFEERMITHY
o ‘K" SRRERER
® Ordering Example:1pcs S20R-SVUBR11D 1pcs S20R-SVUBL11D  * R=righthand L=lefthand

Inserts need to be ordered separately

indicates standing stock

117.5° S..8VQB(C)..

@d

FmMm117.5°

Main deflection
angle 117.5°

ﬂ % Model RTISIZG(mm) %re%\; Wrench Inserts
d| f|L|h |Dm o7
* S16Q-SVQBR/L11D 16 | 12 |180| 15 | 22 L60 M2.5X6 T8 VB..1103..
* S20R-SVQBR/L16D 20 | 14 |200| 19 | 27 L60 M4X8
* S25S-SVQBR/L16D 25 | 20 |250| 24 | 35 T15 VB..1604..
L60 M4X10
* S32T-SVQBR/L16D 32 | 23 |300| 30 | 42
A = R~ Size(mm) !!s? 57 v@i $h IJJ J?"
Model crew ren_c nseris
= dlf|L|h |Dmw o
* S16Q-SVQCR/L11D 16 | 12 |180| 15 | 22 L60 M2.5X6 T8 VC..1103..
* S20R-SVQCR/L16D 20 | 14 |200| 19 | 27 L60 M4X8
* S25S-SVQCR/L16D 25 | 20 |250| 24 | 35 T15 VC..1604..
L60 M4X10
* S32T-SVQCR/L16D 32 | 23 |300| 30 | 42
® T x%l: 114 S20R-SVQBR11D 114 S20R-SVQBL11D *R=FF L=KLKF o JIREEHMIT
° ‘X7 SERREEER
® Ordering Example:1pcs S20R-SVQBR11D 1pcs S20R-SVQBL11D  * R=righthand L= lefthand o Inserts need to be ordered separately
® "[] "indicates standing stock
FimF 93°
%77777;} Main deflection
®Dmin angle 93°
o &d
93° S..SVZB(C).. (t@ -
/AN :
4\393° <h.|
L
R~FSize(mm) 12 57 R F 7R
gg _.|:|5 Model Screw Wren_ch Inserts
d|f|L | h Dm P
* S16Q-SVZBR/L11D 16 | 12 |180| 15 | 22
L60 M2.5X6 T8 VB..1103..
* S20R-SVZBR/L11D 20 | 14 |200| 19 | 27
* S25S-SVZBR/L16D 25 | 20 |250| 24 | 35
L60 M4X10 T15 VB..1604..
* S32T-SVZBR/L16D 32 | 23 |300| 30 | 42
ﬂ % Model R Size(mm) mé%:re%; Va?lirerﬁ:zh Ijr;lseﬁs-
d| f|L | h |Dm o7
* S16Q-SVZCR/L11D 16 | 12 [180| 15 | 22
L60 M2.5X6 T8 VC..1103..
* S20R-SVZCR/L11D 20 | 14 |200| 19 | 27
* S25S-SVZCR/L16D 25 | 20 |250| 24 | 35
L60 M4X10 T15 VC..1604..
* S32T-SVZCR/L16D 32 | 23 [300| 30 | 42
® T R%: 114 S20R-SVZBR11D 144 S20R-SVZBL11D *R=AF L=KEF e JIREEBMITN
® ‘X’ SRRAERERF
® Ordering Example:1pcs S20R-SVZBR11D 1pcs S20R-SVZBL11D  * R=righthand L=left hand ® Inserts need to be ordered separately
°

"[] "indicates standing stock

089



&;E@@ A FL 71#Fllinternal Tool Holder

W}LE %’”BH (Sﬂ) Internal turning tool holder(S type) W}LE \E,!JD*:F (Sil:lg) Internal turning tool holder(S type)

ﬁ ) I Ifﬁ% e Toulc?t_:lmﬁﬁgf: le
@ [I ﬁ Main deflection & dee g
®Dmin angle 95° @Dmmr p _ od . P\]I}J"E.Dt I
@d o Y33 ] P nternal turning tool
95° S..SWLC.. W= - S 93° S.STUB.. @ =]
DA Gy S : . g jis
) h
| i
¥ -
~Si <+Si 2 5] R F AN
F = R Size(mm) T‘S%:re%v?vr V*ﬁer?fh Iyr?seﬁs- ;__:F'g = Model R Size(mm) Screw Wrench Inserts
Z: = Model , = p
d!l f|lL][h[Dm ) 4 A d] f[L]L]h [Dm I 4 /N
S08K-SWLCR/L04D 8 | 5 |125] 9 | 10 L60 M2.5X5 T8 WE.0402 S0806H-STUBR/LO6C | 8 |3.5|100| 18 |7.4| 7
S10K-SWLCR/L04D 10 | 6.5(125| 9 | 13 ’ - h * S1006K-STUBR/L0O6C | 10 |3.5|125| 18 | 9 | 7
* S12M-SWLCR/L06D 12 | 7.5/150| 11 | 16 * S1007K-STUBR/LO6C |10 | 4 [125/ 18| 9 | 8
* S16Q-SWLCR/L06D 16 | 11 |180| 15 | 20 L60 M4X8 115 WE.06T3 * S1206K-STUBR/L0O6C | 12 [3.5|125| 18 | 11 | 7
* S20R-SWLCR/L06D 20 | 13 (200 19 | 25 h h * S1207K-STUBR/LO6C |12 | 4 |125/ 20 | 11| 8 L60 M2.0X6 T6 TB..0602..
* S25S-SWLCR/L06D 25 [16.5/250| 24 | 31 L60 M4X10 * S1208K-STUBR/LO6C |12 | 5 |125| 25 | 11 | 10
® iT#%Rfl: 114 S20R-SWLCR06D 114 S20R-SWLCL06D *R=HF L=KF o JIEEEHMITH * S1606K-STUBR/LO6C | 16 |3.5|125 18 | 15| 7
o “k” ERRERETR * S1607K-STUBR/L0O6C 16 | 4 [125/20 | 15| 8
e Ordering Example:1pcs S20R-SWLCRO6D 1pcs S20R-SWLCLO6D  * R=righthand L= left hand * S1608K-STUBR/LOBC | 16 | 5 |125] 25 | 15 | 10

® |nserts need to be ordered separately o iTHE/nfil: 14 S1206K-STUBRO6C 14 S1206K-STUBL06C *R=HFF L=KF o T RHEERMITHY
® " "indicates standing stock o “k” SRRNERER
® Ordering Example:1pcs S1206K-STUBRO6C 1pcs S1206K-STUBRO6C  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
F{RA95° FRA0°
Tool Cutting Edge Angle Tool Cutting Edge Angle
®Dmin &d RAET] ®Dmin [o)] RFLZET]
. 15 /{I P Internal turning tool @7& /'I > Internal turning tool
95° S..SCLC..A16 T Z 90° S..STFB.. =N z
L1 h h
<h.| — L1 <h.]
| = | E-
= RfSize(mm) %rf“]’- \T{/iierii '7359{?: J = Aol ) %%:re%; Vt}lirerii Ijr?sebls_
A S Model B = Model )
dj f L L] h Dm » (o] d | f|L|L|h |Dm ! 4 VAN
* S07K-SCLCR/L06-A16 | 16 |4.25/125| 18 | 15| 9 % S0806H-STFBR/L06C 8 [3.5(100| 18 |[7.4| 7
* S08K-SCLCR/L06-A16 | 16 | 5 |125| 20 | 15 | 10 * S1006K-STFBR/L06C 10 |3.5[125| 18 | 9 7
* S09K-SCLCR/L06-A16 | 16 | 5 |125| 24 | 15 | 12 L60 M2.5X6 T8 CC..0602.. * S1007K-STFBR/L06C 10| 4 |125/ 18| 9 | 8
* S10K-SCLCR/L06-A16 | 16 | 6 [125| 26 | 15 | 13 * S1206K-STFBR/L0O6C 12 | 3.5(125| 18 | 11 | 7
* S12M-SCLCR/L06-A16 | 16 | 7 |150| 28 | 15 | 15 * S1207K-STFBR/L06C |12 | 4 |125/ 20 | 11 | 8 L60 M2.0X6 T6 TB..0602..
S14Q-SCLCR/L09-A16 | 16 | 9 [180| 30 | 15 | 17 L60 M4X8 T15 CC..09T3.. * S1208K-STFBR/L06C 12 | 5 |125] 25| 11 | 10
® iT#Rfl: 114 S12M-SCLCR06-A16 144 S12M-SCLCL06-A16 *R=HF L=KF o IEEEHMITH * S1606K-STFBR/L0O6C | 16 |3.5|125) 18 | 15| 7
o "k SRINERER * S1607K-STFBR/L0O6C |16 | 4 |125| 20 | 15| 8
® Ordering Example:S12M-SCLCR06-A16 1pcs S12M-SCLCR06-A16 * R=righthand L= left hand * S1608K-STFBR/L06C 16 | 5 |125] 25 | 15 | 10
°
. Inserts needto be ordered separately o iT# Ml 144 S1206K-STFBRO6C  1{# S1206K-STFBLOGC *R=HF L=KF o IR EEHMITH
indicates standing stock W n O
° SRAERER
® Ordering Example:1pcs S1206K-STFBR0O6C 1pcs S1206K-STFBR0O6C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock

090 091



[

W}LE\E’UHH (Sgg) Internal turning tool holder(S type)

092

F{RFA93°
Tool Cutting Edge Angle
©Dmin od MFLET]
|4
93° S..SWUB.. T ?
S | 5=
RT_fSize(mm) Té%:re%\; Wrench Inserts
d|f|L|[L|h Dm

* S0805H-SWUBR/L06C 8 [3.0(100| 15 |7.4| 6

* S0806K-SWUBR/L06C 8 |3.5(125( 18 (74| 7

* S1005K-SWUBR/L06C | 10 | 3.0 |125| 15| 9 6

* S1006K-SWUBR/L06C | 10 |3.5|125| 18 | 9 7

* S1007K-SWUBR/L06C | 10 | 4 [125| 18 | 9 8

* S1206K-SWUBR/L06C | 12 |3.5[125| 18 | 11 | 7 L60 M2.0X5 T6 WB..0601..

* S1207K-SWUBR/L06C |12 | 4 [125) 20| 11| 8

* S1208K-SWUBR/L06C | 12 |4.5[125| 25 | 11 | 9

* S1606K-SWUBR/L06C | 16 |3.5[125| 18 | 15| 7

* S1607K-SWUBR/L06C | 16 | 4 [125/ 20 | 15| 8

* S1608K-SWUBR/L06C | 16 | 5 |125| 25 | 15 | 9

T8 R G: 114 S1206K-SWUBRO6C 144 S1206K-SWUBL06C *R=HAF L=EKF e T REEHMITY

k7 ERTEEER

Ordering Example:1pcs S1206K-SWUBRO6C 1pcs S1206K-SWUBRO06C

Inserts need to be ordered separately

"[] "indicates standing stock

*R=right hand

L= left hand

A FL 71#Fllinternal Tool Holder

W;LE%UDH (S;:F:I:U) Internal turning tool holder(S type)

90° S..SCFC..-S

FREA3°

Tool Cutting Edge Angle

WHLZETD

o —T] [ .
T u
s N \
RT"—SIZG(mm) ms?érf; Wrench Inserts
a=b| f | L | Li|h |®d|Dmn (o]

* S10M-SCFCR/L06-S16 | 16 | 7 |150| 30 | 16 | 10 | 13
* S12P-SCFCR/L06-S16 | 16 | 9 [170| 36 | 16 | 12 | 16
* S10M-SCFCR/L06-S20 | 20 | 7 |[150| 30 | 20 | 10 | 13 P S — 56 GG
* S12P-SCFCR/L06-S20 | 20 | 9 |[170| 36 | 20 | 12 | 16
* S10M-SCFCR/L06-S25 | 25 | 7 |150| 30 | 25 | 10 | 13
* S12P-SCFCR/L06-S25 | 25| 9 [170| 36 | 25 | 12 | 16

S16Q-SCFCR/L09-S16 | 16 | 11 |180| 48 | 16 | 16 | 20

S16Q-SCFCR/L09-S20 | 20 | 11 |180| 48 | 20 | 16 | 20

S20R-SCFCR/L09-S20 | 20 | 13 |200| 60 | 20 | 20 | 25 L60 M4X10 T156 CC..09T3..

S16Q-SCFCR/L09-S25 | 25 | 11 |180| 48 | 25 | 16 | 20

S20R-SCFCR/L09-S25 | 25 | 13 |200| 60 | 25 | 20 | 25

S25R-SCFCR/L12-S25 | 25 | 16 |200| 75 | 25 | 25 | 30 L60 M5X12 T20 CC..1204..
® T ~fl: 114 S12P-SCFCR06-S20  1{4 S12P-SCFCL06-S20 *R=HAF L=KkKF o IREEHMITH
o ‘X SRRAERER
® Ordering Example:1pcs S12P-SCFCR06-S20 1pcs S12P-SCFCR06-S20 * R=righthand L= left hand

® Inserts need to be ordered separately

[] "indicates standing stock

= | o
“I ‘ B CHE
Internal turning tool
95° S..SCLC..-S pome e |
L
g-g % Model RSize(mm) %re{ﬁ; V*ﬁer?; ?r?seﬁs-
a=b| f L | Li| h |®d|Dmin
* S10M-SCLCR/L06-S16 | 16 | 7 |150| 30 | 16 | 10 | 13
* S12P-SCLCR/L06-S16 | 16 | 9 [170| 36 | 16 | 12 | 16
* S10M-SCLCR/L06-S20 | 20| 7 |[150| 30 | 20 | 10 | 13 G 8 CC..0602..
* S12P-SCLCR/L06-S20 |20 | 9 [170| 36 | 20 | 12 | 16
* S10M-SCLCR/L06-S25 | 25| 7 |[150| 30 | 25 | 10 | 13
* S12P-SCLCR/L06-S25 | 25| 9 [170| 36 | 25 | 12 | 16
S16Q-SCLCR/L09-S16 | 16 | 11 |180| 48 | 16 | 16 | 20
S16Q-SCLCR/L09-S20 | 20 | 11 [180| 48 | 20 | 16 | 20
S20R-SCLCR/L09-S20 | 20 | 13 |200| 60 | 20 | 20 | 25 L60 M4X10 T15 CC..09T3..
S16Q-SCLCR/L09-S25 | 25 | 11 |180| 48 | 25 | 16 | 20
S20R-SCLCR/L09-S25 | 25 | 13 |200| 60 | 25 | 20 | 25
S25R-SCLCR/L12-S25 | 25 | 16 |200| 75 | 25 | 25 | 30 L60 M5X12 T20 CC..1204..
® JTH/Rfl: 144 S12P-SCLCR06-S20 144 S12P-SCLCL06-S20 *R=AF L=LK£F o NI RFEREMITH
o "k SRINERER
® Ordering Example:1pcs S12P-SCLCR06-S20 1pcs S12P-SCLCR06-S20 * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
o
FmA45°
Tool Cutting Edge Angle
“t “’J WILET
®Drmin o Internal turning tool
93° S..SDUC..-S e
7P g (¢
gg % Model RTISlze(mm) %%re%v;]l- Wrench Inserts
a=b| f | L |Li| h |®d|Dmn [/
* S10M-SDUCR/L07-S16 | 16 | 7 |150| 30 | 16 | 10 | 13
* S12P-SDUCR/L07-S16 | 16 | 9 [170| 36 | 16 | 12 | 16
S16Q-SDUCR/L07-S16 | 16 | 11 |180| 48 | 16 | 16 | 20
* S10M-SDUCR/L07-S20 | 20 | 7 |[150| 30 | 20 | 10 | 13
* S12P-SDUCR/L07-S20 | 20 | 9 [170| 36 | 20 | 12 | 16 L60 M2.5X6 T8 DC..0702..
S16Q-SDUCR/L07-S20 | 20 | 11 |180| 48 | 20 | 16 | 20
* S10M-SDUCR/L07-S25 | 25 | 7 |150| 30 | 25 | 10 | 13
* S12P-SDUCR/L07-S25 | 25 | 9 [170| 36 | 25 | 12 | 16
S16Q-SDUCR/L07-S25 | 25 | 11 |180| 48 | 25 | 16 | 20
® iT1%/Rf{l: 144 S12P-SDUCR07-S20 144 S12P-SDUCL07-S20 *R=HAF L=LKF o IR EEHAMITIY
“k” ERTEEER
Ordering Example:1pcs S12P-SDUCRO07-S20 1pcs S12P-SDUCRO07-S20 * R=righthand L= left hand

Inserts need to be ordered separately

"[] "indicates standing stock

093



[

RFLFEEITIF (SE)

Internal turning tool holder(S type)

094

7@ FRE3°
hI © I Tool Cutting Edge Angle
L WALET]
dd Internal turning tool

&.

=

NV
b

-—

95° S..STFC..-S [
i | i

92 57 R F VAN

R~ Size(mm)
Screw Wrench Inserts

a=b| f | L | Li| h |®d Dmn » (5]
S10M-STFCR/L11-S16 16 | 7 |150| 30 | 16 | 10 | 13
S12P-STFCR/L11-S16 16| 9 |170) 36 | 16 | 12 | 16
S16Q-STFCR/L11-S16 16 | 11 [180| 48 | 16 | 16 | 20
S10M-STFCR/L11-S20 20| 7 (15030 | 20 | 10 | 13
S12P-STFCR/L11-S20 20| 9 [170| 36 | 20 | 12 | 16
S16Q-STFCR/L11-S20 20 | 11 |180| 48 | 20 | 16 | 20
S10M-STFCR/L11-S25 25| 7 |150| 30 | 25 | 10 | 13
S12P-STFCR/L11-S25 25| 9 |170| 36 | 25 | 12 | 16
S16Q-STFCR/L11-S25 25| 11 [180| 48 | 25 | 16 | 20
TR~ 6Bl: 144 S12P-SCLCR06-S20 14 S12P-SCLCL06-S20
“hT SRTEEER

Ordering Example:1pcs S12P-SCLCR06-S20 1pcs S12P-SCLCR06-S20

Inserts need to be ordered separately
"[] "indicates standing stock

RIRFEEITIH (ARSHE)

£l 5 Model

L60 M2.5X6 T8 TC..1102..

L 2 2B 2R

*R=HF L=E&F o NI R EERMITI

*R=righthand L= left hand

Internally coolant turning tool holder
(internal coolant S type)

A FL 71#Fllinternal Tool Holder

é@?ﬁ%ﬂ 1::|: (S;:F:I:U ) Alloy anti-vibration knife holder (S type)

| Fm 95°
%777"7"7"7”7}‘7 Main deflection
angle 95°
DD min
° &d
95° A..SCLC.. /&P S B g -
f f I 1l
| L j
gg % Model RT_I'Slze(mm) g]‘s%re%; Wrench Inserts
d| f | L|h |Dm []
* AO8F-SCLCR/L06D 8 518 0[7.4] 10
L60 M2.5X5
* A10H-SCLCR/L06D 10 | 6 |[100] 9 | 12 T8 CC..0602..
* A12K-SCLCR/L06D 12 | 9 [125| 11 | 16 L60 M2.5X6
* A12M-SCLCR/L09D 12 | 9 [150| 11 | 16
* A16M-SCLCR/L09D 16 | 11 |150| 15 | 20 L60 M3.5X8 e 0073
* A20Q-SCLCR/L09D 20 | 13 |180| 18 | 25 SOYES
A25R-SCLCR/L09D 25 | 17 |200| 23 | 32 L60 M3.5X10 rie
A25R-SCLCR/L12D 25 | 17 |200| 23 | 32
L60 M4X11X CC..1204..
A32S-SCLCR/L12D 32 | 22 |250| 30 | 40

® T Rf%: 144 A20R-SCLCRO9D 144 A20R-SCLCL09D *R=FF L=KF e JJREEHIMITN

o "k SRINERER
® Ordering Example:1pcs A20R-SCLCRO09D 1pcs A20R-SCLCL09D

® |nserts need to be ordered separately
® "[] "indicates standing stock

*R=righthand L=lefthand

] ElRf 75°
|l ] Mg eee”
R ®Dmin od
75° C..SCKC.. i «Q;/,\/—h‘ 5
'ﬂb ;t?u‘
L L’—h‘
d| f|L|h Dm (o]
* C08K-SCKCR/L0O6C 8 |55|125|7.4 | 10
L60 M2.5X5
* C10M-SCKCR/L06C 10 | 6.5(150|9.4 | 13 T8 CC..0602..
* C12Q-SCKCR/L06C 12 | 7.5|180(11.4| 16 L60 M2.5X6
* C12Q-SCKCR/L09C 12 | 7.5 |180(11.4| 16
L60 M4X8 T15 CC..09T3..
C16R-SCKCR/L09C 16 | 9.5 |200| 15 | 20
o iT#RMl: 14 C12Q-SCKCRO6C  1{4 C12Q-SCKCL06C *R=FF L=£F o IHEEBMITH
o ‘K" SRTHEER

® Ordering Example:1pcs C12Q-SCKCRO06C 1pcs C12Q-SCKCL06C

* R=right hand

L=left hand

® |nserts need to be ordered separately
® "[] "indicates standing stock
| FmRfa 95°
#77 — 7+ Main deflection
[ | angle 95°
®Drmin
o @d
95° C..SCLC.. ﬁ,} - : R -
I L '
il_] % Model RT_I'Slze(mm) ms%rjw]- \Rirer?ci Inserts
d[f]L]h [Dm (o]
* CO5H-SCLCR/L06C 5 |3.5(100(4.4 | 7
* C06K-SCLCR/L0O6C 6 125/5.4 | 8
L60 M2.5X5
* CO08K-SCLCR/L06C 8 125|7.4 | 10 T8 CC..0602..
* C10M-SCLCR/L06C 10 1501 9.4 | 13
* C12Q-SCLCR/L06C 12 |7.5/180(11.4| 16 L60 M2.5X6
* C12Q-SCLCR/L09C 12 [8.5|180(11.4| 16
* C16R-SCLCR/L09C 16 | 10 |200| 15 | 20 L60 M4X8 T15 CC..09T3..
C20S-SCLCR/L09C 20 | 12 |250| 19 | 25
C20S-SCLCR/L12C 20 | 12 |250| 19 | 25 L60 M5X12 T20 CC..1204..
o TR fl: 14 C12Q-SCLCRO6C 11 C12Q-SCLCL06C *R=AF L=KEKEF o T REFEERMITHY

o k" SRTEEER

® Ordering Example:1pcs C12Q-SCLCR06C 1pcs C12Q-SCLCL06C
Inserts need to be ordered separately
"[J "indicates standing stock

* R=right hand

L= left hand

095



&;EG@ A FL 71#Fllinternal Tool Holder

é S17 j:ﬁ)a';_ijj 1::|: (Sﬁg) Alloy anti-vibration knife holder (S type) é@?ﬁ%ﬂ 1::|: (S;:F:I:U ) Alloy anti-vibration knife holder (S type)

Y E{Rf 107.5° ) g 00°
®Dmin | 5 Main deflection ﬁii i} Main R(‘;eflec\ion
) od angle 107.5° PDmin angle 90°
o : 63 ° &d
107.5° C..SDQC.. @@ﬁ{ﬁ : 90° C..STFB(C)(P).. GDr s+ Z
: W 9ifs
| L= b
~fSize(mm 2 5] R F AN ~FSize(mm 2
gg _.I=I5 Model R—'r ( ) Screw Wren_ch Inserts gg _'|=|5 Model R—'r ( ) ES?;F:E; thlir-er?::_h ?,1]585':
dlf]L]h D ! o 4 dlf[L[h [Dm b
C08K-SDQCR/L0O7C 8 6 |125/7.4 | 11 PG * CO06K-STFBR/L06C 6 4 |125|54 | 8 GO . — o
C10M-SDQCR/L0O7C 10| 7 |150]9.4 | 13 ’ T8 0C..0702 * CO8K-STFBR/L0O6C 8 | 5 [125/7.4| 10 - -
C12Q-SDQCR/L0O7C 12 | 9 |180|11.4| 16 h -
C16R-SDQCR/L0O7C 16 | 11 |200| 15 | 20 L60 M2.5x6
R~FSize(mm) 2 5] iR F N
C20S-SDQCR/L11C 20 | 13 |250| 19 | 25 L60 M4X8 T15 DC..11T3.. A 2 Model Screw Wrench Inserts
o iT#®RMl: 14£C12Q-SDQCRO7C  1#£C12Q-SDQCLO7C  #R=%HF L=£EF e IR EBEBITH GNPy
“geV Bk * C10M-STFCR/L09C 10 | 6 [150|9.4 | 13
o “k” SRRNEEER w=vrs TECR/L L60 M2.2X5 T6 TC..0902..
® Ordering Example:1pcs C12Q-SDQCRO07C 1pcs C12Q-SDQCL07C  * R=righthand L= left hand C12Q-STFCR/LO9C i1z | itz | 10l A
® |nserts need to be ordered separately * C10M-STFCR/L11C 10 | 6 [150/9.4 | 13 L60 M2.5X5
® "[] "indicates standing stock * C12Q-STFCR/L11C 12 | 7.5|180|11.4| 16 8 6. 1102
C16R-STFCR/L11C 16 | 10 |200| 15 | 20 L60 M2.5X6 v -
C20S-STFCR/L11C 20 | 12 |250| 19 | 25
C20R-STFCR/L16C 20 | 12 |200| 19 | 25 L60 M4X8 T15 TC..16T3..
gg % Model stue(mm) ms%re%; thly;erﬁ Ijnjsel)'tzlls-
d|lf|L|nh|[Dm » AN
- * C10M-STFPR/L09C 10 | 6 [150|9.4 | 13 L60 M2.5X5 T8 TP..0902..
.ﬁ,JJ{ | Main deflection * C10M-STFPR/L11C 10 | 6 [150]9.4| 13
m : od g SROERS * C12Q-STFPR/L11C 12 |7.5|180(11.4| 16 L60 M3X8 T10 TP..1103..
93° C..SDUC.. é;’ o > C16R-STFPR/L11C 16 | 10 |200| 15 | 20
)i
L At el e iT#mfl: 14£C12Q-STFPR11C ¢ C12Q-STFPL11C *R=HF L=£F e IAEEHWITH
L I<h o ‘X EETEEER
® Ordering Example:1pcs C12Q-STFPR11C 1pcs C12Q-STFPL11C  *R=righthand L= left hand
® |nserts need to be ordered separately
. ® "[] "indicates standing stock
B 2 wege | TS 27 Rz A
dlf]L]|h [Dm ) o /o7
* CO08K-SDUCR/LO7C 8 6 |125[7.4| 11
L60 M2.5X5
* C10M-SDUCR/LO7C 10 | 7 |150|9.4 | 13 . DC. 0702,
* C12Q-SDUCR/LO7C 12 | 9 |180|11.4| 16 -
* C16R-SDUCR/L07C 16 | 11 |200| 15 | 20 i
* C16R-SDUCR/L11C 16 | 11 |200| 15 | 20
L60 M4X8 T15 DC..11T3..

C20S-SDUCR/L11C 20 | 13 |250| 19 | 25

e iT#Rfl: 114 C12Q-SDQCRO7C 14 C12Q-SDQCL0O7C *R=AF L=LKF e IR EEHMITHY
o k7 SRIBHER

® Ordering Example:1pcs C12Q-SDQCRO07C 1pcs C12Q-SDQCL07C  * R=righthand L= left hand
Inserts need to be ordered separately
"[] "indicates standing stock

096 097



[

aEm=E/IT

|
(Sﬁé) Alloy anti-vibration knife holder (S type)

A FL 71#Fllinternal Tool Holder

é@?ﬁ%ﬂ 1::|: (S;:F:I:U ) Alloy anti-vibration knife holder (S type)

098

I ] FR 93°
oD ﬁi; | Main dleflggtion
min angle 93°
4 dd
93° C..STUB(C)(P).. 0} s LT 7 ;
i Vil|e>
| L 0.
B B mege | ISZEM gy £Z o
= oade .
d L h [Dmin
* CO06K-STUBR/L06C 6 4 1125|548
L60 M2X4 T6 TB..0601..
* CO08K-STUBR/L06C 8 5 [125|7.4 | 10
gg % Model RYTSlze(mm) ms%:re%\; Wrench Inserts
d| f | L | h |Dmn
* C10M-STUCR/L09C 10 | 6 |150]9.4 | 13
L60 M2.2X5 T6 TC..0902..
* C12Q-STUCR/L09C 12 | 7.5/180|11.4| 16
* C10M-STUCR/L11C 10 | 6 |150|9.4 | 13 L60 M2.5X5
* C12Q-STUCR/L11C 12 | 7.5/180|11.4| 16 . —5 16
C16R-STUCR/L11C 16 | 10 [200] 15 | 20 L60 M2.5X6 N h
C20S-STUCR/L11C 20 | 12 |250| 19 | 25
C20R-STUCR/L16C 20 | 12 |200| 19 | 25 L60 M4X8 T15 TC..16T3..
§|_£ _% Model RT_!'Slze(mm) %re%va- Wrench Inserts
d| f|L|h Dm
* C10M-STUPR/L09C 10 | 6 |150|9.4 | 13 L60 M2.5X5 T8 TP..0902..
* C10M-STUPR/L11C 10 | 6 |150|9.4 | 13
* C12Q-STUPR/L11C 12 | 7.5|180(|11.4| 16 L60 M3X8 T10 TP..1103..
C16R-STUPR/L11C 16 | 10 |200| 15 | 20
o T R{: 144 C12Q-STUPR11C 114 C12Q-STFPL11C *R=FAF L=LKEF o JIREERMITY
o “x” SRTEEER
® Ordering Example:1pcs C12Q-STUPR11C 1pcs C12Q-STFPL11C  * R=righthand L=left hand
® |nserts need to be ordered separately
°

"1 "indicates standing stock

F{mea 93°
%77777 Main deflection
angle 93°
®Dmin
&d
93° C..SWUB.. QN —r, e— N [ — -
Y122 z
h
| e *
B = R Size(mm) ﬂs? £7 V’fvﬁ $h |7] )?"
.5 Model crew ren_c nserts
d| f|L|h |Du )
* CO5K-SWUBR/L06C 5 3 [125(4.34| 6
* CO06K-SWUBR/L0O6C 6 |3.5|125(5.4|7.5
* CO07K-SWUBR/L0O6C 7 4 |125|/6.4|8.5
L60 M2X4 T6 WB..0601..
* CO08K-SWUBR/L06C 8 5 (125/7.4| 10
C10M-SWUBR/L06C 10 | 6 [150|9.4 | 13
C12Q-SWUBR/L06C 12 | 7 [180(|11.4| 15
o T RHl: 114 C12Q-SWUBRO6C 114 C12Q-SWUBL06 *R=FF L=KLKF o JIREEH T
o “k7 SRINERER
® Ordering Example:1pcs C12Q-SWUBRO6C 1pcs C12Q-SWUBL06 * R=righthand L= left hand
® |nserts need to be ordered separately
® '/ "indicates standing stock

099



[

100

RFEISNE . AFLTIFE S KM IR

Inch External, Internal Turning Tool Holder Type and Operation Genre

MCLNR/L MDJNR/L MVJNR/L MWLNR/L
N !
' D -
931_ ' -
P100 P100 ’ P101 P101
DCLNR/L DVJNR/L DWLNR/L

P106

P102 P102 P103
SCLCRI/L
f
P104
95° SCLCR/L | 93° SDUCRI/L 90° STF..R/L

9" E \E’U 7] 1::|: ( %ﬁ%u M;:Fiu ) External turning tool holder (Inch M type)

FHI ZE HI JIFFIINCH Turning Tool

FimA 95°
Main deflection
angle 95°

95° MCLN.. NP7 -
1 [® 1
95° -
€ L
~FSize(i Xk 24 7] & H 5] 5 w®F 7R
A =2 M R Size(in) Stud bolts Shim Pin Pressure plate Wrench Inserts
4t = Model "
alb|L|h|f]e 7 fo, V4 ~ (]
* MCLNR/L16-4D 1.0/1.0/6.0|1.0(1.25/1.26 S C12BM TM6X17 C1RD - CN..1204..
* MCLNR/L16-5D 1.0/1.0/6.0|1.0(1.25/ 1.5 C16BM TM8X21 C2RD CN..1606..
® T4 Rf%: 144 DVINR12-3C 1{4$DVJNL12-3C *R=BF L=EKEF o JIREHEERMITY
® ‘X’ SRRAERERF
® Ordering Example:1pcs DVJNL12-3C 1pcs DVJUNL12-3C  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
Fimea 93°
< © Main deflection
angle 93°
93° MDJN.. -
93"e L -~
FSize(i Xk i2 4 7] & H 5] 5 w®F 7R
7 = Model RdSize(in) Stud bolts Shim Pin Pressure plate | Wrench Inserts
= = oae
alb|L|h| f]e e < V4 = (7
* MDJNR/L16-4D 1.0/1.0/6.0|1.0(1.25 1.5 TM6X19 DN..1506..
DM6X25 D15BM C2RD S3
* MDJNR/L16-4D-3 1.0(1.0(6.0|1.0(1.25/ 1.5 TM6X17 DN..1504..
T8 R%: 14 MDJNR16-4D 144MDJNL16-4D *R=FF L=KF o I REERMITH

k7 SERTEEER

Ordering Example:1pcs MDJNL16-4D 1pcs MDJNL16-4D

Inserts need to be ordered separately

"[] "indicates standing stock

*R=right hand

L= left hand

101



/i

102

9" E \ﬁ” D 1::|: ( %ﬁ%u Miﬂ ) External turning tool holder (Inch M type)

Fiwm 93°
= @ Main deflection
angle 93°
93° MVJN.. H
- © ° R ™
, 3 I\
93 o —
RSize<f(in) WLAREe | T] B W5 E 1R R F ANy
gg _.l=l5 Model Stud bolts Shim Pin Pressure plate Wrench Inserts
alb|L|h|f]|e 7 S Y 4 ~ o7
* MVJNR/L16-3D 1.0/1.0/6.0|1.0(1.25/1.77| DM6X25 V16BM TM5X13 C3RD S2\S3 VN..1604..
® TR f: 144 MVINR12-3D 14MVJINL12-3D *R=AF L=KF o JIREERIMITY
o ‘X" SRRERER
® Ordering Example:1pcs MVJUNL12-3D 1pcs MVJNL12-3D *R=righthand L=lefthand
® |nserts need to be ordered separately
® "[] "indicates standing stock
‘ﬁ: ={fs 95°
< © Main deflection
angle 95°
95° MWLN..
- (G) o f
) -
€ L
FSize(i XL he 72 i §] E 1R R F 7R
U = M d | R__]'SIZG(IH) Stud bolts Shim Pin Pressure plate Wrench Inserts
= = ode
alb|lL|n|f]e 7 a Y 4 ~. )
* MWLNR/L12-3C 0.75/0.75| 5.0 |0.75| 1.0 |1.18
WO06BM TM5X13 S2\S3 WN..0604..
* MWLNR/L16-3D 1.0/1.0/6.0|1.0(1.25/1.18
DM6X25 C1RD
MWLNR/L12-4C 0.75/0.75| 5.0 |0.75| 1.0 |1.38
W08BM TM6EX17 S3 WN..0804..
MWLNR/L16-4D 1.0/1.0/6.0|1.0(1.25/1.38
® JTERH: 14 MWLNR16-3D 1{MWLNL16-3D *R=fHF L=KF o T REFEERMITHY
o “k” SRREEERF
® Ordering Example:1pcs MWLNL16-3D 1pcs MWLNL16-3D *R=righthand L=lefthand
® |nserts need to be ordered separately
°

"[] "indicates standing stock

FHI ZE HI JIFFIINCH Turning Tool

9" E \E’!J 7] 1::|: ( %ﬁ%u D;:F::U ) External turning tool holder (Inch D type)

L FimE 95°
- O 2 Main deflection
angle 95°
° S,
95° DCLN.. Pe L
R<Size(in g | D@ | EHR | mE | BT | RF| DA
(in) . ; ;
gg _.l=l5 Model Shim screw Shim Pressureplatg  Spring Screw Wrench Inserts
a|b|L| h| f]|e Ly - B o (e [
* DCLNR/L12-3C 0.75|0.75| 5.0 |0.75/ 1.0 | 1.1
SM5X8.65XA1 C09BM DC3230 DC5812 DM525 S3 CN..09083..
* DCLNR/L16-3D 1.0(1.0(6.0|1.0(1.25/ 1.1
* DCLNR/L12-4C 0.75/0.75| 5.0 |0.75/ 1.0 | 1.1
SM6X10XA1 C12BM DC5282 DC6812 DM625 S4 CN..1204..
* DCLNR/L16-4D 1.0(1.0(6.0|1.0(1.25/ 1.1
® T~ fl: 144 DCLNR12-3C 1/4DCLNL12-3C *R=HFF L=KF e IR EEHMITM
o ‘“k” SRRAERETF
® Ordering Example:1pcs DCLNL12-3C 1pcs DCLNL12-3C  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
Fima 93°
».I A\ < ] Main deflection
£‘@_e‘ angle 93°
2/
93° DVJN.. > L
\
;I m' }
RSize(in) JJgss | B ) ER | BE | BE ) RF VAN
9:F='J -,'='5 Model Shim screw Shim  Pressureplate  Spring Screw Wrench Inserts
alb|L|n|f]e < | B W ~_ | &
* DVJNR/L12-3C 0.75/0.75| 5.0 |0.75| 1.0 |1.61
SM5X8.65XA1 V16BM DC3230 DC5812 DM525 S3 VN..1604..
* DVJNR/L16-3D 1.0(1.0(6.0|1.0|1.25/1.61

iT#RH: 14£ DVINR12-3C
“k” BEERTEEER

1{4DVJINL12-3C

Ordering Example:1pcs DVJNL12-3C 1pcs DVJNL12-3C
Inserts need to be ordered separately

"[1 "indicates standing stock

*R=FF L=LF

* R=right hand

L= left hand

o T RFEERMIT

103



/i

gl\i\ﬁ”ﬂﬁ (%%U Dgg) External turning tool holder (Inch D type)

104

95°

|

FRA 95°

Main deflection
angle 95

kT SRTEEER

Ordering Example:1pcs DWLNL12-3C 1pcs DWLNL12-3C
Inserts need to be ordered separately

"[] "indicates standing stock

* R=right hand

L= left hand

95° DWLN.. - L
— e
[ ]
R<FSize(in) Egy | JJBR| EiR | @E | BE | IRF kR
;:FIIJ _.l=l5 Model Shim screw Shim | Pressureplate | Spring Screw Wrench Inserts
alb|L|nh]f]e a - W= ~ )
* DWLNR/L12-3C 0.75/0.75| 5.0 |0.75| 1.0 |1.02
SM5X8.65XA1 | WO06BM | DC3230 | DC5812 DM525 S3 WN..0604..
* DWLNR/L16-3D 1.0/1.0|6.0(1.0(1.25/1.02
* DWLNR/L12-4C 0.75/0.75| 5.0 |0.75| 1.0 |1.22
SM6EX10XA1 WO08BM | DC5282 | DC6812 DM625 S4 WN..0804..
* DWLNR/L16-4D 1.0/ 1.0/6.0|1.0(1.25/1.22
T8 RH: 144 DWLNR12-3C 14DWLNL12-3C *R=HAF L=KF o T REERMITH

SNEIZERITIF (SRHISEY)

FHI ZE HI JIFFIINCH Turning Tool

External turning tool holder (Inch S type)

FimE 95°
- Main deflection
- © [ angle 95°
° 5
95° SCLC.. B ) -
!
T E o
R Size(in) PAE:L: 322 7] B 12 47 R F 7R
gg % Model Shim screw Shim Screw Wrench Inserts
a b L h f |e o = (o]
* SCLCR/L06-2J 0.375|0.375(2.75]0.375|0.47 | 0.4 L60 M2.5X6 T8 CC..0602..
* SCLCR/L08-3J 0.5 0.5 | 35| 0.5 |0.63[0.6
* SCLCR/L10-3A 0.625|0.625| 4 |0.625|0.79|0.6 L60 M3.5X8 T15 CC..09T3..
* SCLCR/L12-3C 0.75 | 0.75 5 0.75 | 1.0 | 0.8
* SCLCR/L12-4C 0.75 | 0.75 | 5 | 0.75 | 1.0 |0.8
SM6X10XA C12BS L60 M4X11X S4\T15 CC..1204..
* SCLCR/L16-4D 1.0 1.0 6 1.0 [1.25(1.0
iT#%~f%: 144 SCLCR12-3C 144SCLCL12-3C *R=KFF L=KkF o TIEEEEMITH

k7 SERTEEER

Ordering Example:1pcs SCLCL12-3C 1pcs SCLCL12-3C
Inserts need to be ordered separately
"[] "indicates standing stock

*R=right hand

L= left hand

105



[

W %LE \%’I.I 73 1::': (3_&%” S;_—:Flg ) Internal turning tool holder(Inch S type)

106

FHI ZE HI JIFFIINCH Turning Tool

W }IJE \E’!J 7] 1::|: (%%US@) Internal turning tool holder(Inch S type)

| Fim 95°
ﬁiiii;k Main deflection
I J angle 95°
. S SCLC ®Dmin ®d
95 . . A y
@i Q%f ] ] - I = =
L
‘ t
R~JSize(in)
=
D f(mm) L h Dmm(mm) —_— @
* S05K-SCLCR/L-2 0.313| 5.0 |5.39/0.289| 10
* S06M-SCLCR/L-2 0.375| 6.0 | 6.0 |0.336| 12 L60 M2.5X6 T8 CC..0602..
* S08M-SCLCR/L-2 0.5 9.0 | 6.0 | 0.461 16
* S08M-SCLCR/L-3 0.5 9.0 | 6.0 | 0.461 16
* S10R-SCLCR/L-3 0.625| 11.0 | 8.0 | 0.586| 20 - -
* S12Q-SCLCR/L-3 0.7 13.0 | 7.0 | 0.671| 25
L60 M3.5X8 T15 CC..09T3..
* S12S-SCLCR/L-3 0.75 | 13.0 |10.0|0.671| 25
* S16Q-SCLCR/L-3 1.0 17.0 | 7.0 | 0.921| 32
* S16T-SCLCR/L-3 1.0 17.0 |12.0|0.921| 32
* S20R-SCLCR/L-4 12.5 | 22.0 | 8.0 | 1.17 40
SM6X10XA C12BS L60 M4X11X S4\T15 CC..1204..
* S20U-SCLCR/L-4 12.5 | 22.0 |14.0| 1.17 40
® JTHrfl: 14 S12Q-SCLCR-3 14S12Q-SCLCL-3 *R=HFF L=KF o IREFEEHMITH
o ‘K" SRRAERER
® Ordering Example:1pcs S12Q-SCLCL-3 1pcs S12Q-SCLCL-3  *R=righthand L=left hand
°
°

Inserts need to be ordered separately
"[] "indicates standing stock

Inserts need to be ordered separately

. ] F{mM 93°
®Dmin 21 ~ / Main defiection
93° S..SDUC.. A St 7
Fi ,
L lho
= RfSize(in) JI iRy J]® 12 4] R F 7R
gg = Model Shim screw Shim Screw Wrench Inserts
D f(mm) L h Dmm(mm) ' o - S E
* S08M-SDUCR/L-2 0.5 9 6.0 | 0.461 16
* S10M-SDUCR/L-2 0.625| 11 6.0 | 0.586 | 20 L60 M2.5X6 T8 DC..0702..
* S10R-SDUCR/L-2 0.625| 11 8.0 | 0.586 | 20
* S12Q-SDUCR/L-3 0.75 13 7.0 |0.671| 24
L60 M3.5X8 T15 DC..11T3..
* S12S-SDUCR/L-3 0.75 13 |10.0|0.671| 24 - -
® T R%: 144 S12Q-SDUCR-3 114S12Q-SDUCL-3 *R=HF L=EKEF o I RFEERMITY
® “k” SRREERER
® Ordering Example:1pcs S12Q-SDUCR-3 1pcs S12Q-SDUCR-3  * R=right hand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
T ] F{mM 90°
E Vlj' ] Main deflection
ODmin angle 90°
o &d
90° S..STFC.. ﬁ.} .. >
& s
Lﬁ.
FSize(i PAE:S: Y22 7B L £ F 7]
] = RSize(in) Shims?iew Shim Tégz:rew V*\llirench “"Seb:
B S Model !
D | fom | L | h |Donem & N o2 AN
* S08M-STFCR/L-2 0.5 9 6.0 | 0.461 16
* S10M-STFCR/L-2 0.625| 11 6.0 | 0.586| 20 L60 M2.5X6 T8 TC..1102..
* S12S-STFCR/L-2 0.75 13 8.0 |0.671| 25
* S12Q-STFCR/L-3 0.75 13 7.0 |0.671| 25 L60 M3.5X8 T15 TC..16T3..
® IT5Rfl: 114 S12Q-STFCR-3 114£S512Q-STFCL-3 *R=HAF L=LKF T REERMITH
o “k” SRINEBER
® Ordering Example:1pcs S12Q-STFCR-3 1pcs S12Q-STFCR-3  * R=righthand L= left hand
°
°

"[] "indicates standing stock

107



ey

i -
mor =

7R0ADIDS-HEEY

L A
|
J
= =
-E | |I . III
=] ™ [ -
= )
I_J';:' | | ."I ;
a.hr_,g |
‘.I:,pl'j
g e
S
o |
=]
o)
= =
= o

ORI TOHF

BIEI] |

HIGH PRESSURE PRECISION COOLING
TURNING TOOL HOLDER

ERTZE5HFRENRREGS, BRENR, HESXE, RREHE.

The perfect combination of traditional’technology and digital technology, HANCHENG CNC cutting tools, real gold fire refining, excellent quality.

%

2 EN T #FIPrecision Cooling Tool Holder

BERANTIRAESEMIKEK

Precision cooling of tool holder type and processing form

MGEHR/L

1 7 o » -an
95° =T | =
]

—_—

Cold P113 |cold




[

RIERASMNE I (ME)

Precision cooling external cylindrical tool holder (internal cooling P type)

2-02tk L

FmA 95°
= 4 Main deflection
angle 95°
95° MCLN..A
L . \
L
R~ Size(mm) 12 57 PARE: H 7 E 1R R F AN
gg _.l=|5 Model Screws Shlm Pin Pressure plate Wrench Inserts
alb|L|n|f]e & O V4 ~
* MCLNR/L2020K12-A 20 | 20 |125| 20 | 25 | 38 AC622-2
* MCLNR/L2525M12-A 25 | 25 |150| 25 | 32 | 38 AMS625 C12BM MLP46 AR S3,54 CN..1204..
MCLNR/L3232P12-A 32 | 32 |170| 32 | 40 | 38 )
] t5Rf: 144 MCLNR2020K12-A 114 MCLNL2020K12-A *R=HAF L=KF o IR EEHMITH
o “k” SRRAEERER
® Ordering Example:1pcs MCLNR2020K12-A 1pcs MCLNL2020K12-A * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
[ Ffm 93°
= ° Main deflection
angle 93°
93° MTJN..A t
L
R<tSize(mm) 12 57 7] B H 5T E R R F 7R
F % Model Screws Shim Pin Pressure plate Wrench Inserts
= alb|L|h|fle > =, 4 ~.
* MTJNR/L2020K16-A 20 | 20 |125| 20 | 25 | 35
* MTJNR/L2525M16-A 25 | 25 (150 25 | 32 | 35 AMS625 T16BM MLP34 AC622-1 S2,54 TN..1604..
MTJNR/L3232P16-A 32 | 32 |170| 32 | 40 | 35

o iT#RHI: ¥ MTINR2020K16-A *R=HF L-k£TF

° “*” SEREEER

® Ordering Example:1pcs MTINR2020K16-A 1pcs MTJNL2020K16-A  * R=right hand L= left hand
Inserts need to be ordered separately
"[] "indicates standing stock

14 MTJINL2020K16-A

110

o T RFEESRMIT

% 44 A1 J1#FIIPrecision Cooling Tool Holder

BIERIIRANSNETIHF (ME)

Precision cooling external cylindrical tool holder (internal cooling P type)

2-02Mik AL

FfmA 95°
- - Main deflection
angle 95°
95° MWLN..A R —1
_ ®h ! = -
©
Lo, -— -
L
R~ Size(mm) 92 57 7] i‘ﬂ o 57 E iR R F ANy
ﬂ % Model Screws Shim Pin Pressure plate Wrench Inserts
alblL]|hn][f]e ” o ¥ 4 ~ 0)
* MWLNR/L2020K08-A 20 | 20 |125| 20 | 25 | 38 AC622-2
* MWLNR/L2525M08-A 25 | 25 |150| 25 | 32 | 38 AMS625 WO08BM MLP46 e S3,84 WN..0804..
* MWLNR/L3232P08-A 32 | 32 |170| 32 | 40 | 38 i
o T RHBl: 114 PWLNR2020K08A 144 PWLNL2020K08A *R=FF L=LK£F e T REZEHRMITN

° “*” SRTNERER

® Ordering Example:1pcs PWLNR2020K08A 1pcs PWLNL2020K08A * R=righthand L=left hand
Inserts need to be ordered separately
"[] "indicates standing stock

111



/i

FRIEIRASMNE I (PEY)

Precision cooling external cylindrical tool holder (internal cooling P type)

% 44 A1 J1#FIIPrecision Cooling Tool Holder

BIERIRESMNETIFT (PEY)

Precision cooling external cylindrical tool holder (internal cooling P type)

2 02k 7L

FfmAa 95°
@ Main deflection
angle 95°
95° PCLN..A e
f
RS AAEET | DB | O | B® | mFE | DA
7 = Lever screw i Lever Stop pin Wrench Inserts
42 = Model
alb|L|h|f]e| o® » N ~
* PCLNR/L2020K12A 20 | 20 [125| 20 | 25 | 38
* PCLNR/L2525M12A 25 | 25 (150 25 | 32 | 38 MCS821 C12BP L4 SP4 S3 CN..1204..
* PCLNR/L3232P12A 32| 32 |170| 32 | 40 | 38
e iT#Rfl: 144 PCLNR2020K12A 144 PCLNL2020K12A *R=AF L=K£F o IR EEHMITI
o “k” SRRAEERER
® Ordering Example:1pcs PCLNR2020K12A 1pcs PCLNL2020K12A  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
3-o2ikI
1 B I Fimeg 93°
< il Lh...] ° Main deflection
angle 93
93° PTJN..A

112

-
937
e

R<FSize(mm) FLAFARET 7] B L+  fH R F 7R
U % Model Lever screw Shim Lever Stop pin Wrench Inserts
= alb|L[n|fle| o =, b | ~
* PTIJNR/L2020K16A 20 | 20 |125| 20 | 25 | 35
* PTJNR/L2525M16A 25| 25 |150| 25 | 32 | 35 MCS617 T16BP L3 SP3 S2.5 TN..1604..
* PTIJNR/L3232P16A 32| 321|170/ 32 | 40 | 35
o TR {: 144 PTINR2020K16A 14 PTIJNL2020K16A *R=FAF L=KF e JILEERBMITH
° “*” SRAEEER
*R=righthand L=lefthand

® Ordering Example:1pcs PTJNR2020K16A 1pcs PTJNL2020K16A
Inserts need to be ordered separately
"[] "indicates standing stock

Inserts need to be ordered separately
"[] "indicates standing stock

FfmA 95°
® Main deflection
angle 95°
95° PWLN..A
(X2 1
%‘;e L -
R~ Size(mm) FLAFERET 7] &8 I+  f#H R F 7R
ﬂ % Model Lever screw Shim Lever Stop pin Wrench Inserts
al b |L|h|f]|e o | N ~_ O
* PWLNR/L2020K08A 20 | 20 |125| 20 | 25 | 38
* PWLNR/L2525M08A 25 | 25 |150| 25 | 32 | 38 MCS821 WO08BP L4 SP4 S3 WN..0804..
* PWLNR/L3232P08A 32|32 |170| 32 | 40 | 38
o T4 x%l: 144 PWLNR2020K08A 144 PWLNL2020K08A *R=FF L=LK£F o JIREEHMIT
'“*”?%T%%Eﬁ
® Ordering Example:1pcs PWLNR2020K08A 1pcs PWLNL2020K08A * R=righthand L=left hand

113



/i

FRIERASMNE T (SEY)

Precision cooling external cylindrical tool holder (internal cooling S type)

% 44 A1 J1#FIIPrecision Cooling Tool Holder

FRIEIRMINE I (RIRSEL)

Precision cooling external cylindrical tool holder (internal cooling S type)

2-01.6tKk7

0“*”?%%%%%#

® Ordering Example:1pcs SDJCR1616K11A 1pcs SDJCL1616K11A

Inserts need to be ordered separately
"[] "indicates standing stock

* R=right hand

L= left hand

Ii F T S o sl F{mfa 95°
{ri“’ ““““““ /O ‘—j (UI Main deflection
angle 95°
95° SCLC..A S g
- 0 4: ————————————— IDJIL_‘ L,«‘»D
=3 t
L - i
R~FSize(mm) 12 7 R F
gg = MOdel Screw Wrerlch Inserts
= alb|L|h|f|e
* SCLCR/L1212H09A 12 | 12 |100| 12 | 16 | 16
* SCLCR/L1616K09A 16 | 16 | 120| 16 | 20 | 16 L60 M4X10 T15 CC..09T3..
* SCLCR/L2020K09A 20 | 20 [125| 20 | 23 | 16
° 5 xf: 144 SCLCR1616K09A 114 SCLCL1616K09A *R=HAF L=K£F o IR EEHMITN
° P SRAEEER
® Ordering Example:1pcs SCLCR1616K09A 1pcs SCLCL1616K09A  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
Mo - --------=- = *iRfg 93°
‘CI 1_, {:/L) __________ /O -_j NI Main deflection
angle 93°
93° SDJC..A R_L NS f"’inl
Y\ s 1L f
92 AN
e L -
ﬁl—i _% Model RTISIZG(mm) ﬂs%:re%va- Wrench Inserts
alb|L|nlf]e [/
* SDJCR/L1212H07A 12 | 12 |100| 12 | 16 | 15 L60 M2.5X6 T8 DC..0702..
* SDJCR/L1616K11A 16 | 16 |125| 16 | 20 | 22
L60 M4X10 T15 DC..11T3..
* SDJCR/L2020K11A 20 | 20 |125| 20 | 23 | 22
e TR {: 144 SDJCR1616K11A 114 SDJCL1616K11A *R=FF L=KEF o JIRFEERMITHY

2-01.6t K

___________ —— F{RmA 93°
‘CI ]_” {:L;\ __________ IO:F___:H “’I Main deflection
angle 93°
93° SVJC..A S~ 1
Y\ e i 1L
E
° L
o = R Sizetmm 25 5.3 A
= Model =" !
alb|L|h|f]|e e
* SVJCR/L1212H11A 12 | 12 |100| 12 | 16 | 25
* SVJCR/L1616K11A 16 | 16 |100| 16 | 20 | 25
L60 M2.5X6 T8 VC..11083..
* SVJCR/L2020K11A 20 | 20 |125| 20 | 23 | 25
® TR HBl: 1144 SVJCR1616K11A 114 SVJCL1616K11A *R=FF L=K£F o JIREEH T
° P SRABRER
® Ordering Example:1pcs SVJCR1616K11A 1pcs SVJCL1616K11A  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock

115



Ve ==

e /S NINETE T T

Precision cooling of external groove tool holder

A7 BIRET

9_3.2 = M (o] d e | Socket head cap screw

e

=

* MGEHR/L1212-15T13HA
* MGEHR/L1212-20T14HA
* MGEHR/L1616-25T16KA
*x MGEHR/L1616-30T18KA
T8 RG: 14 MGEHR1212-20T14HA 1 MGEHL1212-20T14HA *R=FHF EF
kT ERTEEER

Ordering Example:1pcs MGEHR1212-20T14HA 1pcs MGEHL1212-20T14HA  * R=righthand L= left hand
Inserts need to be ordered separately
"[1 "indicates standing stock

AN

Inserts

=S

M..MN200
M..MN250
M..MN300

o SR FEEBMIT

-

RGN )

-

5
| g
\‘ ‘ \ |
_..—'""I .
S
o
3
5 g
i 3
) 2
% 3
: °
g &
[+ -
i :
g
i:.l‘.
=

Y% "o

IR ZE TIHF

THREADING TOOL
HOLDER

ERTZE5HFRFNFRGS, BRZNR, EEXEF, RREE.

The perfect combination of traditional technology and digital technology, HANCHENG CNC cutting tools, real gold fire refining, excellent quality.




&iz ® #2247 Z J]#FIIThreading Tool Holder

B ETIFHE SR TAN HMBNZEBITITF  externattnread turning tool nolger

Thread turning tool model indication rules

ITe ]
s||E||R||[20] |20] | K| |[16]]|C Ser/L % ;
1 2 3 4 5 6 7 8 T ]
2. 3 s VI— Ky 1 3 #
. E ZHEN 2. i%élﬁéit 3. Y1EI 75 1| 4. TIREE ;__:F.g = RTSIZe(mm) mé%:rj; Jghimé Mug%r%%i]-nail 7\';/}\Iire%h Ijnjseg?:
Pressing method Thread form Cutting direction Tip height = Model a bl h ¢ o ' Y @
EFER 2 4 % S (Unit): -
C | Upper rj;s::ret = N int':?nz%ﬁad R Rﬁté]ut 098 T * SER/L1212H11C 12 | 12 [100| 12 | 16 | 20
pper p yp g —
E7J#FA00%T * L60 M2.5X6 = > T8 11ER/L..
. BT B3t £ SpiE 7 . 4] Round holder is SER/L1616H11C 16 | 16 |100| 16 | 20 | 20
Screw pressing type External thread Left Cut indicated by diameter * SER/L1212H16C 12 | 12 [100| 12 | 16 | 25
1| sz * SER/L1616H16C 16 | 16 [100| 16 | 20 | 25
Vertical thread * SER/L2020K16C 20 | 20 [125] 20 | 25 | 25 T15
L60 M3.5X14 MT16-M 16ER/L..
* SER/L2525M16C 25| 25 |150| 25 | 32 | 25 S2.5
* SER/L3225P16C 32 | 25 |170| 32 | 32 | 25 MAXEM
* SER/L3232P16C 32 |32 |170| 32 | 40 | 25
* SER/L2525M22C 25| 25 |150| 25 | 32 | 32
= 6. 7182 5
fv;dfﬂffi;;e’i Tﬂ.lenﬁh’g 7;%1,}[‘2&? 8BRS * SER/L3225P22C 32 | 25 |170| 32 | 32 | 32 T20
Self-numbering * SER/L3232P22C 32 | 32 |170| 32 | 40 | 32 | FPOM4-OXTE | MT22-MRIL S2.5 22ER/L
£7(Unit): mm H | 100 ke | =mmnk 7 £ B '
EFREEER K 125 Code Triangle side length | Inner corner rounding * SER/L4040R22C 40 | 40 |200| 40 | 50 | 40
Round holder is 1 11 6.35 * SER/L2525M27C 25| 25 |150| 25 | 32 | 40
indicated by diameter M 150 T25
16 16 9.525 * SER/L3232P27C 32| 32 |170| 32 | 40 | 40 L60 M6X18 MT27-M M4X10 - 27ER/L..
- * SER/L4040R27C 40 | 40 |200| 40 | 50 | 40
Q 180 22 22 12.70
® TR fl: 114 SER2020K16C 11 SEL2020K16C *R=BF L=KEF o JIREFEEREMITHY
o “k” SRREERER
E 4 ] = 4 I AR E Thread insert tvpe compilation instructions ® Ordering Example:1pcs SER2020K16C 1pcs SEL2020K16C  * R=righthand L= left hand ® Inserts need to be ordered separately
jg —E jj ):IL i = 'ﬁ %J l}é H yp P ® "[] "indicates standing stock

16 N R 1.75| | ISO T B

1 2 3 4 S B-SER/L.. @
©H - °
I —
£ L
7. 71RR~F 2. 25N 3. YIHI 75 = 4. BERES
Blade size Thread type Cutting direction Pitch code
= =83 2UR S h=1E e 4l . . - R~fSize(mm 92 5] 7] & BEEE] wF 7R
Co;z Triangle sidl:ength Inner corner Emding N Internal thread R Right Cut 1 /A%IJ . E?EE f: 0. _75 O; 75mmﬂ§ﬂE ;__:Fg % Model ( ) Screw Shim Mushroom nail Wrench Inserts
1. Metric: Pitch Example: 0.75 = 0.75mm pitch & b L h f - ’ ' ' Ay @
il 1 6.55 E| MRS L| E 2, 3%0: $0/inch #l: 8=830/inch .
16 16 9525 External thread Left Cut 2. Inches: bucklefinch  Example: 8 = 8 buckles/inch B-SER/L1616H16C 16 | 16 |100| 16 | 20 | 25
o &= * B-SER/L2020K16C 20 | 20 |125| 20 | 25 | 25 T15
29 29 12.70 3. AG60: 60° ;ZHZEE L60 M3.5X14 MT16-M 16ER/L..
. 3.AG60: 60° pan pitch * B-SER/L2525M16C 25| 25 |150| 25 | 32 | 25 MAXEM S2.5
B-SER/L3232P16C 32 |32 (170| 32 | 40 | 25
* B-SER/L2525M22C 25| 25 [150| 25 | 32 | 32 T20
4. BERS L60 M4.5X15| MT22-MR/L 22ER/L..
Pitch code B-SER/L3232P22C 32| 32 (170| 32 | 40 | 32 S2.5
1'S0=1 503K &I 42 & o iT#=%l: 1+ B-SER2020K16C 1% B-SEL2020K16C *R=FF L=KLK£F o JIREEHMITN
ISO = ISO metric thread ® ‘X SREEEER
W=E 3t 42 &1 ® Ordering Example:1pcs B-SER2020K16C 1pcs B-SEL2020K16C  * R=righthand L=lefthand ® |nserts need to be ordered separately
W='L\;Vhitley~tr:read ® "[] "indicates standing stock

118 119



&iz ® #2247 Z J]#FIIThreading Tool Holder

ﬁ%gl\ﬁ%zYE \ﬁu 7] H Vertical external thread turning tool holder W m/%ézi \E’!J 7] 1::|: Internal thread turning tool holder

L ”‘tjﬁ| gomin . —
STR.. | L . k% SNR/L.. @f%% == -

)

9
¥

U _.|=|5 Model RT_I'Slze(mm) T‘S?;‘:re%v?vr Wreﬁr.wh Press}l]-TrEe ;?Igte XS%&%%%T? ?352?: FF % Model R?Slze(mm) Té%:re%vy \Rirer?::_h th% Prejsfurzrglate XS%E%%%T? I7njse2t::s-
== alb|L|h|s Y 4 o ™ 7 == d| f L L] h |Dm & % v ) 7
* STR1616H16C 16 | 16 |100| 16 | 18 T15 SNR/LO010H11C 10 | 7.4 |100| 32 | 9 | 12 | L60 M2.5X5
* STR2020K16C 20 | 20 |{125| 20 | 22 | L90 M3.5X10 - MC515 MS520 16VER.. SNR/L0012K11C 12 18.51125| 32 | 11 | 15 L REG T8 11NR/L..
* STR2525M16C 25 | 25 |150| 25 | 27 SNR/L0013M11C 131 9 |150| 40 | 15 | 16
e iT#:=fl: 14 STR2020K16C *R=HFF L=£F e L EESMITY SNR/L0013M16C 13 [10.2/150| 40 | 15 | 16

SNR/LO016N16C 16 | 12 |160| 45 | 15 | 20 | L60 M3.5X8
SNR/L0020Q16C 20 | 14 |180| 50 | 19 | 25
SNR/L0025R16C 25 | 17 |200| 55 | 24 | 30 T15 16NR/L..
SNR/L0032S16C 32 | 20 |250| 60 | 30 | 36
SNR/L0040T16C 40 | 24 |300| 55 | 38 | 46
SNR/L0050U16C 50 | 29 |350| 45 | 48 | 56
SNR/L0020Q22C 20 | 16 |180| 50 | 19 | 24
SNR/L0025R22C 25 |18.5/200| 55 | 24 | 29
SNR/L0032S22C 32 | 22 |250| 60 | 30 | 38 |L60M4.5X12 22NR/L..
SNR/L0040T22C 40 | 26 |300| 40 | 38 | 46
SNR/L0050U22C 50 | 31 |350| 45 | 48 | 56
SNR/L0032S27C 32 | 21 |250| 60 | 30 | 38
SNR/L0040T27C 40 | 25 |300| 60 | 38 | 46 | L60M6X18 27NR/L..
SNR/L0050U27C 50 | 31 |350| 60 | 48 | 56
SNR/L0020Q16W 20 | 14 |180| 50 | 18 | 24
SNR/L0025R16W 25 | 17 |200| 55 | 24 | 29
SNR/L0032S16W 32 | 20 |250| 60 | 30 | 38 |L60M3.5X14 MT16-M 16NR/L..
SNR/L0040T16W 40 | 24 |300| 45 | 38 | 46

® ‘X" SRTEEER

® Ordering Example:1pcs STR2020K16C  * R=righthand L= left hand
Inserts need to be ordered separately

[l "indicates standing stock

L60 M3.5X10

T20

R P IR SRR 20 2B 2 2 20 2 20 20 20 20 20 20 20 b 20 2 20 20 2.2 b 2 b 2 o

SNR/L0050U16W | 50 | 29 |350| 50 | 48 | 56 st155

SNR/L0025R22W | 25 |18.5/200| 55 | 24 | 29

SNR/L0032S22W | 32 | 22 |250| 60 | 30 | 38

SR 2 | i | e | S e | | || ek MT22-MR/L 22NR/L..
SNR/L0050U22W | 50 | 31 |350| 55 | 48 | 56

SNR/L0032S27W | 32 | 21 |250| 60 | 30 | 38 120

SNR/L0040T27W | 40 | 25 |300| 60 | 38 | 46 | L60M6X18 o5 MT27-M MS620 MC625 27NR/L..
SNR/L0050U27W | 50 | 31 |350) 60 | 48 | 56

e TR M: 1 SNR0020Q16C 1 SNL0020Q16C *R=HF L=K£F o NIKEEAMITY

o “k” SRIERER

® Ordering Example:1pcs SNR0020Q16C 1pcs SNL0020Q16C  * R=righthand L=left hand
® |nserts need to be ordered separately
"[] "indicates standing stock

120 121



/i

W i%gﬁi \E’U 7] 1::|: Internal thread turning tool holder

/—<Dd
SNR/L..-A TN z ), )\
L1 LJL -
FH _.I=I5 Model RT_I'Slze(mm) gl‘S%re%va- \Telireﬁ Ijnjsegt:‘:
== e
d|di| f L | Li| h |Dun -~
* SNR/LO008K08-A16 16 | 8 |5.2|125| 20 | 15 | 10 L60 M2.2X5 T6 08NR/L..
* SNR/L0010K11-A16 16 | 10 | 7.4 |125| 25 | 15 | 12 L60 M2.5X5 ATNEYIL
* SNR/L0012K11-A16 16 | 12 [ 8.5|125| 28 | 15 | 15 L60 M2.5X6 i -
o J8R%: 1 SNRO012K11-A16 1 SNLO012K11-A16 *R=AF L=KF e JIREEHMITH
o “k” SRREEETR
® Ordering Example:1pcs SNR0O012K11-A16 1pcs SNL0O012K11-A16  * R=right hand L= left hand
® |nserts need to be ordered separately
PR

[1 "indicates standing stock

ISR 7IH

PARTING AND GROOVING

EHRTZE5HFRENTREE, BRYRTIE, B, aREH.

The perfect combination of traditional technology and digital technology, HANCHENG CNC cutting tools, real gold fire refining, excellent quality.

122 123



&iz ® 118 (Y] &) JT1#F1Grooving Tool Holder
gl\tﬂ Iﬂzﬁ(tﬂ *g)]j 1::|: External cylindrical cutting (grooving) tool holder gl\tl] Ii{ﬁ(t)] *g)jj 1::|: External cylindrical cutting (grooving) tool holder

QE.. — E@ﬂ . é -
= MGEH.. E@D
L Ty // =
w H@ o

Inserts need to be ordered separately

A
z_ 1
R~tSize(mm) H7NAIRET R F L
g! % Model Socket head cap screw W/reiach Inserts
B|H|L |[Tox| S | W ot vy
*x QE1212R/L-2007HC 12 112 |100] 7 | 12.2 | 2 —+<; =
* QE1212R/L-2008HC 12| 12 [100| 8 | 12.2 | 2 LMBO MaxX15 s Y % Model SERISTPEI) Soci('\]e{h%%%gfew ij\}’i‘?&‘?‘ Inserts
* QE1616R/L-2010HC | 16 | 16 |100| 10 | 16.2 | 2 M5X16 S4 » D020 Bl H|L |Tox S |W e =]
* QE2020R/L-2010KC 20| 20 |[125| 10 | 20.2 | 2 - - * MGEHR/L1212-1.5TO8HC 12 | 12 [100| 8 | 12.2 |15 LM60 M4X15 T15
* QE2020R/L-2015KC 20 | 20 |125| 15| 20.2 | 2 MEX20 <5 * MGEHR/L1616-1.5TO8HC 16 | 16 [100| 8 | 16.2 | 1.5 M5X16 S4 M..MN150
* QE2525R/L-2010MC 25| 25 (150 | 10 | 256.2 | 2 * MGEHR/L2020-1.5T08KC 20 | 20 |125| 8 |20.25|1.5 M6X20 S5
* QE2525R/L-2015MC | 25 | 25 |150 | 15 | 25.2 | 2 * MGEHR/L1212-2T10HC AR R e —
* QE1616R/L-2510HC 16 | 16 | 100 | 10 | 16.25| 2.5 B 4 * MGEHR/L1616-2T14HC 16 | 16 1100| 14 | 16.2 2 M5X16 s4
* QE1616R/L-2515HC 16 | 16 [100| 15 | 16.25|2.5 * MGEHR/L2020-2T10KC 20 | 20 1125] 10 | 202 | 2 M. MN200
* QE2020R/L-2510KC 20 | 20 |125| 10 | 20.25 | 2.5
* QE2020R/L-2517KC | 20 | 20 |125 | 17 |20.25| 2.5 Z.ED025.. * MGEHR/L2020-2T14KC 20 | 20 125 14 ) 20.2 | 2 M6X20 85
* QE2525R/L-2510MC | 25 | 25 |150| 10 | 25.25 | 2.5 Mox20 S8 * MGEHR/L2525-2T14MC 25| 25 1150 14 | 25.2 | 2
* QE2525R/L-2517MC 25 | 25 |150 | 17 | 25.25|2.5 * MGEHR/L1616-2.5T16HC 16 | 16 [100| 16 | 16.2 | 2.5 M5X16 S4
* QE1616R/L-3015HC 16 | 16 |100| 15 | 16.3 | 3 M5X16 S4 * MGEHR/L2020-2.5T10KC 20 | 20 [125) 10 | 20.2 | 2.5 T
* QE2020R/L-3010KC 20 | 20 |125[ 10 | 20.3 | 3 * MGEHR/L2020-2.5T16KC | 20 | 20 [125| 16 | 20.2 | 2.5 M6X20 S5 -
* QE2020R/L-3015KC 20 | 20 [125| 15| 20.3 | 3 * MGEHR/L2525-2.5T16MC 25 | 25 1150| 16 | 252 | 2.5
* QE2020R/L-3020KC 20 | 20 |125| 20 | 20.3 | 3 * MGEHR/L1616-3T18HC 16 | 16 100! 18 | 16.3 3 M5X16 sS4
* QE2020R/L-3025KC 20 | 20 [125| 25| 20.3 | 3 * MGEHR/L2020-3T10KC 20 | 20 1125 10 | 20.3 3
* QE2525R/L-3010MC 25|25 (150 10| 25.3 | 3 MBX20 - Z..FD030.. * MGEHR/L2020-3T18KC 20 | 20 125! 18 | 203 3
* QE2525R/L-3015MC 25| 251|150 | 15 | 25.3 | 3
* QE2525R/L-3020MC | 25 | 25 |150 | 20 | 25.3 | 3 * MGEHR/L2525-3T10MC 29 | 23 | 190] UL || 258 ) & M..MN300
* QE2525R/L-3025MC | 25 | 25 |150 | 25 | 25.3 | 3 * MGEHR/L2525-3T18MC 25|25 1150 18 | 25.3 | 3
* QE3232R/L-3015PC 32|32 (170 15| 323 | 3 * MGEHR/L2525-3T25MC 25|25 |150| 25 | 25.3 | 3
* QE3232R/L-3020PC 32 |32 (170 20 | 323 | 3 * MGEHR/L3232-3T18PC 32|32 /170| 18 | 323 | 3
* QE1616R/L-4015HC 16 | 16 [100| 15 | 16.4 | 4 M5X16 s4 * MGEHR/L2020-4T10KC 20 | 20 [125] 10 | 20.4 | 4
* QE2020R/L-4010KC 20 | 20 [125| 10 | 20.4 | 4 * MGEHR/L2020-4T18KC 20120 1125|118 | 204 | 4
* QE2020R/L-4015KC | 20 | 20 |125| 15 | 20.4 | 4 * MGEHR/L2525-4T10MG 25 | 25 [150| 10 | 25.4 | 4 MBX20 =
* QE2020R/L-4022KC 20| 20 [125| 22 | 20.4 | 4 * MGEHR/L2525-4T18MC 25 | 25 |150| 18 | 25.4 | 4 M..MN400
* QE2020R/L-4025KC 20 | 20 [125| 25 | 204 | 4 Z..GD040.. * MGEHR/L2525-4T25MC 25 | 25 |150| 25 | 25.4 | 4
* QE2525R/L-4015MC 25| 25 (150 | 15 | 25.4 | 4
* QE2525R/L-4022MC | 25 | 25 |150 | 22 | 25.4 | 4 * MGEHR/L3232-4T18PC 82 |32 |170] 18 | 324 | 4
* QE2525R/L-4025MC | 25 | 25 |150 | 25 | 25.4 | 4 * MGEHR/L2020-5T15KC 20 | 20 |125) 15 | 20.5 | 5
* QE3232R/L-4022PC 32|32 (170 22| 32.4 | 4 * MGEHR/L2020-5T23KC 20 | 20 |125| 23 | 20.5 | 5
* QE2020R/L-5015KC 20 | 20 [125| 15 | 20.5 | 5 * MGEHR/L2525-5T15MC 25|25 |150| 15 | 255 | 5 VLN
* QE2020R/L-5022KC 20 | 20 |125[ 22| 205 | 5 MEX20 s * MGEHR/L2525-5T23MC 25|25 [150| 23 | 25,5 | 5 N
* QE2020R/L-5025KC 20 | 20 [125| 25 | 205 | 5 * MGEHR/L3232-5T15PC 32 |1 3211701 15 | 325 | 5
* QE2525R/L-5015MC | 25 | 25 [150 | 15 | 25.5 | 5 Z..HDO50.. * MGEHR/L3232-5T23PC 32 | 32 (170 23 | 325 | 5
* QE2525R/L-5022MC 25| 251|150 | 22 | 255 | 5 I _ 25 | 25 |150| 15 | 25.6 6
x Esszon/sooswG |25 25 10| 25 | 205 | STV CERR e SN ol 27 ) ) I ey
* QE3232R/L-5022PC 32 (32170 22| 325 | 5 M..MN600
* QE2020R/L-6022KC | 20 | 20 |125| 22 | 20.6 | 6 * MGEHR/L3232-6T15PC e RN
* QE2020R/L-6025KC 20 | 20 (125 25 | 206 | 6 * MGEHR/L3232-6T23PC 32 |32 |170) 23 | 32.6 | 6
* QE2525R/L-6020MC 25| 25 (150 | 20 | 25.6 | 6 Z. KDO60.. e T f: 114 MGEHR2020-2T10KC 14 MGEHL2020-2T10KC *R=AF L=kKF e IR EEHMITH
* QE2525R/L-6025MC 25| 25 (150 | 25 | 25.6 | 6 o “k” SRRERER
* QE3232R/L-6025PC 32|32 |170| 25 | 326 | 6 ® Ordering Example:1pcs MGEHR2020-2T10KC 1pcs MGEHL2020-2T10KC ~ * R=righthand L= left hand
[ )
[ )

e iTt8x%l: 144 QE2020R-2015KC 14 QE2020L-2015KC *R=H(F L=EKEF o N R HEERMITH

o “k’ EEFEEER "[J "indicates standing stock
® Ordering Example:1pcs QE2020R-2015KC 1pcs QE2020L-2015KC  * R=righthand L=lefthand
® |Inserts need to be ordered separately ® "[] "indicates standing stock

124 125



!ZE ® 118 (Y] &) JT1#F1Grooving Tool Holder
gl\tﬂ Iﬂzﬁ(tﬂ *g)]j 1::|: External cylindrical cutting (grooving) tool holder 9#175%2}]”173 H External profiling tool holder

QGWS.. — Bell MGEU.. Ko
% H@ o ® i) O °

A
=} 3
L %! L
R~ Size(mm) R7NAIRET R F 7R R~ Size(mm) A7~ RIRET
ﬂ _'|=|5 Model Socket head cap screw Wrench Inserts ;_—:Fé % Model Socket head cap screw Wrench Inserts
B|H|L |To| S | W ~— =B B|IH|L|S Tou W S~ =S
* QGWSR/L1616-2014HC | 16 | 16 |100 |14.5| 16.2 | 2 M5X16 sS4 MGEUR/L2020-3KC 20 |20 |125| 23 | 3 | 3
* QGWSR/L2020-2014KC | 20 | 20 |125|14.5| 20.2 | 2 VS - WG..20.. MGEUR/L2525-3MC 2525|150 28 | 3 | 3 MRMN300
* QGWSR/L2525-2014MC | 25 | 25 | 150 |14.5| 25.2 | 2 MGEUR/L3232-3PC 32 13217035 | 3 | 3
* QGWSR/L1616-3017HC | 16 | 16 [100| 17 | 16.3 | 3 M5X16 S4 MGEUR/L2020-4KC 20| 20 \125| 23 | 3 | 4
* QGWSR/L2020-3017KC | 20 | 20 [125| 17 | 20.3 | 3 WG. 30 MGEUR/L2525-4MC 25| 25(150| 28 | 3 | 4 MRMN400
* QGWSR/L2525-3018MC | 25 | 25 (150 | 18 | 25.3 | 3 o MGEUR/L3232-4PC 32 132|170 35| 3 | 4 e s
QGWSR/L3232-3018PC | 32| 32 |170| 18 | 32.3 | 3 MGEUR/L2020-5KC 20 | 20 |125 24| 4 | 5
* QGWSR/L2020-4021KC | 20 | 20 [125| 21 | 20.4 | 4 MGEUR/L2525-5MC 2525|1501 29 | 4 | 5 MRMNS500
* QGWSR/L2525-4021MC | 25 | 25 |150| 21 | 25.4 | 4 M6X20 S5 WG..40.. MGEUR/L3232-5PC 3232 (170 36| 4 | 5
QGWSR/L3232-4021PC | 32| 32 |170| 21 | 32.4 | 4 MGEUR/L2020-6KC 20 | 20 {125 24| 4 | 6
* QGWSR/L2020-5021KC | 20 | 20 |125| 21 | 205 | 5 MGEUR/L2525-6MC 2512511501 29| 4 | 6 MRMN600
* QGWSR/L2525-5021MC | 25 | 25 |150| 21 | 25.5 | 5 WG..50.. MGEUR/L3232-6PC 3232170/ 36 | 4 | 6
QGWSR/L3232-5021PC | 32 | 32 |[170| 21 | 325 | 5
o TR Hl: 1 GWSR2020-2014KC 1 GWSL2020-2014KC R= L= o = 174 o >
.t*jf;_ﬁQ #Q *R=AF EF TR EZERMITH FTsizalmm) s iRsT
SETNERER Fadl 2 Model Socket head cap screw Wrench Inserts
7 vy
® Ordering Example:1pcs QGWSR2020-2014KC 1pcs QGWSL2020-2014KC  * R=righthand L= left hand =) A L e e
® |nserts need to be ordered separately * QXFD2020R/L-3003KC | 20 | 20 |125| 23 | 3 | 3 ZRFDO3
® "[] "indicates standing stock *x QXFD2525R/L-3003MC | 25 | 25 [150| 23 | 3 | 3 h
QXFD2020R/L-4003KC | 20 | 20 [125| 24 | 3 | 4 ZRGDO04
QXFD2525R/L-4003MC | 25 | 25 |150| 24 | 3 | 4 MBX20 s5
QXFD2020R/L-5004KC | 20 | 20 |125) 28 | 4 | 5 ZRHDO5
QXFD2525R/L-5004MC | 25 | 25 |150| 28 | 4 | 5 )
QXFD2020R/L-6004KC | 20 | 20 | 125/ 29 | 4 | 6 ZRKDOG
QXFD2525R/L-6004MC | 25 | 25 [150| 29 | 4 | 6 )

TR =B 14 QXFD2020R-3003KC 1 QXFD2020L-3003KC *R=FF L=LKF o T REEHMIT
o “k” SRRERETF

Ordering Example:1pcs QXFD2020R-3003KC 1pcs QXFD2020L-3003KC  * R=righthand L=left hand

Inserts need to be ordered separately

"[] "indicates standing stock

126 127



[

128

ﬁ#ﬁ@t}] *g]j 1::|: Face grooving tool holder

U E Y048 ]

Y] i (31 #&) J)#FIGrooving Tool Holder

Face grooving tool holder

QFHD..
THEREHE
Diameter range of tool holder
L
ﬂ = M d | RTISIze(mm) Soﬂ@?jg%fgrew Wrench Inserts
el B |[H=h| L | S |Twax| W | Drin | Dimex ™~ =S
* QFHDR/L2020K35/50-2512 20 | 20 |125| 21 | 12 /25| 35 | 50
* QFHDR/L2020K48/65-2517 20| 20 |125| 21 | 17 |2.5| 48 | 65
* QFHDR/L2020K60/80-2517 20 | 20 [125| 21 | 17 |2.5| 60 | 80 ZTEDO025..
* QFHDR/L2020K75/110-2517 20| 20 [125| 21 | 17 | 25| 75 | 110
* QFHDR/L2020K100/140-2517 | 20 | 20 |125] 21 | 17 | 2.5| 100 | 140
* QFHDR/L2020K35/50-3012 20 | 20 |125| 21| 12| 3 | 35 | 50
* QFHDR/L2020K48/65-3017 20|20 |125| 21 | 17 | 3 | 48 | 65
* QFHDR/L2020K60/80-3017 20|20 12521 | 17 | 3 | 60 | 80
* QFHDR/L2020K75/110-3017 20|20 |125| 21 | 17 | 3 | 75 | 110
* QFHDR/L2020K100/140-3017 | 20 | 20 {125 21 | 17 | 3 | 100 | 140 B
* QFHDR/L2525M35/50-3012 2525|150 | 21| 12| 3 | 35 | 50
* QFHDR/L2525M48/65-3017 25| 25150 26 | 17 | 3 | 48 | 65
* QFHDR/L2525M60/80-3017 25125150 26 | 17 | 3 | 60 | 80
* QFHDR/L2525M75/110-3017 25|25 |150| 26 | 17 | 3 | 75 | 110
* QFHDR/L2525M100/140-3017 | 25 | 25 |150| 26 | 17 | 3 | 100 | 140
* QFHDR/L2020K40/60-4015 20 | 20 |125| 21 | 15| 4 | 40 | 60
* QFHDR/L2020K56/76-4015 20|20 |125| 21 | 15| 4 | 56 | 76
* QFHDR/L2020K68/100-4022 20| 20 |125] 21 | 22| 4 | 68 | 100
* QFHDR/L2020K90/140-4022 20 | 20 [125| 21 |22 | 4 | 90 | 140 M6X20 S5
* QFHDR/L2525M40/60-4015 25125 |150| 26 | 15| 4 | 40 | 60 P
* QFHDR/L2525M56/76-4015 2525|150 | 26 | 15| 4 | 56 | 76
* QFHDR/L2525M68/100-4022 25|25 |150| 26 | 22| 4 | 68 | 100
* QFHDR/L2525M90/140-4022 25|25 (150 26 | 22 | 4 | 90 | 140
* QFHDR/L2525M130/220-4022 | 25 | 25 |150| 26 | 22 | 4 | 130 | 220
* QFHDR/L2525M180/400-4022 | 25 | 25 |150| 26 | 22 | 4 | 180 | 400
* QFHDR/L2020K45/76-5015 20 | 20 |125| 21 | 15| 5 | 45 | 76
* QFHDR/L2020K68/100-5022 20| 20 |125] 21 | 22| 5 | 68 | 100
* QFHDR/L2020K90/140-5022 20| 20 |125] 21 | 22| 5§ | 90 | 140
* QFHDR/L2020K130/220-5022 | 20 | 20 |125| 21 | 22 | § | 130 | 220
* QFHDR/L2020K130/220-5022 | 25 | 25 |150| 26 | 22 | 5 | 45 | 76 ZTHDO5..
* QFHDR/L2525M65/100-5022 | 25 | 25 |150| 26 | 22 | 5 | 65 | 100
* QFHDR/L2525M90/140-5022 | 25| 25 |150| 26 | 22 | 5 | 90 | 140
* QFHDR/L2525M130/220-5022 | 25 | 25 |150| 26 | 22 | 5§ | 130 | 220
* QFHDR/L2525M180/400-5022 | 25 | 25 |150| 26 | 22 | 5 | 180 | 400
* QFHDR/L2525M60/100-6022 25|25 |150| 26 | 22| 6 | 60 | 100
* QFHDR/L2525M88/200-6022 25 | 25 (150 | 26 | 22 | 6 | 88 | 200 ZTKDO6..
* QFHDR/L2525M180/400-6022 | 25 | 25 |150| 26 | 22 | 6 | 180 | 400
® T %l: 14 QFHDR2020K60/80-3017 1% QFHDL2020K60/80-3017 *R=FF L=%kKF o T REERMITH
o “k” SRIERER
® Ordering Example:1pcs QFHDR2020K60/80-3017 1pcs QFHDL2020K60/80-3017  * R=righthand L=left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock

QFGD..

TIEREH

Diameter range of tool holder

A = Model

R~ Size(mm)

B | H| L[S [Tmnax| W |Dmin | Dmax
* QFGDR2020K35/50-3012 20 | 20 (125 21 | 12| 3 | 35 | 50
* QFGDR2020K48/65-3017 20 | 20 |125) 21 | 17 | 3 | 48 | 65
* QFGDR2020K60/80-3017 20 | 20 (125} 21 | 17| 3 | 60 | 80
* QFGDR2020K75/110-3017 20 | 20 (125 21 | 17 | 3 | 75 | 110
* QFGDR2020K100/140-3017 20 | 20 [125 | 21 | 17 | 3 | 100 | 140
* QFGDR2525M35/50-3012 25|25 (150 26 | 12 | 3 | 35 | 50
* QFGDR2525M48/65-3017 2512515026 | 17 | 3 | 48 | 65
* QFGDR2525M60/80-3017 2525|150 26 | 17 | 3 | 60 | 80
* QFGDR2525M75/110-3017 25| 25 (150 | 26 | 17 | 3 | 75 | 110
* QFGDR2525M100/140-3017 25| 25 |150 | 26 | 17 | 3 | 100 | 140
* QFGDR2020K40/60-4015 20 | 20 (125 21 | 15| 4 | 40 | 60
* QFGDR2020K56/76-4015 20 | 20 |125) 21 | 15| 4 | 56 | 76
* QFGDR2020K68/100-4022 20 | 20 |125| 21 | 22| 4 | 68 | 100
* QFGDR2020K90/140-4022 20 | 20 |125| 21 | 22 | 4 | 90 | 140
* QFGDR2525M40/60-4015 2525|150 26 | 15| 4 | 40 | 60
* QFGDR2525M56/76-4015 25|25 (150 | 26 | 15| 4 | 56 | 76
* QFGDR2525M68/100-4022 25 125|150 26 | 22| 4 | 68 | 100
* QFGDR2525M90/140-4022 25 125|150 26 | 22| 4 | 90 | 140
* QFGDR2525M130/220-4022 25| 25 |150 | 26 | 22 | 4 | 130 220
* QFGDR2525M180/400-4022 25 | 25 |150| 26 | 22 | 4 | 180 | 400
* QFGDR2020K45/76-5015 20 | 20 (125 21 | 16| 5 | 45 | 76
* QFGDR2020K68/100-5022 20 | 20 (125 21 | 22 | 5 | 68 | 100
* QFGDR2020K90/140-5022 20 1 20 \125) 21 | 22| 5 | 90 | 140
* QFGDR2020K130/220-5022 20 | 20 (125 21 | 22 | 5 | 130 220
* QFGDR2020K130/220-5022 25|25 (150 26 | 22 | 5 | 45 | 76
* QFGDR2525M65/100-5022 25|25 (150 26 | 22 | 5 | 65 | 100
* QFGDR2525M90/140-5022 25|25 |150 | 26 | 22 | 5 | 90 | 140
* QFGDR2525M130/220-5022 25 125|150 26 | 22| 5 | 130220
* QFGDR2525M180/400-5022 25| 25 |150 | 26 | 22 | 5 | 180|400
* QFGDR2525M60/100-6022 25|25 |150| 26 | 22| 6 | 60 | 100
* QFGDR2525M88/200-6022 25|25 |150 | 26 | 22 | 6 | 88 | 200
* QFGDR2525M180/400-6022 25| 25 |150 | 26 | 22 | 6 | 180 | 400

R7NFRIRET

Socket head cap screw

M6X20

Wrench
I~

S5

Inserts

=B

ZTFDO3..

ZTGDO04..

ZTHDOS..

ZTKDO06..

e IT5/~f: 14 QFGDR2020K60/80-3017
® k" SRINEEERF
°

® "[] "indicates standing stock

Ordering Example:1pcs QFGDR2020K60/80-3017

o T RFERMITM

® Inserts need to be ordered separately

129



&iz ® 118 (Y] &) JT1#F1Grooving Tool Holder

ﬁ%ﬁtﬂ *g]j 1::|: Face grooving tool holder ﬁ#—ﬁﬁt}] *g]j 1::|: Face grooving tool holder

I
MGHH.. i
m
THEREHE MGVH.. FIERER
Diameter range of tool holder Diameter range of tool holder
L L
g-g = RYSize(mm) S Z‘]{?ﬁjﬂ%'ﬂ— Vﬁ/irerazh Ijnjseﬁs_ gg = RSy mﬁg{?ﬁ;ﬂggj Wrench Inserts
Model OCKel nead cap screw Model el head cap screw
= B|H|L|S Tou| W |Dun|Dre o r~ Y = BH|L|S |[To| W |Don|Doas Y ~ gy
* MGHHR/L220T10-20/36 20 |20 [125[21 10| 2 | 20 | 36 * MGFVR220T10-20/36 20 |20 [125/ 21 |10 | 2 | 20 | 36
* MGHHR/L220T10-30/50 20 [ 20 [125[21 |10 | 2 | 30 | 50 * MGFVR220T10-30/50 20 |20 [125|21 |10 | 2 | 30 | 50
* MGHHR/L220T12-50/80 20|20 12521 | 12| 2 | 50 | 80 * MGFVR220T12-50/80 20 | 20 |125| 21 | 12| 2 | 50 | 80
* MGHHR/L220T12-80/160 20 | 20 |125|21 | 12| 2 | 80 | 160 * MGFVR220T12-80/160 20 | 20 |125) 21 | 12 | 2 | 80 | 160
- 20 | 20 [125| 21 | 15| 2 | 100 | 220 - 20 | 20 (125| 21 | 15| 2 | 100 | 220
* MGHHR/L220T15-100/220 MGMN200 * MGFVR220T15-100/220 MGMN200
* MGHHR/L225T10-20/36 25|25 (150 |26 | 10 | 2 | 20 | 36 * MGFVR225T10-20/36 25| 25150 26 (10| 2 | 20 | 36
* MGHHR/L225T10-30/50 25| 2515026 | 10 | 2 | 30 | 50 * MGFVR225T10-30/50 25 |25 (150 26 | 10 | 2 | 30 | 50
* MGHHR/L225T12-50/80 25125150 26 | 12 | 2 | 50 | 80 * MGFVR225T12-50/80 25|25 1150| 26 | 12| 2 | 50 | 80
* MGHHR/L225T12-80/160 25|25 |150| 26 | 12| 2 | 80 | 160 * MGFVR225T12-80/160 25|25 |150| 26 | 12| 2 | 80 | 160
* MGHHR/L225T15-100/220 25|25 |150| 26 | 15 | 2 | 100 | 220 * MGFVR225T15-100/220 25|25 |150 | 26 | 15 | 2 | 100 | 220
* MGHHR/L320T12-20/36 20 1 20 [125| 21 | 12| 3 | 20 | 36 * MGFVR320T12-20/36 20 | 20 (125 21 | 12| 3 | 20 | 36
* MGHHR/L320T12-30/50 20 |20 [125[21 | 12| 3 | 30 | 50 * MGFVR320T12-30/50 20 [ 20 [125|21 | 12| 3 | 30 | 50
* MGHHR/L320T17-50/80 20 | 20 (125|121 |17 | 3 | 50 | 80 * MGFVR320T17-50/80 20 | 20 {12521 |17 | 3 | 50 | 80
* MGHHR/L320T17-80/160 20|20 |125] 21 | 17 | 3 | 80 | 160 * MGFVR320T17-80/160 20 | 20 [125| 21 | 17 | 3 | 80 | 160
- 20 | 20 (150 | 26 | 22 | 3 | 160 | 400 - 20 | 20 [150| 26 | 22 | 3 | 160 | 400
* MGHHR/L320T22-160/400 MGMN300 * MGFVR320T22-160/400 MGMN300
* MGHHR/L325T12-20/36 2525|150 26 | 12| 3 | 20 | 36 * MGFVR/L325T12-20/36 25|25 (150 26 | 12 | 3 | 20 | 36
* MGHHR/L325T12-30/50 25|25 |150| 26 | 12| 3 | 30 | 50 * MGFVR/L325T12-30/50 25|25 (150 26 | 12 | 3 | 30 | 50
* MGHHR/L325T17-50/80 25| 2515026 |17 | 3 | 50 | 80 * MGFVR325T17-50/80 25 |25 (150 | 26 | 17 | 3 | 50 | 80
* MGHHR/L325T17-80/160 25|25 |150| 26 | 17 | 3 | 80 | 160 MBX20 s5 * MGFVR325T17-80/160 25|25 150 | 26 | 17 | 3 | 80 | 160 MBX20 S5
* MGHHR/L325T22-160/400 25|25 (150 26 | 22 | 3 | 160 | 400 * MGFVR325T22-160/400 25|25 |150| 26 | 22 | 3 | 160 | 400
* MGHHR/L420T12-20/36 20 1 20 [125| 21 | 12| 4 | 20 | 36 * MGFVR420T12-20/36 20 | 20 (125 21 | 12| 4 | 20 | 36
* MGHHR/L420T12-30/50 20 | 20 (125|21 | 12| 4 | 30 | 50 * MGFVR420T12-30/50 20 | 20 (125| 21 (12| 4 | 30 | 50
* MGHHR/L420T17-50/80 20 | 20 [125|21 |17 | 4 | 50 | 80 * MGFVR420T17-50/80 20 | 20 [125| 21 | 17 | 4 | 50 | 80
* MGHHR/L420T17-80/160 20 | 20 [125| 21| 17 | 4 | 80 | 160 * MGFVR420T17-80/160 20 | 20 |125) 21 | 17 | 4 | 80 | 160
- 20 | 20 [125| 21 | 22 | 4 | 160 | 220 - 20 | 20 (125 21| 22| 4 | 160 | 220
* MGHHR/L420T22-160/400 MGMN400 * MGFVR420T22-160/400 MGMN400
* MGHHR/L425T12-20/36 2525|150 26 | 12 | 4 | 20 | 36 * MGFVR425T12-20/36 25125 1150| 26 | 12 | 4 | 20 | 36
* MGHHR/L425T12-30/50 25|25 150 | 26 | 12 | 4 | 30 | 50 * MGFVR425T12-30/50 25|25 150| 26 | 12| 4 | 30 | 50
* MGHHR/L425T17-50/80 25|25 (150 | 26 | 17 | 4 | 50 | 80 * MGFVR425T17-50/80 25| 25 (150 | 26 |17 | 4 | 50 | 80
* MGHHR/L425T17-80/160 25| 25150 26 | 17 | 4 | 80 | 160 * MGFVR425T17-80/160 25|25 (150 | 26 | 17 | 4 | 80 | 160
* MGHHR/L425T22-160/400 25|25 (150 | 26 | 22 | 4 | 160 | 400 * MGFVR425T22-160/400 25|25 |150| 26 | 22 | 4 | 160 | 400
* MGHHR/L520T15-30/50 20|20 12521 | 15| 5 | 30 | 50 * MGFVR520T15-30/50 20 | 20 |125| 21 | 15| 5 | 30 | 50
* MGHHR/L520T15-50/80 20 | 20 [125[21 | 15| 5 | 50 | 80 * MGFVR520T15-50/80 20 |20 [125|21 | 15| 5 | 50 | 80
* MGHHR/L520T20-80/160 20 | 20 [125|21 |20 | 5 | 80 | 160 * MGFVR520T20-80/160 20 | 20 [125|21 |20 | 5 | 80 | 160
- 20 | 20 (125| 21 | 25 | 5 | 160 | 400 - 20 | 20 (125| 21| 25| 5 | 160 | 400
* MGHHR/L520T25-160/400 MGMN500 * MGFVR520T25-160/400 MGMN500
* MGHHR/L525T15-30/50 25|25 (150|126 | 15| 5 | 30 | 50 * MGFVR525T15-30/50 25| 25 (150 26 | 15| 5 | 30 | 50
* MGHHR/L525T15-50/80 25|25 (150 26 | 15 | 5 | 50 | 80 * MGFVR525T15-50/80 25|25 1150| 26 | 15| 5 | 50 | 80
* MGHHR/L525T20-80/160 25| 25150 26 | 20 | 5 | 80 | 160 * MGFVR525T20-80/160 25 | 25 (150 | 26 | 20 | 5 | 80 | 160
* MGHHR/L525T25-160/400 25|25 150 26 | 25 | 5 | 160 | 400 * MGFVR525T25-160/400 25|25 150 26 | 25 | 5 | 160 | 400
® iTR/xfl: 1 MGFVR320T12-30/50 o T REERMITHY o JTHRHG: 1 MGFVR320T12-30/50 o JIREERMITHY
o ‘X" BRRHEENE o ‘X" BRFHEEE
® Ordering Example:1pcs MGFVR320T12-30/50 ® Inserts need to be ordered separately ® Ordering Example:1pcs MGFVR320T12-30/50 ® Inserts need to be ordered separately
® "[] "indicates standing stock ® "[] "indicates standing stock

130 131



!ZE ® 118 (Y] &) JT1#F1Grooving Tool Holder

R %S T RFLiEBETIT
9|\;£1:E 7j External shallow groove tool holder }IJI ED Internal shallow groove tool holder

DI d ®Dmin
s
QTGF.. L 1 S..QC.. w
| |
L
< Si PUBS ey =3 E ) 42T w F R <FSi 2
gg % Model stme(mm) Stud bolts Pressure plate Screw Wrench Inserts ﬁl—i _% Model R‘J’Slze(mm) mgi:re%; \Tgengczh Inserts
a|b|L|h|Li]|sS 7 [ ) 4 e 4 d| S| L |Dmun e
* QTGFR/L1010H16C 10 | 10 |{100| 10 | 20 | 12 o - T15 * S16N-QC11R/L16D 10 |11.1[{150| 16 L60 M2.5X6 T8 QC11R/L..
* QTGFR/L1212H16C 12 | 12 [100| 12 | 20 | 16 S * S16N-QC16R/L20D 12 |10.8/160| 20 IR
* QTGFR/L1616H16C 16 | 16 [100| 16 | 20 | 20 L60 M4X8 T15 GBA32R/L“ * S20Q-QC16R/L25D 16 [12.8/160| 25 L60 M4X8 T15 GBA32R/L“
* QTGFR/L2020K16C 20 | 20 [125| 20 | 20 | 25 S2.5 h * S25R-QC16R/L30D 20 |16.5/200| 30 ‘
* QTGFR/L2525M16C 25| 25 (150 25 | 20 | 30 MS520 MC515 * S25R-QC22R/L35D 25 |18.2|200| 35 160 M5X12 120 QC22R/L..
*x QTGFR/L2020K22C 20 | 20 |125| 20 | 25 | 25 RS T20 QC22R/L.. * S32S-QC22R/L40D 32 | 22 |250/| 40 GBA43R/L..
* QTGFR/L2525M22C 25| 25150 25 | 25 | 30 S2.5 GBA43R/L.. o TR M. 14 S20Q-QC16R25D 15 S20Q-QC16L25D *R=AHF L=%£F o IHEERMITH
e T Rfl: 1 QTGFR2020K16C 1 QTGFL2020K16C *R=/HF L=KF o JIREERMITHY o “k” SRTEEER
° SERTREER ® Ordering Example:1pcs S20Q-QC16R25D 1pcs S20Q-QC16L25D  * R=righthand L= left hand
® Ordering Example:1pcs QTGFR2020K16C 1pcs QTGFL2020K16C  * R=righthand L= left hand ® |nserts need to be ordered separately
® |nserts need to be ordered separately ® "[] "indicates standing stock
® "[] "indicates standing stock

T FT B i
QT.. . | m] %

—_—

) = R~ Size(mm) Wkigie . = 7H§I g&'ﬂ W F IIJ =
1 Stud bolts ressure plate crew Wrench nserts
Model g

S alb|L | h|s Vg > » A%

* QTR/L1212H16C 12 | 12 |[100| 12 | 14 - - T15

* 16 | 16 |100| 16 | 18

QTR/L1616H16C MS520 MCS15 L90 M4X8 s 154.3-16..

* QTR/L2020K16C 20 | 20 |125| 20 | 22 S2.5

*x QTR/L2525M16C 25| 25 |150| 25 | 27
o JTHRfl: 1 QTR2020K16C 114 QTL2020K16C *R=HAF L=K£F o T REERMITHY

® k" SRTEEERF

® Ordering Example:1pcs QTR2020K16C 1pcs QTL2020K16C  * R=righthand L= left hand
Inserts need to be ordered separately
"[] "indicates standing stock

132 133



&iz ® 118 (Y] &) JT1#F1Grooving Tool Holder

W }Ltﬂ 1:%73 1::|: Internal grooving tool holder W }I.lt),] *g]j 1::|: Internal grooving tool holder

o - . 7
C..Q.. T C..MGIV..
L L Dmin
R~fSize(mm) A7~ RIRET R F I R~FSize(mm) A7 FRIRET
gg -% Model Socket head cap screw Wrench Inserts gg _% Model Socket head cap screw Wrench e
d | S| L |W | Tosu Dmun wi ~ = d | S| L |W Tuax|Dmn el ~~ =]
* C16M-QR/L2004C 16 |12.4/150| 2 4 | 22 M4X12 S3 * C16M-MGIVR/L15T4C 16 (12.4/15011.5| 4 | 20 M4X12 S3
* C20Q-QR/L2005C 20 | 14 |180| 2 4 | 25 M5X16 S4 Z..BD020.. * C20Q-MGIVR/L15T4C 20 | 14 (1801 1.5| 4 | 25 M5X16 S4 M..N150..
* C25R-QR/L2007C 25 (17.7/200| 2 5 | 34 M6X20 S5 * C25R-MGIVR/L15T4C 25 | 16 |20011.5| 4 | 29 M6X20 S5
* C16M-QR/L2504C 16 (12.4/150|2.5| 4 | 22 M4X12 S3 * C16M-MGIVR/L20T4C 16 |12.41150 4 | 20 M5X12 S3
* C20Q-QR/L2505C 20 (15.2|/180|12.5| 5 | 27 M5X16 S4 ~ Tos * C20Q-MGIVR/L20T4C 20 | 14 (180 4 | 25 M5X16 S4 M..N200..
* C25R-QR/L2507C 25 120.3/200|2.5| 7 | 34 * C25R-MGIVR/L20T4C 25 | 16 200 4 |29 M6X20 S5
* C325-QR/L2509C 32 [25.3|250| 2.5| 9 | 42 Mex20 S8 * C16M-MGIVR/L25T4C | 16 12.5(150|2.5| 4 | 20 M4X12 s3
* C20Q-QR/L3005C 20 |15.2/180| 3 5 | 27 M5X16 S4 * C20Q-MGIVR/L25T5C 20 |15.2|/180|2.5| 5 | 27 M5X16 S4 M..N250..
* C25R-QR/L3007C 25 |20.3|200| 3 7 | 34 2 FDO30. * C25R-MGIVR/L25T7C 25 |20.3|200|2.5| 7 | 33 MEX20 S5
* C32S5-QR/L3009C 32 |25.3|250| 3 9 | 42 * C32S-MGIVR/L25T9C 32 [25.3|250|2.5| 9 | 42
* C40T-QR/L3013C 40 |31.3/300| 3 13 | 52 * C16M-MGIVR/L30T7C 16 |12.9/150| 3 7 | 23 M4X12 S3
* C25R-QR/L4009C 25 |21.5/200| 4 | 9 | 35 * C20Q-MGIVR/L30T5C 20 |15.6/180| 3 | 5 | 27 M5X16 sS4
* C32S-QR/L4011C 32 |27.5/250| 4 11 | 44 Z..GD040.. * C25R-MGIVR/L30T7C 25 |120.3|200| 3 7 | 33 M..N300..
* C40T-QR/L4013C 40 |33.5/300| 4 13 | 54 M6X20 S5 * C32S-MGIVR/L30T11C 32 |25.3|/250| 3 11 | 42 M6X20 S5
C25R-QR/L5009C 25 121.5/200| 5 | 9 | 35 * C40T-MGIVR/L30T13C 40 [31.3|300| 3 | 13 | 54
C32S-QR/L5011C 32 |27.5/250| 5 | 11 | 44 Z..HDO050.. * C20Q-MGIVR/L40T5C 20 |15.6/180| 4 | 5 | 27 M5X16 S4
* C40T-QR/L5013C 40 |33.5/300| 5 | 13 | 54 * C25R-MGIVR/L40T9C 25 (21.5/200| 4 | 9 | 35 M. N400.
C25R-QR/L6009C 25 |21.5/200| 6 | 9 | 35 * C32S-MGIVR/L40T11C 32 |27.5/250| 4 | 11 | 44
C32S-QR/L6011C 32 |27.5/250| 6 11 | 44 Z..KD060.. * C40T-MGIVR/L40T13C 40 |33.5/300| 4 13 | 54
* C40T-QR/L6013C 40 |33.5/300| 6 | 13 | 54 * C25R-MGIVR/L50T9C 25 (21.5/200| 5 | 9 | 35
e TR M: 1 C20Q-QR3005C 11 C20Q-QL3005C *R=HF L=£F e IEEE S MiITHY * C32S-MGIVR/L50T11C 32 |27.5|250| 5 11 | 44 M6X20 S5 M..N500..
o “k” SRINEEETF * C40T-MGIVR/L50T13C 40 |33.5/300| 5 | 13 | 54
e Ordering Example:1pcs C20Q-QR3005C 1pcs C20Q-QL3005C  * R=righthand L= left hand * C25R-MGIVR/L60T9C | 25 121.5/200) 6 | 9 | 35
® |nserts need to be ordered separately * C32S-MGIVR/L60T11C 32 [27.5/250| 6 | 11 | 44 M..N600..
® "[] "indicates standing stock * C40T-MGIVR/L60T13C 40 |33.5/300| 6 | 13 | 54
e iT#&Rfl: 14 C20Q-MGIVR30T5C 1 C20Q-MGIVL30T5C *R=AF L=KL£F o JIRFEERMITH

“k” SRTEEER

® Ordering Example:1pcs C20Q-MGIVR30T5C 1pcs C20Q-MGIVL30T5C  * R=righthand L= left hand
Inserts need to be ordered separately
"[1 "indicates standing stock

134 135



!ZE ® 118 (Y] &) JT1#F1Grooving Tool Holder

/.J\'/fé Ij\] }IJ.UJ 1:%7] 1::|: Small diameter internal grooving tool holder W }I.AEH:Z}J”ID 1;:|: Innernal profiling tool holder

®Drmin [‘L‘ ______ -
SNGR.. C..MGIU..
- = ]
T L
D
L
;__:Fé % Model RTJ—SIZG(mm) ms%;re%\;v]’ thlir-er?::_h I7njse§s- ;__:Fg _,l=l5 Model stue(mm) s&{hgﬁgfgrew Wrench Inserts
d| f|L|h Dm ! 4 4 ToL d | S| L|H Tue Dmn wi ~ =]
* SNGR0O8H06C 8 |4.7/100/7.4| 8 L60 M2.0X4 6GR/L.. C20Q-MGIUR/L30C 20 | 13 |180| 18 | 3 | 35 M5X16 S4
* SNGRO8HO07C 8 | 5.8/100|7.4| 10 C25R-MGIUR/L30C 25 |15.5/200| 23 | 3 | 40 MRMN300..
L60 M2.2X5 7GR/L.. M6X20 S5
* SNGR10K07C 10 | 6.8125| 9 | 12 T6 C32S-MGIUR/L30C 32 119|250 30 | 3 |50
* SNGR10K08C 10 | 7.6 |125] 9 | 14 C20Q-MGIUR/L40C 20 | 13 |180| 18 | 3 | 35 M5X16 S4
L60 M2.2X6 8GR/L..
* SNGR12M08C 12 8.6 [150| 11 | 16 C25R-MGIUR/L40C 25 |15.5/200| 23 | 3 | 40 MRMN400..
* SNGR16N09C 16 |11.6/160| 15 | 20 C32S-MGIUR/L40C 32 119|250 30| 3 |50
L60 M2.5X6 T8 9GR/L..
* SNGR20Q09C 20 |13.6/180| 19 | 24 C25R-MGIUR/L50C 25 (15.5/200| 23 | 4 | 40
o T8/ fl: 1 SNGR12M08C o TIHEEBMITN C32S-MGIUR/L50C 3219|1250 30 | 4 | 50 MRMN500
o “k” SRINEEER C40T-MGIUR/L50C 40 | 23 |300| 37 | 4 | 60
® Ordering Example:1pcs SNGR12M08C C25R-MGIUR/L60C 25 |15.5/200| 23 | 4 | 40 M6X20 S5
® |nserts need to be ordered separately C32S-MGIUR/L60C 32|19 /250 30 | 4 | 50 MRMN600..
® "[] "indicates standing stock C40T-MGIUR/L60C 40 | 23 |300| 37 | 4 | 60
C25R-MGIUR/L80C 25 |15.5/200| 23 | 6 | 40
C32S-MGIUR/L80C 32|19 |250| 30 | 6 | 50 MRMN800..
C40T-MGIUR/L80C 40 | 23 |300| 37 | 6 | 60
e iTi/xfil: 14+ C20Q-MGIUR30C 11 C20Q-MGIUL30C *R=AF L=£F o IREESRMITH

o “k” SRINEEERF

® Ordering Example:1pcs C20Q-MGIUR30C 1pcs C20Q-MGIUL30C  * R=righthand L= left hand
Inserts need to be ordered separately
"[] "indicates standing stock

136 137



&iz ® 118 (Y] &) JT1#F1Grooving Tool Holder

t)] I*EBDIB 1::|: Cutting tool holde t)J IZEEJJDID %&D F:E Cutting Processing blade and blade seat

Q.. Y _T_,@ - =‘='i@]j rﬁg 7@%’

L3 H
T N QES.. h
=
L < s
W
R Size(mm) M7 FRIRET 1w F kR
;__:F.g % Model Socket head cap screw Wrench Inserts
' iR r @
* ZQ1616R/L2016HC 3 oal100] 16 | 16 | 10 . A 5 Model R Size(mm) Inserts
2 [16.4/100| 16 | 16 | 16 M4X16 S3 4 = odge
SP200 (KORLOY
* ZQ2020R/L2016KC | 2 |20.4/125| 20 | 20 | 16 M6X20 s5 ( ) i i L = by ==
* ZQ1616R/L3020HC | 3 |16.4/100| 16 | 16 | 20 M4X16 s3 * QES 263 26 20.5 | 110 24 3 ZPFS0302-MG
* ZQ2020R/L3025KC | 3 |20.4/125| 20 | 20 | 25 * QES 323 32 253 150 24 3
* ZQ2525R/L3025MC | 3 |25.4/150| 25 | 25 | 25 M6X20 s5 ZQMX3N11-1E * QES 264 26 20.5 ) 110 3.2 4 ZPGS0402-MG
* ZQ3232R/L3025PC | 3 |32.4/170| 32 | 32 | 25 * QES 324 32 253 150 32 4
* QES 265 26 20.5 110 5
* ZQ1616R/L4020HC | 4 [16.4/100| 16 | 16 | 20 M4X16 s3 Y Q ZPHS0503-MG
* ZQ2020R/L4025KC | 4 |20.4/125| 20 | 20 | 25 S OMXAN 1 QES 325 32 253 150 5
* ZQ2525R/L4025MC | 4 |25.4/150| 25 | 25 | 25 * QES 326 32 253 150 6 ZPKS0604-MG
* ZQ3232R/L4025PC 4 [32.4/170| 32 | 32 | 25 o iTHRfl: 11 QES323 I REERMITH
* ZQ2020R/L5025KC 5 120.5/125| 20 | 20 | 25 o “kx” SRINERER
* ZQ2525R/L5025MC 5 |25.4/150 25 | 25 | 25 M6X20 S5 ZQMX8N11-1E ® Ordering Example:1pcs QES323 ® |Inserts need to be ordered separately ® "[] "indicates standing stock
* ZQ3232R/L5025PC 5 |32.4/170| 32 | 32 | 25
* ZQ2020R/L6025KC 6 [20.6(125| 20 | 20 | 25
ZQMX6N11-1E
* ZQ2525R/L6025MC 6 [25.6/150| 25 | 25 | 25 3.96402
* ZQ3232R/L6025PC 6 [32.6|170| 32 | 32 | 25
o iTHRAI: 14 ZQ2020R3025KC 11 ZQ2020L3025KC xR=HFE L=%F o IR ET B miTH
o ‘%’ SKRLEEER
® Ordering Example:1pcs ZQ2020R3025KC 1pcs ZQ2020L3025KC * R=righthand L= left hand
® |nserts need to be ordered separately r
® "[] "indicates standing stock Z
QMN.. H | H
W | H
6 B LA ]
H 1y L S
ZQS.. h
L 3
@ ) = R~fSize(mm) %aje . Iiﬁ{?ﬁgﬂ?'ﬂ Vﬂlirerﬁi
150° Model ocket head cap screw
Bs H h L s A = e r~
; 7R * QMN 16-26 16 43 86 33 15
y = R Size(mm) Inserts * QMN 20-26 20 43 86 38 19
7 = Model QMC26
H h L S w () * QMN 25-26 25 43 86 42 23
* ZQS 263 26 205 110 24 3 * QMN 32-26 32 43 86 48 30 GB70-85-M6X12 S5
* ZQS 323 32 25.3 150 2.4 3 ZAMXSN-TE * QMN 20-32 20 49 110 38 19
* ZQS 264 26 20.5 110 3.2 4 * QMN 25-32 25 49 110 42 23 QMC32
ZQMX4N11-1E
*x ZQS 324 32 25.3 150 3.2 4 *x QMN 32-32 32 53 100 48 30
* ZQS 265 26 20.5 110 5 ZOMXEN11-1E o JTHRM: 11 QMN20-26 o JIHEEHMITH
* ZQS 325 32 25.3 150 5 ® ‘X" SRIEEETR
* ZQS 326 32 25.3 150 6 ZQMX6N11-1E ® Ordering Example:1pcs QMN20-26
o iTHRMl: 14 ZQS323 e JIRFERMITHY ® |nserts need to be ordered separately
o - eEsEEEL ® "[] "indicates standing stock
® Ordering Example:1pcs ZQS323 ® |Inserts need to be ordered separately ® "[] "indicates standing stock

138 139



&iz ® §2 J1klBoring head tool holder

TZC%% 773k TQC%E J) 3%

TZC Boring head TQC Boring head

TZC :

90:\\ B TQC L

1 (= 1 U®

FFU _% Model RT_I'Slze(mm) %%rjv;/r Jéirengc:;: Ijnjsegtzlls- F _'|=|5 Model RT_l'Slze(mm) Té%:re%; Wrench Inserts
= =z . == =2 -y
B=b| L h f Boﬁi%ﬁ%ﬁ;ter } - @ B=b| L h f Bof%g%%ﬁéter * ~ @
* TZC08-23-90CL 8 |23 ] 6 8 25~38 * TQCO08-23-45CL 8 |23 | 6 |3.63 25~38
* TZC08-36-90CL 8 [36 | 6 | 8 * TQCO08-36-45CL 8 |36 | 6 (3.63
38~50 L60 M2.5X6 T8 CC..0602.. 38~50 L60 M2.5X6 T8 CC..0602..
* TZC10-36-90CL 10 | 36 | 8 9 * TQC10-36-45CL 10 | 36 | 8 4
* TZC10-48-90CL 10 | 48 | 8 9 S5 * TQC10-48-45CL 10 | 48 | 8 4 SO
* TZC13-48-90CL 13 |48 | 11 | 13 * TQC13-48-45CL 13 |48 | 11 | 5.5
* TZC13-65-90CL 13 | 65| 11 | 13 70~90 * TQC13-65-45CL 13 | 65| 11 | 5.5 70~90
L60 M4X10 T15 CC..09T3.. L60 M4X10 T15 CC..09T3..
* TZC16-60-90CL 16 | 60 | 12 | 15 62~90 * TQC16-60-45CL 16 | 60 | 12 | 6.5 62~90
* TZC16-85-90CL 16 | 85 | 12 | 15 90~115 * TQC16-85-45CL 16 | 85 | 12 | 6.5 90~115
* TZC19-70-90CL 19 | 70 | 15 | 18 72~105 * TQC19-70-45CL 19 |70 | 15| 8 72~105
* TZC19-95-90CL 19 | 95 | 15 | 18 105~135 * TQC19-95-45CL 19 |95 | 15| 8 105~135
* TZC19-125-90CL 19 |125| 15 | 18 135~150 L60 M5X12 T20 CC..1204.. * TQC19-125-45CL 19 |125| 15 | 8 135~150 L60 M5X12 T20 CC..1204..
* TZC25-100-90CL 25 |100| 20 | 24 105~140 * TQC25-100-45CL 25 |100| 20 | 11 105~140
* TZC25-135-90CL 25 |135] 20 | 24 140~190 * TQC25-135-45CL 25 |135| 20 | 11 140~190
<FSi L) w®F 7R <FSi 12 57 R F 7 A
1 =] R‘J’Slze(mm) Screw Wrench Inserts 1 = R_'rSIZe(mm) Screw Wrench Inserts
g: =) Model _ I ER # - & ﬁ: = Model _ W ER -
B=b| L h f Boring diameter 4 B=b| L h f Boring diameter
* TZC10-36-90TL 10 | 36 | 8 9 38~50 * TQC10-36-45TL 10 | 36 | 8 4 38~50
L60 M2.2X5 T6 TC..0902.. L60 M2.2X5 T6 TC..0902..
* TZC10-48-90TL 10 | 48 | 8 9 -0 * TQC10-48-45TL 10 | 48 | 8 4 i
* TZC13-48-90TL 13 | 48 | 11 | 13 * TQC13-48-45TL 13 |48 | 11 | 5.5
* TZC13-65-90TL 13 65| 11 | 13 70~90 * TQC13-65-45TL 13 /65| 11 |55 70~90
L60 M2.5X6 T8 TC..1102.. L60 M2.5X6 T8 TC..1102..
* TZC16-60-90TL 16 | 60 | 12 | 15 62~90 * TQC16-60-45TL 16 | 60 | 12 | 6.5 62~90
* TZC16-85-90TL 16 | 85 | 12 | 15 90~115 * TQC16-85-45TL 16 | 85 | 12 | 6.5 90~115
* TZC19-70-90TL 19 | 70 | 15 | 18 72~105 * TQC19-70-45TL 19 |70 | 15| 8 72~105
* TZC19-95-90TL 19 | 95 | 15 | 18 105~135 * TQC19-95-45TL 19 |95 | 15 | 8 105~135
* TZC19-125-90TL 19 |125| 15 | 18 135~150 L60 M4X10 T15 TC..16T3.. * TQC19-125-45TL 19 |125| 15| 8 135~150 L60 M4X10 T15 TC..16T3..
* TZC25-100-90TL 25 |100| 20 | 24 105~140 * TQC25-100-45TL 25 (100 20 | 11 105~140
* TZC25-135-90TL 25 |135] 20 | 24 140~190 * TQC25-135-45TL 25 |135| 20 | 11 140~190
o TR fl: 114 TZC13-48-90CL o JIREERMITH ® TR fl: 144 TQC13-48-45CL o JIREERMITHY
° ‘X’ SEREEER ° X7 BRTHEER
® Ordering Example:1pcs TZC13-48-90CL ® Inserts need to be ordered separately ® Ordering Example:1pcs TQC13-48-45CL ® Inserts need to be ordered separately
® '[) "indicates standing stock ® "/ "indicates standing stock

140 141



= INE 14 ZE Bl JT1#FISwiss Lathe Tool Holder

NERERHITIFESKMIEK

Swiss Lathe Tool Holder type and processing forms

»
=,
B i ;II ) EimA 30° EimA 45° FimA 40° Fimea 95° Ffmea 93° FimFa 95° EimA 95°
. 3 | Main deflection Main deflection Main deflection Main deflection Main deflection Main deflection Main deflection
o B angle 30° angle 45° angle 40° angle 95° angle 93° angle95° angle 95°

L]
IR
o et

b ™ | | - E{mF 105° F{RFA 62.5° *{mf 62.5° F{mF 91° *1{RM 93° E1RA 95° FwmA117.5°
E 3 F*-_'J . ] Main deflection Main deflection Main deflection Main deflection Main deflection Main deflection Main deflection
— - I-1 : angle 105° angle 62.5° angle62.5° angle 91° angle93°® angle 95° angle 117.5°
= 1 <
= = %EF ™ ™l _ _

—
= = o] : 8
= == = Ew $52 v
= = = e % ]
= & == == -
e = = =~ =
£y = [ —
- o R =
. z & =
- 2 -t .
c 8 e o}
— - =
= e
(3N il __‘._.

Film 117.5° Filmfy 72.5° Fmm 93° FRm 95° FRmE 93° FRE 93°

Main deflection Main deflection Main deflection Main deflection Main deflection Main deflection Main deflection
angle 117.5° angle72.5 angle 93° angle 95° angle 95° angle 93° angle 93°

N

-

—

iRt 95° v o ElRf 93°

Main deflection

e .
Main deflection : :
o Main deflecti o
== = : ‘ ' | angle 95 a';ng?eggo'on angle 93
e ©) '
;Q—fﬂ#l 2 - Lo l

~“SWISS LATHE TOOL HOLDER LN

3

mNITE, EERE, BRSERECHFIENINER

Complete specifications,adequate inventory you can meet all your processing demands with hcnc.




&;EG@ INE 1 ZE Bl T #FIISwiss Lathe Tool Holder

/J\$ﬁ:$ﬁl]7]ﬂ: Swiss lathe rear sweeping holder d‘%#iﬁﬂﬂﬂ

Swiss lathe rear sweeping holder

SMEMITHEE

1=
4ME /ARZINT HEMTIHA
( 93X Q;K\ Q;K\ 95K 95“R 62‘5K 62»5K ) ( 4.7 47 l \
28 2.8 4.7 4.7
*m | *m T . .
SDJC-FF(JCTM) SDLC-FF
ADJC-FF SDJC-FF-Y SDJC SDLP-FF SDLN-FF SDNC-F SDNC
S ;ﬁ;‘%ilﬁl ﬂ;i?%ilﬁl IRETRE %%i@ %%ilﬁl IRETRE IRETRE
AABS-40F SABS-40F AABW-40F SABW-40F AABW-50F SABW-50F KTKF
HEEE SRETERE HEEE SRETERE HEEE RETRE IRETRE
YITIERRE 2.8 IR 28 YITIERRE : 47 PR 4.7 YIRS : 47 IR 47 YT :1.5~38
\_ IR :~4.0 TR :~4.0 IR :~4.0 TR :~4.0 TR :~5.0 bR :~5.0 SRR 1.8~55 Y,
M2/ SwmEm / {ARZ 1 ERMIA
4 ~. —. N
1 117.5° 117.5°
. Ny -
§/ ‘
=
a3 Pl o® SMEINTA
5MZ / BEINT . SHENTE --° EEH . e
e N O N O ™ ; =
AN AN AN AN N =N HIRE s
95 95° 95° 95° 9;\ k %ﬁ* J
S-SDLC — ] =
ACLC-FF | SCLC-FFUCTM) SCLC SCLN-FF STGC(P) STLN-FF BOEE BENTRH NECNCEEZERHETIN)
EEER EETRE 1RETERE 1BETRE BETRE 1BETERE TIHFE Ve N\
\___Efmk Tk Tk J \_ TRk _J 012~025.4
BERGIO NECNCEZERHTIN) EAIHT]
(LE)
Ve
£S AREMT
ﬂ :FE)

il
f

i

i

e e At 1 1

Il

I

LS
(KE)

YIMNT EZEMT M SMENT ELUNT REmMT TRRERSHNIRTIR+IERTIR)
(HE) (GE) ' (=) :FE) YITINT HEMT tIHEMT SMEMT SMEINT BT *

(H=) (GE) (=)
k TIARERSHIXIR) j
o

144 145



&;E@@ INE 4 ZE I JT]14#FISwiss Lathe Tool Holder

/J\ %14: dﬁb ij] ﬂ: Swiss lathe rear sweeping holder ’J\ %'ﬁ:dﬁb Eﬂ H: Swiss lathe rear sweeping holder

Efffa 30° EfRfA 40°
ct '—'—' It Main deflection :t I—'—, II Main deflection
angle 30° angle 40°
4.2 8.2
SABS..-40F SABW..-50F
‘| e . | o .
o 40°
BN L N L
=+Si o EERET R F kR JSize(mm L HEIRET R F VAR
A o= RSize(mm) $m/E7(?rJ€J)<%R e D Wrench T F = Model RY ( ) IR Fastening screw Wrench Inserts
Z: = Model _ " iy Z: = Mode BR s <
H{B |h|L[F|"moew ¥ % H|{B|h|L|F| () O
* SABSR1010JX40F 10 | 10 | 10 {12010.2 * SABWR1010JX50F 10 | 10 | 10 [120(10.2
* SABSR1212JX40F 12 | 12 | 12 |120|12.2 * SABWR1212JX50F 12 |12 | 12 [120 12.2 L60 M3X8 T10 ABS23R..
0.15 L60 M3X8 T10 ABS15R.. 018

* SABSR1616JX40F 16 | 16 | 16 |120(16.2 * SABWR1616JX50F 16 | 16 | 16 [120(16.2

SABSR2020K40F 20 | 20 | 20 |125)20.2 SABWR2020K50F 20 | 20 | 20 |125|20.2
® T Rfl: 114 SABSR1212JX40F o IREFEEEMITH ® T R#HI: 11£ SABWR1212JX50F o JIHNEEHMITI
o “k” SRIERER ® k" SRTNEEERF
® Ordering Example:1pcs SABSR1212JX40F ® Ordering Example:1pcs SABWR1212JX50F ® |nserts need to be ordered separately
® |nserts need to be ordered separately ® -/ "indicates standing stock
® "

"indicates standing stock

i 1 [
Main deflection
angle 45°
4.2
SABW..-40F —
LI_L 11} h
NNk t
\(45"
L
s = RFSize(mm) DA . '%Elﬂ?‘ﬂ \ifvﬁ ?h |7J J?"
1 ré astening screw rencl nserts
Model S B
= = H B h L F S a:gledF:(rtl)‘ ° * ,-”’q‘
* SABWR1010JX40F 10 | 10 | 10 {12010.2
* SABWR1212JX40F 12 | 12 | 12 {120(12.2
0.15 L60 M3X8 T10 ABW15R..
* SABWR1616JX40F 16 | 16 | 16 {120(16.2
* SABWR2020K40F 20 | 20 | 20 |12520.2
® T4 Rf: 144 SABWR1212JX40F o JIREHEERIMITHY
o “k” SRRNEEER

® Ordering Example:1pcs SABWR1212JX40F * R=righthand L= lefthand
Inserts need to be ordered separately
"[] "indicates standing stock

146 147



[

INERETZETIA

Swiss lathe rear sweeping holder

INEHRETZETIA

INE B EH) J]#FISwiss Lathe Tool Holder

Swiss lathe rear sweeping holder

SCLC..

2.5
I

- ;
—~95°

{L SCLCRIL1010JX09
LR

Only SCLCR/L1010JX09
has the above shape

o*w
f

TH

i
95“

Fimeg 95°

Main deflection
angle 95°

148

R~fSize(mm) i EERET R F ANy
FF _% Model gﬁ Fastening screw Wren_ch Inserts
= H=h| B | L | L | F | S| - | A o]
SCLCR/L0808JX06Z 8 8 |120| - 8 |0
L60 M2.5X6 T8 CC..0602..
* SCLCR/L1010JX06Z 10 | 10 [120| -- | 10| O
* SCLCR/L1010JX09Z 10 | 10 {12015 |10 | O 0.2
* SCLCR/L1212JX09Z 12 |12 (120 - |12 ] O '
L60 M4X8 T15 CC..09T3..
* SCLCR/L1616JX09Z 16 | 16 [120| - |16 | O
SCLCR/L2020JX09Z 20 | 20 (120 - |20 | O
® JTERf: 1 SCLCR1212JX09Z 1 SCLCL1212JX09Z *R=FAF L=kK£F e TIFEERMITN
o “k” SRIERER
® Ordering Example:1pcs SCLCR1212JX09Z 1pcs SCLCL1212JX09Z * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
°l
S 4 T
L:‘ L ElRf 93°
Main d?fbe%ion
SDJC.. . [?Z | anle
| |-93°(L SDJCRILOBOSFO7 w @
SDUCRILOsosro7  SDICRILIOIOUXTT
SDJCR/L1010JX11  SDJCRIL1212.11 » 93°
forthe above shape  NLITA L
R~FSize(mm) i E[E 25T w® F 7R
il_] % Model g?: Fastening screw Wren_ch Inserts
H=h| B | L | F |F:i| S| - |(®) % /o)
* SDJCR/L0808F07Z 8 | 8 [85|8 [05]0
* SDJCR/L1010JX07Z 10 | 10 |120| 10 | - 0 L60 M2.5X6 T8 DC..0702..
* SDJCR/L1212JX07Z 12 | 12 [120| 12 | - 0
* SDJCR/L1010JX11Z 10 | 10 |120] 10 | 3 0 0.2
* SDJCR/L1212JX11Z 12 |12 [120 12 | 1 0
L60 M4X8 T15 DC..11T3..
* SDJCR/L1616JX11Z 16 | 16 [120| 16 | - 0
* SDJCR/L2020JX11Z 20 | 20 (120| 20 | - 0
® TR fl: 14 SDICR1212JX07Z 114 SDJCL1212JX07Z *R=HFAF L=KF o T REERMITH
o "k SRINEHER
® Ordering Example:1pcs SDJCR1212JX07Z 1pcs SDJCL1212JX07Z *R=righthand L=left hand

[ "indicates standing stock

Inserts need to be ordered separately

w

20

w f2) | 1w 95°
< T Main deflection
angle 95°
" |_95°
SDLC X SDLCRiL1010..11
SDLCRIL1212..11 w () @
H LA
Only SDLCR/L1010..11 ‘950
and SDLCR/L1212..11 L
has the above shape
<FSi i B E2ET R F kR
ﬂ % Model R_"'-Slze(mm) é;:; Fastening screw Wrench Inserts
H=h| B |L | F |F:i | S | - | (D) [/
* SDLCR/L1212F07Z 12 [ 12 |85 | 12 | - 0 L60 M2.5X6 T8 DC..0702..
* SDLCR/L1010F11Z 10 (10 [ 85 |10 | 4 0
* SDLCR/L1212F11Z 12 (12 |85 |12 | 2 0 0.2 L60 M4X8 T15 DC..11T3..
* SDLCR/L1616F11Z 16 | 16 |100| 16 | - | O '
* SDLCR/L1010JX07Z 10 | 10 [120| 10 | - 0
* SDLCR/L1212JX07Z 12 [ 12 (120 12 | - 0 L60 M2.5X6 T8 DC..0702..
* SDLCR/L1616JX07Z 16 | 16 [120| 16 | - 0
* SDLCR/L1010JX11Z 10 | 10 [120| 10 | 4 0
* SDLCR/L1212JX11Z 12 | 12 12012 | 2 0 L60 M4X8 T15 DC..11T3..
* SDLCR/L1616JX11Z 16 | 16 |120| 16 | - 0
® T4 /R%l: 14 SDLCR1212JX11Z 11 SDLCL1212JX11Z *R=AF L=K£F o I RFERMITY

o “k” SRIERER

® Ordering Example:1pcs SDLCR1212JX11Z 1pcs SDLCL1212JX11Z

® |nserts need to be ordered separately

® "[] "indicates standing stock

* R=right hand

L=left hand

149



[

INERETZETIA

Swiss lathe rear sweeping holder

INEHRETZETIA

INE B EH) J]#FISwiss Lathe Tool Holder

Swiss lathe rear sweeping holder

F1

L

(+]

h

6*]_[

.

150

‘ H{RfE 95°
' Main deflection
S D L P » |_95° angle 95°
SDICRILOS0SFO7 ([ SDLPRILOBOFOTFF w o @
'sol;r):thR;tlegzs.’;:e SDLPR/L1212F11FF
” SDLPR/L1010JX11FF | 95°
SDLPR/L1212JX11FF @ L
I Si - E[EEET R F AN
1 = RTSIZe(mm) R Fastening screw Wrench Inserts
# B Model BR
H=h| B | L |Li| F|Fi| S |(a /o)
* SDLPR/L0808F072 8 8 |85 |14 | 8 |05]| 0 L60 M2.5X6 T8 DP..0702..
* SDLPR/L1212F11Z 12 |12 |85 |20 | 12 | 2 0 L60 M4X8 T15 DP..11T3..
* SDLPR/L1010JX07Z 10 | 10 |120| - | 10 | - 0 0.2 L60 M2.5X6 T8 DP..0702..
* SDLPR/L1010JX11Z 10 | 10 {120 20 | 10 | 4 0 '
* SDLPR/L1212JX11Z 12 | 12 {12020 | 12 | 2 0 L60 M4X8 T15 DP..11T3..
* SDLPR/L1616JX11Z 16 | 16 |120| - | 16 | - 0
o JTHRfHIl: 11 SDLPR1212JX11Z 114 SDLPL1212JX11Z *R=AF L=£F o I REHIMITH
o ‘X" SRRAERER
® Ordering Example:1pcs SDLPR1212JX11Z 1pcs SDLPL1212JX11Z  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
20 .
= Kl (A 105°
() ‘ * '_l_r | . Main deflection
w <= T angle 105°
SDXC.. | 105°

{L SDXCRIL1010JX11

A
w
105°
L

T\,

HERRA
Only SDXCR/L1010JX1 -
for the above shape
RtSize(mm) REDRAR EERET R F kR
;__:F.g % Model (re) ; Fastening screw Wrench Inserts
H=h| B | L | F | Fi| S| - |"merea” [/ P26
% SDXCR/L1010JX07Z 10 [ 10 (12012 | - | © L60 M2.5X6 T8 DC..0702..
* SDXCR/L1010JX11Z 10 [ 10 (12012 | 4 | © 0
% SDXCR/L1212JX11Z 12 [12 (120116 | - | © ' L60 M4X8 T15 DC..11T3..
* SDXCR/L1616JX11Z 16 | 16 (120120 | - | ©
® iT#Rf: 14 SDXCR1212JX11Z 1 SDXCL1212JX11Z *R=HFF L=kKF o JIREERMITY
® ‘X SERRERER

® Ordering Example:1pcs SDXCR1212JX11Z 1pcs SDXCL1212JX11Z
Inserts need to be ordered separately

"[] "indicates standing stock

* R=right hand

L= left hand

iR 62.5°
62.5° Main deflection
SDNC F i angle62.5°
| 625° L
RFSize(mm) ETIARR B EMRET R F kR
gg _% Model (re) ‘ Fastening screw Wren_ch Inserts
H=h LR -] -] - [y ¥ % 7
* SDNCR/L1010JX07F 10 | 10 |120| 7 0.2 L60 M2.5X6 T8 DC..0702..
® iTHRfl: 144 SDNCR1010JX07F 114 SDNCL1010JX07F *R=BF L=K£F o NIREERMITHY
o ‘T SRRAERERF
® Ordering Example:1pcs SDNCR1010JX07F 1pcs SDNCL1010JX07F * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
i *1{®mM 62.5°
4:‘ )—,‘ ‘ It Main deflection
angle 62.5°
[T62.5°
SDNC.. i i o
iR~ : .
7
|_625°
L
R Size(mm) REDRAR EEHRET R F VARSY
gg % Model (re) Fastening screw Wrench Inserts
H=h| B | L | F | - | - | - | *serta " /57
* SDNCN1010JX07Z 10 | 10 [120| 5
L60 M2.5X6 T8 DC..0702..
* SDNCN1212JX07Z 12 | 12 (120 6
* SDNCN1010JX11Z 10 | 10 [120| 5 0.2
* SDNCN1212JX11Z 12 | 12 |120| 6 L60 M4X8 T15 DC..11T3..
* SDNCN1616JX11Z 16 | 16 [120| 8

® JTHRHBI: 14 SDNCN1212JX11Z

o k" SRTEEER

® Ordering Example:1pcs SDNCN1212JX11Z

® "[] "indicates standing stock

o T RFEERMITY

® |nserts need to be ordered separately

151



[

INERETZETIA

Swiss lathe rear sweeping holder

2.5

Film 91°

Main deflection
angle91°

INEHRETZETIA

Swiss lathe rear sweeping holder

INE B EH) J]#FISwiss Lathe Tool Holder

STGC(P).. Lot
{ STGC(P)RIL1010F11C w @
AR 2N ©
Only STGC(P)R/L1010F11C %
for the above shape ’91
L
S R Size(mm) TS | i B
MOde| - a:f oot astening screw rer]c nserts
= = H=h| B | L [ L | F | - | - | “soere” e
* STGCR/L0808E08Z 8 8 |70 | 12 | 10
0.2 L60 M2X5 T6 TC..0802..
* STGCR/L1010F08Z 10 | 10 | 80 | 12 | 12
* STGCR/L1010F11Z 10 | 10 | 80 | 15 | 14
* STGCR/L1212H11Z 12 | 12 [100| 15 | 16 0.4 L60 M2.5X6 T8 TC..1103..
* STGCR/L1616F11Z 16 | 16 |[100| 15 | 20
RJSize(mm) TRETIRAR E[ELRET R F kR
g_g _% Model (re) ) Fastening screw Wrench Inserts
H=nl B I LT LT E] -] - | *ooera™ Jh A
* STGPR/L0808E08Z 8 8 |70 |12 | 10 L60 M2X5 T6 TP..0802..
* STGPR/L1010F11Z 10 | 10 | 80 | 15 | 14 02
* STGPR/L1212H11Z 12 | 12 [100| 15 | 16 ’ L60 M3X8 T10 TP..1103..
* STGPR/L1616F11Z 16 | 16 |[100| 15 | 20
® iT#Rf: 14 STGCR1212F11Z 14 STGCL1212F11Z *R=AF L=KF o JIREFEERMITHY

o "k SRIEHER

Ordering Example:1pcs STGCR1212F11Z 1pcs STGCL1212F11Z
® |nserts need to be ordered separately
"[] "indicates standing stock

*R=righthand L= left hand

1562

|
'

Fiwmm 93°

Main deflection
angle 93°

SVJB(C)(P).. 1 '
N | m[ ?‘q’
03+ -
1] = L
R~ Size(mm) FRAETIRAR Z[EHRET w F 7R
gg % Model (re) Fastening screw Wrench Inserts
H=h| B | L | F | S | Rt - 4
* SVJBR/L1010JX11Z 10 | 10 (120 10 | O
* SVJBR/L1212JX11Z 12 | 12 /120112 | O
* SVJBR/L1616JX11Z | 16 | 16 |120| 16 | 0 02 L60 M2.5x6 T8 VB..1103..
SVJBR/L2020JX11Z 20 | 20 120120 | O
R~fSize(mm) HRETIRAR ZERET R F AN
F = Model Sta"d:::)mmp Fastening screw Wrench Inserts
= = H=h| B | L F | S - angle R(re) A o
SVJCR/L1010JX11Z 10 | 10 |1201 10 | O
* SVJCR/L1212JX11Z 12 | 12 1120112 | O
0.2 L60 M2.5X6 T8 VC..1103..
* SVJCR/L1616JX11Z 16 | 16 (120 16 | O
SVJCR/L2020JX11Z 20 | 20 {1201 20 | ©
e R~ Size(mm) IRRTIARR . %Iﬁlﬂ;ﬂ W F 7R
astening screw Wrench Inserts
E S Model H=h! B | L | F|s o || e v %
* SVJPR/L1212JX11Z 12 | 12 1120112 | O
* SVJPR/L1616JX11Z 16 | 16 |120| 16 | O 0.2 L60 M2.5X6 T8 VP..1103..
SVJPR/L2020JX11Z 20 | 20 (12020 | O
® TR fH: 14 SVJCR1212F11Z 1 SVJCL1212F11Z *xR=8HF L=LKEF o JIREEHIMITH
o ‘&%’ SRRAERER
® Ordering Example:1pcs SVJCR1212F11Z 1pcs SVJCL1212F11Z * R=righthand L= left hand
® |nserts need to be ordered separately
°

"[] "indicates standing stock




&;E@@ INE 4 ZE I JT]14#FISwiss Lathe Tool Holder

INEHRIET]F Swiss lathe rear sweeping holder INEHRIZE T Swiss lathe rear sweeping holder

i

4! ﬁ = Mf_"ﬁﬂ’;g’if’ i R 117.5°
ain ae’ eCulon o f :
SVLG(P) angle 65 A F I
* o ® SVPB..Z
» )95” L w @ o
T s
L
H — 215 I, . ) 215
, = Rszom | wpm | EEER | EE | AA Resemm | e | KESD E A
par) = Model Standard tooltp & U % Model S Fastening screw Wrench Inserts
H=h| B L F S - - angle R(re) ’ P 5 == H=h| B L F - angle R(re) ° ’ z 5 P29
* SVLCR/L1212JX11Z 12 |12 {12012 | O
02 L60 M2.5X6 T8 VG 1103 * SVPBR/L1010JX11Z | 10 | 10 | 120 |14.5
SVLCR/L1616JX11Z | 16 | 16 [120] 16 | © * SVPBR/L1212JX11Z | 12 | 12 |12016.5 0.4 L60 M2.5X6 T8 VB..1103..
* SVPBR/L1616JX11Z | 16 | 16 [120(20.5
R<Size(mm) RETIRAR EEIRE] R F ® iT#%R%l: 14 SVPBR1212F11Z 1#£SVPBL1212F11Z *R=HF L=KEF o IR EEHMITH
E=]] = Model (re) Fastening screw Wrench Inserts o “A” E%‘T’ﬁ%)ﬁﬁ
= 9 H=hl Bl L | Fls | -] - e el ~ % o7 FEm
® Ordering Example:1pcs SVPBR1212F11Z 1pcs SVPBL1212F11Z  * R=righthand L=left hand
SVLPR/L1010JX082 10 1 10 1120\ 10 | 0 ® |nserts need to be ordered separately
SVLPR/L1212JX08Z | 12 | 12 [120| 12| © L60 M2X5 T6 VP..0802.. ® "I "indicates standing stock
SVLPR/L1616JX08Z 16 | 16 [120| 16 | O 02
* SVLPR/L1212JX11Z 12 | 12 {12012 | O '
L60 M2.5X6 T8 VP..1103..
SVLPR/L1616JX11Z 16 | 16 [120| 16 | O
SVLPR/L1212F08Z 12 | 12 | 85 | 12 0 L60 M2X5 T6 VP..0802.. H
* SVLPR/L1212F11Z 12 |12 1 85 | 12 0 L60 M2.5X6 T8 VP..1103.. ] }\—1 ‘
= T 5
e iT#RMl: 1 SVLCR1212F11Z  1#SVLCL1212F11Z *R=HF L=KF e IHTEBMITM RS
o “k” BSRTEEER SVPP © 27.L52° AngIeiTs?
® Ordering Example:1pcs SVLCR1212F11Z 1pcs SVLCL1212F11Z * R=righthand L=lefthand . 1L SVPPR1616..-08FF .
® |nserts need to be ordered separately WERTAR . % @
® "[] "indicates standing stock "W ihe above shape Ugiyz.s" 450
: L
~FSi ITETIRAR E[ERET w F 7R
gg _% Model RTSlze(mm) . d(rz) | Fastening screw Wrench Inserts
tandard tool tip -
H=h| B | L | Li| Lo | F |Fi| S| eerio & % 7
* SVPPR/L1010JX08Z 10 | 10 (12012 |16 | 10 | 4 0
* SVPPR/L1212JX08Z 12 | 12 |120| 12 | 16 | 12 2 0 0.1 L60 M2X5 T6 VP..0802..
* SVPPR/L1616JX08Z 16 | 16 (12012 | - |16 | - 0
* SVPPR/L1010JX11Z 10 | 10 (120 16 | 20 | 10 | 8 0
* SVPPR/L1212JX11Z 12 | 12 {120 16 | 20 | 12 6 0 0.2 L60 M2.5X6 T8 VP..1103..
* SVPPR/L1616JX11Z 16 | 16 |120| 16 | 20 [ 16 | 2 0
* SVPPR/L1212F08Z 12 |12 |85 |12 | 16 | 12 2 0 0.1 L60 M2X5 T6 VP..0802..
* SVPPR/L1212F11Z 12 | 12 | 85 |16 | 20 | 12 6 0 0.2 L60 M2.5X6 T8 VP..1103..

IT#RBl: 14 SVPPR1212F11Z 1 SVPPL1212F11Z *R=AF L=LKF NI R EERMIT
“k” SERREEER

Ordering Example:1pcs SVPPR1212F11Z 1pcs SVPPL1212F11Z * R=righthand L=left hand

Inserts need to be ordered separately

"[] "indicates standing stock

154 155



&;EG@ INE 1 ZE Bl T #FIISwiss Lathe Tool Holder

'J\ g 'ﬁ: E'IJ_ $ 7] ﬂ: Swiss lathe rear sweeping holder ’J\ g 1"1: EE I\E_l.l 7] ﬂ: Swiss lathe rear sweeping holder

: | —
7 s < = (R 93°
I ]—‘ SngleT2.5° - 7 " M regton
< I
93°
R SDJC.. o - [70 =,
SVVB(C)..Z 1 SDICR16200%-11-F05 u'mT 03¢ P g
| . ~\,/ LA ~ :
R e e
L
= R<fSize(mm) o E[ERET R F ANy
RT_]'Size(mm) ﬁ\,@(?;g%,; '%lﬁlﬂ?’ﬂ R F 7B g! = Model %;; Fastening screw Wrerlch Inserts
gg % Model Standard tool tip Fastening screw Wrench Inserts H=h| B L L F Fi| S | (re) ’ _,-"’4 EPZS
A B L FE e $ A~ Lo P2 * SDJCR1216JX11F05Z | 12 | 16 |120[12.6| 18 | 2 | 5
SVVBN1010JX11Z | 10 | 10 120 5 * SDJCR1216JX11F15Z | 12 | 16 [120 126/ 28 | 12 | 16 | 60 Maxa s b6 1173
* SVVBN1212JX11Z | 12 | 12 |120| 6 * SDJCR1620JX11F05Z | 16 | 20 [120(12.6| 20 | - | 5 | A
* SVVBN1616JX11Z 16 | 16 [120| 8
0.4 L60 M2.5X6 T8 VB..1103.. * SDJCR1620JX11F15Z 16 | 20 |120|12.6| 28 | 8 | 15
* SVVBN1010F11Z 10 | 10 | 85| 5 o T R%I: 14 SDICR1216JX11F15Z @ JIREE HMiTH
* SVVBN1212F11Z 12 |12 /85| 6 o ‘K’ ERITEEERL
SVVBN1616H11Z 16 | 16 | 100 8 ® Ordering Example:1pcs SDJCR1216JX11F15Z ® [nserts need to be ordered separately
® "[] "indicates standing stock
< i FRAET]R I,\ R
| = R Size(mm) REDLAR Faiﬁnﬂg?g{ew v’f\llirmih ?r?seg?:
g: = Model Standard tool tip = 5
H=h| B L F - angle R(re) ‘ _J_r,fJL . 5
A CIPAL o3 R}V 8-
SVVCN1010JX11Z 10 | 10 [120| 5
* SVVCN1212JX11Z 12 | 12 |120| 6 0.4 L60 M2.5X6 T8 VC..1103.. B ERTETIMF
SVVCN1616JX11Z 16 | 16 [120| 8 1) BINTETL I, SHEEERES
® TR fl: 14 SVVBN1212JX11Z TR EZRMITHY 2) UEBARSHANEE 2t
o “k” SRREEETRF Z3) 1
_ 3) HIBT=EL K VB R BHRBEE
® Ordering Example:1pcs SVVBN1212JX11Z ® |nserts need to be ordered separately
® "[] "indicates standing stock . .
E=1 R(2

REHNLR

BT ¥8 - ¥EINT MRR=E I
1) ZETITHERT

2) RETFHHEETIS

8- ¥& 00 T AT A —1R == 18] 7D 0 T3S 2

BT

FERRH TR TS A A ARE S E44NT,
B ILRIRRR T RE

156 1567



/i

NEHER

SPAES

Swiss lathe rear sweeping holder

NEHERFIIF

INE B EH) J]#FISwiss Lathe Tool Holder

Swiss lathe rear sweeping holder

1568

@ ERTIFFEVMEMIA

e

= "

© ©

1) ERYIEM TR #HITAEMT
2) EREBTIFHITHEINL,
ELEYIB AR 4858 N TRY 8]

ENRHE DMECNCEHEREIEHTIR)

G?I\@/ﬁﬁ"ﬁﬁ e \\
R0 ©
5
s
[t e
e
-.E@l

BREFEMT

\_ J/

I TN \
6 [ e | =R 95°
0° = Main deflection
L angle 95°
S..SCLC.. _ _ ” y
e (] ‘
BE L/ \
I3 P
R<tSize(mm) i ZERET R F ANy
m o= Model g7; Fastening screw Wrench Inserts
= = oD | L | F | ®d |H=H{ - |0 % [°]) p24-25
S12F-SCLCLO06 12 80 6 13.4| 11
S14H-SCLCL06 14 | 100 | 6 |13.4| 13
S15F-SCLCL06 15.875| 85 | 6 |15.4| 15
S16F-SCLCL06 16 | 85 | 6 |15.4| 15
L60 M2.5X6 T8 CC..0602..
S19G-SCLCL06 19.05| 90 | 6 |18.4| 17
S19K-SCLCLO06 19.05| 120 6 18.4 | 17
S20G-SCLCLO6 20 90 6 19.4| 18 s
S20K-SCLCL06 20 | 120 | 6 |19.4| 18 ’
S19G-SCLCL09 19.05| 90 | 10 |18.4| 17
S19K-SCLCL09 19.05| 120 | 10 |18.4| 17
S20G-SCLCL09 20 90 10 [19.4| 18 R " e
S20K-SCLCL09 20 | 120 | 10 |[19.4| 18 v v
S25H-SCLCL09 25 100 | 10 |24.4| 23
S25K-SCLCL09 254 | 120 | 10 |24.8| 23

178 7~f: 14 S16F-SCLCLO6

“k” SRTEEER

Ordering Example:1pcs S16F-SCLCLO6
"[1 "indicates standing stock

o T RFEERMITH

® |nserts need to be ordered separately

159



&;E@@ INE 4 ZE I JT]14#FISwiss Lathe Tool Holder

’J\gﬁzﬁ%‘-ﬂﬂ: Swiss lathe rear sweeping holder ’J\EE#FE%HFF Swiss lathe rear sweeping holder

P
Ju. TN T 95° "y Efife 93°
} Main 'Zeflection i Main deﬂecsion
J w 1 angle 95° 0° 16 Hs angle 93
0 e . s -1 S..SDUC..Z - ~ 5{""4 20 _, : H —10
S.SDLC.Z 3 i U;b: ‘
. RI= s 7 RIo—
ST Fﬁ: /—7\‘ " ﬁqi/ﬁ_/
1 \/] f 3 8 o
7 3 /4_/ k
- A = R<fSize(mm) wapaan | EERET " F 7
s wmgan | EERET " F 7 K S Model mansuoin | o
U = Model RS ) STd('z)‘ Fai%ln%?screw Wrench Inserts oD | L F | ®d [H=H{ S | ‘erca " ' Lo/ P26
== tandard tool tip -
®D | L | F | @d [H=H{ s | “waere & £/ P26 S14H-SDUCL07Z 14 | 100 6 |13.4| 13 | 3.8
S12F-SDLCL07Z 12 80 6 |[134] 11 | 3.8 S15F-SDUCL07Z 15.875| 85 6 |15.4| 15 | 3.8
14H-SDLCL07Z 14 | 100 | 6 [13.4| 13 | 3.8 - . 18.4| 17 | 3.8
S SDLCLO S19G-SDUCL07Z 19.05| 90 6 8 L60 M2.5X6 T8 DC..0702..
S15F-SDLCLO07Z 15.875| 85 6 |154 | 15 | 3.8 S19K-SDUCL07Z 19.05( 120 | 6 |18.4| 17 | 3.8
S19G-SDLCL07Z 19.05| 90 6 |18.4| 17 | 3.8 L60 M2.5X6 T8 DC..0702.. S20G-SDUCL07Z 20 90 6 194 | 18 | 3.8
S19K-SDLCL07Z 19.05| 120 6 18.4 | 17 | 3.8 S20K-SDUCL07Z 20 120 6 19.4| 18 | 3.8
S20G-SDLCL07Z 20 90 6 |[194 | 18 | 3.8 S19G-SDUCL11Z 19.05| 90 | 10 |18.4| 17 | 5.8 0.4
S20K-SDLCLO07Z 20 | 120 | 6 |19.4| 18 | 3.8 04 S19K-SDUCL11Z 19.05| 120 | 10 |18.4| 17 | 5.8
S19G-SDLCL11Z 19.05| 90 10 |18.4| 17 | 5.8 ) S20G-SDUCL11Z 20 90 10 [19.4| 18 | 5.8
S19K-SDLCL11Z 19.05| 120 | 10 |18.4| 17 | 5.8 S20K-SDUCL11Z 20 | 120 | 10 [19.4| 18 | 5.8 L60 M4X8 T15 DC..11T3..
S20G-SDLCL11Z 20 90 | 10 [19.4| 18 | 5.8 S22K-SDUCL11Z 22 | 120 | 10 |[21.4] 20 | 5.8
S20K-SDLCL11Z 20 120 | 10 [ 19.4| 18 | 5.8 L60 M4X8 T15 DC..11T3.. S25H-SDUCL11Z 25 100 | 10 | 244 | 23 | 5.8
S22K-SDLCL11Z 22 | 120 | 10 |21.4| 20 | 5.8 S25K-SDUCL11Z 254 | 120 | 10 |24.8| 23 | 5.8
S25H-SDLCL11Z 25 100 10 | 24.4| 23 5.8 ® T =fl: 11 S20K-SDUCL07Z o JILEE B MITHY
S25K-SDLCL11Z 254 |1 120 | 10 | 24.8| 23 | 5.8 o “k” EETEEBEL
o Tt fl: 11 S20K-SDLCLO7 o T HBEAMITI ® Ordering Example:1pcs S20K-SDUCL07Z ® |nserts need to be ordered separately
o “k” SRRNERER ® "] "indicates standing stock

® Ordering Example:1pcs S20K-SDLCLO7

indicates standing stock

160 161



/i

NEBRERITIN

Swiss lathe rear sweeping holder

S..SVUB(C)..Z

4

o L

|

——h
.

(2]

el 1
wﬁ@

Fimey 93°

Main deflection
angle 93°

NEHZINEE

T1#F

INE B EH) J]#FISwiss Lathe Tool Holder

Swiss lathe multifunctional tool bar

R~FSize(mm) TRETIRAR EERE] R F 7R
gg % Model « d(rz)‘ | Fastening screw Wrench Inserts
®D | L | F | &d |[H=H{ S Sngle R(e) e oo
S12F-SVUCL08Z 12 80 7.5 134 11 5.5
S14H-SVUCL08Z 14 100 | 7.5 [13.4| 13 | 5.5
L60 M2X5 T6 VC..0802..
S15F-SVUCL08Z 15.875| 85 8 154 | 15 5.5
S16F-SVUCL08Z 16 85 8 15.4 | 15 B8
S19G-SVUCL11Z 19.05|10.5|10.5|18.4 | 17 8 0.4
S19K-SVUCL11Z 19.05|10.5|10.5 | 18.4 | 17 8 -
S20G-SVUCL11z 20 |10.5[10.5|19.4| 18 8 LB — e TGE)
S20K-SVUCL11Z 20 |10.5[10.5|19.4| 18 | 8 ’ R
S25H-SVUCL11Z 25 10.5110.5|24.4| 23 8
S25K-SVUCL11Z 25.4 | 10.510.5|24.8| 23 8
R~FSize(mm) TRAETIRAR L‘%ﬂ?lﬂ- R F kR
g.g % Model (re) Fastening screw Wrench Inserts
®D | L | F | &d |H=H:{ S | “Serim” % o7 P29
S19G-SVUBL11Z 19.05| 90 |10.5|18.4 | 17 8
S19K-SVUBL11Z 19.05| 120 |10.5 | 18.4 | 17 8
S20G-SVUBL11Z 20 90 |10.5|19.4| 18 8
0.4 L60 M2.5X6 T8 VB..1103..
S20K-SVUBL11Z 20 120 | 10.5|19.4 | 18 8
S25H-SVUBL11Z 25 100 | 10.5|24.4 | 23 8
S25K-SVUBL11Z 25.4 | 120 | 10.5 | 24.8 | 23 8

® JT5i/Rf: 1 S20K-SVUCLO7

o “k” SRTEEER

® Ordering Example:1pcs S20K-SVUCLO7
"[1 "indicates standing stock

162

o JIRFERMITM

® |nserts need to be ordered separately

KTKF..Z

1L

Only KTKFR/L1616JX... KTKFR/L2020JX.. i KTKFRIL1616JX..
f KTKFRIL2020JX..

or the above shape

A LA

&

Only KTKFR/L2020JX.. {{ KTKFR/L2020JX..
R LR

for the above shape

T ey

1 KTKFRIL1010JX.
AL

Only KTKFR/L1010JX.
for the above shape

R~FSize(mm) 1257 1w F AN
gg _'l=l5 MOdel Screw Wrefch Inserts
B |H=h| F | L [ Li [Dwad| T y % O Pis-21
* KTKFR/L1010JX12Z 10 | 10 | 10 [125| 15 |12 | 6
* KTKFR/L1212JX12Z 12 | 12 | 12 [125| - [ 12| 6 TKFB12R/L
* KTKFR/L1616JX12Z 16 | 16 | 16 [125| - |12 | 6 h
* KTKFR/L2020JX12Z 20 | 20 | 20 (125 - |12 | 6
* KTKFR/L1010JX16Z 10 | 10 | 10 [125| 20 | 16 | 8 L60 M4.0X10 T15
* KTKFR/L1212JX16Z 12 | 12 | 12 (125| - |16 | 8
* KTKFR/L1616JX16Z 16 | 16 | 16 [125| - |16 | 8 TKFB16R/L..
* KTKFR/L2020JX16Z 20 | 20 | 20 [125| - |16 | 8
* KTKFR/L2525JX16Z 25| 25|25 (125| - |16 | 8
o TR HBl: 14 KTKFR2020JX12C 1 KTKFL2020JX12C *R=/F L=kKF o JIREERMITHY
o “k7 SRINEBER
® Ordering Example:1pcs KTKFR2020JX12C 1pcs KTKFL2020JX12C  * R=righthand L= left hand
® |nserts need to be ordered separately
® "[] "indicates standing stock
B BTSN T SZEMT ErDEmT
One tool holder achieve Threading, back turning, cutting & grooving
HBEUNT
Threading
-
-_—
-—
-_—
-_—
-_— &)
| g
é BEMT
o Back turning
L RL
Grooving
<

163



&;E@@ INE 4 ZE I JT]14#FISwiss Lathe Tool Holder

/J\ %14: 9[‘% 7] ﬂ: Swiss lathe rear sweeping holder 'J\ gﬁ: W ;? 7] 1;:|: Swiss lathe rear sweeping holder

_ N E7K> *{m 95°
o[l®& Main deflection
T , T N 4/;5» angle 95°
MGEH..A -
T = . SCLC..SA
[
= L I H
R~fSize(mm A7 RIRET xR F AN —
A 2 Model mm) Sockethead cap screw Wregeh Inserts R<size(mm) we | REfis = EIg5T " F 7K
B H L | Tmax S W ‘ //) B gg % Model =R Fastening screw Wre/n__chh Inserts
H=h| B | L |Li | F | S| - | (o) A~ (o)
* MGTER/L1212JX-20T12 12 | 12 [120] 12 | 12.2 | 2.0 M..MN200
LM60 M4X15 T15 SCLCR/L0808JX06-SA| 8 | 8 |120| - | 8 | O
* MGTER/L1212JX-25T12 12112 1120 12 | 12.2 |25 M..MN250 selcR/IbiouXoa A e melies w0l o L60 M2.5X6 T8 CC..0602..
* MGTER/L1616JX20T16 16 | 16 [120| 16 | 16.2 | 2.0 MAX16 3 M..MN200 SOLOR/L1010ux09-SA | 10 | 10 |12 1" ) A508
* MGTER/L1616JX-25T16 10110120 18 | 162 |25 W Mnzo *SCLCR/L1212JX09-SA 12 1(2) 122 i 1(2) 2 02
® T4 7Rf: 14 MGTER1212-20CD24-S 11£ MGTEL1212-20CD24-S *R=HGF L=EKEF o JIREERMITHY i = L60 M4X8 T15 CC..09T3..
o ‘T BEFREBEESL * SCLCR/L1616JX09-SA | 16 | 16 |[120| - |16 | O A509
SCLCR/L2020JX09-SA | 20 | 20 |120| - | 20| O
® Ordering E le:1 MGTER1212-20CD24-S 1 MGEHL1212-20T14HA * R=righthand L= left hand
o e e o ceparately pes righthan etthan o iT#mHl: 1f SCLCR1212JX09-SA 14 SCLCL1212JX09-SA *R=%AF L=%F e L EE ST
® '[] "indicates standing stock ® kT SEABEER
® Ordering Example:1pcs SCLCR1212JX09-SA 1pcs SCLCL1212JX09-SA  *R=righthand L=lefthand
® |nserts need to be ordered separately
® "[] "indicates standing stock
- /& *lm 93°
Jd o ' Main deflection
SD\JC SA L angle93°
1 1

gg = Model RT_I'Size(mm) ﬁ;z I'—E{ﬁ%é Fai@nm?s?r-ew \?/ireri:_h Ijnjseﬁs-
= Heh| B | L | F | F ]S | - | » /7

SDJCR/L0808F07-SA| 8 | 8 | 85| 8 |0.5| 0

SDJCR/L1010JX07-SA | 10 | 10 |120| 10 | - | O L60 M2.5X6 T8 DC..0702..
* SDJCR/L1212JX07-SA | 12 | 12 |120| 12 | - | O A508

SDJCR/L1010JX11-SA | 10 | 10 [120| 10 | 3 | O 0.2
* SDJCR/L1212JX11-SA | 12 | 12 |120| 12 | 1 | 0

L60 M4X8 T15 DC..11T3..

* SDJCR/L1616JX11-SA | 16 | 16 |120| 16 | - | O A509

SDJCR/L2020JX11-SA | 20 | 20 |120| 20 | - | O
® T Rfl: 1#f SDICR1212JX07-SA 14 SDJCL1212JX07-SA *R=HF L=LKF o T REEHMITH

o “k” SRINERER
® Ordering Example:1pcs SDJCR1212JX07-SA 1pcs SDJCL1212JX07-SA * R=righthand L=lefthand

Inserts need to be ordered separately
"[] "indicates standing stock

164 165



&;E@@ INE 4 ZE I JT]14#FISwiss Lathe Tool Holder

'J\$1¢W7% jjﬂ: Swiss lathe rear sweeping holder /J\i@ﬁ:ﬁi?ﬁ jjﬂ: Swiss lathe rear sweeping holder

2x1-01.6ATL *'—'M *wA 93° B
i = Maindlefleclion ________ =.F = 4
w i | o angle 93 T 4;\_ ______ @f{=41
s MGEH..A
SVJB..SA L - E—— By =
2 —— =g
[ L L
= ‘ L T
. T . JSize(m PAVAY=:L:33) w F
2 Model R~Size(mm) *m‘:‘x&)(]';)‘&%R TN F%@ﬂ%ﬂ' vj?li §5h AN gg % Model R Size(mm) Socket/h;adcapscrew Vt/;egch Ir?sjert):l-
ode - : ot astening screw renc Inserts
= I H=nl B | L | F | s B N S ’ o Y 4 B | H L |Toax| S W ‘ = =S
SVJBR/L1010JX11-SA | 10 | 10 [120| 10 | 0 * MGTER/L1212JX-20T12-SA | 12 | 12 120 12} 12.2 1 2.0 LM60 M4X15 T15 M..MN200
X SVJBR/L1212JX11-SA | 12 | 12 [120] 12 | 0 A508 * MGTER/L1212JX-25T12-SA | 12 | 12 |[120| 12 | 12.2 | 2.5 M..MN250
* SVJBR/L1616JX11-SA | 16 | 16 |120| 16 | 0 0.2 L60 M2.5X6 T8 VB..1103.. *x MGTER/L1616JX20T16-SA | 16 | 16 |120| 16 | 16.2 | 2.0 YIS s3 M..MN200
SVJBR/L2020JX11-SA | 20 | 20 [120| 20 | © AS09 A= oA A 75 N W N S U e ey M..MN250
ST 5 451« ; i, _ _ - - N
® iTHnfl: 1# SVUBR1212JX11-SA 11 SVJBL1212JX11-SA *R=AF L=-£F e A EE & miTI : T‘Tﬂ,,mfu%lﬁgéfmmz 20T12-SA 1 MGTEL1212-20T12-SA *R=&F L=%F * NAFERMIIM
o “‘k' EEREEEL SERRE &3
® Ordering Example:1pcs SVUBR1212JX11-SA 1pcs SVJBL1212JX11-SA  *R=righthand L=left hand ® Ordering Example:1pcs MGTER1212-20T12-SA 1pcs MGTEL1212-20T2-SA  * R=righthand L= left hand
® |nserts need to be ordered separately ® Inserts need to be ordered separately
® "[] "indicates standing stock ® "7 “indicates standing stock

166 167



i% L 3k a5 =2 AL

Shallow hole drill naming rules

HCD||03| | 300 | |[XP| |32| | S| |P ||05] |02

1 2 3 4 5 6 7 8 9
1. 7R %R 2. K&EL 3.7JRER 4. JJR RRAALEH

Tool Type L/D Tool diameter scope Tool installation structure

oo Flattened handle
HD R FLES 02,03,04,05 " 130-500
Shallow hole drill e XP il 3 ¥
13mm-50mm

BARFE A2 % FLEL

Double helix internal
A cooling Shallow hole

drill
5. TR RFEMMUR T 6. TIR AR 7. 71REA 8. 1H 714K & (mm) 8. &
Tool installation size Inserts shape Inserts back angle Cutting edge length Number of teeth
20, 25, 32, 40 (mm) W C 7°
A P 11°
S
- . .
Fjﬁﬁ SEE Application
mEFTE, EEREBRGEHESHFEMIER 1. i@ Tl 2. REE L 3. $RZ XL 4.7
Complete specifications,adequate inventory you can meet all your processing demands with hcnc. Ordinary drilling Bevel drilling Drilling cross holes Hole expansion

169




EEE@) % 7L 451l Shallow Hole Drill

% fLsh 2D % fLsh 3D

Shallow hole drill 2D Shallow hole drill 3D
/ N 4 N
8 8
L4 L. L+ L.
L L
& 2 Model iEZE () 5 857 " F B S Model R<Fsize(mm) 7K 1247 % F
oD | D1 | @Dz | Ls L L serts Screw Wrench @D | @D1| @D2 | L+ L2 L Inserts Screw Wrench
* HCD02-130-XP20-SP04-02 | 13.0 | 20 - 31 50 | 98 SPGT04T102 M1 8x4.0 15 % HCD03-130-XP20-SP04-02 | 13.0 | 20 - 44 | 50 | 111 SPGT04T102 M. 8x4.0 5
* HCD02-140-XP20-SP04-02 | 14.0 | 20 - 33 | 50 | 100 * HCDO03-140-XP20-SP04-02 | 14.0 | 20 5 47 | 50 | 114
* HCD02-150-XP20-SP05-02 | 15.0 | 20 - 35 | 50 | 102 * HCDO03-150-XP20-SP05-02 | 15.0 | 20 - 50 | 50 | 117
* HCD02-160-XP20-SP05-02 | 16.0 | 20 s 37 | 50 | 104 SPGT050204 M2x4.3 * HCDO03-160-XP20-SP05-02 | 16.0 | 20 S 53 | 50 | 120 SPGT050204 M2x4.3
% HCD02-170-XP25-SP05-02 | 17.0 | 25 - 39 | 56 | 117 T6 % HCD03-170-XP25-SP05-02 | 17.0 | 25 - 56 | 56 | 134 T6
* HCD02-180-XP25-SP06-02 | 18.0 | 25 - 41 56 | 119 * HCDO03-180-XP25-SP06-02 | 18.0 | 25 S 59 | 56 | 137
* HCD02-190-XP25-SP06-02 | 19.0 | 25 - 43 | 56 | 121 * HCDO03-190-XP25-SP06-02 | 19.0 | 25 - 62 | 56 | 140
SPGT060204 M2.2x5.5 SPGT060204 M2.2x5.5
* HCD02-200-XP25-SP06-02 | 20.0 | 25 s 45 | 56 | 123 * HCD03-200-XP25-SP06-02 | 20.0 | 25 S 65 | 56 | 143
% HCD02-210-XP25-SP06-02 | 21.0 | 25 - 47 | 56 | 125 % HCD03-210-XP25-SP06-02 | 21.0 | 25 - 68 | 56 | 146
* HCD02-220-XP25-SP07-02 | 22.0 | 25 - 49 | 56 | 127 * HCD03-220-XP25-SP07-02 | 22.0 | 25 S 71 56 | 149
* HCD02-230-XP25-SP07-02 | 23.0 | 25 - 51 56 | 129 * HCD03-230-XP25-SP07-02 | 23.0 | 25 - 74 | 56 | 152
* HCD02-240-XP25-SP07-02 | 24.0 | 25 - 53 | 56 | 131 * HCD03-240-XP25-SP07-02 | 24.0 | 25 - 77 | 56 | 155
SPGT07T308 M2.5x6.5 T8 SPGT07T308 M2.5x6.5 T8
* HCD02-250-XP25-SP07-02 | 25.0 | 25 - 55 | 56 | 133 % HCD03-250-XP25-SP07-02 | 25.0 | 25 - 80 | 56 | 159
* HCD02-260-XP25-SP07-02 | 26.0 | 25 - 57 | 56 | 135 * HCD03-260-XP25-SP07-02 | 26.0 | 25 S 83 | 56 | 161
* HCD02-270-XP25-SP07-02 | 27.0 | 25 - 59 | 56 | 137 * HCD03-270-XP25-SP07-02 | 27.0 | 25 - 86 | 56 | 164
* HCDO02-280-XP25-SP09-02 | 28.0 | 25 - 61 60 | 146 % HCD03-280-XP25-SP09-02 | 28.0 | 25 S 89 | 60 | 174
% HCD02-290-XP32-SP09-02 | 29.0 | 32 - 63 | 60 | 148 % HCD03-290-XP32-SP09-02 | 29.0 | 32 - 92 | 60 | 177
* HCD02-300-XP32-SP09-02 | 30.0 | 32 - 65 | 60 | 150 * HCD03-300-XP32-SP09-02 | 30.0 | 32 S 95 | 60 | 180
SPGT090408 M3.5x8 SPGT090408 M3.5x8
* HCD02-310-XP32-SP09-02 | 31.0 | 32 - 67 | 60 | 120 * HCDO03-310-XP32-SP09-02 | 31.0 | 32 - 98 | 60 | 183
* HCDO02-320-XP32-SP09-02 | 32.0 | 32 - 69 | 60 | 154 % HCD03-320-XP32-SP09-02 | 32.0 | 32 S 101 | 60 | 186
* HCD02-330-XP32-SP09-02 | 33.0 | 32 - 71 60 | 156 * HCD03-330-XP32-SP09-02 | 33.0 | 32 - 104 | 60 | 189
* HCD02-340-XP40-SP11-02 | 34.0 | 40 s 73 | 70 | 173 15 * HCDO03-340-XP40-SP11-02 | 34.0 | 40 S 107 | 70 | 207 15
* HCD02-350-XP40-SP11-02 | 35.0 | 40 - 75 | 70 | 175 * HCD03-350-XP40-SP11-02 | 35.0 | 40 - 110 | 70 | 210
* HCDO02-360-XP40-SP11-02 | 36.0 | 40 - 77 | 70 | 177 % HCD03-360-XP40-SP11-02 | 36.0 | 40 5 13 | 70 | 213
* HCD02-370-XP40-SP11-02 | 37.0 | 40 - 79 | 70 | 179 * HCDO03-370-XP40-SP11-02 | 37.0 | 40 - 116 | 70 | 216
SPGT110408 M4x10 SPGT110408 M4x10
* HCD02-380-XP40-SP11-02 | 38.0 | 40 s 81 70 | 181 * HCD03-380-XP40-SP11-02 | 38.0 | 40 S 19 | 70 | 219
* HCD02-390-XP40-SP11-02 | 39.0 | 40 - 83 | 70 | 183 * HCD03-390-XP40-SP11-02 | 39.0 | 40 - 122 | 70 | 222
* HCDO02-400-XP40-SP11-02 | 40.0 | 40 - 85 | 70 | 185 % HCD03-400-XP40-SP11-02 | 40.0 | 40 5 125 | 70 | 225
* HCD02-410-XP40-SP11-02 | 41.0 | 40 - 87 | 70 | 187 * HCDO03-410-XP40-SP11-02 | 41.0 | 40 - 128 | 70 | 228
HCD02-420-XP40-SP14-02 | 42.0 | 40 s 89 | 70 | 199 HCD03-420-XP40-SP14-02 | 42.0 | 40 S 131 | 70 | 251
HCDO02-430-XP40-SP14-02 | 43.0 | 40 - 91 70 | 201 HCDO03-430-XP40-SP14-02 | 43.0 | 40 - 134 | 70 | 244
HCDO02-440-XP40-SP14-02 | 44.0 | 40 - 93 | 70 | 203 HCDO03-440-XP40-SP14-02 | 44.0 | 40 5 137 | 70 | 247
HCD02-450-XP40-SP14-02 | 45.0 | 40 - 95 | 70 | 205 HCD03-450-XP40-SP14-02 | 45.0 | 40 - 140 | 70 | 250
HCD02-460-XP40-SP14-02 | 46.0 | 40 s 97 | 70 | 207 SPGT140512 M5x13 T20 HCDO03-460-XP40-SP14-02 | 46.0 | 40 - 143 | 70 | 253 SPGT140512 M5x13 T20
HCDO02-470-XP40-SP14-02 | 47.0 | 40 - 99 | 70 | 209 HCDO03-470-XP40-SP14-02 | 47.0 | 40 - 146 | 70 | 256
HCDO02-480-XP40-SP14-02 | 48.0 | 40 - [ 101 | 70 | 211 HCDO03-480-XP40-SP14-02 | 48.0 | 40 5 149 | 70 | 259
HCD02-490-XP40-SP14-02 | 49.0 | 40 - | 103 | 70 | 213 HCD03-490-XP40-SP14-02 | 49.0 | 40 - 152 | 70 | 262
HCD02-500-XP40-SP14-02 | 50.0 | 40 - | 105 | 70 | 215 HCD03-500-XP40-SP14-02 | 50.0 | 40 5 155 | 70 | 265
o iTERH: 14 HCD02-230-XP25-SP07-02 e JI A EEHMITI o iT#R6l: 14f HCD03-230-XP25-SP07-02 e JIHEE & T
o “k” SRIAEEET o “k” SRAEERERF
® Ordering Example:1pcs HCD02-230-XP25-SP07-02 ® |nserts need to be ordered separately ® Ordering Example:1pcs HCD03-230-XP25-SP07-02 ® |nserts need to be ordered separately

"indicates standing stock [1 "indicates standing stock

170 171



EEE@) % 7L 451l Shallow Hole Drill

% FLEL 4D 7% FLE4 5D

Shallow hole drill 4D Shallow hole drill 5D
4 N\ 4 N
8 8
L4 L. L+ L.
L L
A 2 Model R~fSize(mm) I il B2ET | F A 2 Model R~ Size(mm) TNk BRET i F
oD | @D+ | @D | L L L nserts Screw Wrench @D | @D1| @D2 | L+ L2 L Inserts Screw Wrench
* HCDO04-130-XP20-SP04-02 | 13.0 | 20 - 57 | 50 | 124 SPGT04T102 M1 8x4.0 15 % HCDO05-130-XP20-SP04-02 | 13.0 | 20 - 70 | 50 | 137 SPGT04T102 M. 8x4.0 5
% HCDO04-140-XP20-SP04-02 | 14.0 | 20 - 61 50 | 128 % HCDO05-140-XP20-SP04-02 | 14.0 | 20 S 75 | 50 | 142
% HCDO04-150-XP20-SP05-02 | 15.0 | 20 - 65 | 50 | 132 % HCDO05-150-XP20-SP05-02 | 15.0 | 20 - 80 | 50 | 147
% HCDO04-160-XP20-SP05-02 | 16.0 | 20 = 69 | 50 | 136 SPGT050204 M2x4.3 % HCDO05-160-XP20-SP05-02 | 16.0 | 20 - 85 | 50 | 152 SPGT050204 M2x4.3
% HCD04-170-XP25-SP05-02 | 17.0 | 25 - 73 | 56 | 151 . % HCDO05-170-XP25-SP05-02 | 17.0 | 25 - 90 | 56 | 168 T6
% HCDO04-180-XP25-SP06-02 | 18.0 | 25 - 77 | 56 | 155 % HCDO05-180-XP25-SP06-02 | 18.0 | 25 5 95 | 56 | 173
% HCDO04-190-XP25-SP06-02 | 19.0 | 25 - 81 56 | 159 % HCDO05-190-XP25-SP06-02 | 19.0 | 25 - 100 | 56 | 178
SPGT060204 M2.2x5.5 SPGT060204 M2.2x5.5
% HCDO04-200-XP25-SP06-02 | 20.0 | 25 = 85 | 56 | 163 % HCDO05-200-XP25-SP06-02 | 20.0 | 25 - 105 | 56 | 183
% HCD04-210-XP25-SP06-02 | 21.0 | 25 - 89 | 56 | 167 % HCD05-210-XP25-SP06-02 | 21.0 | 25 - 110 | 56 | 188
% HCDO04-220-XP25-SP07-02 | 22.0 | 25 - 93 | 56 | 171 % HCDO05-220-XP25-SP07-02 | 22.0 | 25 5 115 | 56 | 193
% HCDO04-230-XP25-SP07-02 | 23.0 | 25 - 97 | 56 | 175 % HCDO05-230-XP25-SP07-02 | 23.0 | 25 - 120 | 56 | 198
% HCDO04-240-XP25-SP07-02 | 24.0 | 25 - 101 | 56 | 179 % HCDO05-240-XP25-SP07-02 | 24.0 | 25 - 125 | 56 | 203
SPGT07T308 M2.5x6.5 T8 SPGT07T308 M2.5x6.5 T8
* HCDO04-250-XP25-SP07-02 | 25.0 | 25 - 105 | 56 | 183 % HCD05-250-XP25-SP07-02 | 25.0 | 25 - 130 | 56 | 208
% HCDO04-260-XP25-SP07-02 | 26.0 | 25 - 109 | 56 | 187 % HCDO05-260-XP25-SP07-02 | 26.0 | 25 5 135 | 56 | 213
% HCDO04-270-XP25-SP07-02 | 27.0 | 25 - 113 | 56 | 191 % HCDO05-270-XP25-SP07-02 | 27.0 | 25 - 140 | 56 | 218
* HCD04-280-XP25-SP09-02 | 28.0 | 25 - 117 | 60 | 202 % HCD05-280-XP25-SP09-02 | 28.0 | 25 S 145 | 60 | 230
% HCDO04-290-XP32-SP09-02 | 29.0 | 32 - 121 | 60 | 206 % HCD05-290-XP32-SP09-02 | 29.0 | 32 - 150 | 60 | 235
% HCDO04-300-XP32-SP09-02 | 30.0 | 32 - 125 | 60 | 210 % HCDO05-300-XP32-SP09-02 | 30.0 | 32 5 155 | 60 | 240
SPGT090408 M3.5x8 SPGT090408 M3.5x8
% HCDO04-310-XP32-SP09-02 | 31.0 | 32 - 129 | 60 | 214 % HCDO05-310-XP32-SP09-02 | 31.0 | 32 - 160 | 60 | 245
% HCDO04-320-XP32-SP09-02 | 32.0 | 32 - 133 | 60 | 218 % HCD05-320-XP32-SP09-02 | 32.0 | 32 S 165 | 60 | 250
% HCDO04-330-XP32-SP09-02 | 33.0 | 32 - 137 | 60 | 222 % HCDO05-330-XP32-SP09-02 | 33.0 | 32 - 170 | 60 | 255
% HCDO04-340-XP40-SP11-02 | 34.0 | 40 - 141 | 70 | 241 15 % HCDO05-340-XP40-SP11-02 | 34.0 | 40 5 175 | 70 | 275 T15
% HCDO04-350-XP40-SP11-02 | 35.0 | 40 - 145 | 70 | 245 % HCDO05-350-XP40-SP11-02 | 35.0 | 40 - 180 | 70 | 280
* HCDO04-360-XP40-SP11-02 | 36.0 | 40 - 149 | 70 | 249 % HCDO05-360-XP40-SP11-02 | 36.0 | 40 5 185 | 70 | 285
% HCDO04-370-XP40-SP11-02 | 37.0 | 40 - 153 | 70 | 253 % HCDO05-370-XP40-SP11-02 | 37.0 | 40 - 190 | 70 | 290
SPGT110408 M4x10 SPGT110408 M4x10
% HCDO04-380-XP40-SP11-02 | 38.0 | 40 - 157 | 70 | 257 % HCDO05-380-XP40-SP11-02 | 38.0 | 40 5 195 | 70 | 295
% HCDO04-390-XP40-SP11-02 | 39.0 | 40 - 161 | 70 | 261 % HCDO05-390-XP40-SP11-02 | 39.0 | 40 - | 200 | 70 | 300
% HCDO04-400-XP40-SP11-02 | 40.0 | 40 - 165 | 70 | 265 % HCDO05-400-XP40-SP11-02 | 40.0 | 40 - | 205 | 70 | 305
% HCDO04-410-XP40-SP11-02 | 41.0 | 40 - 169 | 70 | 269 % HCDO05-410-XP40-SP11-02 | 41.0 | 40 - | 210 | 70 | 310
HCD04-420-XP40-SP14-02 | 42.0 | 40 - 173 | 70 | 283 HCDO05-420-XP40-SP14-02 | 42.0 | 40 - | 215 | 70 | 325
HCDO04-430-XP40-SP14-02 | 43.0 | 40 - 177 | 70 | 287 HCDO05-430-XP40-SP14-02 | 43.0 | 40 - | 220| 70 | 330
HCDO04-440-XP40-SP14-02 | 44.0 | 40 - 181 | 70 | 291 HCDO05-440-XP40-SP14-02 | 44.0 | 40 - | 225 | 70 | 335
HCD04-450-XP40-SP14-02 | 45.0 | 40 - 185 | 70 | 295 HCDO05-450-XP40-SP14-02 | 45.0 | 40 - | 230 | 70 | 340
HCDO04-460-XP40-SP14-02 | 46.0 | 40 = 189 | 70 | 299 SPGT140512 M5x13 T20 HCDO05-460-XP40-SP14-02 | 46.0 | 40 - | 235 | 70 | 345 SPGT140512 M5x13 T20
HCDO04-470-XP40-SP14-02 | 47.0 | 40 - 193 | 70 | 303 HCDO05-470-XP40-SP14-02 | 47.0 | 40 - | 240 | 70 | 350
HCDO04-480-XP40-SP14-02 | 48.0 | 40 - 197 | 70 | 307 HCDO05-480-XP40-SP14-02 | 48.0 | 40 - | 245 | 70 | 355
HCD04-490-XP40-SP14-02 | 49.0 | 40 - | 201 | 70 | 311 HCDO05-490-XP40-SP14-02 | 49.0 | 40 - | 250 | 70 | 360
HCD04-500-XP40-SP14-02 | 50.0 | 40 - | 205 | 70 | 315 HCD05-500-XP40-SP14-02 | 50.0 | 40 - | 255 | 70 | 365
o iT#Rfl: 1 HCD04-230-XP25-SP07-02 e JIH EE ST o iT#Rfjl: 1ff HCD05-230-XP25-SP07-02 e JIHEEHMITH
o “k” SRREEER o “k” SREEEEE
® Ordering Example:1pcs HCD04-230-XP25-SP07-02 ® |nserts need to be ordered separately ® Ordering Example:1pcs HCD05-230-XP25-SP07-02 ® |nserts need to be ordered separately

"indicates standing stock [1 "indicates standing stock

172 173



EEE@) % 7L 451l Shallow Hole Drill
5&.?[.%5 2D shaliow hole drill 2D ;‘%?L%E 3D  shailow hole drill 20

4 N 4 N\
Lo L Lo L
L L
3J Size(mm % .
B S Model FRsizemm) T ood W B 2 Model R Size(mm) N 247 i ¥
@D | @D1 | @D2| L1 | L2 | L = @D | @D1| @D2 | Lt | L2 | L Inserts Screw Wrench
HCD02-160-XP20-WC03-02 | 16.0 20 25 35 50 102 HCD03-160-XP20-WC03-02 | 16.0 20 25 52 50 119
HCDO02-170-XP25-WC03-02 | 17.0 25 32 37 56 111 HCDO03-170-XP25-WC03-02 | 17.0 25 32 55 56 128
HCD02-180-XP25-WC03-02 | 18.0 25 32 39 56 113 WCMT030208 HCDO03-180-XP25-WC03-02 | 18.0 25 32 58 56 131 WCMT030208
HCDO02-190-XP25-WC03-02 | 19.0 25 32 41 56 115 HCD03-190-XP25-WC03-02 | 19.0 25 32 61 56 134
HCDO02-200-XP25-WC03-02 | 20.0 25 32 43 56 117 M2 5x6.5 T8 HCDO03-200-XP25-WC03-02 | 20.0 25 32 54 56 137 M2 5x6.5 T8
HCDO02-210-XP25-WC04-02 | 21.0 25 32 45 56 119 HCDO03-210-XP25-WC04-02 | 21.0 25 32 57 56 140
HCDO02-220-XP25-WC04-02 | 22.0 25 32 47 56 121 HCDO03-220-XP25-WC04-02 | 22.0 25 32 70 56 143
HCDO02-230-XP25-WC04-02 | 23.0 25 32 49 56 123 WCMT040208 HCD03-230-XP25-WC04-02 | 23.0 25 32 73 56 146 WCMTO040208
HCDO02-240-XP25-WC04-02 | 24.0 25 32 51 56 125 HCDO03-240-XP25-WC04-02 | 24.0 25 32 76 56 149
HCDO02-250-XP25-WC04-02 | 25.0 25 32 53 56 127 HCDO03-250-XP25-WC04-02 | 25.0 25 32 79 56 152
HCDO02-260-XP25-WC05-02 | 26.0 25 32 55 60 137 HCDO03-260-XP25-WC05-02 | 26.0 25 32 83 60 163
HCDO02-270-XP32-WC05-02 | 27.0 32 37 57 60 139 HCD03-270-XP32-WC05-02 | 27.0 32 37 86 60 166
HCDO02-280-XP32-WC05-02 | 28.0 32 37 59 60 141 WCMT050308 HCD03-280-XP32-WC05-02 | 28.0 32 37 89 60 169 WCMTO050308
HCDO02-290-XP32-WCO05-02 | 29.0 32 37 61 60 143 HCD03-290-XP32-WC05-02 | 29.0 32 37 92 60 172
HCDO02-300-XP32-WCO05-02 | 30.0 32 37 63 60 145 HCDO03-300-XP32-WC05-02 | 30.0 32 37 95 60 175
HCDO02-310-XP32-WC06-02 | 31.0 32 37 65 60 147 HCD03-310-XP32-WC06-02 | 31.0 32 37 98 60 178
HCDO02-320-XP32-WC06-02 | 32.0 32 37 67 60 149 HCD03-320-XP32-WC06-02 | 32.0 32 37 101 60 181
HCDO02-330-XP32-WC06-02 | 33.0 32 37 69 60 151 M3x9 T10 HCDO03-330-XP32-WC06-02 | 33.0 32 37 104 60 184 M3x9 T10
HCDO02-340-XP40-WCO06-02 | 34.0 40 37 71 60 166 HCDO03-340-XP40-WCO06-02 | 34.0 40 37 107 60 200
HCDO02-350-XP40-WC06-02 | 35.0 40 47 73 70 168 HCD03-350-XP40-WC06-02 | 35.0 40 47 110 70 203
HCDO02-360-XP40-WC06-02 | 36.0 40 47 75 70 170 WCMTO06T308 HCD03-360-XP40-WC06-02 | 36.0 40 47 113 70 206 WCMTO06T308
HCDO02-370-XP40-WC06-02 | 37.0 40 47 77 70 172 HCDO03-370-XP40-WC06-02 | 37.0 40 47 116 70 209
HCD02-380-XP40-WCO06-02 | 38.0 40 47 79 70 174 HCDO03-380-XP40-WC06-02 | 38.0 40 47 119 70 212
HCDO02-390-XP40-WC06-02 | 39.0 40 47 81 70 176 HCD03-390-XP40-WC06-02 | 39.0 40 47 122 70 215
HCDO02-400-XP40-WC06-02 | 40.0 40 47 83 70 178 HCD03-400-XP40-WC06-02 | 40.0 40 47 125 70 218
HCDO02-410-XP40-WC06-02 | 41.0 40 47 85 70 180 HCDO03-410-XP40-WCO06-02 | 41.0 40 47 128 70 221
HCD02-420-XP40-WC08-02 | 42.0 40 52 87 70 189 HCDO03-420-XP40-WCO08-02 | 42.0 40 52 131 70 231
HCDO02-430-XP40-WCO08-02 | 43.0 40 52 89 70 191 HCDO03-430-XP40-WCO08-02 | 43.0 40 52 134 70 234
HCDO02-440-XP40-WC08-02 | 44.0 40 52 81 70 193 HCDO03-440-XP40-WCO08-02 | 44.0 40 52 137 70 237
HCDO02-450-XP40-WC08-02 | 45.0 40 52 83 70 195 HCDO03-450-XP40-WC08-02 | 45.0 40 52 140 70 240
HCDO02-460-XP40-WC08-02 | 46.0 40 52 85 70 197 HCDO03-460-XP40-WCO08-02 | 46.0 40 52 143 70 243
HCDO02-470-XP40-WC08-02 | 47.0 40 52 87 70 199 HCDO03-470-XP40-WCO08-02 | 47.0 40 52 146 70 246
HCDO02-480-XP40-WCO08-02 | 48.0 40 52 99 70 201 HCDO03-480-XP40-WCO08-02 | 48.0 40 52 149 70 249
HCDO02-490-XP40-WC08-02 | 49.0 40 52 101 70 203 HCDO03-490-XP40-WCO08-02 | 49.0 40 52 152 70 252
HCDO02-500-XP40-WC08-02 | 50.0 40 52 103 70 205 WCMT080412 M3.5x10.4 T15 HCDO03-500-XP40-WCO08-02 | 50.0 40 52 155 70 255 WCMT080412 M3.5x10.4 T15
HCDO02-510-XP40-WC08-02 | 51.0 40 60 105 70 207 HCDO03-510-XP40-WC08-02 | 51.0 40 60 158 70 258
HCDO02-520-XP40-WC08-02 | 52.0 40 60 107 70 209 HCDO03-520-XP40-WC08-02 | 52.0 40 60 161 70 261
HCD02-530-XP40-WC08-02 | 53.0 40 60 109 70 211 HCDO03-530-XP40-WC08-02 | 53.0 40 60 164 70 264
HCDO02-540-XP40-WC08-02 | 54.0 40 60 111 70 213 HCDO03-540-XP40-WC08-02 | 54.0 40 60 167 70 267
HCDO02-550-XP40-WC08-02 | 55.0 40 60 113 70 215 HCDO03-550-XP40-WC08-02 | 55.0 40 60 170 70 270
HCDO02-560-XP40-WC08-02 | 56.0 40 60 115 70 217 HCDO03-560-XP40-WC08-02 | 56.0 40 60 173 70 273
HCDO02-570-XP40-WC08-02 | 57.0 40 60 117 70 219 HCDO03-570-XP40-WC08-02 | 57.0 40 60 176 70 276
HCDO02-580-XP40-WC08-02 | 58.0 40 60 119 70 221 HCDO03-580-XP40-WC08-02 | 58.0 40 60 179 70 279
o iT#&/Rfl: 144 HCD02-230-XP25-SP07-02 e JIFEE & miTY o “k” SRAERER o iT#&/Rfjl: 14£HCD02-230-XP25-SP07-02 e JIFEZE & MiTH o “k” SRINEEER
e Ordering Example:1pcs HCDO02-230-XP25-SP07-02 ® Inserts need to be ordered separately e Ordering Example:1pcs HCD02-230-XP25-SP07-02 e Inserts need to be ordered separately
e " "indicates standing stock e " "indicates standing stock

174 175



EEE@) % 7L 451l Shallow Hole Drill
X FLER 4D snatounoisanneo 7% FLEL 5D snatiownole crirsp

4 N 4 N
L L L L
L L
A 2 Model R Size(mm) il BEET R F A 2 Model R Size(mm) TNk LE3) | F
@D | @b1 | @02 | L1 | L» L Inserts Screw Wrench @D | D1 | @D2 | L1 | La L Inserts Screw Wrench
HCDO04-160-XP20-WC03-02 | 16.0 20 25 67 50 134 HCDO04-160-XP20-WC03-02 | 16.0 20 25 83 50 151
HCDO04-170-XP25-WC03-02 | 17.0 25 32 71 56 145 HCDO04-170-XP25-WC03-02 | 17.0 25 32 88 56 162
HCDO04-180-XP25-WC03-02 | 18.0 25 32 75 56 149 WCMT030208 HCDO04-180-XP25-WC03-02 | 18.0 25 32 93 56 167 WCMTO030208
HCDO04-190-XP25-WC03-02 | 19.0 25 32 79 56 153 HCDO04-190-XP25-WC03-02 | 19.0 25 32 98 56 172
HCDO04-200-XP25-WC03-02 | 20.0 25 32 83 56 157 HCDO04-200-XP25-WC03-02 | 20.0 25 32 103 56 177
M2.5x6.5 T8 M2.5x6.5 T8
HCDO04-210-XP25-WC04-02 | 21.0 25 32 87 56 161 HCDO04-210-XP25-WC04-02 | 21.0 25 32 108 56 182
HCDO04-220-XP25-WC04-02 | 22.0 25 32 91 56 165 HCDO04-220-XP25-WC04-02 | 22.0 25 32 113 56 187
HCDO04-230-XP25-WC04-02 | 23.0 25 32 95 56 169 WCMT040208 HCDO04-230-XP25-WC04-02 | 23.0 25 32 118 56 192 WCMT040208
HCDO04-240-XP25-WC04-02 | 24.0 25 32 99 56 173 HCDO04-240-XP25-WC04-02 | 24.0 25 32 123 56 197
HCDO04-250-XP25-WC04-02 | 25.0 25 32 103 56 177 HCDO04-250-XP25-WC04-02 | 25.0 25 32 128 56 202
HCDO04-260-XP25-WC05-02 | 26.0 25 32 107 60 189 HCDO04-260-XP25-WC05-02 | 26.0 25 32 133 60 211
HCDO04-270-XP32-WC05-02 | 27.0 32 37 111 60 193 HCDO04-270-XP32-WC05-02 | 27.0 32 37 138 60 220
HCDO04-280-XP32-WC05-02 | 28.0 32 37 115 60 197 WCMTO050308 HCDO04-280-XP32-WC05-02 | 28.0 32 37 143 60 225 WCMTO050308
HCDO04-290-XP32-WC05-02 | 29.0 32 37 119 60 201 HCDO04-290-XP32-WC05-02 | 29.0 32 37 148 60 230
HCDO04-300-XP32-WCO05-02 | 30.0 32 37 123 60 205 HCDO04-300-XP32-WC05-02 | 30.0 32 37 153 60 235
HCDO04-310-XP32-WCO06-02 | 31.0 32 37 127 60 209 HCDO04-310-XP32-WC06-02 | 31.0 32 37 158 60 240
HCDO04-320-XP32-WC06-02 | 32.0 32 37 131 60 213 HCDO04-320-XP32-WC06-02 | 32.0 32 37 163 60 245
HCDO04-330-XP32-WC06-02 | 33.0 32 37 135 60 217 VG 1 HCDO04-330-XP32-WC06-02 | 33.0 32 37 168 60 250 M3x9 To
HCDO04-340-XP40-WCO06-02 | 34.0 40 37 139 60 234 HCDO04-340-XP40-WC06-02 | 34.0 40 37 173 60 268
HCDO04-350-XP40-WCO06-02 | 35.0 | 40 47 143 70 238 HCDO04-350-XP40-WC06-02 | 35.0 40 47 178 70 273
HCDO04-360-XP40-WCO06-02 | 36.0 40 47 147 70 242 WCMTO06T308 HCDO04-360-XP40-WC06-02 | 36.0 40 47 183 70 278 WCMTO06T308
HCDO04-370-XP40-WC06-02 | 37.0 | 40 47 151 70 246 HCDO04-370-XP40-WC06-02 | 37.0 40 47 188 70 283
HCDO04-380-XP40-WCO06-02 | 38.0 40 47 155 70 250 HCDO04-380-XP40-WC06-02 | 38.0 40 47 193 70 288
HCDO04-390-XP40-WCO06-02 | 39.0 | 40 47 159 70 254 HCDO04-390-XP40-WC06-02 | 39.0 40 47 198 70 293
HCDO04-400-XP40-WC06-02 | 40.0 40 47 163 70 258 HCDO04-400-XP40-WC06-02 | 40.0 40 47 203 70 298
HCDO04-410-XP40-WCO06-02 | 41.0 | 40 47 167 70 262 HCDO04-410-XP40-WC06-02 | 41.0 40 47 208 70 303
HCDO04-420-XP40-WCO08-02 | 42.0 40 52 171 70 273 HCDO04-420-XP40-WC08-02 | 42.0 40 52 213 70 315
HCDO04-430-XP40-WCO08-02 | 43.0 | 40 52 175 70 277 HCDO04-430-XP40-WC08-02 | 43.0 40 52 218 70 320
HCDO04-440-XP40-WCO08-02 | 44.0 40 52 179 70 281 HCDO04-440-XP40-WC08-02 | 44.0 40 52 223 70 325
HCDO04-450-XP40-WCO08-02 | 45.0 | 40 52 183 70 285 HCD04-450-XP40-WCO08-02 | 45.0 40 52 228 70 330
HCDO04-460-XP40-WCO08-02 | 46.0 40 52 187 70 289 HCDO04-460-XP40-WC08-02 | 46.0 40 52 233 70 335
HCDO04-470-XP40-WCO08-02 | 47.0 | 40 52 191 70 293 HCDO04-470-XP40-WC08-02 | 47.0 40 52 238 70 340
HCDO04-480-XP40-WC08-02 | 48.0 40 52 195 70 297 HCDO04-480-XP40-WC08-02 | 48.0 40 52 243 70 345
HCDO04-490-XP40-WCO08-02 | 49.0 | 40 52 199 70 301 HCDO04-490-XP40-WCO08-02 | 49.0 40 52 248 70 350
HCDO04-500-XP40-WC08-02 | 50.0 40 52 203 70 305 WCMTO080412 M3.5x10.4 T15 HCD04-500-XP40-WC08-02 | 50.0 40 52 253 70 355 WCMT080412 M3.5x10.4 T15
HCDO04-510-XP40-WC08-02 | 51.0 | 40 60 207 70 309 HCDO04-510-XP40-WCO08-02 | 51.0 40 60 258 70 360
HCDO04-520-XP40-WC08-02 | 52.0 40 60 211 70 313 HCDO04-520-XP40-WCO08-02 | 52.0 40 60 263 70 365
HCDO04-530-XP40-WC08-02 | 53.0 | 40 60 215 70 317 HCDO04-530-XP40-WC08-02 | 53.0 40 60 268 70 370
HCDO04-540-XP40-WC08-02 | 54.0 40 60 219 70 321 HCDO04-540-XP40-WCO08-02 | 54.0 40 60 273 70 375
HCDO04-550-XP40-WC08-02 | 55.0 40 60 223 70 325 HCDO04-550-XP40-WC08-02 | 55.0 40 60 278 70 380
HCDO04-560-XP40-WC08-02 | 56.0 40 60 227 70 329 HCDO04-560-XP40-WC08-02 | 56.0 40 60 283 70 385
HCDO04-570-XP40-WC08-02 | 57.0 40 60 231 70 333 HCDO04-570-XP40-WCO08-02 | 57.0 40 60 288 70 390
HCDO04-580-XP40-WC08-02 | 58.0 40 60 235 70 337 HCDO04-580-XP40-WCO08-02 | 58.0 40 60 293 70 395
o T Rfl: 1{fHCD02-230-XP25-SP07-02 e JIHHEEHMITH o “k” SEREBEETR ® iT#Rfjl: 144 HCD02-230-XP25-SP07-02 o JIHHEEHMITH o “k” SRINEEER
e Ordering Example:1pcs HCDO02-230-XP25-SP07-02 ® Inserts need to be ordered separately e Ordering Example:1pcs HCDO02-230-XP25-SP07-02 ® Inserts need to be ordered separately
e "[]"indicates standing stock ® "[]"indicates standing stock

176 177



[

XFLER T A

Shallow hole drill inserts

@ iREETF Stock OFEFZE Available upon Order

IR R

THREADING INSERTS

mRFL, FEFREHREIZHEEHRAEMIER

178

ﬁg _g_ Bga ?i(cEisz-e ;?a-:qd Complete specifications,adequate invent' you camimeet all your processing demands with henc
A, Limm) | ®1.C(mm) | S(mm) | ®d(mm) | RE(mm) HMC -
SPMT 04T102 4.2 4.2 2.38 2.0 0.2 ( } p

050204 5.0 5.0 2.38 2.2 0.4 @ -
060204 6.15 6.15 2.38 2.6 0.4 @
07T308 7.94 7.94 3.97 2.8 0.8 @
090408 9.8 9.8 4.3 4.2 0.8 @
110408 11.5 11.5 4.76 4.4 0.8 o
140512 14.3 14.3 5.2 5.75 1.2 @

M2 1 L &4 B M ‘ﬁ‘gjg, JOEF . M-type mqterials havg good drilling perfo_rmance,

BES, HREMEET, A resistance. and tne bisds meets the requirements

LITIn ARl oy G brosessing stioky matorials such as austeniti

B A 55 S22 M 4 ) B n T preeceie ol

@ RHEETR Stock OFEFE Available upon Order
ﬁE % B%a;'i:cjgig—e Eﬁﬁa?d
A, Lmm) | ®1C(mm) | S(mm) | ®d(mm) | RE(mm) HMC
WCMT 030208 3.8 5.56 2.38 2.8 0.8 o

040208 4.3 6.35 2.38 3.1 0.8 @
050308 5.4 7.94 3.18 3.2 0.8 @
06T308 6.5 9.525 3.97 3.7 0.8 o
080412 8.7 12.7 4.76 4.3 1.2 @

BEEHEMNOE T, EFHFH%RE
HAEERENNIRE, KRBT
Rawmlg, EEEERMANEE
$RINT

With sharp cutting edge, it is conducive to obtaining
a machined surface with low roughness. Itis used for
low-load cutting and is mainly suitable for mild steel
and castiron processing.




180

<) HANHONG®

B BUEfNRESHRAN

Thread inserts naming rules

16 E R 1.50

1 2 3

1 JJ,"ILE? Inserts size

INSL (mm) IC
06 3.97 mm =5/32"
08 476 mm =3/16"
11 6.35mm =1/4"
16 9.52mm =3/8"
22 1270 mm =1/2"
27 15.88 mm =5/8"

4 S5 pitcn

VI V-shaped teeth
F&BE  Range by letter

mm TPI
(Thread pitch) (Threads perinch)

A 0.5-1.5mm 48-16
AG 0.5-3.0mm 48-8
1.75-3.0mm 14-8
3.5-5.0mm 7-5

5.5-6.0mm 4.5-4

c o 2 o

5.5-9.0mm 4.5-2.75

4 5

A

2 mm Application

E - External
N - Internal
VE - V-type

7 Y

E N

:

5 ﬂﬁﬁ(?f Thread standard

1ISO —1SO metric
AHBL
60 — Partial profile 60°
60° EABY

— Partial profile 55°
55° iEFELR

—American UN
SF—HEEK
W —Whitworth
HERIRY
NPT - NPT
S ERY
BSPT - British BSPT
HHEEEY
TR —Trapeze DIN103
IR AR
ACME - ACME
EHIBRARG
STACME  -stubAcCME
ESSESE A 2
RD - Round DIN403
HB R AL E SR
ABUT —American buttress
ES
SAGE —Sagengewinde DIN51
BIMBSEY

ISO M HMC

6 7

3 HIHI75 D Hand of toot

R - %3 Right-hand
L - &EZF Left-hand
RL - Z£AZF Rightand left-hand

4 15 pitcn

27 Full profile
¥=5EE  Value by number
0.35-9.mm (Thread pitch)
72-2 TPl (Threads perinch)

6 2B 1y

M —Grinding
=]

O —Chipbreaker
W B

7 HE'FE Grades

HMA -@mifE, Wik

generally applicable,best for steel

HMB -mmi#tfE, wimeik

generally applicable.best for soft steel

HMC -Em#E, FeEmeik
generally applicable,best for
stainless steel

HMN -zm#E, emTeie
generally applicable,best for
hard-to -process material

B 5=

Thread inserts namingrules

BRE S

call letters

BREAZAR

Description

P2BE pitch

ﬁﬁij Page

oz A 5tk

Application

BRI RS

call letters

BRERZAR

Description

B28E pitch
Mg rage

oz P 5tk

Application

N

108

18 FR R BRI

60° 55°

H—IHTE

UN

W2 R

E4es SRR ES Lo

W BSPT NPT

RO 137TP RO 137TP
1/4TP |/4TF 7 527 5

P164-165

SEH FEIIRY

NPTF

W

9ﬂ 1 47'( il

ShBEL

-

e
Pitch/inch

p-

MRS . 7K#0
EERY

Screw
B2 2
EYES) EXES)
Pitch/inch Pitch/inch
P166-167 P168-169
—B& Tk N4

SHBEY

EXES)
Pitch/inch

P170-171

EHEEE
HEFAREL

STACME

\Ro.ta7P e 4/“" 137TE) Rw gﬂ‘ 147{ Scrsw
EaES) EYES) EXES)
Pitch/inch Pitch/inch Pitch/inch

P172-173 P174-175 P176-177

RS KFIEERY

EHBERY  BIREERE
ABUT SAGE RD

Nut
R0.22105TP

Screw

TRRARLL EHIBHARY
TR ACME
o
SR S
nm P%cﬁ%?h
P- P-

Screw

SMBEY

e

[ 5]
Pitch/inch

P-

&z

0.16316TP, L R0.23851TP\/

Screw Screw
Pitch ﬁen?h mm P%c{wﬁen\ch
P- P- P-
Hmil
HBETT
gL IRy

181



182

<) HANHONG®

AHIEN SO

T

s
é \ * P
AR 2 ) -
BRNAE °
R~ Size(mm) S Grade
AR s 1285

BEEe Model Fieh ¢ T L D s e HMA HMB HMC HMN
mm R L R L R L R L

1ERIL 0501SO-M 050 635 06 1 32 305 007 € O O O O O 0O O
1ERIL 0751SO-M 075 635 06 1 32 305 011 e O o O o O O o
11ERL 1.001SO-M 100 635 07 1 32 305 014 ® o o o o o o o
1ERL 1251SO-M 125 635 09 M 32 305 018 ®© o o o o o o o
MERL 1501SO-M 150 635 10 1 32 305 02 e © O O O O 0O O
11ERL 1751SO-M 175 635 11 M 32 305 025 e O O O O O O O
16ERIL 0.50ISO-M 050 9525 06 16 40 352 007 e o e o e o e o
16ER/L 0.75I1SO-M 075 9525 06 16 40 352 011 e o e o e o e o
16ER/L 1.001SO-M 100 9525 07 16 40 352 014 e O e O e O e O
16ERIL 1.251SO-M 125 9525 09 16 40 35 018 e O e O e O e O
16ER/L 1.501SO-M 150 9525 10 16 40 352 022 e o ® O ® o e o
16ERIL 1.75I1SO-M 175 9525 12 16 40 352 025 e o ® ©o ® o e o
16ERLL 2.001SO-M 200 9525 13 16 40 352 020 e ©O e O e O e O
16ER/L 2.50I1SO-M 250 9525 15 16 40 352 036 e ©O e O e O o O
16ERIL 3.001SO-M 300 9525 16 16 40 352 043 e O e O e O e O
2ERIL 3501SO-M 350 127 23 22 50 465 051 e O e O e O e O
2ERIL 4.001SO-M 400 127 23 22 50 465 058 e O e O e O e O
2ERIL 4501SO-M 450 127 24 22 50 465 065 e O e O e O e O
22ERIL 5.001SO-M 500 127 25 22 50 465 072 e o e O ® O e O
22ERL 5501SO-M 550 127 27 22 50 465 079 e O e O e o e O
22ERIL 6.001SO-M 600 127 29 22 50 465 087 e O ® O e O @ O
16ERIL 1.001SO 100 9525 07 16 40 352 014 o e O e O
16ERL 1.251SO 125 9525 09 16 40 352 018 e e O e O
16ERIL 1.501SO 150 9525 10 16 40 352 022 o ~laelaolas
16ERIL 1.751SO 175 9525 12 16 40 352 025 e e o o o
16ERLL 2.001SO 200 9525 13 16 40 352 029 e e 0o o O
16ERIL 2.501SO 250 9525 15 16 40 352 036 e e o e o
16ERLL 3.001SO 300 9525 16 16 40 352 043 e Slaelolae

o INEERF O A4TMS

AHIRN SO

JMREL

2R

Description

16VER
16VER
16VER
16VER
16VER
22VER
22VER
22VER
27VER

1.00 ISO-M
1.50 ISO-M
2.001SO-M
2.501SO-M
3.001SO-M
3.50ISO-M
4.00 1ISO-M
5.00 ISO-M
6.00 ISO-M

Lo

Pitch

1.00
1.50
2.00
2.50
3.00
3.50
4.00
5.00
6.00

9.525
9.525
9.525
9.525
9.525
12.7
12.7
12.7
15.857

0.7
1.0
1.3
1.5
1.6
2.0
20
24
27

R Size(mm)

L D

16 4.0
16 4.0
16 4.0
16 4.0
16 4.0
22 5.0
22 5.0
22 5.0
27 6.35

BETrAEF

3.65
3.65
3.65
3.65
3.65
4.76
4.76
4.76
6.4

re

0.14
0.22
0.25
0.36
0.43
0.51
0.58
0.72
0.87

HMA

O e e e e e o o o T

o]0 O0|0O0O|O0O|0O| Ol OO0 |F

W2 R

1/8TP

Screw

H@-% Grade

HMB HMC HMN

O e e e e e o o o T
oo/ o0|O0O|O0O|0O| Ol OO |F

o IEERF O AE~MS

183



<) HANHONG® BT R

AHIEN1SO AHIRN SO

T

L
RS 2 5
RZY ) A NLE$3Y
N = Screw N = Screw
BRNAE ° BRNEE
R~ Size(mm) S Grade R~ Size(mm) S Grade
AR s 1285 AR Bs 1285
BATE Model Fieh ¢ T L D s re HMA HMB HMC HMN PR Model Pileh ¢ T L D s HMA HMB HMC HMN

mm L R L R L R L mm R L R L R L R L
O0BNR/L 0.501SO-M 050 397 04 6 21 191 004 1NRL 1.001SO 100 635 06 1 32 305 007 ® o e o e o
O0BNR/L 0.751SO-M 075 397 05 6 21 191 005 1INRL 1251SO 125 635 07 1 32 305 009 ® o e o o o
O0BNR/L 1.001SO-M 100 397 06 6 21 191 007 1INRL 1501SO 150 635 09 1 32 305 011 e O e O e O
O6NR/L 1.25I1SO-M 125 397 07 6 21 191 009 1INRL 1751SO 175 635 09 1 32 305 013 e O e O o O
08NR/L 0.501SO-M 050 476 04 8 24 238 004 1INRL 2.001SO 200 635 10 1 32 305 014 e O e O o O
08NR/L 0.75I1SO-M 075 476 05 8 24 238 005 16NRIL 1.001SO 100 9525 06 16 40 352 007 e O e 0 o O
08NR/L 1.001SO-M 100 476 06 8 24 238 007 16NRIL 1251SO 125 9525 07 16 40 352 009 e O e O e O
08NR/L 1.25I1SO-M 125 476 07 8 24 238 009 16NRIL 1.501SO 150 9525 09 16 40 35 011 e O e O e o
08NRIL 1.751SO-M 175 476 09 8 24 238 0.1 16NRIL 1.751SO 175 9525 09 16 40 352 013 ® O e o e o
1INRL 0.501SO-M 050 635 04 1 32 305 004 16NRIL 2.001SO 200 9525 10 16 40 352 014 e o e o & o
1INRL 0.751SO-M 075 635 05 11 32 305 005 16NRIL 2.501SO 250 9525 15 16 40 352 018 e O e o e O
1INRL 1.001SO-M 100 635 06 1 32 305 007 16NRIL 3.001SO 300 9525 15 16 40 352 022 e o e o e o
1INRL 1251SO-M 125 635 07 1 32 305 009 22NRIL 3.501SO 350 127 23 22 50 465 025 e O e o o o
1NRL 1.501SO-M 150 635 09 11 32 305 0.1 22NRIL 4.001SO 400 127 23 22 50 465 029 e o cleloles
1INRL 1.751SO-M 175 635 09 1 32 305 013 2NRIL 4501SO 450 127 23 22 50 465 032 e o e o e o
1INRL 2.001SO-M 200 635 10 1 32 305 014 22NRIL 5.001SO 500 127 25 22 50 465 036 e O e O o O
16NRIL 0.501SO-M 050 9525 04 16 40 352 0.04 22NRIL 5501SO 550 127 25 22 50 465 040 e o e o o o
16NRIL 0.751SO-M 075 9525 05 16 40 352 005 22NRIL 6.001SO 600 127 25 22 50 465 043 e o e - o o

16NR/L 1.00ISO-M  1.00 9.525 0.6 16 4.0 352 0.07
16NR/L 1.251SO-M  1.25 9.525 0.7 16 4.0 3.52 0.09
16NR/L 1.501SO-M 150 9.525 0.9 16 4.0 3.52 0.1
16NR/L 1.751SO-M  1.75  9.5625 0.9 16 4.0 352 0.13

o INEER O HEFES

16NR/L 2.001SO-M  2.00 9.525 1.0 16 4.0 352 0.14
16NR/L 2.50ISO-M 250 9.525 15 16 4.0 352 0.18
16NR/L 3.00ISO-M  3.00 9.525 1.5 16 4.0 352 022
22NR/L 3.501SO-M 350 127 23 22 5.0 465 0.25
22NR/L 4.001SO-M  4.00 127 23 22 5.0 465 029
22NR/L 4.501SO-M 450 127 23 22 5.0 465 032
22NR/L 5.00I1SO-M 500 127 25 22 5.0 465 0.36

® 6 6 o6 o o o o6 o o o o ©o © o O O O O 6 O O O O 0 O

22NR/L 56.501SO-M 550 127 25 22 5.0 465 040

e 6 6 o o6 o o o o o o o o ©o ©o o ©o oo ©o © ©o ©o O ©o ©°o ©°o ©o oo ©o o o ¢

cjlo oo, oo oo ojojolo, ojo, 0j0oj0|0O0O]J]O|lO|]O|JO O/ O]|]O | 0O0]|O
e 6 6 o o o o o o o o o O © © 6 6 6 O 6 O 6 O O O OO
olololo/loloolo/olo|O0OlO O]J]O O]O]O|O]O|lO|J]O|J]O O/ O]|]O|0O0]|O
® 6 6 o6 o o o o o o o o O © O O O O O O 6 O O O O OO
cjlo oo, oo oo ojojolo, 0ojo, 0j0ojO0|0O0O]J]0O|lO|]OC|JO O/ O]|]O 0O]|O
olololo/loloolo/olo|O0OlO O]J]O O]O]O|]O]O|lO|J]O|J]O O/ O]|]O|0O0]|O

22NR/L 6.001SO-M  6.00 127 25 22 5.0 465 043 °

o INEER O AEFHES

>

184 185



<) HANHONG® BT R

168 F R 2 168 R 2

:
s w
é \ L * ° é \
AR o PSR 2
NS = Scr N = Screw
BRAET s BFRNET
R size(mm) F2S Grade R size(mm) FE2S Grade
AR ik 1256 AR S 1215
Dseription Model Piteh C T L D S 1= HMA  HMB HMC  HMN Deseription Model Fiten c T L D S r  HMA  HMB HMC  HMN
mm TPI R L R L R L R L mm TPI R L R L R L R L
11ERL ABO -M 0515 4816 635 09 11 32 305 007 e O O O O O O O 06NR/L A0 -M  05-1.25 4816 397 06 6 21 191 007 e O O O O O O O
16ER/IL ABO -M 0515 48-16 9525 09 16 40 352 007 e O e O e O e O 08NR/L A0 -M  05-15 4816 476 07 8 24 238 007 e O O O O O O O
16ER/L G60 -M 17530 18-8 9525 17 16 40 352 025 e © e O e O e O 1INRIL ABO -M 0515 4816 635 09 11 32 305 007 e O O O O O O O
16ER/L AG60 -M  0.5-30 488 9525 17 16 40 352 007 ® o e o ® o ® o 16NRIL ABO -M 0515 4816 9525 09 16 40 352 007 e O e O e O e O
22ERIL N6O -M 3550 75 127 2522 50 465 04 e O e O e O e O 16NRIL G60 -M 17530 18-8 9525 17 16 40 352 025 e o e O e O e O
16ER/L ABO 0515 4816 9525 09 16 40 352 007 e O e O e O 16NRIL AG60 -M 0530 48-8 9525 17 16 40 352 007 © o ®© o ® o ® 0
16ER/L G60 17530 188 9525 17 16 40 352 025 e O e O e O 22NR/IL NGO -M 3550 75 127 25 22 50 465 04 e O e O e O e O
16ER/L AG60 0530 488 9525 17 16 40 352 007 ® O e o e o 16NR/L A0 05-15 48-16 9525 09 16 40 352 007 @ O e O e O
22ER/L N60 3550 75 127 2522 50 465 04 ® O e o e O 16NR/L G60 17530 188 9525 17 16 40 352 025 @ O e O e O
MER/L A55 -M 0515 48-16 635 09 11 32 305 007 o o o) o) 16NR/L AG60 05-3.0 488 9525 17 16 40 352 007 @ o e o© e O
16ER/L A55 -M 0515 48-16 9525 09 16 40 352 007 o ° ° ° 22NR/L N60 3550 7-5 127 25 22 50 465 04 @ O e O e O
16ERL G55 -M 17530 188 9525 17 16 40 352 025 o o e o e o e o 06NR/L A55 -M  05-1.25 4816 397 06 6 21 191 007 e ©o O O O O O O
16ER/L AG55 -M 0530 48-8 9525 17 16 40 352 007 e o e© o ® o ® o 08NR/L A55 -M  05-15 4816 476 07 8 24 238 007 e o O O O O O O
22ERIL N55 -M 3550 7-5 127 2522 50 465 04 o © e O e O e O 1INRIL A55 -M 0515 4816 635 09 11 32 305 007 ¢ o O O O O O O
16ER/L A55 0515 48-16 9525 09 16 40 352 007 e O e O e O 16NR/L A55 -M 0515 4816 9525 09 16 40 352 007 ¢ © e O e O e O
1B6ERIL G55 17530 188 9525 17 16 40 352 025 ¢ o e O e O 16NRIL G55 -M 17530 188 9525 17 16 40 352 025 o o e o ® o e o
16ER/L AG55 0530 48-8 9525 17 16 40 352 007 e o e o e o 16NR/L AG55 -M  05-30 48-8 9525 17 16 40 352 007 e - e o ® o ® o
22ER/L N55 3550 7-5 127 2522 50 465 04 e o e O e o 22NR/L N55 -M 3550 75 127 25 22 50 465 04 o O e e O e O
o ITMERETE O HkrElas 16NR/L A55 0515 48-16 9525 09 16 40 352 007 e o e O e o
16NRIL G55 17530 188 9525 17 16 40 352 025 o o e O e O
16NR/L AG55 0530 488 9525 17 16 40 352 007 e o e o e o
22NR/L N55 3550 7-5 127 25 22 50 465 04 e o e O e o

o IREEER O TEMS

186 187



<) HANHONG® BT R

Z—ihE UN H—mEUN

T

L
é \ L * ° é \
4AME 27 o NLERAY
BRNAE ° BRNEE
R~ Size(mm) S Grade R size(mm) FES Grade
AR s 1285 AR Bs 1285
BATE Model Fieh ¢ T L D s re HMA HMB HMC HMN PR Model Pileh ¢ T L D s HMA HMB HMC HMN
TPI R L R L R L R L TPI R L R L R L R L
16ER/L 24UN -M 24 9.525 0.8 16 4.0 3.52 0.16 [ ] O [} O [ ] O 11NR/L 20UN -M 20 6.35 0.8 11 3.2 3.05 0.18 [ ] O [ ] O [ ] O
16ER/L 20UN -M 20 9525 08 16 40 352 018 ®© O e O e O 11NR/L 18UN -M 18 635 08 11 32 305 020 e O e O e O
16ER/L 18UN -M 18 9.525 0.8 16 4.0 3.52 0.20 [} o ° O [ ) e} 11NR/L 16UN -M 16 6.35 0.8 11 3.2 3.05 0.23 ° @) Y e} ° fe)
16ER/L 16UN -M 16 9525 1.0 16 40 352 023 e O e O e O 16NR/L 24UN -M 24 9525 08 16 40 352 016 ®© O e O e O
16ER/L 14UN -M 14 9525 12 16 40 352 026 e O e O e O 16NR/L 20UN -M 20 9525 08 16 40 352 018 e O e O e O
16ER/L 12UN -M 12 9525 12 16 40 352 030 e O e O e O 16NR/L 18UN -M 18 9525 08 16 40 352 020 e O e O e O
16ER/L 10UN -M 10 9525 14 16 40 352 036 e O e O e O 16NR/L 16UN -M 16 9525 1.0 16 40 352 023 e O e O e O
16ER/L 8UN -M 8 9525 16 16 40 352 046 e O e O e O 16NR/L 14UN -M 14 9525 12 16 40 352 026 e O e O e O
16ER/L 16UN 16 9525 1.0 16 40 352 023 o o e o e o 16NR/L 12UN -M 12 9525 12 16 40 352 030 e O e O e O
16ER/L 14UN 14 9525 12 16 40 352 026 o o e o e O 16NR/L 10UN -M 10 9525 14 16 40 352 036 e O e O e O
16ER/L 12UN 12 9525 12 16 40 352 030 o o e o e o 16NR/L 8UN -M 8 9525 16 16 40 352 046 e o e O e O
o IREER O TETES 16NR/L 16UN 16 9525 1.0 16 40 352 023 O o e O e ©O
16NR/L 14UN 14 9525 12 16 40 352 026 o o e O e o©
16NR/L 12UN 12 9525 12 16 40 352 030 o o e o e o
o INEERF O AIETMS

188 189



190

<) HANHONG®

=L

BREX W

rs RO.137TP
é \ *
9 |\ m'% ’X L ” \ROISTIP  gorew
BrAEGF
R size(mm) kS Grade
2N BS 1235
Description Mode Pt e | 1| L D s = HMA HMB HMC HMN

TPI R L R L R L R L
MER/L 19W -M 19 6.35 1.0 " 3.2 3.05 0.19 o o o o o o
MMER/L 14W -M 14 6.35 1.0 11 3.2 3.05 0.25 o o o o o o
MER/L 11W -M " 6.35 1.0 1 3.2 3.05 0.32 o o o (@] o @]
16ER/L 28W -M 28 9.525 0.9 16 4.0 3.52 0.13 [ ] o o (@] (¢] (@]
16ER/L 24W -M 24 9.525 0.9 16 4.0 3.52 0.15 (] o o o o o
16ER/L 20W -M 20 9.525 0.9 16 4.0 3.52 0.18 ) ¢} O O o} O
16ER/L 19W -M 19 9.525 1.0 16 4.0 3.52 0.19 [ ) o [ ] o [ ] o
16ER/L 18W -M 18 9.525 1.0 16 4.0 3.52 0.2 [ ] o [ ] o [ (@]
16ER/L 16W -M 16 9.525 1.0 16 4.0 3.52 0.22 [ ] O [ ] o [ o
16ER/L 14W -M 14 9.525 1.0 16 4.0 3.52 0.25 [ ] (@] [ ) o [ ) o
16ER/L 12W -M 12 9.525 1.0 16 4.0 3.52 0.29 [ ] o [ ] o [ o
16ER/L 1MW -M 11 9.525 1.0 16 4.0 3.52 0.32 [ ] o [ ] o ° o
16ER/L 10W -M 10 9.525 14 16 4.0 3.52 0.35 [ o [ ] o [ ] o
16ER/L OW  -M 9 9.525 14 16 4.0 3.52 0.39 (] o [ ] o [ ] o
16ER/L 8W -M 8 9.525 1.7 16 4.0 3.52 0.44 [ ) o ) (@] ) o
22ER/L 6W -M 6 12.7 2.4 22 50 4.65 0.6 (] o (@) o O o
22ER/L 5W  -M 5 12.7 2.6 22 5.0 4.65 0.7 [ ] o @) o o o
16ER/L 14W 14 9.525 1.0 16 4.0 3.52 0.25 [ O (¢] O [} O [ ] o
16ER/L 11W 1 9.525 1.0 16 4.0 3.52 0.32 [ o O O [ ] o L] O

o INEER O HEFES

W2 R

R0.137TP

\R0.137TP Screw

BRAEE
R~ Size(mm) S Grade
AR S 1285
S Model Pileh ¢ T L D s HMA HMB HMC HMN
TPI R L R L R L R L
1INRL 19W -M 19 635 10 11 32 305 019 O O O O O O
1INRIL 14W M 14 635 10 M 32 305 025 O O O O O O
1INRL 11W M M 63 10 M 32 305 032 O O O O O O
16NRIL 28W -M 28 9525 09 16 40 352 013 e O O O O O
16NRIL 24W -M 24 9525 09 16 40 352 015 e O O O O O
16NR/IL 20W -M 20 9525 09 16 40 352 018 e O O O O O
16NRIL 19W -M 19 9525 10 16 40 352 019 e O e O e O
16NR/L 18W -M 18 9.525 1.0 16 4.0 3.52 0.2 ) ) ) @) ) )
16NRIL 16W -M 16 9525 10 16 40 352 022 e O e O e O
16NRIL 14W -M 14 9525 10 16 40 352 025 e O e O e O
16NRIL 12W M 12 9525 10 16 40 352 029 e O e O e O
16NRIL 11W M M 9525 10 16 40 352 032 e o e o e o
16NRIL 10W -M 10 9525 14 16 40 352 035 e O e O e O
16NRIL OW M 9 9525 14 16 40 352 039 e O e O e O
16NRIL 8W M 8 9525 17 16 40 352 044 e O e O e O
22NRL 6W  -M 6 127 24 22 50 465 06 e O O O O O
22NRIL 5W  -M 5 127 26 22 50 465 07 e O O O o O
16NRIL 14W 14 9525 10 16 40 352 025 e O O O e O e O
16NRIL 11W 1 9525 10 16 40 352 032 e o o O e O e O

o IREETE O FAFME

191



Aenoe asn s

HHIRENBSPT HHIRNBSPT

e R0.137TP

é AY t * é AY
9"*»% 4% L&* M oA g |j‘] 9\% 4% O frosriers o
BRALF s BRAEF
R~ Size(mm) Hﬁ% Grade R~ Size(mm) H@.% Grade
2N BS 1255 2N Bs 1235
Dseription Model Pl ¢ 1 L D s rE HMA  HMB HMC  HMN Deseription Model P )c 1 L b s e HMA  HMB HMC  HMN
TPI R L R L R L R L TPI R L R L R L R L
16ER/L 28BSPT -M 28 9.525 1.0 16 4.0 3.52 0.13 [ ] o ° O [ ] o 1INR/L 19BSPT -M 19 6.35 1.0 1 3.2 3.05 0.13 (] (@] [ ] o ) @)
16ER/L 19BSPT -M 19 9.525 1.0 16 4.0 3.52 0.19 [ ] o [} o ([ ] o 1INR/L 14BSPT -M 14 6.35 1.0 1" 3.2 3.05 0.19 [ ] O [ ] (@] [ ] (@)
16ER/L 14BSPT -M 14 9.525 1.0 16 4.0 3.52 0.25 ® 0] [ @) ° o 11NR/L 11BSPT -M 1 6.35 1.0 11 3.2 3.05 0.25 ) e) ° o ° e)
16ER/L 11BSPT -M 1 9.525 1.0 16 4.0 3.52 0.32 [} o [ ] o [ ] e} 16NR/L 28BSPT -M 28 9.525 1.0 16 4.0 3.52 0.13 [ ] o [ ] o L] (@)
16ER/L 28BSPT 28 9.525 1.0 16 4.0 3.52 0.13 [ ] O ) o [ ] o [ ] o 16NR/L 19BSPT -M 19 9.525 1.0 16 4.0 3.52 0.19 ) ©] () O ) ©]
16ER/L 19BSPT 19 9.525 1.0 16 4.0 3.52 0.19 ) @) O @) ) @) ° O 16NR/L 14BSPT -M 14 9.525 1.0 16 4.0 BI52) 0.25 ° ) ° e} ° )
16ER/L 14BSPT 14 9.525 1.0 16 4.0 3.52 0.25 [ ] o o O [ ] e} [} O 16NR/L 11BSPT -M 11 9.525 1.0 16 4.0 3.52 0.32 ® o [ e} [ o
16ER/L 11BSPT 1 9.525 1.0 16 4.0 3.52 0.32 [ ] o o o [ (@] [ ] o 16NR/L 28BSPT 28 9.525 1.0 16 4.0 3.52 0.13 [ o [ o [ o
o iEEL O TaFTme 16NR/L 19BSPT 19 9525 10 16 40 35 019 e O O O e O e O
16NR/L 14BSPT 14 9.525 1.0 16 4.0 3.52 0.25 [ ] o o ¢} ° (¢] [ ] o
16NR/L 11BSPT 1 9.525 1.0 16 4.0 3.52 0.32 ° o) o o ® o) ° e}
o IEER O HEFRS

192 193



<) HANHONG® BT R

EHIRY NPT EHIRNINPT

; R0.137TP
é \ L * é \
9"*»%—2 L&* M oA g |j‘] ﬁ%—y O frosriers o
BRNAE ° BRNEE
R~ Size(mm) S Grade R size(mm) FES Grade
AR s 285 AR Bs 1285

BATE Model Fieh ¢ T L D s re HMA HMB HMC HMN PR Model Pileh ¢ T L D s HMA HMB HMC HMN
TPI R L R L R L R L TPI R L R L R L R L

16ER/L 27NPT -M 27 9.525 1.0 16 4.0 3.52 0.04 [} e} [} e} [ ] e} 11INR/L 18NPT -M 18 6.35 1.0 11 3.2 3.05 0.06 ® e} ® e} ) o

16ERL 18NPT -M 18 9525 10 16 40 352 006 ® O ® O @ O 1INRL 14NPT -M 14 635 10 1 32 305 007 ® O ® O e O

16ERL 14NPT -M 14 9525 13 16 40 35 007 ® O ® O e O 16NRIL 27NPT -M 27 9525 10 16 40 352 004 ®© O e O e O

16ERL 11.5NPT-M 115 9525 14 16 40 35 009 ® O ® O ® O 16NRIL 18NPT -M 18 9525 10 16 40 352 006 ® O ® O e O

16ERL 8NPT -M 8 9525 15 16 40 35 012 e O e O e O 16NRIL 14NPT -M 14 9525 13 16 40 35 007 e ©O e ©O e O

16ER/L 27NPT 27 9525 10 16 40 352 004 e O O O e O e O 16NRIL 11.5NPT-M 115 9525 14 16 40 35 009 e O e O e O

16ER/L 18NPT 18 9525 10 16 40 35 006 e O O O e O e O 16NRIL 8NPT -M 8 9525 15 16 40 35 012 e o ® O e O
16ER/L 14NPT 14 9525 13 16 40 35 007 e o O O e O e O 16NR/L 27NPT 27 9525 10 16 40 352 004 e O e O e O e O
16ERL 11.5NPT 115 9525 14 16 40 35 009 e o o o e O e O 16NR/L 18NPT 18 9525 10 16 40 35 006 e O O O e O e O
16ER/L 8NPT 8 9.525 1.5 16 4.0 352 0.12 ) o o o ) o ) o 16NR/L 14NPT 14 9525 1.3 16 4.0 352 007 ° o o e} ) o ) e]
o EEL O FAFEme 16NR/L 11.5NPT 115 9525 14 16 40 352 009 e o O O e O e O
16NR/L 8NPT 8 9525 15 16 40 352 012 e o o O e O e o
o INEERF O AIEFFMS

194 195



196

<) HANHONG®

BNTJENMISFIU

Machining method of threading tools

REBIEARA, ®BEFEIE

Decide helical angle and select shim

W2 R

Please follow the following steps to get the best threading result:

1 Select proper thread machining method. 4 By checking reference table of standard
2 Define helical angle and select shim. threading programs, select feasible
3 Select proper insert and tool holder size. cutting parameters.

5 Select feed way.

External threading machining (Right thread) External threading machining (Left thread)

s

[T

y

R

i
B

3

R

Internal threading machining (Right thread) Internal threading machining (Left thread)

o R

>
-

|
T

|
&

The clearance angle of threading inserts is actually along the edge (flank). This
has significant effect on heat diffusion, spread of abrasion as well as tool life,
security and pitch quality. The clearance angle of threading pitch on clearance
face is determined by thread helical angle. These two angles are similar to each
other to some extent. If inclined angle of insert is different from the helical angle,
then the clearance angle won’t be the same either.
The helical angle of pitch has to be the same with the inclined angle of insert to
prevent over wearing on the clearance face which could affect tool life. the helical

angle is calculated as below:

P= Pitch

d2= pitch diameter
The most common inclined angle is 1°. MT standard

shim and its inclined angle is also 1°.

_ P
€= arctan Ao TT

2

Calculation of clearance angle:

Clearance angle is calculated as below:

B=arctan (tan@ x tana)

26=Thread profile angle
a=The rake angle of external standard threading tools is 10°; the rake angle

of internal standard threading tools is 15°.

The shim has to be changed when helical angle of thread is <
clearance angle of tool, which could cause intervene on insert

flank.

Please change the shim to adjust the difference between helical

angle of thread and inclined angle of shim to be within 2°~0°.

For example: when P=1.5, d2=24mm,
helical angle1.14°-(2°~0°)=inclined angle (-0.86°~1.14°)
it is feasible to use standard shim 1°.

Shim specification table is as follows:

Screw pitch Insert Inclined .
. ) Shim

range dimensions | angle
0 MT16-00MN

05-3.0 16 1 MT16-01MN
2 MT16-02MN
3 MT16-03MN
0 MT22-00MN
1 MT22-01MN

3.5-6.0 22
2 MT22-02MN
3 MT22-03MN

Note: the standard angle of shim for our threading tools is 1°.
((MT16-01MN or MT22-01MN)

€= Helical angle

A = Inclined angle

Ple

A=0"

Please refer to the table below for actual value:

Thread 20 B
il |
e External thread | Internal thread
60° 5.8° 8.79°
55° 5.24° 7.94°
30° 2.7° 4.1°
29° 2.6° 3.96°
Select shim:
lead of thread (mm) Threading number/inch
/4 3
. / /
; 5l 1 1 [/
I~/ /
T -
/ /,//
J P |5
AT P
4 / ,/ —6
/ —7
L 1T e
/ p 9
2 / / // o — 1
' “
WAREDZ SN ok
/ // — 18
1 7 o — 24
— 32
e
Workpiece diameter 50 100 150 200mm
2 4 6 8inch

197



198

<) HANHONG®

AERERNIN TREFRE RS8R

Parameter table for threading program under different standards

@ AHIISOSMRLH T HEFE R
@ Table of recommended in-feed for metric ISO external threading with wiper edge

screw pitch (mm) 05 (075 1 |1.25| 1.5 [1.75 | 2 2.5 3 3.5 4 4.5 5 5.5 6

Total in-feed (mm) | 0.38 | 0.53 | 0.68 | 0.85 | 1.02 | 1.16 | 1.33 | 1.67 | 1.98 | 2.3 | 2.61 | 2.93 | 3.25 | 3.56 | 3.88

Number of passes 4 4 5 6 7 8 9 11 12 13 14 14 15 16 17

1 012 | 018 | 02 | 02 | 023 | 024 | 026 | 026 | 026 | 0.3 | 033 | 0.35 | 0.38 | 04 | 04
N : | 04 | 015 | 045 | 016 | 019 | 02 | 022 | 025 | 026 | 028 | 03 | 032 | 035 | 038 | 038
- 5 |oos|or2| o | 05| o047 |0t | 0te | 021|022 | 025 | 028 | 03 | 032 | 035 | 036
N s | 007 | 008 | 041 | 013 | 013 | 014 | 015 | 018 | 02 | 022 | 025 | 028 | 03 | 032 | 034
- s 006 | o1 | 012 | 012 | 013 | 045 | 018 | 02 | 022 | 026 | 028 | 03 | 032
N s | | | ] 006 | 01 | 04 | 012|042 | 047 | 02 | 0z | 025|025 | 028 | 03
. | | | | |oos|oa| o1 osz|oms|oe|os|oz|oz|ozs|ozs
N s | | ] 006 | 000 | 012 | 015 | 015 | o8 | 02 | 02 | 022 | 025
. o | ] 006 | 04 | 042 | 012 | 015 | 08 | 02 | 02 | 022
N A 04 | 01 | o042 | 012 | 015 | 018 | 0t | 0z
- w0 L Les| o] o1 | oz |z ots|os | ot
R e ] 006 | 01 | 01 | 012|042 | 03 | 015
- s 006 | 04 | 01| 012|012 |0z
N w L L L L || ool on]or|on
- s L 006 | 04 | 01
N e e e
- e e

AERERNINIREFRE RS8R

Parameter table for threading program under different standards

W2 R

B AHISOSMBLUR T HEFE &
@ Table of recommended in-feed for metric ISO internal threading with wiper edge

screw pitch (mm) 0.5 | 0.75 1 1.25 | 1.5 | 1.75 2 2.5 3 3.5 4 4.5 5 5.5 6

Total in-feed (mm) 0.35 | 0.48 | 0.66  0.83 | 0.97 | 1.14 | 1.27 | 1.58 1.8 | 2.15 | 2.44 | 2.73 | 3.02 | 3.31 | 3.6

Number of passes 4 4 5 6 7 8 9 11 12 13 14 14 15 16 17

1 0.11 0.15 | 0.18 0.2 022 | 022 | 024 | 0.25 | 0.25 | 0.26 | 0.26 | 0.28 | 0.28 0.3 0.3

e : 009 | 013 | 015 | 018 | 018 | 018 | 02 | 022 | 025 | 025 | 025 | 026 | 028 | 03 | 03
. s 008 | 012 | 014 | 015 | 016 | 016 | 018 | 02 | 02 | 023 | 026 | 025 | 020 | 028 | 028
e o | 007 | 008 | 011 | 012 | 013 | 015 | 015 | 0t | 01 | 021 | 022 | 025 | 026 | 028 | 025
. s || low| or|om o o 015 0w 02| 0z | o0z | 025 | 0z | 0z
e s | | 008 | 009 | 012 | 012 | 012 | 015 | 018 | 02 | 022 | 025 | 025 | 025
. S 006 | 01 | 01 | 012 | 015 | 016 08| 02 | 021 | 023 | 025
e s | | | 1 | 008 | 006 | 01 | 012 | 01 | 016 | 02 | 02 | 028 | 025
.
I e e 007 | 01| 01z | 015 | 016 08 | 0z | 021
- o 007 | a8 | 01 | 012 | 015 | 016 | 018 | 02
T e 006 | 01 | 01 | 013 015 |05 | 0z
A e e e 008 | 008 | 011 | 012 | 015
e e e e e 008 | 005
e 006

199



200

<) HANHONG®

AERERNINTREFRE RS HE

Parameter table for threading program under different standards

AERERNINIREFRE RS8R

Parameter table for threading program under different standards

i2 47

Al

B EFUNSMEGUH T EHERER
@ Table of recommended in-feed for American unified standard external threading with wiper edge

screw pitch (mm) 24 20 18 16 14 12 10 8

Total in-feed (mm) 0.72 0.85 0.92 1.06 1.2 1.39 1.67 2.07

Number of passes 5 6 6 7 8 9 10 12

1 0.2 0.2 0.22 0.23 0.24 0.24 0.25 0.25
””””””
77777777777 1;””7””7””07.175””77”0?176””7”7OT176777”7”07.178””””07.178””7”7(;.;7””7”07.271””””0T273””7
77777777777 ;7777777777777707.171777777770j17377”77770j174777777770j1757777777707.175777777770j17877777777(;.;77777777(;.;77777
77777777777 577777777777777707.07877777777(;:177”77770?1727777777707.1727777777707.173777777770T1757777777707.17877777777(;.;77777
77777777777 6;7777777777777777777777770;)7877”77770j07877777777(;.;7777777707.17177777777Oj173777777770j1757777777707.178777ﬁ
”””””” c 1 e | er | om | o | o
77777777777 1;7777777777777777777777777777”77777777777777777777777707.078777777770j0787777777707.1727777777707.17577777
”””””” T T e
77777777777 1 ;)7777777777777777777777777777”777777777777777777777777777777777777777777770j0787777777707.172777ﬁ
”””””” e
”””””” e | ] e

@ E=FUNRIEGUH T EHER
@ Table of recommended in-feed for American unified standard internal threading with wiper edge

screw pitch (mm) 24 20 18 16 14 12 10 8

Total in-feed (mm) 0.71 0.83 0.92 1.03 1.16 1.29 1.53 1.9

Number of passes 5 6 6 7 8 9 10 12

1 0.19 0.2 0.22 0.23 0.24 0.24 0.25 0.25
”””””” > | ow | ow | o2 | oz | oz | oz | om | om
77777777777 1;77777777777777(;17577”77770j1757777777707.17777777777(;17777”7777Oj1787777777707.17877777777(;.;777777770j273777ﬂ
77777777777 ;77777777777777(;17277”77770T1727777777707.174777777770?17477”77770?175777777770T1757777777707.17877777777(;.;77777
77777777777 5777777777777777(;07877”7777(7).;7777777707.17177777777(;17277”77770?1727777777707.1727777777707.175777777770j178777ﬂ
”””””” s | | o | o | o1 | o1 | o | owm | o
””””””
”””””” s | | | ] e | e | an | o
””””””
o] o7 | o1
”””””” e
T e 007

201



202

<) HANHONG®

AERERNINTREFRE RS8R

Parameter table for threading program under different standards

B EXA. MNEQHTIEHER
@ Table of recommended in-feed for British standard internal and external threading with wiper edge

screw pitch (mm) 28 20 19 18 16 14 12 11 10 9 8
Total in-feed (mm) 0.66 0.88 0.91 0.99 1.09 1.25 1.42 1.58 1.71 1.9 213
Number of passes 5 6 6 7 8 8 8 9 10 11 12
1 0.18 0.2 0.2 0.2 0.2 0.22 0.23 0.24 0.24 0.23 0.23
e . | 015 | 0w | o | o | ow | oz | oz | oz | oz | oz | oz
. s o | ot | o | ots | o | 0z | oz | oz | o2 | oz | oz
e s | om | 0w | o5 | o1 | o1 | o | oz | o2 | oz | oz | oz
. s | 006 | o2 | o1 | om | o | oss | oz | o | ot | oz | oz
e s || 006 | oo | o1 | oz | oz | o | 0w | ot | ow | 0z
. D oo | oot | o1 | o012 | o1s | ots | 015 | o1
e s | | | | | 006 | oos | oo | o2 | o5 | o1 | 0w
. o | 1 005 | o2 | o1 | ot
T e e e 000 | o1 | o015
- e e . o1 | o
R e 1 ! | 1 | | o0

W2 R

AERERNINIREFRE RS8R

Parameter table for threading program under different standards

@ NPTH., SMEGEHTIEHESR
@ Table of recommended in-feed for NPT internal and external threading with wiper edge

screw pitch (mm) 27 18 14 11.5 8

Total in-feed (mm) 0.77 1.14 1.46 1.77 2.54

Number of passes 6 8 10 12 14

1 0.19 0.22 0.24 0.24 0.24
”””””” 2 | s | 02 | o2 | o0z | o2
”””””” s | o | ow | 02 | 02 |  om
77777777777 4;7””””77”””07.1717”””7”””07.175””77””””07.175””””7777”0?1787”””7”””07.272”7””’
77777777777 57777777777777777770?0797777777777777707.1727777777777777707.175777777777777770?1757777777777777707.27277777777
”””””” 6 | o | o1 | o2 | o1 | 02
”””””” 7 o | o2 | om0z
77777777777 E;ii?i?ii?h7777777777777777777777707.07777777777777777(;.;7777777777777707.173777777777777770j178777777ﬂ
77777777777 &;777777777777777777777777777777777777777777777777707.0787777777777777707.171777777777777770?17677777777
T o8 | o1 | o6
”””””” w7 es | o
e 008 | o1z
e e oz
e o1

203



204

<) HANHONG®

AERERNINTREFRE RS8R

Parameter table for threading program under different standards

IHIHE#EER

Table of recommended cutting parameters

W2 R

@ BSPTH. MR T EHF R
@ Table of recommended in-feed for BSPT internal and external threading with wiper edge

screw pitch (mm) 28 19 14 11

Total in-feed (mm) 0.66 0.94 1.25 1.56

Number of passes 5 6 8 10

1 0.18 0.22 0.22 0.22
”””””” 2 | s | 02 | ez | 02
”””””” s | o | o1 | ow | 02
77777777777 ;”7””””7”””07.1717”7””7””7””07.1757”7””777””7770?1767””””777””770?1787””””
77777777777 5””7””””7””Wojoisi”7””7””7””07.1717”7””777””7770?1757””””777””770?1757””””
”””””” s | | es | o | o
”””””” A e e T
”””””” s | 1 s |  os
”””””” S e T P
T e e T

Grade
Unit cutting force
ISO Material Kc0 g Handness bl
e HB HMC HMN
N/mm
Cutting speed(m/min)
C=0.15% 1900 125 150-175
Carbon steel C=0.35% 2100 150 140-155
C=0.60% 2250 200 130-145
Anneal 2100 180 110-130
Hardened 2600 275 80-100
Alloy steel
Hardened 2700 300 70-90
Hardened 2850 350 60-80
Anneal 2600 200 90-115
High alloy steel
Hardened 3900 325 70-90
Non-alloy 2000 180 180-210
low alloy 2500 200 90-115
Cast steel .
High alloy 2700 225 90-115
Martensite steel 12%Mn 3600 250 40-50
Austenite 2450 180 110-130
Stainless steel
Martensite/Ferrite 2300 200 130-170
Ferrite 1100 130 110-140
Malleable cast iron )
Pearlite 1100 230 85-105
) Low tensile-strength 1100 180 110-140
Gray cast iron . .
High tensile-strength 1500 260 90-115
Ferrite 1100 160 110-130
Nodular cast iron .
Pearlite 1800 250 80-100
Non-aging treatment 500 60 1300-1450
Al alloy .
N Aging treatment 800 100 450-500
) Non-aging treatment 750 75 430-470
Cast aluminum alloy .
Aging treatment 900 90 250-290
Anneal 3000 200 35-50
Iron base
Aging 3050 280 25-35
s Heat resistant aIon Anneal 3500 250 15-25
Ni-orCo- | Aging 4150 350 10-20
base Casting 4150 320 10-15
H | Herenedsteel Hardened steel 4500 HRC55 40-50

Note: *The values in the above table are range values. High values in the range could be considered in actual cutting. When trying new
cutting speed, please check the cutting edge condition before operation.

«In stainless steel threading, high cutting speed should be used to prevent built-up edge.

*The cutting parameters should be reduced when cutting small pitch thread and when using tools with small nose radius.
*When cutting thread by tools with small nose radius, such as NPT standard thread, it is advisable to use tools with big nose radius
first to rough, so as to improve the life of tools with small nose radius.




206

<) HANHONG®

KB JIBETI G E

In-feed way of threading tools

Radial in-feed

 Easy operating, high general.

* V-shape chip caused by long chip steel workpiece will produce big bend
stress on cutting edge.

« It requires low cutting depth, sharp cutting edge and good tough material.

* Big quantity of heat when cutting ,V-shape chip is hard to control.

» Because the interface of cutting chips on the right and left side is long,
so it is easy to cause vibration and make the cutting edge suffer more
overloading.

A

Flank in-feed

+ Cutting edge suffer small bend stress, stable estate, it is easy for chips
formation in deep cutting depth.

* There are enough space to leave chips flow when flank in-feed.

* Big abrasion on right flank.

Modified flank in-feed

« Right Cutting Edge also engage on cutting depth to a certain extent, it
can reduce the abrasion on right side of clearance face.

« Cutting edge suffer small bend stress, stable estate, it is easy for chips
formation in deep cutting depth.

* Good Cutting Performance.

Alternate flank in-feed

« Cutting edge trade off when machining, equality abrasion on left and
right side of clearance face on cutting edge, it can improve the life of
tools.

« Chips are flowing from both of right and left side, good chips flowing.

* Recommend using in big screw-pitch thread cutting.

Recommend adopting flank in-feed or alternate flank in-feed under allowable range of machining equipment or programmer, it can
' eliminate the machining vibration effectively, and it has enough space discharge the chips between pitch. Cutting edge suffer a
& small stress, machining stable, it likes the general turning process when machining thread, good chip control without extra chips.

R IN T % W i) 2R K% i R 73 i

Common problems in threading and solutions

W2 R

Problem

Cause

Solutions

Wear on clearance
face

Cutting speed too high.

Reduce cutting speed.

Low cutting depth, abrasion.

Reduce frequency of feed and friction of cutting edge.

Inserts are over the center line.

Adopt correct center height.

Asymmetric wear on
right and left cutting
edge

The inclined angle of insert is different
from the helical angle of thread.

Change to proper shim to get correct inclined angle.

Flank in-feed is not correct.

Change the way of flank in-feed.

Breakage

Cutting speed too low.

Increase cutting speed.

Cutting force too high.

Increase frequency of feed and reduce Max in-feed.

Unstable clamping.

Check if workpiece vibrates.
Reduce overhang of tool.
Verify clamping of workpiece and tool.

Chip twisting.

Increase the pressure of cooling liquid to blow away
chips.

Plastic deformation

High cutting speed, high temperature on
cutting area.

Reduce cutting speed.
Increase feed frequency and reduce Max cutting depth.

Insufficient cooling fluid.

Increase cooling fluid supply.

Low thread surface
quality

Cutting speed too low.
The insert is over the center line.
Chips are not under control.

Increase cutting speed.
Adjust centre height.
Change the operation way of tools to well control chips.

Incorrect profile

Incorrect center height.

Adjust centre height.

Pitch on machine is not correct.

Adjust machine.

Shallow profile

Cutting speed set wrong.

Adjust cutting depth.

Surface damage

Chips involved or contacted.

Change to flank in-feed to control chip flow direction.

Built-up edge

Temperature of cutting edge is too low.
Usually occur when machining stainless
steel and low carbon steel.

Increase cutting speed as well as pressure and
concentration of cooling fluid.
Choose inserts with good toughness.

Crack on surface

Cutting force too high

Reduce the cutting depth of each feed.

Vibration

Incorrect clamping of workpiece or tool

Verify clamping of workpiece and tool.
Minimize overhang of tool.

Incorrect cutting parameters

Increase cutting speed or reduce it substantially.

Incorrect tool clamping

Adjust center height.

207



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 57
	页 58
	页 59
	页 60
	页 61
	页 62
	页 63
	页 64
	页 65
	页 66
	页 67
	页 68
	页 69
	页 70
	页 71
	页 72
	页 73
	页 74
	页 75
	页 76
	页 77
	页 78
	页 79
	页 80
	页 81
	页 82
	页 83
	页 84
	页 85
	页 86
	页 87
	页 88
	页 89
	页 90
	页 91
	页 92
	页 93
	页 94
	页 95
	页 96
	页 97
	页 98
	页 99
	页 100
	页 101
	页 102
	页 103
	页 104
	页 105
	页 106

